
BEFCO®

Parts Price List

June 28, 2021

Parts Price List 06_28_21 cover.lwp
Printed on June 26, 2021

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



General Selling Conditions
The purpose of the BEFCO Sales program is two-fold. First, the program is designed to offer BEFCO dealers, distributors and retailers purchasing
directly from BEFCO (each direct purchaser, referred to as “Buyer”) an incentive for early booking of orders and to provide financing for Buyers to
maintain an adequate inventory of BEFCO brand wholegoods (the “Equipment”) prior to and during the selling season.
Second, the program enables BEFCO to plan production requirements more accurately in order to make Equipment available on a timely basis. This
combination of incentives and financing places BEFCO and its Buyers in a position to achieve a greater market share within a competitive environment.
Although BEFCO offers quantity discounts, BEFCO does not require any BEFCO Buyer to purchase or maintain any minimum quantity of Equipment.
The BEFCO Buyer may elect at its sole discretion to purchase a sufficient quantity of Equipment to maintain a regular inventory, or may elect to order
Equipment only as desired or needed to meet custom requests. The inventory program and level of inventory shall be in the Buyer’s discretion. All such
orders will be processed in accordance with the Sales Program and these General Selling Conditions in effect. The following information provides details
of the BEFCO Sales Program Terms and Conditions.

1. Requirements to Qualify: The terms of sale to Buyers are applicable only to equipment purchased directly from BEFCO. Products covered by any
order accepted by BEFCO will be shipped at prices, terms and discounts in effect at time of order unless otherwise specified. The terms and
conditions contained herein are subject to change without notice.

2. Credit Approval: All orders or shipping instructions will be subject to approval by BEFCO prior to shipment. Copies of current Buyer’s financial
statements are required annually, and signed Security Agreements must be on file where applicable.

3. Trade Discounts: A trade discount may be allowable pursuant to BEFCO's current suggested list price on Equipment.

4. Qualifying and Non-Qualifying Buyers: BEFCO has the right to classify Buyers as either qualifying or non-qualifying; thereby changing the trade
discount as indicated in the schedule of Terms and Discounts.

5. Accumulative Quantity Discounts: Accumulative Quantity Discounts are allowed on all BEFCO Equipment and accessories to BEFCO Buyers and
are subject to the following conditions:
(a) Accumulative Quantity Discounts accumulate with each new order, but are not retroactive and will apply only during periods as defined in the current
suggested retail price listing or schedule of Terms and Discounts.
(b) Shipments of Pre-Season Orders will be made at the Company’s convenience.
(c) The Accumulative Quantity Discount is calculated after deducting the Trade Discount.
(d) Units not paid by the due date will be subject to loss of the Accumulative Quantity Discount plus 1% monthly service charge until paid in full.

6. Cash Discount: Cash discounts are determined by the date of invoice to the Buyer and are calculated on the net balance after all applicable
discounts. See specific programs for schedule of cash discounts.

7. Settlement: Payment for Equipment is due immediately following delivery to Buyer’s customer, or as specified by invoice due date whichever is
earlier. Any Equipment not paid for immediately after delivery to Buyer’s customer is considered “out-of-trust” and all discounts are voided
and full list price shall be immediately due and payable.

8. Past Dues & Legal: Past due accounts will have a service charge of 1% per month. Cost of attorney fees for collections of past due accounts will be
borne by the Buyer.

9. Requested Shipping Dates & Discounts: Pre-Season Orders will be shipped at BEFCO's convenience. Refusal by the Buyer to accept shipment will
disqualify the order. It is the intent of BEFCO to keep freight costs to a minimum, therefore requesting specific shipping dates is not acceptable.

10. Freight Policy:
(a) All prices are F.O.B. Rocky Mount, North Carolina.
(b) Pre-Season at BEFCO's convenience. The rate is published each year in the BEFCO Terms and Discounts freight rate section.
(c) No freight will be charged if the Buyer picks up the Equipment at the Rocky Mount factory.
(d) Emergency and urgent in-season shipments will be shipped LTL freight collect.
(e) Units from depot outside Rocky Mount, North Carolina, will be shipped LTL Freight Collect. This is in addition to a back freight charge.
(f) All freight invoices are due Net 30 Days. Past due freight invoices will be charged the standard 1% per month service charge.
(g) BEFCO is not responsible for Equipment or parts damaged or lost in transit.
(h) The Buyer is responsible for filing a freight claim with the trucking company for lost or damaged Equipment,
(i) Any applicable duties or tariffs will be the responsibility of and must be paid by the Buyer or other party receiving the order.
(j) All parts orders are shipped F.O.B. Rocky Mount, N.C.

11. Buyer Inspection/Acceptance, Returns: Buyer shall inspect all Equipment within ten (10) days following delivery (the “Inspection Period”) and shall
notify the freight forwarder and BEFCO of any claim for damages or shortages. To reject a unit of Equipment for nonconformity with the specifications set
forth in BEFCO’S documentation for that unit in effect at time of Buyer’s purchase order for such unit, Buyer shall notify BEFCO, within the Inspection
Period, in writing of its rejection and shall promptly return the rejected unit in original condition to BEFCO, with insurance and freight prepaid. After
receipt of the properly rejected unit, BEFCO at its option shall either repair or replace such properly rejected unit or refund any purchase price paid by
Buyer, along with Buyer’s return cost of transportation. Befco will prepay transportation charges for repaired/replacement units back to Buyer and will
reimburse Buyer for the cost of transportation incurred by Buyer in connection with the return of properly rejected units. Any unit not properly rejected
within the Inspection Period shall be deemed accepted.

12. Standard Limited Warranty: Buyer shall pass on to his customers BEFCO’s standard limited warranty or warranties for the BEFCO Equipment, as
such warranty or warranties may be amended from time to time by BEFCO. BEFCO shall not be liable for any other warranties or similar obligation made
or given by Buyer.
Except for the standard limited warranty to end user customers of BEFCO Equipment; BEFCO grants no other warranties, express or implied,
by statute or otherwise, regarding the equipment, their fitness for any purpose, their quality, their merchantability or otherwise. In no event
shall BEFCO be liable for any special, consequential or incidental damages for breach of warranty or any special, consequential or incidental
damages, including injury or damage to business, earnings, profits or goodwill suffered by Buyer or any other person and caused directly or
indirectly by the Equipment sold.

13. Technical and Price Information: Technical information provided in the catalog is approximate. BEFCO reserves the right to modify or
improve the models listed for technical or commercial purposes and all prices are subject to change without notice.

BEFCO Parts Price List - March, 29 2021

All prices are FOB Rocky Mount, NC and are subject to change without notice. 2

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

000010E Roll pin Ø8x45 1.49$            
000011E Use 0026342
000012E Use 0008679
000013E Use 0018044
000014E Use 0018047
000015E Roll pin Ø8x70 1.84$            
000016E Roll pin Ø10x70 2.82$            
000017E Use 020616W
000018B Cross w/bearing 103.20$       
000018E Use 0032204
000019B Cross w/bearing 96.34$          
000019E Bolt plastic, lock collar 0.62$            
000020E Use 306002F
000021B Grease fitting 45 degree 2.88$            
000021E Use 0001065
000022B Use 502286B
000022E Ball bearing 0.57$            
000023E Ball bearing 0.99$            
000024E Ball bearing 0.57$            
000026B Grease fitting M06‐0.90 threaded 1.85$            
000040E Use 0001154
000047E Use 0051129
000078E Ball for overrunning clutch 1.65$            
000079E Snap ring, outer Ø52 4.07$            
0001008 Bolt HH M10‐1.50x30 C8.8 N F 0.45$            
0001009 Bolt HH M10‐1.50x35 C8.8 N F 0.47$            
0001010 Nut HH M10‐1.50 C6 N TK 0.18$            
0001011 Washer spring lock Ø10 N 0.18$            
0001018 Bolt HH M14‐2.00x45 C8.8 Z P 1.69$            
0001019 Nut HH M14‐2.00 C6 Z TK 0.47$            
0001020 Washer lock Ø14 Z 0.29$            
0001035 Skid, wear plate 42.86$          
0001036 Bolt CR M10‐1.50x30 C4.6 Z 0.73$            
0001038 Bolt CR M10‐1.50x35 C4.6 Z 0.83$            
0001041 Bolt HH M12‐1.75x55 C8.8 N F 0.94$            
0001042 Nut HH M12‐1.75 C6 N TK 0.50$            
0001043 Bolt HH M12‐1.75x35 C8.8 N F 0.68$            
0001046 Bolt HH M10‐1.50x20 C8.8 N F 0.45$            
0001047 Washer flat Ø10 N 0.18$            
0001059 Oil seal 45.65.10 SC 8.39$            
0001061 Bearing 6307 36.63$          
0001065 Grease fitting M10‐1.00 threaded 1.59$            
0001066 Bolt HH M12‐1.75x25 C8.8 N F 0.59$            
0001067 Washer spring lock Ø12 N 0.18$            
0001071D Tine "C" style, right 12.95$          
0001071S Tine "C" style, left 12.95$          
0001073 Bolt SP M12‐1.25x35 C8.8 Z P 1.43$            
0001075 Nut HH M12‐1.25 C6 Z TK 0.44$            
0001077 Washer lock Ø12 Z 0.18$            
0001084 Oil seal 55.72.10 TC 11.72$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 3

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0001085 Bearing 6309 65.06$          
0001087 Snap ring, inner Ø100 3.62$            
0001099 Use 0091281
0001101 Bolt HH M10‐1.50x45 C8.8 N F 0.68$            
0001102 Bolt HH M14‐2.00x60 C8.8 N F 1.53$            
0001103 Nut HH M14‐2.00 C6 N MD 0.37$            
0001104 Washer spring lock Ø14 N 0.18$            
0001105 Bolt HH M12‐1.75x55 C8.8 Z F 0.97$            
0001106 Nut HH M12‐1.75 C6 Z MD 0.23$            
0001107 Use 0001107A
0001107A Breather cap 10.33$          
0001110 Sprocket Z14 260.19$       
0001111 Sprocket Z12 226.97$       
0001112 Sprocket Z11 210.36$       
0001113 Sprocket Z13 170.97$       
0001114 Snap ring, outer Ø42 1.84$            
0001115 Chain tensioner 38.87$          

0001120 Chain ASA 100x36 228.18$       
0001135 Bearing 6309‐2RS 85.76$          
0001139 Bearing 6212 68.87$          
0001148 Use 0001148A
0001148A Bearing 6308 44.47$          
0001154 Snap ring, inner Ø80 2.54$            
0001155 Oil seal 50.80.10 TC 10.69$          
0001156 Use 0091446
0001158 Use 0056294
0001174 Cotter pin Ø4x35 Z 0.27$            
0001176 Spring, foot stand 7.46$            
0001177 Nut HH M14‐2.00 C6 Z MD 0.53$            
0001216 Bolt HH M10‐1.50x150 C8.8 Z P 2.68$            
0001225 Bolt HH M14‐2.00x45 C8.8 N P 1.47$            
0001226 Nut HH M14‐2.00 C6 N TK 0.45$            
0001227 Use 0001225
0001241 Bolt HH M10‐1.50x25 C8.8 N F 0.41$            
0001245 Use 0001254
0001254 Spacer 4.94$            
0001278 Bolt HH M10‐1.50x30 C8.8 Z F 0.52$            
0001279 Nut HH M10‐1.50 C6 Z TK 0.23$            
0001280 Washer lock Ø10 Z 0.12$            
0001283 Chain link, inner ASA 100 33.70$          
0001284 Chain link, false ASA 100 54.43$          
0001526 Bolt HH M14‐2.00x35 C8.8 Z F 1.37$            
0001608 Bolt HH M10‐1.50x40 C8.8 N F 0.74$            
0001631 Bearing 16013 162.70$       
0001637 Bolt HH M12‐1.75x20 C8.8 N F 0.44$            
0001639 Use 0002071
000175B Turnbuckle 89.68$          
0001805 Bolt HH M08‐1.25x50 C8.8 N F 0.26$            
0001806 Nut HH M08‐1.25 C6 Z TK 0.12$            
0001807 Nut wing M08‐1.25 C5 Z 0.91$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 4

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
000183E Use 0025329
000192B Bushing 3/4"x1"x17/32" 1.65$            
000193B Bushing 5/8"x3/4"x1/2" 1.32$            
000199E Retaining washer, overrunning clutch 2.64$            
0002028 Bolt HH M14‐2.00x35 C8.8 N F 0.76$            

0002034 Washer flat Ø10 Z 0.10$            
0002038 Use 0002265
0002049 Spacer 20.99$          

0002061D Tine "C" style, right 14.11$          
0002061S Tine "C" style, left 14.11$          
0002071 Oil seal 60.80.10 TC 12.93$          
0002072 Bearing 6310 51.33$          
0002073 Snap ring, inner Ø110 6.94$            
0002078 Use 0074183
0002091 Bolt HH M18‐2.50x80 C8.8 N F 2.83$            
0002099 Nut HH M12‐1.75 C6 N MD 0.18$            
0002111 Chain ASA 120x34 399.21$       
0002133 Oil seal 50.68.10 TC 10.65$          
0002137 Bearing 6214 133.07$       
0002141 Gasket 2.73$            
0002151 Gearbox 1,792.38$    
0002164 Bearing 30212 113.02$       
0002168 Bearing 30209 69.35$          
0002186 Bolt HH M12‐1.75x30 C8.8 N F 0.62$            
0002187 Bolt HH M16‐2.00x50 C8.8 N P 1.57$            
0002188 Washer spring lock Ø16 N 0.51$            
0002189 Nut HH M16‐2.00 C6 N TK 0.51$            
0002263 Spring 12.06$          
0002264 Cotter pin Ø3.5x25 0.27$            
0002265 Washer flat Ø12 Z 0.17$            

0002292 Bearing 6305 21.41$          
0002294 Snap ring, inner Ø62 9.05$            
0002295 Oil seal 35.62.10 TC 12.82$          
0002298 Washer flat Ø25 N 1.04$            
0002299 Nut HH M24‐2.00 C6 N MD 1.55$            
0002346 Bolt HH M14‐2.00x20 C8.8 N F 0.71$            
0002365 Bolt HH M16‐2.00x50 C8.8 Z P 2.14$            
0002366 Nut HH M16‐2.00 C6 Z TK 0.59$            
0002367 Washer lock Ø16 Z 0.34$            
0002369 Bolt HH M16‐2.00x110 C8.8 N P 2.37$            
0002370 Nut HH M16‐2.00 C6 N MD 0.45$            

0002374 Bolt HH M16‐2.00x130 C8.8 N P 2.83$            
0002390 Connecting link 31.56$          
0002391 Chain link, inner roller 43.54$          
0002393D Use 0002061D
0002393S Use 0002061S
0002437 Bolt HH M14‐2.00x40 C8.8 N F 1.30$            
0002643 Blade, aerating 12.46$          
0002645 Blade, aerating 15.39$          
000296E Screw (CV) 1.84$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 5

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0003016 Nut HH M18‐1.50 C6 N MD 1.04$            
0003033 Bolt HH M14‐2.00x30 C8.8 N F 0.76$            
0003037 Bolt HH M12‐1.75x25 C8.8 Z F 0.62$            
0003038 Nut HH M12‐1.75 C6 Z TK 0.34$            
0003049 Spacer 14.51$          
0003055 Nut CA M30‐2.00 C5 N TN 6.22$            
0003056 Washer flat Ø30 Z 1.47$            
0003061D Tine "C" style, right 16.04$          
0003061S Tine "C" style, left 16.04$          
0003062 Bolt SP M14‐1.50x40 C8.8 Z P 2.37$            
0003064 Nut HH M14‐1.50 C6 Z TK 0.71$            
0003070 Oil seal 75.95.12 TC 16.78$          
0003107 Chain ASA 140x34 680.93$       
0003121 Bolt HH M16‐2.00x100 C8.8 Z F 4.84$            
0003124 Nut HH M16‐2.00 C6 Z MD 0.53$            
0003135 Bolt HH M10‐1.50x45 C8.8 N P 0.51$            
0003143 Bolt HH M08‐1.25x16 C8.8 N F 0.26$            
0003144 Washer lock Ø08 Z 0.17$            
0003154 Bearing 6218 176.84$       
0003175 Bolt HH M18‐2.50x55 C8.8 Z P 4.02$            
0003176 Nut HH M18‐2.50 C6 N TK 1.18$            
0003177 Washer spring lock Ø18 N 0.51$            
0003182 Bearing 30213 139.99$       
0003186 Cover, pinion gear 128.60$       
0003188 Gasket pinion cover 5.07$            
0003217 Disk 21.55$          
0003220 Nut CA M24‐2.00 C5 N TK 3.90$            
0003234 Cross w/bearing 219.17$       

0003306 Oil seal 45.80.10 TC 12.91$          
0003366 Washer lock Ø18 Z 0.53$            
0003367 Nut HH M18‐2.50 C6 Z TK 1.04$            
0003370 Use 0003176
0003374 Bolt HH M18‐2.50x140 C8.8 N P 6.20$            
0004539 Bearing 30210 79.37$          
0004621 Wheel support, right 138.61$       
0004631 Wheel support, left 130.76$       
0004711 Belt B41 14.97$          
000501E Bolt w/nut; bolt HH M10‐1.50x80 C8.8 N P, nut ES M10‐1.50 3.47$            
000502E Bolt w/nut; bolt HH M12‐1.75x65 C8.8 N P, nut ES M12‐1.75 5.31$            
000503E Bolt w/nut; bolt HH M14‐1.50x70 C8.8 Z P, nut ES M14‐1.50 8.20$            
000504E Bolt w/nut; bolt HH M10‐1.50x95 C8.8 N P, nut ES M10‐1.50 3.84$            
000505E Bolt w/nut; bolt HH M08‐1.25x50 C8.8 N P, nut PT M08‐1.25 1.61$            
000506E Bolt w/nut; bolt HH M08‐1.25x60 C8.8 N P, nut PT M08‐1.25 2.71$            
000507E Bolt w/nut; bolt HH M10‐1.50x60 C8.8 N P, nut ES M10‐1.50 2.71$            
000508E Bolt w/nut; bolt HH M08‐1.25x45 C8.8 N P, nut PT M08‐1.25 1.33$            
000509E Use 6690640C
000511E Bolt w/nut; bolt HH M10‐1.50x50 C8.8 Z P, nut ES M10‐1.50 0.99$            
0005349 Bolt HH M20‐2.50x65 C8.8 Z P 4.02$            
0005350 Nut HH M20‐2.50 C6 Z TK 1.32$            
0005351 Washer lock Ø20 Z 0.70$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 6

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0005355 Bolt HH M18‐2.50x120 C8.8 N P 3.90$            
0005360 Washer flat Ø25 Z 0.99$            
0005501 Frame 60" 2,903.82$    
0005502 Wheel (4x10.0x5) 243.65$       
0005506 Bolt HH M20‐2.50x180 C8.8 Z P 9.96$            
0005507 Nut PT M20‐2.50 C6 Z TK 2.18$            
0005508 Nut HH M20‐2.50 C6 Z MD 0.87$            
0005512 Cover 24.37$          
0005521 Roll pin Ø10x45 4.22$            
0005522 Roll pin Ø10x50 1.56$            
0005523 Wheel arm RMD 184.01$       
0005524 Washer flat Ø33 Z 4.05$            
0005530 Bolt HH M16‐2.00x80 C8.8 Z P 4.59$            
0005531 Wheel yoke (1.250" shaft) 171.50$       
0005531Y Wheel yoke (1.125" shaft) 167.54$       
0005536 Bolt HH M14‐2.00x90 C8.8 Z P 2.21$            
0005538 Vertical support 134.15$       
0005539 Horizontal support 85.30$          
0005540 Bolt HH M20‐2.50x55 C8.8 Z F 2.87$            
0005542 Nut HH M20‐1.50 C6 Z MD 0.86$            
0005544 Spacer 15.54$          
0005548 Tube spacer 7.00$            
0005549 Chain 60" 31.10$          
0005550 Hitch pin 31.10$          
0005552 Housing, gearbox 1,036.73$    
0005553 Bearing 6304 43.03$          
0005556 Input shaft 194.39$       
0005557 Oil ring 0.47$            
0005559 Ring gear 311.01$       
0005560 Pinion gear 435.43$       
0005563 Shim Ø71x79x0.2 6.49$            
0005564 Ring gear 540 rpm 149.84$       
0005565 Pinion gear 253.51$       
0005566 Use 0030203
0005567 Front cover, gearbox 28.51$          
0005570 Nut ES M27‐2.00 Z TN 10.27$          
0005573 Nut CA M27‐2.00 C5 N TN 9.56$            
0005575 Washer flat Ø27 Z 1.03$            
0005576 Spacer 13.99$          
0005577 Oil ring 402 0.77$            
0005578 Use 0032512
0005580 Spacer 25.17$          
0005581 Nut PT M16‐2.00 C6 Z TK 0.87$            
0005582 Gearbox cover 80.29$          
0005586 Dipstick 19.18$          
0005588 Bolt HH M10‐1.50x16 C8.8 N F 0.35$            
0005601 Guard support 15.80$          
0005615 Handle for socket 20.49$          
0005617 Rotor 388.77$       
0005621 Stump jumper 186.61$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 7

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0005622 Blade carrier 380.99$       
0005627 Blade rotary cutter 42"‐48" 38.06$          
0005628 Blade rotary cutter 60" 48.29$          
0005629 Blade rotary cutter 72" 57.40$          
0005630 Gasket OR 144 1.23$            
0005631 Socket 41 mm. 82.94$          
0005633 Bolt blade M27‐2.00x70 94.82$          
0005635 Stop pin 1.56$            
0005638 Cotter pin Ø5x50 Z 1.91$            
0005672 Bolt HH M12‐1.25x70 C8.8 Z P 1.50$            
0005703 Housing, gearbox 1,036.73$    
0005709 Ring gear 311.01$       
000570E Guard cone set (CV) 58.17$          
0005710 Pinion gear 362.86$       
0005730 Spacer 19.18$          
0005736 Spacer 75.17$          
0005741 Input shaft 272.14$       
0005743 Bolt HH 1/2"‐13x3.25" G5 Z P 1.35$            
0005744 Nut ES 1/2"‐13 G2 Z 0.44$            
0005760 front shield 48" 318.04$       
0005761 Short chain rod 48" 16.70$          
0005762 Long chain rod 48" 16.94$          
0005801 Frame 72" 5,262.26$    
0005808 Chain 72" 59.61$          
0005819 Ring gear 414.69$       
0005820 Pinion gear 414.69$       
0005883 Rotor 48" 318.04$       
0005889 Bolt fixing 70.82$          
0005909 Chain 48" 28.51$          
0005927 Rotor 722.82$       
0005934 Nut ES M20‐1.50 Z TK 2.45$            
0005935 Spacer 16.05$          
0005936 Washer spacer Ø20 Z 4.13$            
0005937 Nut CA M20‐2.50 C5 Z TK 8.50$            
0005938 Bolt SP M20‐2.50x65 C8.8 N F 17.89$          
0005943 Gearbox 907.14$       
0005953 Rotor w/o hub 188.26$       
0005955 Spacer 10.63$          
0005956 Bolt blade SP M27‐2.00x55 30.46$          
0005958 Ring gear 207.35$       
0005959 Pinion gear 362.86$       
0005960 Bolt blade SP M27‐2.00x62 N P 30.46$          
0005962 Rotor w/o hub 42" 164.17$       
0005965 Stump jumper 165.10$       
0005967 Spacer 18.84$          
0005969 Oil ring 3156 1.04$            
0005971 Spacer 98.32$          
0006174 Bearing 30211 72.94$          
0006179 Exchange gear Z15 331.21$       
0006180 Exchange gear Z16 350.68$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 8

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0006181 Exchange gear Z17 370.17$       
0006182 Exchange gear Z18 389.64$       
0006226 Body, slip clutch 328.68$       
0006237 Gasket 5.12$            
0006349 Bolt HH M10‐1.50x20 C8.8 Z F 0.47$            
0006394 Bolt HH M16‐2.00x55 C8.8 N P 1.32$            
0006480 Bolt HH M14‐2.00x100 C8.8 N P 2.24$            
0006502 Frame, side discharge 60" 2,557.95$    
0006513 Nut HH M08‐1.25 C6 N TK 0.10$            
0006515 Belt shield 60" 150.34$       
0006519 Nut wing M10‐1.50 C5 Z 0.56$            
0006521 Use 0006521A
0006521A Deflector 60" 116.64$       
0006531 Central plate 48"‐60" 355.47$       

0006540 Linking plate, lower hitch 72.61$          
0006541 Support plate, gearbox 184.01$       
0006541H Gearbox mount plate 127.30$       
0006547 Bolt HH M12‐1.75x100 C8.8 Z F 1.96$            
0006549 Bolt HH M12‐1.75x120 C8.8 Z F 1.93$            
0006551 Clamp, tie rod 51.84$          
0006555 Tie rod, three point hitch 60" 77.76$          
0006558 Spacer, outer 7.27$            
0006565 Spacer, top hitch 11.14$          
0006566 Bolt HH M16‐2.00x100 C8.8 Z P 3.10$            
0006571 Top hitch arm 48"‐72" 33.91$          
0006573 Lower hitch 64.80$          
0006577 Bolt HH M16‐2.00x60 C8.8 Z P 2.16$            
0006578 Bolt HH M16‐2.00x45 C8.8 Z F 1.61$            
0006581 Wheel arm 106.27$       
0006581D Wheel arm, right 116.99$       
0006581S Wheel arm, left 116.99$       
0006584 Wheel spacer, inner 8.02$            
0006585 Wheel spacer, outer 4.94$            
0006586 Height adjustment spacer 1" 1.91$            
0006587 Height adjustment spacer 1/2" 1.65$            
0006588 Regulating lever, wheel 13.99$          
0006588B Regulating lever, wheel 13.99$          
0006588C Regulating lever, wheel 13.99$          
0006589 Height adjustment spacer 1/4" 1.47$            
0006590 Cover, wheel yoke 0.67$            
0006591 Wheel arm 111.46$       
0006594 Bolt CR M12‐1.75x45 C8.8 Z 1.52$            
0006597 Wheel yoke 115.67$       
0006601 Use 0006597
0006605 Roll pin Ø6x32 0.94$            
0006606 Shim Ø25x35x2 1.82$            
0006607 Bolt HH M12‐1.75x130 C8.8 Z P 2.05$            
0006609 Use 0008528
0006610 Use 0008783
0006611 Use 0006923Y

All prices are FOB Rocky Mount, NC and are subject to change without notice. 9

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0006612 Use 0006923Y
0006613 Bushing, wheel 5.09$            
0006615 Bolt HH M14‐2.00x140 C8.8 Z P 3.89$            
0006617 Bearing 6004‐Z 10.62$          
0006618 Spacer, wheel w/bearing 2.15$            
0006619 Bolt HH M14‐2.00x150 C8.8 Z P 5.41$            
0006620 Spindle assembly complete 253.51$       
0006621 Pulley SPB 130x2 134.00$       
0006622 Pulley SPB 130x1 108.32$       
0006623 Use 0006698
0006625 Spacer 5.93$            
0006626 Use 0006626A
0006626A Bearing 6205‐ZZ 12.09$          
0006626B Use 503717B
0006627 Use 0006627A
0006627A Bearing 6205 12.40$          
0006628 Spacer, spindle 3.94$            
0006629 Use 0006629C
0006629C Spindle assembly complete 233.21$       
0006630 Spacer, spindle 20.49$          
0006631 Spindle 111.46$       
0006634 Use 0006634A
0006634A Bearing 6205‐Z 13.11$          
0006635 Grease fitting Ø6 PR STR 1.11$            
0006635B Use 0051129
0006636 Cover, spindle 5.15$            
0006638 Shaft, spindle 110.45$       
0006639 Key 8x7x25 1.30$            
0006640 Spacer, spindle 11.32$          
0006641 Blade standard 60" 29.00$          
0006641B Blade high lift 60" 37.52$          
0006641F Blade low lift 60" 37.52$          
0006641G Blade Gator 60" 37.52$          
0006641M Blade mulching 60" 37.52$          
0006642 Washer serrated safety Ø18 N 1.56$            
0006643 Nut SP M18‐1.50 Z 4.62$            
0006645 Washer serrated safety Ø14 N 1.56$            
0006647 Cap 0.61$            
0006648 Spindle 105.95$       
0006649 Spindle shaft 80.70$          
0006652 Housing, gearbox 783.63$       
0006653 Cover, gearbox housing 124.41$       
0006654 Housing, gearbox 822.78$       
0006655 Gasket 0.2 mm. 1.83$            
0006656 Cover, gearbox housing 80.35$          
0006657 Input shaft 170.53$       
0006658 Housing, gearbox 599.19$       
0006659 Bolt blade SP M14‐1.50x32 11.73$          
0006661 Spacer, rear 5.96$            
0006662 Spacer 17.56$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 10

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0006663 Front spacer, gearbox 15.54$          
0006665 Spacer, gearbox 19.69$          
0006667 Spacer, gearbox 10.38$          
0006668 Shim Ø63x80x0.3 6.17$            
0006675 Cover, gearbox housing 46.66$          
0006676 Pinion gear Z12 253.51$       
0006676A Use 0006676
0006677 Ring gear Z37 302.91$       
0006677A Use 0006677
0006678 Pinion gear 288.34$       
0006679 Ring gear Z31 225.94$       
0006680 Pinion gear Z11 288.34$       
0006683 Shim Ø40x50x0.2 2.03$            
0006684 Oil seal 40.80.10 TC 16.85$          
0006685 Shim Ø40x50x2.5 4.94$            
0006687 Spacer, gearbox 16.89$          
0006688 Key 8x7x35 1.56$            
0006689 Key 8x7x30 1.56$            
0006690 Blade standard 84" 42.40$          
0006690B Blade high lift 84" 47.85$          
0006690F Blade low lift 84" 47.85$          
0006690G Blade Gator 84" 47.85$          
0006690M Blade mulching 84" 47.85$          
0006691 Gasket, aluminum 0.27$            
0006692 Pulley SPB 250x2 336.60$       
0006693 Belt 5VX710 48.76$          
0006694 Belt 5VX1000 63.45$          
0006697 Belt SPBX1500 75.35$          
0006698 Nut SP M25‐1.50 Z 13.26$          
0006760 Frame, side discharge 48" 3,317.55$    
0006764 Chain link, rear protection 1.56$            
0006769 Belt SPBX1700 84.59$          
0006770 Pulley SPB 140x2 354.71$       
0006775 Belt shield 48" 137.38$       
0006776 Baffling rear 48" 353.52$       
0006777 Baffling rear 60" 395.17$       
0006778 Baffling rear 72" 428.68$       
0006780 Guard support 72" 31.34$          
0006781 Deflector 48" 149.57$       
0006782 Baffling front 48" 353.52$       
0006783 Baffling front 60" 395.17$       
0006784 Baffling front 72" 428.68$       
0006785 Tie rod, three point hitch 48" 69.98$          
0006787 Spacer 0.34$            
0006791 Pulley SPB 120x2 122.13$       
0006792 Pulley SPB 120x1 96.80$          
0006795 Blade standard 48" 27.19$          
0006795B Blade high lift 48" 32.96$          
0006795F Blade low lift 48" 32.96$          
0006795G Blade Gator 48" 32.96$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 11

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0006795M Blade mulching 48" 32.96$          
0006798 Belt 5VX630 43.31$          
0006801 Baffling front 84" 477.56$       
0006806 Baffling rear 84" 477.56$       
0006810 Frame, side discharge 72" 3,758.14$    
0006814 Central plate 84" 246.95$       
0006821 Top hitch arm 84" 83.28$          
0006822 Top hitch support 48"‐72" 39.36$          
0006823 Top hitch support 84" 47.33$          
0006825 Belt shield 72" 158.09$       
0006826 Lower hitch arm 84" 20.03$          
0006827 Spacer 4.64$            

0006828 Top hitch plate 34.31$          
0006829 Spacer 5.96$            
0006831 Deflector 72" 110.60$       
0006834 Bolt HH M16‐2.00x150 C8.8 Z P 4.61$            
0006835 Tie rod, three point hitch 72" 88.13$          
0006837 Top hitch arm 48" 76.88$          
0006838 Top hitch arm 60" 80.11$          
0006839 Top hitch arm 72" 89.02$          
0006841 Pulley SPB 160x2 161.54$       
0006842 Pulley SPB 160x1 122.13$       
0006843 Belt SPBX2020 106.45$       
0006845 Blade standard 72" 36.26$          
0006845B Blade high lift 72" 41.49$          
0006845F Blade low lift 72" 41.49$          
0006845G Blade Gator 72" 41.49$          

0006845M Blade mulching 72" 41.49$          
0006846 Hitch pin, top cat. 1 6.89$            
0006848 Belt 5VX850 53.22$          
0006850 Spacer 14.81$          
0006851 Use 0006913
0006853 Spacer 17.24$          
0006854 Linking plate, lower hitch 84" 172.05$       
0006861 Pulley SPB 190x2 259.18$       
0006862 Pulley SPB 190x1 181.41$       
0006865 Guard support 84" 31.10$          
0006875 Central plate 60" 229.39$       
0006881 Three point hitch 143.05$       
0006886 Top hitch arm 48" 52.90$          
0006887 Top hitch arm 60" 52.90$          
0006888 Top hitch arm 72" 61.14$          
0006891 Bolt HH M16‐2.00x140 C8.8 Z P 4.49$            
0006892 Tractor hitch support 60"‐72" 194.77$       
0006895 Upper plate, three point hitch 18.96$          
0006898 Inner spacer 7.52$            
0006904 Central plate 48" 229.36$       
0006911 Ring gear 414.83$       
0006912 Pinion gear 414.83$       
0006913 Central plate 72" 229.36$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 12

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0006923Y Wheel w/hard tire complete 72.13$          
0006943 Bolt HH M10‐1.50x120 C8.8 Z F 2.12$            
0006946 Wheel yoke 113.44$       
0006946B Use 0006946
0006946L Use 0006946
0006953 Wheel arm 207.35$       
0006957 Spacer 20.99$          
0006958 Spacer 3.11$            
0006962 Dust cover 5.99$            
0006963 Bolt HH M12‐1.75x55 C8.8 Z P 0.95$            
0006964 Wheel w/air tire complete 124.70$       
0006965 Tire only 49.89$          
0006966 Inner tube, wheel 31.10$          
0006967 Use 0006964
0006967A Use 0006964
0006968 Bearing needle 9.27$            
0006968A Use 0006968
0006969 Steel retainer 6.11$            
0006969A Steel retainer 7.72$            
0006970 Belt 5VX950 143.35$       
0006971 Use 0006946
0006972 Wheel spacer, outer 4.55$            
0006998 Housing, gearbox 599.19$       
0007069 Use 0018044
0007087 Use 0077055
0007094 Oil seal 52.85.10 SC 14.37$          
0007103 Gasket 4.71$            
0007128 Bolt HH M12‐1.75x80 C8.8 Z F 1.95$            
0007157 Bearing 6211 67.24$          
0007166 Bearing 30306 53.04$          
0007172 Use 0007172A
0007172A Bearing 30207 52.60$          
0007173 Spacer 33.06$          
0007175 Gasket 1.95$            
0007181 Oil ring 740 3.55$            
0007224 Nut ES M14‐2.00 Z TK 0.53$            
0007255 Bolt HH M12‐1.75x35 C8.8 Z F 0.73$            
0007257 Chain 5.44$            
0007288D Tine "L" style, right 15.54$          
0007288S Tine "L" style, left 15.54$          
0007519 Bolt HH M14‐2.00x70 C8.8 Z F 1.56$            
0007534 Oil seal 55.85.10 TC 14.11$          
0007552 Bolt HH M14‐2.00x50 C8.8 N F 1.28$            
0007568 Spline hexagonal shaft coupling 188.30$       
0007716 Bolt HH M12‐1.75x45 C8.8 Z F 1.43$            
0007717 Bolt HH M12‐1.75x45 C8.8 N P 0.80$            
0007766 Nut HH M20‐2.50 C6 N TK 1.04$            
0007805 Oil seal 65.85.10 TC 14.09$          
0007811 Ring gear 532.19$       
0007812 Pinion gear 594.77$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 13

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0007826 Locking ring KM 8 M40‐1.50 8.61$            
0007827 Washer lock MB 8 Z 0.86$            
0008002 Frame 50" 804.18$       
0008029 Bolt HH M16‐2.00x90 C8.8 Z P 2.78$            
0008037 Bolt HH M08‐1.25x50 C8.8 Z F 0.45$            
0008136 Bearing 6308‐2RS 67.77$          
0008137 Snap ring, inner Ø90 3.10$            
0008138 Snap ring, outer Ø40 1.76$            
0008153 Bolt HH M12‐1.75x40 C8.8 N F 0.82$            
0008155 Oil seal 70.90.10 SC 15.28$          
0008171 Bolt HH M08‐1.25x20 C8.8 N F 0.35$            
0008402 Frame, side discharge 48" 1,866.11$    
0008417 Belt shield 48" 137.37$       
0008418 Use 0008417
0008431 Central plate 72" 264.36$       
0008432 Central plate 48" 266.99$       
0008436 Central plate 60" 272.14$       
0008441 Cap 15x30 mm. 1.62$            
0008443 Gearbox support 241.05$       
0008455 Spacer tube 11.14$          
0008461 Top hitch arm 48" 52.90$          
0008462 Top hitch arm 72" 61.14$          
0008463 Tie rod, three point hitch 48" 72.60$          
0008469 Upper plate, three point hitch 18.77$          
0008471 Bolt HH M12‐1.75x150 C8.8 Z P 1.98$            
0008472 Three point hitch 224.66$       
0008476 Lower hitch arm 51.84$          
0008481 Three point hitch 197.66$       
0008491 Lower hitch arm 48" 130.09$       
0008495 Lower hitch spacer 5.70$            
0008501 Hitch pin 36.29$          
0008501B Hitch pin 3/4"x2‐5/8" 23.89$          
0008505 Use 0008505
0008506 Chain 3.11$            
0008507 Wheel arm 48"‐60" 95.89$          
0008507E Wheel arm, rear 95.89$          
0008509 Wheel arm tube 4.82$            
0008511 Bolt CR M12‐1.75x35 C8.8 Z 1.89$            
0008518 Shaft, wheel yoke 4.82$            
0008520 Use 0006587
0008522 Bushing, wheel 4.40$            
0008523 Wheel w/bushing 108.86$       
0008526 Wheel w/hard tire complete 94.45$          
0008528 Spacer, wheel 10.37$          
000852E Use 0500150
0008530 Use 0008526
0008531 Pulley SPB 120x1 96.80$          
0008533 Spindle assembly complete 201.41$       
0008533B Use 0008533M
0008533M Spindle assembly complete, central spindle 225.15$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 14

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0008536 Spacer, spindle 8.56$            
0008537 Spindle assembly complete 274.37$       
0008537B Spindle assembly complete, central spindle 179.61$       
0008538 Spindle 81.39$          
0008545 Blade holder shaft 155.78$       
0008545B Blade holder shaft 105.33$       
0008557 Shaft, spindle 78.37$          
0008559 Use 0006659
0008560 Washer conical spring Ø18 Z 6.60$            
0008561 Belt tensioner pulley 67.59$          
0008563 Belt tensioner support 32.56$          
0008566 Bolt HH M20‐2.50x45 C8.8 N F 2.66$            
0008568 Washer flat Ø16 Z 0.40$            
0008571 Hitch plate 8.55$            
0008576 Bolt HH M20‐2.50x65 C8.8 Z F 3.41$            
0008577 Use 0051965
0008586 Use 0051740
0008594 Housing w/fill hole, gearbox 108.85$       
0008598 Breather cap 13.74$          
0008601 Gasket, breather cap 0.27$            
0008603 Shaft w/gear through drive 342.90$       
0008609 Cap V4‐237 15.54$          
0008623 Pulley SPB 250x1 232.89$       
0008630 Belt BX98 44.06$          
0008631 Frame, side discharge 60" 2,488.13$    
0008639 Pinion gear 391.79$       
0008645 Belt shield 60" 139.97$       
0008646 Use 0008645
0008654 Tie rod, three point hitch 60" 77.76$          
0008660 Top hitch arm 60" 54.90$          
0008661 Lower hitch arm 60" 137.37$       
0008663 Shaft protection 22.33$          
0008666 Pulley SPB 130x1 99.13$          
0008670 Belt BX112‐1/2 50.85$          
0008679 Roll pin Ø8x55 1.50$            
0008711 Wheel arm 60" 336.94$       
0008712 Ball Joint 77.43$          
0008716 Bolt HH M06‐1.00x50 C8.8 Z F 0.18$            
0008718 Belt BX96 67.78$          
0008719 Belt BX110 58.06$          
0008720 Belt BX138 62.97$          
0008724 Hitch bracket 101.61$       
0008730 Bolt CR M06‐1.00x80 C4.8 Z 0.21$            
0008731 Drawbar 163.13$       
0008738 Wheel yoke w/hexagonal shaft 106.18$       
0008741 Attachment bracket, drawbar 94.98$          
0008748 Offset bar 87.37$          
0008750 Mounting bracket, offset bar 67.49$          
0008754 Bolt "U" M12‐1.75x76x51 Z 5.91$            
0008755 Baffling, front 48" 212.30$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 15

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0008756 Baffling, rear 48" 212.30$       
0008757 Use 0115824
0008758 Use 0115825
0008759 Baffling, front 72' 244.96$       
0008760 Baffling, rear 72" 244.96$       
0008763 Drawbar 211.10$       
0008765 Drawbar 211.10$       
0008773 Ball joint 72.28$          
0008775 Top hitch arm 72" 54.22$          
0008776 Wheel yoke C30‐CE5 76.54$          
0008778 Spring Ø31x50 8.15$            
0008779 Cap, threaded yoke 2.76$            
0008780 Height adjustment stand 63.39$          
0008783 Pin, wheel yoke 6.20$            
0008785 Wheel yoke 124.69$       
0008792 Use 0006791
0008797 Wheel w/air tire complete 102.60$       
0008805 Lower hitch arm 72" 130.89$       
0008807 Blade holder shaft 89.90$          
0008810 Stand, throttle 58.76$          
0008811 Grommet Ø16 1.00$            
0008812 Cap Ø30, throttle stand 6.85$            
0008815 Kill switch, complete 98.85$          
0008818 Bolt HH M10‐1.50x110 C8.8 Z F 1.65$            
0008821 Wheel arm 72" 108.86$       
0008823 Top hitch support 66.18$          
0008824 Ring Ø25 1.30$            
0008825 Throttle & kill switch assembly, complete 280.31$       
0008831 Wheel yoke 124.69$       
0008836 Hitch block 67.38$          
0008841 Spacer, wheel 18.38$          
0008841Y Bushing, wheel 17.89$          
0008842 Bushing, wheel 7.35$            
0008842Y Spacer, wheel 17.89$          
0008847 Belt BX108 61.62$          
0008848 Belt BX34 16.34$          
0008850 Belt BX36 23.93$          
0008851 Clutch centrifugal 278.19$       
0008853 Spacer 6.23$            
0008855 Bolt HH 7/16"‐20x1.00" G8 Z F 0.52$            
0008856 Throttle stand 67.87$          
0008858 Engine 11.5 HP 1,466.64$    
0008861 Engine plate, short 16.05$          
0008865 Engine plate, long 16.05$          
0008870 Spacer, engine adjustment 5.34$            
0008872 Plate, belt tensioner 15.16$          
0008874 Plate, belt tensioner 26.62$          
0008879 Bolt HH M10‐1.50x80 C8.8 Z F 0.71$            
0008881 Pulley SPB 160x1 122.13$       
0008892 Input shaft 127.01$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 16

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0008893 Ring gear 259.18$       
0008923 Roller support, right 80.35$          
0008929 Roller pin 20.77$          
0008933 Use 0008571
0008936 Use 0006621
0008942 Belt BX124 78.07$          
0008945 Frame, side discharge 72" 3,136.10$    
0008950 Belt BX140 62.97$          
0008961 Belt shield 72" 140.54$       
0008962 Input shaft 112.95$       
0008963 Ring gear 391.79$       
0008983 Input shaft 215.19$       
0008984 Ring gear 530.12$       
0008985 Pinion gear 530.12$       
0008986 Input shaft w/ccw rotation 228.18$       
0008987 Oil seal 35.68.10 TC 6.77$            
0008988 Bearing 6405 177.93$       
0008989 Snap ring, outer Ø28 1.32$            
0008990 Pulley SPB 180x1 576.16$       
0009013 Front hitch 132.18$       
0009031 Shaft protection 301.13$       
0009103 Back plate 33.70$          
0009121 Bracket, rear mower 619.22$       
0009159 Washer flat Ø36 Z 3.01$            
0009160 Front hitch 15' 258.74$       
0009170 Rear hitch 15', 17' 221.95$       
0009173 Hitch plate 64.96$          
0009176 Transport hook, rear 69.98$          
0009180 Linkage, rear hydraulic cylinder 52.34$          
0009183 Tie rod, rear 47.52$          
0009194 Joint, tie rod 13.76$          
0009201 Pin 36.29$          
0009202 Clevis pin 1"x2‐3/4" 11.07$          
0009206 Regulating nut 59.61$          
0009213 Regulating screw 38.87$          
0009220 Turnbuckle 45.94$          
0009223 Support, input shaft SAP 207 230.64$       
0009230 Input shaft 350.30$       
0009264 Joint w/double yoke 311.01$       
0009311 Front hitch 17' 311.01$       
0009331 Front hitch 12' 311.01$       
0009351 Drawbar 1,165.49$    
0009401 Flex axle 1,218.15$    
0009424 Use 0009031
0009442 Oil seal 35.52.7 SC 9.62$            
0009476 Pulley, nylon 16.33$          
0009501 Rear hitch 12' 215.79$       
0009538 Bolt HH M20‐2.50x45 C8.8 Z F 2.73$            
0009590 Input shaft 306.83$       
0009601 Drawbar 1,088.59$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 17

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0009612 Hitch, main frame 1,140.39$    
0009622 Support, front roller 97.79$          
0009641 Main frame 1,218.15$    
0009655 Hitch, rear frame 215.13$       
0009672 Rear frame 933.05$       
0009692 Locking plate 27.19$          
0009694 Locking plate support 24.11$          
0009701 Shaft protection 238.44$       
0009702 Protection extension, input shaft 137.37$       
0009703 Bottom shield 30.84$          
0009711 Hook support plate 108.96$       
0009712 Hook support plate 45.24$          
0009713 Rope guide bracket 37.70$          
0009721 Transport hook 62.44$          
0009726 Spring 23.84$          
0009731 Bracket, unlocking handle 41.47$          
0009737 Unlocking handle 27.06$          
0009740 Unlocking handle, hydraulic kit 25.94$          
0009754 Nylon rope, side 870 mm. 3.11$            
0009755 Nylon rope, front 2500 mm. 5.96$            
0009757 U clamp complete 3.17$            
0009760 Grease fitting M10‐1.00 threaded 45 degree 4.94$            
0009768 Nut CA M20‐2.50 C5 N TN 4.43$            
0009769 Cover, wheel 11.66$          

0009770 Hub, wheel 219.00$       
0009771 Bearing 30205 30.95$          
0009777 Back plate 32.66$          
0009825 Kick‐out bracket 33.70$          
0009831 Rear hitch 647.96$       
0009841 Spacer 16.05$          
0009843 Bolt HH M20‐2.50x130 C8.8 Z P 5.72$            
0009846 Spacer 4.48$            
0009862 Tie rod, rear 24.13$          
0009868 Hitch, tie rod 17.64$          
0009884 Bolt HH M16‐2.00x65 C8.8 Z F 2.24$            

0009970 Housing, gearbox 622.04$       
0009971 Front cover, gearbox 119.06$       
0009972 Side support, gearbox housing 153.53$       
0009973 Ring gear 253.74$       
0009974 Oil seal 35.55.10 TC 9.76$            
0009975 Input shaft 207.35$       
0009976 Output shaft 145.14$       
0010005 Stand support 11.90$          
0010011 Side panel, right 127.01$       
0010021 Side panel, left 202.17$       
0010035 Use 0001107A
0010073 Cover 16.36$          
0010102 Outer cover, lower left 9.33$            
0010111 Sprocket Z15 86.35$          
0010112 Sprocket Z16 112.01$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 18

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0010115 Sprocket Z12 76.67$          
0010116 Sprocket Z19 86.35$          
0010118 Sprocket Z9 72.60$          
0010119 Sprocket Z22 184.01$       
0010122 Snap ring, outer Ø30 1.59$            
0010125 Chain ASA 60HEx46 126.74$       
0010125B Use 0010125
0010126 Chain link, master ASA 60E 19.45$          
0010126B Chain link, master ASA 60HE 22.90$          
0010143 Outer cover, upper left 9.33$            
0010148 Spacer 9.33$            
0010163 Housing, gearbox 101.09$       
0010164 Housing w/center fill hole, gearbox 116.59$       
0010165 Bolt HH M10‐1.50x120 C8.8 N P 1.77$            
0010168 Front cover, gearbox 28.51$          
0010169 Bolt SC M10‐1.50x110 C12.9 N P 1.63$            
0010171 Bolt SC M08‐1.25x50 C8.8 Z P 0.41$            
0010173 Bolt SC M08‐1.25x50 C8.8 N P 0.45$            
0010175 Lift plate 8.55$            
0010176 Lift plate 9.95$            
0010177 Breather cap 12.19$          
0010180 Lift plate 18.53$          
0010182 Ring gear Z23, complete 285.47$       
0010187 Pinion gear 195.22$       
0010192 Oil seal 40.68.10 TC 19.05$          
0010196 Spacer 7.78$            
0010241 Side shift complete 311.01$       
0010248 Right protection 36.85$          
0010249 Right protection 51.84$          
0010250 Side shift complete 311.01$       
0010258 Left protection 24.02$          
0010272 Arm, top hitch 31.41$          
0010273 Support, top hitch 25.94$          
0010279 Pin, three point hitch 20.80$          
0010317 Chain, complete 8.89$            
0010318 Chain 4.67$            
0010335 Ratchet arm 36.29$          
0010342 Ratchet arm 11.53$          
0010353 Stand 13.22$          
0010425 Ring gear Z31, complete 388.77$       
0010429 Pinion gear 311.01$       
0010435 Spacer 8.32$            
0010552 Frame 42" 217.71$       
0010561 Side panel, right 154.55$       
0010571 Side panel, left 215.13$       
0010581 Cover, chain case 142.54$       
0010628 Outer cover, right 69.98$          
0010696 Hexagonal shaft cover 12.95$          
0010700 Hexagonal shaft 124.43$       
0010727 Plug 9.66$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 19

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0010751 Pulley 108.86$       
0010754 Belt BX39 17.11$          
0010756 Belt cover 199.55$       
0010760 Bracket, belt cover 28.51$          
0010761 Bracket, idler tension 44.05$          
0010831 Tailgate 42" 156.69$       
0010836 Chain 3.89$            
0010838 Bracket, tailgate 13.72$          
0010861 Drawbar complete 388.77$       
0010876 Hitch, drawbar 88.13$          
0010885 Tubular bar 93.31$          
0010891 Spring 85.54$          
0010894 Plate, left end 41.47$          
0010901 Plate, right end 41.47$          
0010906 Lever 21.27$          
0010907 Lever bracket 12.19$          
0010911 Wheel strap 7.27$            
0010922 Inner bushing 7.78$            
0010923 Outer bushing 5.17$            
0010937 Bushing, left 8.34$            
0010939 Bushing, right 6.34$            
0011011 Side panel, right 98.50$          
0011021 Drive panel 132.18$       
0011030 Cover, chain case 69.97$          
0011030A Cover, chain case 69.97$          
0011105 Use 0001105
0011111 Chain link, inner ASA 60E 3.81$            
0011112 Chain link, false ASA 60E 3.81$            
0011114 Sprocket Z21 147.72$       
0011118 Sprocket Z14 110.19$       
0011119 Chain link, inner ASA 60HE 5.31$            
0011120 Chain link, false ASA 60HE 5.31$            
0011124 Chain ASA 60Ex47 108.86$       
0011130 Spring, chain tensioner reverse rotation 10.48$          
0011201 Support, guard 33.71$          
0011207 Guard, PTO shaft 33.71$          
0011208 Bolt HH M06‐1.00x12 C4.6 Z F 0.21$            
0011209 Washer fender Ø06 Z 0.10$            
0011210 Bolt PN M06‐1.00x12 C4.6 Z F 0.18$            
0011215 Washer fender Ø06 Z 0.35$            
0011221 Side shift complete 365.99$       
0011231 Side shift complete 488.52$       
0011241 Side shift complete 545.65$       
0011251 Bolt "V" M12‐1.75x67x73 Z 9.27$            
0011253 Bolt "V" M12‐1.75x54x65 Z 12.72$          
0011273 Use 0058330
0011278 Extension, lower hitch 29.89$          
0011282 Arm, top hitch 33.62$          
0011283 Support, top hitch 30.24$          
0011284 Arm, top hitch 21.95$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 20

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0011285 Support, top hitch 21.95$          
0011292 Bolt HH M12‐1.75x110 C8.8 Z P 2.13$            
0011311 Chain hitch 24.89$          
0011320 Nut PT M06‐1.00 C6 Z TK 0.10$            
0011327 Bolt "U" M08‐1.25x21x51 Z 3.11$            
0011328 Nut PT M08‐1.25 C6 Z TK 0.16$            
0011332 Stand 45.88$          
0011333 Lynch pin Ø10x70 6.49$            
0011336 Plastic cap 30 mm. 0.80$            
0011385 Arm, top hitch cat. 0 40.39$          
0011386 Support, top hitch cat. 0 37.15$          
0011388 Spacer 3.62$            
0011398 Spacer cat.0 10.87$          
0011403 Hitch pin 17.38$          
0011417 Safety pin 3.29$            
0011421 Housing w/fins w/fill hole, gearbox 122.79$       
0011423 Housing w/fill hole, gearbox 122.79$       
0012026 Bearing 6209 46.19$          
0012028 Snap ring, outer Ø45 2.34$            
0012149 Use 0012149A
0012149A Bearing 6208 42.80$          
0013043 Support flange, right 138.50$       
0013044 Spacer 29.64$          
0013048 Flanged shaft, right 190.91$       
0013054 Dirt shield, outer 44.30$          
0013056 Dirt shield, inner 42.64$          
0013077 Flanged shaft, left 431.82$       
0013094 Rotor support, left 394.74$       
0013095 Gasket 3.55$            
0013104 Use 0006513
0013116 Sprocket Z14 354.31$       
0013123 Sprocket Z11 464.96$       
0013199 Oil seal 45.68.10 SC 11.52$          
0013341 Spring 7.80$            
0013345 Nut ES M12‐1.75 Z TK 0.38$            
0013428 Shaft input 238.07$       
0013705 Oil seal 35.52.10 SC 9.62$            
0014030 Rotor support, right 131.89$       
0014050D Tine "L" style, right 20.29$          
0014050S Tine "L" style, left 20.29$          
0014066 Gasket 2.28$            
0014074 Washer flat Ø42 N 5.07$            
0014078 Use 501941B
0014081 Chain tensioner 41.16$          
0014083 Spring 12.34$          
0014094 Bolt HH M12‐1.75x16 C8.8 Z F 1.10$            
0014095 Gasket 2.73$            
0014106 Nut ES M10‐1.50 Z TK 0.23$            
0014143 Gasket 2/10 3.50$            
0014169 Flange 112.99$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 21

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0014172 Gasket 1.90$            
0014193 Spacer 13.48$          
0014214 Lock collar 8.39$            
0014216 Guard cone, inner shield 38.37$          
0014217 Inner tube 26.60$          
0014218 Locking collar 9.12$            
0014246 Bolt HH M18‐2.50x60 C8.8 Z P 2.60$            
0014300 Frame 209, 212 443.69$       
0014314 Bolt CR M08‐1.25x20 SS 0.60$            
0014315 Bolt CR M08‐1.25x25 SS 0.59$            
0014316 Washer fender Ø08 SS 0.20$            
0014317 Washer lock Ø08 SS 0.09$            
0014318 Nut HH M08‐1.25 SS MD 0.17$            
0014319 Washer flat Ø08 SS 0.12$            
0014320 Bolt HH M06‐1.00x16 SS F 0.35$            
0014321 Washer lock Ø06 SS 0.23$            
0014322 Nut HH M06‐1.00 SS TK 0.12$            
0014327 Hopper bottom plate s/steel 164.13$       
0014334 Bolt HH M08‐1.25x45 SS P 0.82$            
0014335 Nut ES M08‐1.25 SS TK 0.35$            

0014337 Protection 209, 212 51.21$          
0014338 Attachment plate, steel hopper 7.40$            
0014339 Attachment plate, polyethylene hopper 7.40$            
0014346 Tie rod 209, 212 12.46$          
0014358 Washer SP Ø11 Z 0.14$            
0014360 Guide plate, shutter 29.09$          
0014366 Bracket, shutter adjustment lever 28.86$          
0014370 Hitch lever 209, 212 35.63$          
0014375 Lever 209, 212 24.84$          
0014380 Lever 209, 212 24.84$          
0014384 Hitch lever 209, 212 29.86$          
0014391 Rubber cap 1.69$            
0014396 Scaled rod 209, 212 25.22$          
0014410 Spreader disc s/steel 247.52$       
0014414 Spreader wing s/steel 33.60$          
0014425 Washer flat Ø27 N 0.85$            
0014427 Bolt HH M08‐1.25x45 C8.8 Z P 0.38$            
0014430 Filter grate 448.07$       
0014442 Gearbox plug 4.19$            
0014444 Outer tube w/yoke 550 46.01$          
0014445 Inner tube w/yoke 560 46.01$          
0014446 Shield, outer tube 530 19.33$          
0014447 Shield, inner tube 530 19.33$          
0014448 Use 3CE01071B
0014459 Cap M16‐1.50 1.69$            
0014464 Snap ring, outer Ø65 1.76$            
0014466 Use 0018531
0014470 Beam, tumbling agitator 54.33$          
0014477 Bolt HH M10‐1.50x60 C8.8 Z P 0.90$            
0014478 Hitch, tumbling agitator 32.94$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 22

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0014485 Stirrer, tumbling agitator 52.49$          
0014488 Wheel, tumbling agitator 14.84$          
0014490 Bolt HH M08‐1.25x50 C8.8 Z P 0.41$            
0014501 Deflector shield 150.06$       
0014505 Deflector connection 29.39$          
0014514 Washer fender Ø08 Z 0.97$            
0014530 Half conveyor, front 189.05$       

0014531 Latch, conveyor 8.50$            
0014540 Half conveyor, rear 243.85$       
0014550 Baffle plate, conveyor 40.37$          
0014553 Rivet Ø4x10 SS 0.44$            
0014590 Bracket, cable support 23.86$          
0014594 Cable support 16.70$          
0014601 Use 0014625
0014616 Rubber cap Ø45 3.01$            
0014619 Bolt CR M08‐1.25x35 C4.6 Z 0.57$            
0014620 Frame 203 291.80$       
0014625 Frame 206 299.65$       
0014627 Protection 203 29.44$          
0014630 Protection 206 29.88$          
0014631 Use 0014391
0014632 Protection 206 49.32$          
0014635 Attachment plate, polyethylene hopper 7.40$            
0014640 Lever 206 24.00$          
0014641 Tie rod 206 10.99$          
0014643 Lever 206 24.00$          
0014645 Scaled rod 206 25.22$          
0014647 Spreader disc nylon 206 31.26$          
0014660 Bolt HH M08‐1.25x35 SS F 0.70$            
0014690 Gearbox complete 260.99$       
0014710 Bushing cat. 0/1 2.62$            
0014721 Stirrer, tumbling agitator 56.11$          
0014730 Hitch, tumbling agitator 29.54$          
0014735 Beam, tumbling agitator 39.93$          
0014739 Hitch, tumbling agitator 32.09$          
0014742 Stirrer, tumbling agitator 51.33$          
0014744 Beam, tumbling agitator 54.33$          
0014746 Bolt HH M12‐1.75x60 C8.8 Z P 1.30$            
0014772 Bottom plate, s/steel 77.98$          
0014773 Mobile shutter, s/steel 58.79$          
0014777 Guard, stirrer 21.19$          
0014806 Bolt HH M06‐1.00x30 SS P 0.29$            
0014807 Washer flat Ø06 SS 0.18$            
0014808 Nut ES M06‐1.00 SS TK 0.20$            
0014810 Cover 2.50$            
0014857 Bolt HH M06‐1.00x20 C8.8 Z F 0.99$            
0014862 Bolt HH M06‐1.00x45 C8.8 Z P 0.29$            
0014871 Hairpin cotter bent Ø4 Z 1.76$            
0014873 Shim Ø28x0.3 0.20$            
0014878 Bushing for tire 103, 106 6.40$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 23

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0014885 Oil seal 16.24.5 SC 5.22$            
0014896 Shim Ø30x42x0.5 type PS 0.73$            
0014981 Support plate, remote gate control 41.69$          
0014982 Lever, remote gate control 12.11$          
0014983 Handle, flat grooved 17.13$          
0014984 Lock nut, spout 46.27$          
0014987 Protection, fly wheel 92.27$          
0014988 Spacer 3.68$            
0014989 Spring 7.26$            
0014990 Cable support 14.26$          
0014991 Snap ring, outer Ø10 0.20$            
0014992 Cable, remote gate control 186.71$       
0014993 Cable support plate, remote gate control 14.56$          
0014994 Cable hitch plate, remote gate control 13.56$          
0014997 Cable, remote gate control 157.93$       
0014998 Bolt CS M04‐0.70x10 C8.8 Z F 0.45$            
0014999 Flow control assembly, remote gate control 81.80$          
0015009 Catch for shaft 21.32$          
0015012 Bolt HH M08‐1.25x20 C8.8 Z F 0.21$            
0015031 Use 0091028
0015058 Regulating screw 72.09$          
0015061 Wheel support fork 296.15$       
0015072 Wheel complete 107.93$       
0015073 Plastic bushing 6.94$            
0015104 Spacer 17.61$          
0015105 Spacer 21.97$          
0015122 Bolt HH M12‐1.75x90 C8.8 Z P 1.57$            
0015185 Oil seal 45.85.10 TC 14.11$          
0015186 Gasket 17.91$          
0015188 Use 0025334
0015190 Sprocket 171.47$       
0015192 Chain adjuster 36.24$          
0015193 Bolt HH M08‐1.25x50 C8.8 N P 0.35$            
0015201 Ground splitter 77.50$          
0015206 Use 0010126
0015207 Bolt SP M10‐1.50x70 C10.9 Z P 1.61$            
0015213 Drive flange 136.36$       
0015217 Bolt HH M14‐2.00x160 C8.8 Z P 9.02$            
0015218 Nut ES M14‐2.00 Z TN 0.50$            
0015219D Tine, right 6.53$            
0015219S Tine, left 6.53$            
0015220 Bolt HH M08‐1.25x35 C8.8 Z F 0.35$            
0015230 Washer flat Ø08 Z 0.09$            
0015232 Bolt HH M10‐1.50x75 C8.8 Z P 1.38$            
0015236 Bolt HH M10‐1.50x80 C8.8 Z P 1.03$            
0015237 Nut ES M10‐1.50 Z TN 0.23$            
0015240 Hairpin cotter Ø3 Z 0.80$            
0015244 Rod guide 4.98$            
0015255 Bolt HH M12‐1.75x30 C8.8 Z F 0.68$            
0015263 Bolt HH M10‐1.50x120 C8.8 Z P 1.61$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 24

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0015271 Bolt HH M14‐2.00x25 C8.8 Z F 1.03$            
0015273 Bolt HH M10‐1.50x110 C8.8 Z P 1.50$            
0015295 Use 0015255
0015295D Tine narrow, right 8.30$            
0015295S Tine narrow, left 8.30$            
0015360 Nut HH M10‐1.50 C6 N MD 0.18$            
001557B Spring 3.03$            
0015616 Use 0008850
0015641 Nut ES M20‐1.50 Z TN 0.96$            
0015686 Nut HH M20‐2.50 C6 Z TN 1.69$            
0015730 Roller, antiscalp 108.45$       
0016111 Frame 48" SD 1,325.33$    
0016116 Bushing 13.57$          
0016141 A frame SD 312.68$       
0016155 Hitch pin Ø22x100 Z 27.59$          
0016160 Rotor, double flanged BCA SD 249.93$       
0016164 Bushing, bronze 10.94$          
0016166 Spoon 16.98$          
0016167 Spike (solid) 37.65$          
0016171 Rotor shaft 48" SD 163.51$       
0016176 Inner spacer, rotor BCA SD 57.26$          
0016180 Outer spacer, rotor BCA 17.20$          
0016182 Foot stand BCA SD 90.41$          
0016190 Weight canister 48" SD 291.63$       
0016200 Weight canister 60" SD 304.87$       
0016210 Weight canister 72" SD 318.13$       
0016301 A frame HD 410.26$       
0016315 Hitch pin, step Ø21‐Ø28x200 Z 54.98$          
0016320 Rotor, double flanged BCA HD 417.80$       
0016336 Inner spacer, rotor BCA HD 57.26$          
0016342 Foot stand BCA HD 91.85$          
0016360 Rear strap, A frame BCA HD 82.93$          
0016370 Weight canister 60" HD 344.64$       
0016380 Weight canister 72" HD 371.16$       
0016514 A frame SD 550.48$       
0016522 Bushing, roller arm SD 5.31$            
0016531 Side panel, left 818.26$       
0016535 Bolt HH M20‐2.50x120 C8.8 Z P 6.77$            
0016538 Washer fender Ø20 Z 1.18$            
0016540 Support UCF 205 153.14$       
0016545 Roller complete, primary SD 60" 655.33$       
0016552 Guide bracket, primary roller 81.43$          
0016561 Spring guide rod, primary roller 50.63$          
0016563 Spring, primary roller 14.40$          
0016566 Bolt HH M08‐1.25x55 C8.8 Z P 0.40$            
0016572 Use 0069023
0016582 Use 502933B
0016592 Shank, pulverizer 22.35$          
0016610 Frame complete, SD 60" 2,044.59$    
0016642 Guide bracket, secondary roller SD 85.57$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 25

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0016648 Connecting plate, secondary roller 20.98$          
0016652 Bushing, secondary roller SD 3.38$            
0016674 Spring, secondary roller 13.18$          
0016685 Roller complete, secondary SD 60" 608.14$       
0016720 Handle release QH1 30.13$          
0016726 Bolt HH M06‐1.00x35 C8.8 Z P 0.22$            
0016727 Yoke, spring QH1 33.82$          
0016736 Spring, handle QH 6.57$            
0016739 Roll pin Ø8x30 0.57$            
0016740 Lever QH1 54.02$          
0016741 Bushing QH1 8.07$            
0016742 Pin, QH1 arm attachment 34.28$          
0016744 Handle knob 10.05$          
0016748 Bolt HH M12‐1.75x45 C8.8 Z P 1.05$            
0016750 Hitch cat. 1, complete 982.87$       
0016771 A frame HD 923.69$       
0016800 Bushing, roller arm HD 5.09$            
0016831 Hitch pin, lower 26.94$          
0016892 Guide bracket, secondary roller HD 85.57$          
0016902 Bushing, secondary roller HD 3.10$            
0017025 Bolt "U" 22.18$          
0017106 Nut ES M14‐1.50 Z TN 1.13$            
0017181 Belt BX105 198.23$       
0017188 Nut HH M16‐2.00 C6 Z TN 0.32$            
0017196 Bolt HH M16‐2.00x60 C8.8 N F 1.97$            
0017221 Yoke M12, hydraulic cylinder 30.88$          
0017223 Nut HH M12‐1.75 C6 Z TN 0.27$            
0017295 Gearbox cover 191.00$       
0017296 Gasket, gearbox cover 38.76$          
0017351 Plate 71.41$          
0017354 Washer fender Ø16 Z 0.59$            
0017357 Pin, adjustment 13.99$          
0017506 Nut PT M18‐2.50 C6 Z TK 2.83$            
0018003 Hanger bushings 14.57$          
0018004 Boom plates 6.96$            
0018005 Top link plates 21.39$          
0018010 Bushing cat 1‐2 3.77$            
0018011 Yoke 300, 400 498.88$       
0018013 Hitch pin 6.72$            
0018014 Bushings, hitch pin 15.36$          
0018015 Yoke plates 6.96$            
0018020 Pin hitch Ø25x148.5 Z 21.44$          
0018025 Hitch pin cat. 1‐2 Ø28 55.61$          
0018026 Cover 75.56$          
0018032 Auger guard PHD 22.97$          
0018035 Cover outer 52.60$          
0018036 Cover inner, right 52.60$          
0018037 Use 0085168
0018038 Gearbox guard PHD 46.70$          
0018044 Roll pin Ø8x60 1.82$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 26

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0018047 Roll pin Ø8x65 2.15$            
0018051 Bolt HH M08‐1.25x12 C8.8 Z F 0.17$            
0018057 Outer cover, left 52.60$          
0018058 Flanged pivot, left 586.84$       
0018063 Bearing 22212C 274.39$       
0018065 Mounting bracket, SMV sign 11.07$          
0018073 Nut HH M42‐2.00 N 24.52$          
0018100 Stand, base 339.26$       
0018107 Long bending tube 45.79$          
0018109 Support pin, driveline 12.71$          
0018110 Support tube 80.95$          
0018114 Use 0084619
0018120 Short bending tube 50.19$          
0018125 Gearbox support tube 106.64$       
0018141 Bearing 30214 126.73$       
0018145 Bearing 32211 94.29$          
0018151 Hydraulic hose 3/8"x22" 1/2" MPx1/2" MP 28.87$          
0018152 Hydraulic cylinder 30mmRx50mmBx10"S 304.37$       
0018158 Tee 1/2" MNPTx1/2" FNPTx1/2" FNPT 9.32$            
0018161 Shuttle valve 72.50$          
0018266 Lynch pin Ø11x45 Z 3.14$            
0018461 Cotter pin Ø5x50 N 1.16$            
0018464 Bolt HH M16‐2.00x55 C8.8 N F 1.32$            
0018470 Use 0016535
0018511 Yoke cat 1 243.20$       
0018530 Guard 25.31$          
0018531 Guard 22.97$          
0019048 Bolt HH M16‐2.00x35 C8.8 Z F 1.33$            
0019083 Use 0002186
0019163 Oil seal 65.95.10 SC 23.66$          
0019222 Washer conical spring Ø10 Z 0.44$            
0019291 Bolt HH M20‐2.50x100 C8.8 Z P 4.44$            
0019293 Washer spring lock Ø20 N 1.13$            
0019360 Bolt HH M10‐1.50x85 C8.8 Z P 2.84$            
0019451 Washer conical spring Ø8 Z 0.27$            
001987B Gearbox complete, reverse 963.02$       
0020100D Tine flash, right 18.28$          
0020100S Tine flash, left 18.28$          
0020103 Bolt SP M16‐1.50x45 C8.8 Z P 2.60$            
0020105 Nut ES M16‐1.50 C6 Z TK 0.72$            
0020106 Nut ES M16‐1.50 Z TN 2.02$            
0020193 Bolt HH M18‐2.50x90 C8.8 Z F 7.30$            
0020227 Bolt CS M12‐1.75x45 C10.9 Z F 1.30$            
0020234 Bearing 33113 97.12$          
0020411 Rear protection, outer 60" 4.46$            
0020412 Rear protection, outer 72" 7.00$            
0020413 Rear protection, outer 84" 7.86$            
0020415 Rear protection, inner 14.82$          
0021004 Jack stand hitch 11.65$          
0021051 Adjustment arm 18.45$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 27

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0021052 Washer threaded Ø10 Z 9.06$            
0021053 Washer w/hole Ø10 Z 6.22$            
0021104 Bolt SP M12‐1.25x30 C8.8 Z P 1.32$            
0021105 Nut PT M12‐1.25 C6 Z 0.47$            
0021118 Sprocket Z16 159.76$       
0021120 Sprocket Z9 97.37$          
0021163 Housing, gearbox 572.80$       
0021171 Gear cover 72.60$          
0021173 Gasket 2/10 1.38$            
0021176 Ring gear 220.16$       
0021177 Pinion gear 247.84$       
0021177B Pinion gear 233.79$       
0021186 Shim Ø36x45x0.2 0.77$            
0021187 Shim Ø56x72x0.2 2.06$            
0021257 Bolt HH M12‐1.75x60 C8.8 Z F 1.11$            
0021285 Spacer 8.28$            
0021300 Bolt HH M14‐2.00x60 C8.8 Z F 2.53$            
0021301 Chain, complete 24.90$          
0021303 Use 0021304
0021304 Lifting hook 5.96$            
0021306 Chain hitch 16.33$          
0021315 Spring 2.34$            
0022011 Side panel, right 142.54$       
0022021 Side panel, left 204.76$       
0022031 Use 0011030
0022032 Gasket, chain case cover 21.19$          
0022035 Chain case protection 23.35$          
0022074 Dirt shield 10.66$          
0022170 Housing, gearbox 492.45$       
0022178 Gear cover 85.71$          
0022180 Gasket 2.31$            
0022189 Spacer, front 15.32$          
0022199 Gasket 2.36$            
0022250 Bolt CS M10‐1.50x35 C10.9 Z F 1.89$            
0022251 Side shift complete 362.86$       
0022266 Nylon rope, rear 1700 mm. 3.65$            
0022268 Protection support 31.87$          
0022269 PTO shaft protection 76.55$          
0022270 Left protection 37.00$          
0022277 Bolt HH M12‐1.75x60 C8.8 N P 1.32$            
0022279 Use 0021257
0022280 Bolt SP, side shift stop 7.35$            
0022287 Use 0095316
0022361 Stand attachment 28.98$          
0022365 Stand 23.20$          
0022433 Driveline hook 8.28$            
0022435 Hook support 5.17$            
0023265 Bolt HH M12‐1.75x40 C8.8 Z F 0.80$            
0023501 Drawbar 20' 1,477.34$    
0023513 Drawbar 20' 1,382.81$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 28

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0023521 Hitch, main frame 1,439.98$    
0023551 Main frame 1,790.18$    
0023564 Hitch, rear frame 958.98$       
0023574 Bolt HH M16‐2.00x120 C8.8 N P 3.53$            
0023582 Frame, rear 1,752.21$    
0023638 Protection, shaft 388.77$       
0023639 Protection extension, input shaft 129.60$       
0023640 Shaft Protection 266.07$       
0023651 Protection, shaft rear extension 285.10$       
0023661 Hook support plate 166.02$       
0023662 Hook support plate 103.68$       
0023703 Nylon rope, rear 2000 mm. 5.17$            
0023704 Nylon rope, side 1120 mm. 2.70$            
0023705 Nylon rope, front 2930 mm. 5.11$            
0023752 Linkage, rear hydraulic cylinder 64.79$          
0023761 Input shaft 356.27$       
0023762 Input shaft 340.38$       
0023764 Input shaft, rear extension 248.69$       
0023774 Locking plate 47.03$          
0023776 Wheel support 28.51$          
0023781 Kick‐out bracket 20' 33.70$          
0023790 Safety tie rod 20' 94.90$          
0023791 Rear hitch 802.98$       
0023811 Tie rod, rear 28.87$          
0023813 Rear bracket 72.60$          
0023836 Bolt HH M20‐2.50x70 C8.8 Z P 15.80$          
0023837 Bolt HH M20‐2.50x90 C8.8 Z P 5.63$            
0023861 Rear hitch 311.01$       
0023895 Wheel arm 84" 699.79$       
0023901 Belt shield 84" 251.39$       
0023903 Support bracket, belt shield 22.32$          
0023911 Bolt HH M20‐2.50x230 C8.8 Z P 26.23$          
0023927 Bolt HH M20‐2.50x250 C8.8 Z P 27.68$          
0023929 Bearing needle 11.14$          
0023929A Bearing needle 11.14$          
0023930 Retainer, wheel air tire 15.34$          
0023930A Retainer, wheel air tire 15.83$          
0023962 Hydraulic cylinder 541.23$       
0023964 Fixing pin Ø12, hydraulic cylinder 8.16$            
0023973 Lifting hitch 51.84$          
0024021 Drive panel 158.09$       
0024027 Protection, chain case cover 18.91$          
0024198 Bolt CS M10‐1.50x20 C10.9 N F 0.70$            
0024199 Front cover, gearbox 22.81$          
0024231 Side shift complete 379.70$       
0024241 Side shift complete 497.13$       
0024511 Side panel, right 98.01$          
0024521 Side panel, left 139.00$       
0025045 Use 0005638
0025115 Snap ring, outer Ø50 2.60$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 29

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0025162 Ring gear 584.49$       
0025163 Pinion gear 315.60$       
0025172 Cover, pinion gear 77.87$          
0025173 Gasket 1.90$            
0025180 Gasket 1.90$            
0025329 Snap ring, inner Ø72 2.85$            
0025332 Use 0025332A
0025332A Bearing 6207 27.97$          
0025334 Oil seal 45.72.10 SC 11.60$          
0025400 Exchange gear Z16 300.05$       
0025403 Exchange gear Z19 358.46$       
0026007 Roll pin Ø8x24 1.13$            
0026030 Oil seal 65.90.10 TC 15.49$          
0026033 Use 0032050
0026038 Washer flat Ø55 N 4.89$            
002603B Bushing cat. 0‐1 7.17$            
002604B Bushing cat. 0‐1 4.41$            
002605B Bushing cat. 1‐2 3.69$            
0026085 Tine, Center 18.85$          
0026087 Bolt HH M08‐1.25x60 C8.8 Z P 0.57$            
0026098 Nut locking M45 20.77$          
0026099 Washer lock MB 9 Z 3.33$            
0026112 Spacer Ø55x65x16 34.66$          
0026126 Oil seal 60.85.10 SC 12.83$          
0026127 Bearing 6316 324.28$       
0026148 Exchange gear Z19 409.09$       
0026149 Exchange gear Z12 272.76$       
0026150 Exchange gear Z23 487.04$       
0026185 Bolt HH M10‐1.50x90 C8.8 Z P 1.09$            
0026187 Bolt HH M14‐2.00x70 C8.8 Z P 2.21$            
0026275 Bolt HH M18‐2.50x70 C8.8 Z P 2.12$            
0026314 Nut ES M16‐2.00 Z TK 0.83$            
0026329 Bolt HH M10‐1.50x45 C8.8 Z F 0.70$            
0026333 Hub depth control roller 68.70$          
0026338 Oil seal 42.55.7 SC 8.06$            
0026342 Roll pin Ø8x50 3.30$            
002636B Use 0002643
002648B Spike 9.36$            
0027010 Drawbar 1,355.66$    
0027050 Lift side, left 17', 20' 907.14$       
0027070 Main frame 1,477.34$    
0027090 Hitch, rear frame 1,218.15$    
0027105 Frame, rear 1,707.23$    
0027130 Lift, rear 1,114.43$    
0027144 Lift arm, rear 155.44$       
0027147 Lift arm, side 271.51$       
0027233 Gasket 13.99$          
0027240 Shaft protection 309.87$       
0027246 Bottom shield 49.59$          
0027251 Protection, input shaft 260.40$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 30

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0027290 Roll pin Ø6x35 1.13$            
0027294 Roll pin Ø6x40 Z 1.76$            
0027310 Wire rope, rear 2100 mm. 8.73$            
0027311 Wire rope, side 1220 mm. 7.46$            
0027312 Wire rope, front 3030 mm. 11.73$          
0027340 Wheel support w/o shaft 385.35$       
0027360 Support, input shaft 112.57$       
0027366 Input shaft 151.77$       
0027367 Input shaft 220.30$       
0027425 Wheel arm 72" 570.21$       
0027436 Wheel arm 72", hexagonal 596.11$       
0027451 Wheel yoke, hexagonal shaft 285.10$       
0027455 Wheel yoke, hexagonal shaft for hard tire 227.57$       
0027460 Front hitch, right 17' 440.62$       
0027467 Use 0028330
0027470 Rear hitch, right 15', 17' 414.69$       
0027476 Hitch pin 44.04$          
0027480 Right hitch, rear 15', 17' 344.61$       
0027517 Safety tie rod 17' 75.00$          
0027518 Transport brace SFL 17', 20' 12.21$          
0027535 Wheel arm 84" 570.21$       
0027546 Wheel arm 84", hexagonal 570.21$       
0027570 Front hitch, right 20' 471.96$       
0027577 Kick‐out bracket 17', 20' 32.11$          
0027580 Rear hitch, right 20' 444.95$       
0027590 Right hitch, rear 20' 317.37$       
0027608 Safety tie rod 20' 80.94$          
0027635 Cross 3/8" FNPT 9.39$            
0027637 Spacer 5.31$            
0028035 Spacer 48.09$          
0028038 Washer flat Ø50 N 4.48$            
0028042 Hitch, central frame 1,175.37$    
0028070 Main frame 1,140.39$    
0028090 Hitch, rear frame 860.09$       
0028103 Spacer 41.52$          
0028110 Frame, rear 1,037.37$    
0028130 Lift, Rear 412, 415‐SFL 1,010.82$    
0028150 Plastic cap 70 mm. 9.21$            
0028151 Shaft upper 467.56$       
0028159 Cover rear housing 163.61$       
0028160 Gasket 21.43$          
0028210 Protection, input shaft 267.29$       
0028213 Rear protection, input shaft 228.09$       
0028260 Wire rope, rear 1800 mm. 8.29$            
0028310 Input Shaft 207.35$       
0028330 Kick‐out bracket 12', 17' 33.71$          
0028337 Kick‐out bracket 15' 33.44$          
0028391 Use 0032512
0028457 Safety tie rod 12' 76.45$          
0028458 Transport brace SFL 12', 15' 11.05$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 31

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0028577 Safety tie rod 15' 77.32$          
0028705 Hydraulic cylinder 25mmRx40mmBx370mmS 377.59$       
0029036 Grease fitting Ø8 PR STR 1.32$            
0029081D Use 0032069
0029081S Use 0032070
0029092 Use 0032080
0029133 Gasket 3.50$            
0029150 Exchange gear Z21 448.09$       
0029165 Shaft through drive 623.41$       
0029167 Cover rear housing 225.94$       
0029247 Roll pin Ø8x40 1.83$            
0029261 Snap ring, outer Ø25 0.44$            
0029266 Cap 15.93$          
0029270 Nut ES M22‐1.5 Z TK 6.30$            
0029286 Swivel box pin 3.5" 13.52$          
0029317 Bolt HH M14‐2.00x50 C8.8 Z F 1.37$            
0029440 Washer flat Ø24 Z 1.20$            
0029536 Washer fender Ø24 Z 4.33$            
0029540 Swivel standard, curved rear blade 498.05$       
0029580 Mold board curved, standard 48" 111.44$       
0029700 Wheel arm standard, gauge wheel 160.85$       
0030033 Chain housing 389.64$       
0030051 Use 0021051
0030054 Bolt HH M12‐1.75x50 C8.8 Z F 0.90$            
0030064 Nut PT M12‐1.75 C6 Z TK 0.45$            
0030066 Washer threaded M12‐1.75 Z 10.11$          
0030067 Washer w/holes 6.72$            
0030084 Dirt shield, left 17.89$          
0030088 Bearing cover, inner 48.69$          
0030091 Outer cover, right 21.00$          
0030092 Inner cover 19.24$          
0030093 Oil seal 42.60.10 SC 11.70$          
0030094 Bearing 6306 31.20$          
0030095 Locking ring ES GUK M30‐1.50 7.72$            
0030104D Tine "C" style, right 13.49$          
0030104S Tine "C" style, left 13.49$          
0030121 Rotor support, left 139.98$       
0030123 Dirt shield 18.82$          
0030138 Gasket 3.87$            
0030143 Sprocket Z10 116.64$       
0030146 Chain ASA 100x32 202.83$       
0030147 Chain link, ASA 100 25.34$          
0030148 Chain tensioner 36.32$          
0030155 Bolt HH M10‐1.50x60 C8.8 N F 0.73$            
0030156 Nut PT M10‐1.50 C6 Z TK 0.32$            
0030157 Washer fender Ø10 Z 0.18$            
0030158 Spring, chain tensioner 8.94$            
0030162 Flange, top shaft 95.89$          
0030166 Oil seal 50.72.10 SC 10.79$          
0030184 Housing, gearbox 489.86$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 32

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0030184A Housing, gearbox 518.36$       
0030185 Shaft coupling 243.63$       
0030188 Bearing 6011 52.84$          
0030190 Shaft coupling 196.98$       
0030191 Gear cover 93.31$          
0030193 Gasket 2/10 7.02$            
0030196 Ring gear 222.78$       
0030197 Pinion gear 302.03$       
0030201 Use 0030201A
0030201A Bearing 30208 60.44$          
0030203 Spacer, rear 14.51$          

0030204 Spacer, front 14.28$          
0030211 Oil seal 35.72.10 TC 13.94$          
0030213 Oil ring 805 2.60$            
0030218 Front cover, gearbox 28.51$          
0030251 Side shift complete 388.77$       
0030261 Bolt ES M14‐2.00x70 C8.8 Y F 3.45$            
0030277 Bolt HH M14‐2.00x60 C8.8 Z P 1.50$            
0030278 Bolt HH M14‐2.00x80 C8.8 Z P 3.57$            
0030285 Bolt HH M14‐2.00x100 C8.8 Z P 2.43$            
0030286 Arm, top hitch 41.14$          
0030287 Bolt HH M14‐2.00x90 C8.8 N P 3.57$            
0030293 Support, top hitch 34.57$          
0030301 Bolt HH M14‐2.00x80 C8.8 N P 1.54$            
0030309 Bolt HH M16‐2.00x70 C8.8 Z F 2.67$            
0030321 Chain hitch 15.83$          
0030322 Bolt HH M10‐1.50x50 C8.8 N F 0.89$            
0030327 Washer flat Ø10 Z 0.29$            
0030329 Use 0002034
0030331 Bolt HH M10‐1.50x50 C8.8 Z F 0.73$            
0030332 Use 0030322
0030334 Bolt HH M10‐1.50x55 C8.8 Z F 0.76$            
0030339 Locking cover 7.27$            
0030341 Use 0030844
0030348 Stand 16.33$          
0030358 Nut PT M14‐2.00 C6 Z TK 0.73$            
0030376 Hub, slip clutch 138.78$       
0030391 Cover, chain case 272.76$       
0030400 Use 0037035
0030421 Rotor 266 1,052.04$    
0030426 Flanged pivot, left 311.67$       
0030477 Yoke 80.29$          
0030511 Side panel, right 173.63$       
0030521 Side panel, left 259.18$       
0030539 Bolt HH M12‐1.75x70 C8.8 Z F 2.07$            
0030640 Bolt HH M10‐1.50x65 C8.8 Z F 0.76$            
0030661 Use 0035030
0030666 Gasket 22.00$          
0030666R Gasket, rubber 1/4" round 21.43$          
0030667 Chain pan protection 21.27$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 33

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0030680 Oil seal 35.80.10 TC 13.94$          
0030695 Spacer, front 10.37$          
0030844 Ratchet arm, with wrench 19‐22 mm. 54.51$          
0031038 Use 0091038
0031072 Use 0041080
0031137 Exchange gear Z13 292.19$       
0031138 Gear Z22 467.56$       
0031322 Hitch block 222.10$       
0031700 Spring 3.55$            
0031812 Washer spacer Ø15 4.94$            
0032021 Rotor cover 93.51$          
0032028 Flange bottom inside 112.99$       
0032029 Flange bottom outside 149.80$       
0032032 Washer spacer Ø50 N 11.63$          
0032046 Oil seal 60.80.12 21.12$          
0032050 Washer felt 3.87$            
0032051 Tine holder w/shaft 446.64$       
0032061 Tine, super round 53.17$          
0032063 Tine, super long 11" 37.00$          
0032069 Tine backswept, right 31.94$          
0032070 Tine backswept, left 31.94$          
0032080 Tine holder complete center 366.48$       
0032094 Flange bottom outside 210.40$       
0032101 Gear center 428.65$       
0032103 Spacer 20.10$          
0032104 Shaft 100‐120 584.49$       
0032105 Use 0032734
0032108 Support BRE 270 818.26$       
0032112 Housing 1,772.90$    
0032118 Ring gear 720.81$       
0032119 Pinion gear 409.09$       
0032127 Pinion shaft 296.15$       
0032148 Exchange gear Z20 428.65$       
0032204 Roll pin Ø10x80 2.73$            
0032261 A frame right half 779.30$       
0032271 A frame left half 857.26$       
0032281 Tool box, support plate 89.59$          
0032325 Breather cap 68.35$          
0032342 Washer flat rubber Ø13 1.52$            
0032344 Washer flat Ø17 N 6.80$            
0032347 Pin, three point N/S 23.59$          
0032353 Cover 12.06$          
0032362 Bolt HH M14‐2.00x55 C8.8 N F 1.32$            
0032363 Washer flat Ø18 N 5.22$            
0032365 Spacer 5.82$            
0032366 Hairpin cotter, double loop Ø4 Z 2.34$            
0032371 Bolt HH M14‐2.00x55 C8.8 Z F 1.89$            
0032391 Turnbuckle support plate 37.37$          
0032453 Housing, gearbox 1,767.14$    
0032471 Cover, rear housing 143.69$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 34

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0032480 Gasket 23.59$          
0032488 Bolt HH M06‐1.00x10 C8.8 Z F 1.18$            
0032490 Pinion shaft 205.01$       
0032512 Oil seal 55.80.10 TC 13.99$          
0032618 Bolt HH M14‐2.00x30 C8.8 Z F 1.23$            
0032619 Bolt HH M10‐1.50x65 C8.8 Z P 0.82$            
0032621 Bolt HH M12‐1.75x140 C8.8 Z P 2.18$            
0032631 Use 0011292
0032682 Bolt HH M14‐2.00x55 C8.8 Z P 2.53$            
0032687 Bolt HH M16‐2.00x40 C8.8 Z F 1.67$            
0032714 Bolt SP M12‐1.25x40 C8.8 Z P 1.81$            
0032721 Tine holder center 467.56$       
0032734 Shaft 140‐160 623.41$       
0032735 Shaft 100‐120 467.56$       
0032811 Scraper 12.06$          
0032837 Side protection 37.54$          
0032838 Bolt HH M16‐1.50x55 C8.8 Z P 3.20$            
0032845 Center Protection 19.35$          
0032855 Hitch, tie rod 353.45$       
0032882 Chain w/tie rod 139.00$       
0032918 Plate 141.41$       
0032926 Blocking plate 15.10$          
0032927 Chain 40.04$          
0032929 Pin 10.62$          
0032940 Turnbuckle 259.18$       
0033025 Locking ring ES GUK M40‐1.50 12.06$          
0033027 Flange inside 21.43$          
0033030 Use 0001084
0033031 Flange outside 128.60$       
0033033 Felt ring 1.49$            
0033035 Spacer 35.40$          
0033039 Washer flat Ø45 N 2.20$            
0033054 Tine 26.78$          
0033062 Use 0077064
0033068 Nut ES M30‐2.00 Z TN 13.18$          
0033073 Spacer 43.54$          
0033075 Center flange outside 151.94$       
0033076 Bolt SC M10‐1.50x25 C12.9 N F 0.82$            
0033079 Flange inside 66.19$          
0033082 Spacer 12.06$          
0033087 Gearbox support 712.17$       
0033099 Ring gear 367.24$       
0033100 Pinion gear 239.35$       
0033102 Gearbox 935.13$       
0033107 Use 0021173
0033176 Bolt HH M10‐1.50x25 C8.8 Z F 0.50$            
0033218 Bolt HH M16‐2.00x55 C8.8 Z P 2.14$            
0033328 Support flange, gearbox 779.30$       
0033341 Housing, gearbox 1,324.82$    
0033348 Shaft lower 296.15$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 35

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0033349 Bearing 32207 75.20$          
0033351 Gear Z23 389.64$       
0033352 Gear Z17 292.19$       
0033353 Gear Z21 327.64$       
0033354 Gear Z19 297.84$       
0033355 Spacer 18.65$          
0033357 Shaft upper 327.31$       
0033363 Gasket 2.28$            
0033366 Rear cover 155.84$       
0033367 Gasket 13.99$          
0033375 Cover rear housing 225.94$       
0034031 Chain housing 261.04$       
0034035 Gasket, chain case cover 19.48$          
0034044 Use 0001107A
0034098 Oil seal 40.60.10 TC 11.63$          
0034121 Disk with holes 10.62$          
0034122 Outer cover, left 18.60$          
0034131 Sprocket Z14 161.40$       
0034134 Sprocket Z11 137.13$       
0034136 Sprocket Z10 105.19$       
0034138 Sprocket Z15 148.05$       
0034139 Sprocket Z17 175.32$       
0034141 Chain ASA 80Sx36 164.18$       
0034150 Chain link, master 80S 19.18$          
0034151 Chain link, inner 80S 15.89$          
0034159 Oil seal 45.60.10 TC 8.89$            
0034174 Housing, gearbox 759.84$       
0034175 Shaft coupling 184.01$       
0034178 Bearing 6010 44.39$          
0034181 Gear cover 124.68$       
0034183 Gasket 7.97$            
0034186 Ring gear 272.76$       
0034187 Pinion gear 292.19$       
0034192 Oil ring 1.52$            
0034195 Spacer, front 18.12$          
0034196 Shim Ø35x45x2.5 4.66$            
0034197 Spacer, rear outer 9.34$            
0034198 Spacer, rear inner 8.32$            
0034204 Front cover, gearbox 22.33$          
0034210 Cover, gearbox input shaft 2.20$            
0034241 Side shift complete 336.94$       
0034265 Bolt HH M12‐1.75x65 C8.8 Z P 1.91$            
0034270 Bolt HH M12‐1.25x65 C8.8 Z P 1.29$            
0034272 Arm, top hitch 32.07$          
0034272B Arm, top hitch 33.51$          
0034273 Support, top hitch 27.86$          
0034285 Bolt HH M12‐1.75x100 C8.8 N P 1.32$            
0034286 Bolt HH M12‐1.75x100 C8.8 Z P 2.29$            
0034324 Jack stand 16.33$          
0034355 Protective cover 54.36$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 36

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0034450 Use 0034150
0035030 Cover, chain case 80.35$          
0035060 Washer external lock Ø10 Z 0.12$            
0035095 Bolt CR M10‐1.50x25 C8.8 N 0.86$            
0035500 Drawbar, complete 910.17$       
0035502 Hitch plate, drawbar 90.11$          
0035531 Main frame, rake cart 1,813.09$    
0035550 Wheel w/air tire complete 194.43$       
0035551 Hub, wheel 548.07$       
0035552 Nut lug M16‐1.50 Z 18.30$          
0035553 Dust seal ring 41.14$          
0035556 Nut CA M27‐1.50 C5 Z TN 52.99$          
0035580 Hinge pin 76.29$          
0035585 Axial rotating ring 45x65x1 14.44$          
0035600 Backing plate, holder hitch support 70.55$          
0035605 Collar, holder hitch support 26.86$          
0035620 Wheel w/air tire complete 509.66$       
0035630 Hydraulic cylinder 594.80$       
0035635 Pin, hydraulic cylinder 26.96$          
0035640 Pin, hydraulic cylinder 28.01$          
0035645 Safety locking plate 35.33$          
0035650 Hydraulic hose 1/4"x2550 mm. 67.30$          
0035652 Hydraulic hose 1/4"x650 mm. w/90 degree fitting 30.90$          
0035654 Hydraulic hose 1/4"x550 mm. w/90 degree fitting 27.78$          
0035660 Hydraulic cross 1/4" FBSPP 56.32$          
0035662 Hydraulic tee 1/4" FBSPP 14.64$          
0035665 Plug 1/4" MBSPP 1.98$            
0035667 Adaptor STR 1/4" FBSPPx1/4" MBSPP 4.43$            
0035668 Elbow 90° 1/4" MBSPPx1/4" FBSPP 15.14$          
0035670 Adaptor STR 1/4" MBSPPx3/8" MBSPP 2.67$            
0035672 Adaptor STR 1/4" MBSPPx3/8" MBSPP w/1mm. restrictor 14.40$          
0035676 Ball valve 1/4" FBSPPx1/4" FBSPP 42.46$          
0035678 Double hydraulic hose clamp 1/4" 7.66$            
0035680 Hydraulic cylinder 647.65$       
0035700 Hitch, kicker wheel 230.87$       
0035710 Bracket, kicker wheel 68.81$          
0035720 Kicker wheel arm w/hub 387.47$       
0035730 Kicker wheel arm w/hub 387.47$       
0035740 Bracket, hydraulic cylinder 92.30$          
0035750 Hydraulic cylinder 1,241.18$    
0035751 Pin, hydraulic cylinder 17.21$          
0035752 Pin, hydraulic cylinder 16.61$          
0035755 Cylinder stop 6.71$            
0036153 Bolt HH M14‐2.00x70 C8.8 N P 1.65$            
0036208 Bolt SC M10‐1.50x30 C8.8 N F 0.82$            
0036222 Use 503785B
0036224 Use 0036532
0036228 Washer flat Ø08 N 0.96$            
0036319 Bolt HH M06‐1.00x16 C8.8 Z F 0.22$            
0036386 Use 0003176

All prices are FOB Rocky Mount, NC and are subject to change without notice. 37

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0036402 Bolt HH M14‐2.00x60 C8.8 N P 1.45$            
0036532 Washer copper sealing 1/2" 2.07$            
0036551 Oil ring 034 2.73$            
0036581 Bolt HH M08‐1.25x70 C8.8 N P 0.51$            
0036618 Use 0050049
0036652 Grease fitting M06 1.52$            
0036703 Oil ring 3250 2.37$            
0036761 Bearing 6004‐2RS 20.59$          

0037012 Side panel, right 144.15$       
0037023 Side panel, left 184.53$       
0037031 Chain case 439.77$       
0037035 Gasket, rubber 22.91$          
0037043 Chain pan protection 53.17$          
0037054 Serrated adjustment arm 88.57$          
0037057 Locking plate 18.37$          
0037085 Dirt shield, right 59.49$          
0037086 Dirt shield 17.82$          
0037098 Locking ring ES GUK M35‐1.50 9.10$            
0037125 Flanged pivot, left 378.02$       
0037128 Dirt shield, Left 52.88$          
0037130 Cover outer 25.30$          

0037145 Rotor support, left 203.30$       
0037156 Oil seal 52.80.10 SC 13.68$          
0037166 Sprocket Z15 272.19$       
0037184 Spring, chain tensioner 16.36$          
0037195 Top shaft flange 124.68$       
0037214 Housing, gearbox 740.30$       
0037217 Shaft coupling 189.18$       
0037225 Gear cover 140.23$       
0037230 Gasket, gearbox cover 1.90$            

0037236 Ring gear 358.24$       
0037237 Pinion gear 329.54$       
0037248 Oil seal 35.60.10 SC 9.60$            
0037253 Front cover, gearbox 39.83$          
0037258 Gasket 2.17$            
0037311 Side shift complete 351.51$       
0037325 Cover, left 42.86$          
0037345 Catch pin, side shift 28.01$          
0037349 Bolt HH M14‐2.00x45 C8.8 Z F 1.59$            
0037364 Support, top hitch 37.00$          
0037365 Arm, top hitch 42.86$          
0037368 Bolt HH M14‐2.00x120 C8.8 Z P 3.89$            
0037386 Bolt HH M18‐2.50x80 C8.8 Z F 4.97$            
0037392 Chain hitch, lower 16.61$          
0037404 Chain hitch, upper 24.90$          
0037444 Stand 19.48$          
0037452 Stand Hitch 35.85$          
0037471 Protection cover 51.84$          
0037475 Protective cover 34.37$          
0037505 Toothed roller 58" 721.15$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 38

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0037514 Use 0037514A
0037514A Support UCFL206‐TF 113.09$       
0037517 Plate support plate 66.19$          
0037531 Roller scrapper 58" 367.26$       
0037547 Roller arm 44.65$          
0037581 Safety shield 58" 225.50$       
0037591 Chain 11.65$          
0038002 Frame 58" 1,486.86$    
0038111D Tine flash, right 9.95$            
0038111S Tine flash, left 9.95$            
0038155 Oil seal 52.72.10 11.60$          
0038225 Ring gear 467.56$       
0038226 Pinion gear 338.97$       
0038312 Support, top hitch 35.02$          
0038320 Cotter pin w/chain 33.51$          
0038331 Plate 37.03$          
0038335 Safety hitch block 157.78$       
0038344 Bolt "U" M14‐2.00x60x92 Z 9.59$            
0038346 Hitch pin Ø21x96 Z 27.59$          
0038370 Nut HH M18‐2.50 C6 Z MD 0.82$            
0038375 Chain hitch, upper 20.60$          
0038516 Gasket 1.90$            
0038521 Housing, gearbox 1,611.82$    
0038535 Pinion cover 77.87$          
0038536 Gasket 1.10$            
0038552 Shaft 327.31$       
0038558 Shaft 296.15$       
0038563 Gear Z15 253.24$       
0038571 Gearbox cover 101.28$       
0038572 Gasket 3.03$            
0038575 Knob plastic Ø10x20 8.61$            
0038581 Gearbox support 319.50$       
0038586 Plug, plastic 1.90$            
0038605 Guard Support 31.57$          
0038614 Bolt HH M10‐1.50x40 C8.8 Z F 0.76$            
0038635 Hitch, front bar 27.64$          
0038636 Plate 14.79$          
0038641 Front bar 58" 51.85$          
0038650 Wheel complete 428.65$       
0038661 Wheel support 97.37$          
0038671 Wheel support, fork 187.02$       
0038695 Gauge wheel 221.45$       
0038773 Turnbuckle 254.40$       
0038781 Turnbuckle hitch 66.19$          
0038785 Plate 15.54$          
0041024 Cover rotor 101.28$       
0041029 Gasket 2.73$            
0041033 Gear Z48 307.24$       
0041036 Flange bottom, outside 151.94$       
0041038 Gasket 2.73$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 39

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0041046 Flange bottom, inside 132.46$       
0041051 Tine holder w/shaft 540.79$       
0041067 Tine holder protector 13.84$          
0041080 Tine holder complete center 260.54$       
0041085 Nut CA M40‐1.50 N 27.64$          
0041089 Washer flat Ø40 N 3.91$            
0041103 Gear Z48 549.89$       
0041106 Shaft, center gearbox 540 rpm 816.43$       
0041151 Exchange gear Z14 type A 311.67$       
0041157 Gearbox cover, thru shaft 253.24$       
0041158 Knob plastic Ø10x35 8.61$            
0041159 Gasket 22.61$          
0041165 Nut ES M16‐2.00 Z TN 0.50$            
0041178 Rear protection 35.02$          
0041193 Gasket side 13.99$          
0041258 Bolt HH M18‐2.50x120 C8.8 Z P 6.43$            
0041287 Pin connecting 50.63$          
0041291 Hairpin cotter Ø5 Z 4.05$            
0041293 Hitch block pin 85.72$          
0041301 Pin 81.82$          
0041376 Clamp 46.72$          
0041387 Washer flat Ø20 N 0.35$            
0041388 Spacer 13.99$          
0041412 Hub assembly complete 620.86$       
0041414 Hub depth control roller 237.39$       
0041422 Bearing 6206 16.84$          
0041428 Shaft 214.32$       
0041436 Cover 15.54$          
0041484 Shaft 160 883.29$       
0041488 Gasket 0.005" 3.47$            
0041493 Gear 1,266.34$    
0041495 Pinion gear 623.41$       
0041497 Gearbox 3,117.26$    
0041503 Gasket 2.28$            
0041509 Shaft 701.36$       
0041527 Gearbox cover 218.16$       
0041595 Flanged pivot complete 395.83$       
0041631 Tine holder complete 354.62$       
0041644 Shaft, center 672.63$       
0041777 Turnbuckle 259.18$       
0041788 Stop plate 40.04$          
0041814 Bolt HH M18‐2.50x55 C8.8 Z F 4.02$            
0041821 Chain 15.49$          
0041866 Washer copper sealing 3/8" 1.90$            
0041867 Adaptor STR 3/8" MBSPPx3/8" MBSPP 25.94$          
0041871 1/2" Male quick coupler 1/2" FBSPP 45.95$          
0041873 Adaptor STR 3/8" MBSPPx1/2" MBSPP 45.55$          
0042107 Bearing 6009 33.07$          
0042122 Snap ring, outer Ø35 1.61$            
0042156 Bolt HH M10‐1.50x100 C8.8 N P 1.10$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 40

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0042181 Use 0030148
0042185 Tensioner spring 16.98$          
0042186 Gasket 17.91$          
0042255 Pin 7.48$            
0044002 Frame, rear discharge 90" 6,268.54$    
0044021 Side skid 90" 82.63$          
0044023 Bolt CS M12‐1.75x30 C10.9 Z F 1.02$            
0044035 Use 0067358
0044038 Use 0067358
0044039 Roller pin 25.48$          
0044040 Roller bushing 7.80$            
0044051 Use 0044073
0044061 Three point hitch 215.13$       
0044067 Spacer, inner 15.80$          
0044069 Top hitch joint, straight 2 hole 20.21$          
0044073 Hitch block 76.71$          
0044078 Hitch pin 36.32$          
0044081 Top hitch arm 90" 71.55$          
0044091 Cover 33.70$          
0044101 Use 0044107
0044107 Wheel arm 90" 147.51$       
0044111 Regulating plate, wheel 16.33$          
0044111B Regulating plate, wheel 16.33$          
0044111C Regulating plate, wheel 16.33$          
0044112 Bolt CR M12‐1.75x55 C8.8 Z 1.85$            
0044115 Bolt CR M12‐1.75x40 C8.8 Z 3.56$            
0044117 Wheel yoke, air tire 322.62$       
0044121 Wheel yoke, air tire (short shaft) 230.68$       
0044125 Wheel yoke, hard tire (long shaft) 230.68$       
0044128 Shim Ø32x45x2 4.13$            
0044129 Height adjustment spacer 1" 2.78$            
0044130 Height adjustment spacer 1/2" 2.05$            
0044131 Wheel w/hard tire complete 232.87$       
0044132 Bearing 6304‐Z 21.05$          
0044133 Spacer, wheel hard tire 8.02$            
0044134 Wheel cover 8.55$            
0044135 Bolt HH M14‐2.00x170 C8.8 Z P 8.73$            
0044138 Bushing, wheel hard tire 15.32$          
0044139 Lynch pin Ø10x46 6.17$            
0044140 Rubber for hard tire wheel 134.77$       
0044141 Front protection 90" 147.72$       
0044143 Central protection, rear 90" 215.13$       
0044144 Side protection, rear 90" 111.46$       
0044146 Bolt CR M12‐1.75x25 C8.8 Z 1.03$            
0044151 Front pivot 90" 31.10$          
0044152 Rear pivot 90" 31.10$          
0044153 Rear pivot, left 90" 31.10$          
0044156 Cotter pin Ø4x25 Z 0.27$            
0044158 Chain 2.35$            
0044161 Belt protection 90" 336.94$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 41

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0044171 Central plate 90" 673.88$       
0044187 Support plate, gearbox 256.61$       
0044213 Front spacer 15.54$          
0044217 Bearing 30305 53.47$          
0044221 Ring gear 298.85$       
0044222 Pinion gear 326.01$       
0044223 Shim Ø35x45x2 3.11$            
0044225 Use 0006675
0044239 Use 0001155
0044244 Key 8x7x40 2.54$            
0044245 Spacer 36.29$          
0044251 Pulley C/280x2 645.30$       
0044253 Belt CX98 80.02$          
0044265 Pulley C/200x2 576.16$       
0044266 Pulley C/200x1 388.77$       
0044269 Pulley C/200x2 414.83$       
0044270 Pulley C/200x1 w/keyway 299.62$       
0044274 Bolt HH M14‐2.00x25 C8.8 Z F 12.95$          
0044275 Washer flat Ø14 Z 0.57$            
0044277 Spacer, spindle 75.17$          
0044281 Use 0044281A
0044281A Bearing 32007 36.34$          
0044283 Spacer, spindle 50.03$          
0044285 Spindle 193.57$       
0044290 Spindle assembly complete 925.14$       
0044301 Rotor, blade holder 468.67$       
0044303 Washer flat Ø38 Z 8.55$            
0044311 Washer stop pin 3.89$            
0044315 Blade pin 16.33$          
0044317 Stop plate, blade 8.28$            
0044318 Blade 090 27.57$          
0044502 Frame, rear discharge 110" 6,936.91$    
0044531 Side skid 110" 92.86$          
0044545 Top hitch arm 110" 76.71$          
0044551 Front protection 110" 160.68$       
0044553 Central protection, rear 110" 233.28$       
0044554 Side protection, rear 110" 129.60$       
0044561 Front pivot 110" 34.23$          
0044562 Rear pivot, left 110" 37.97$          
0044563 Rear pivot 110" 34.23$          
0044571 Belt protection 110" 336.94$       
0044581 Central plate 110" 673.88$       
0044593 Pulley C/250x2 599.19$       
0044595 Belt CX110 102.39$       
0044598 Blade 110 29.26$          
0046205 A frame assembly 336.94$       
0046212 Arm, top hitch 34.11$          
0046231 Support, back hopper 194.39$       
0046285 Roller arm, right 142.54$       
0046286 Roller arm, left 137.38$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 42

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0046321 Use 0088589
0046322 Corrugated roller ring, nylon‐fiberglass 56.99$          
0046323 End ring; GRT‐258, 266, 282 18.71$          
0046325 Cap, 24 mm. plastic 5.17$            
0046329 Support UCF206‐20 69.34$          
0046331 Support UCF207 TF 99.36$          
0046333 Bolt HH M12‐1.75x45 C8.8 N F 1.35$            
0046334 Bolt CS M12‐1.75x45 C10.9 N F 1.82$            
0046347 Pivot assembly 62.21$          
0046351 Locking plate, top 10.63$          
0046358 Tickler tooth spring 16.16$          
0046360 Tickler tooth spring‐1/2 24.66$          
0046362 Bolt CR M10‐1.50x50 C4.6 Z P 2.21$            
0046365 Bracket, deflector 11.14$          
0046381 Bracket, jack stand 121.81$       

0046388 Support, front right 121.81$       
0046401 Jack stand 49.24$          
0046452 Baffle 69.98$          
0046454 Bolt HH M08‐1.25x16 C8.8 Z F 0.31$            
0046461 Calibration plate 93.31$          
0046465 Bolt wing M10‐1.50x20 C5 Z 2.35$            
0046466 Calibration handle 41.47$          
0046472 Plate 20.49$          
0046481 Use 0038575
0046491 Spring, hopper hinge 14.26$          
0046498 Rod, hopper hinge 13.99$          
0046501 Hook, hopper hinge 5.70$            
0046521 Roll pin Ø6x60 1.83$            
0046525 Flange 18.27$          
0046531 Seed cup assembly 87.32$          
0046533 Wire ring clamp 6.72$            
0046534 Seed cup plate 5.96$            
0046535 Bolt CR M06‐1.00x16 C4.6 Z 0.53$            
0046536 Washer lock Ø06 Z 0.20$            
0046539 Fertilizer tube, 26 cm. 11.50$          
0046540 Fertilizer tube, 34 cm. 33.71$          
0046541 Support complete 126.48$       
0046543 Bolt HH M08‐1.25x30 C8.8 Z F 0.29$            
0046545 Nut HH M08‐1.25 C6 Z MD 0.14$            
0046551 Spacer 9.84$            
0046553 Spacer 10.88$          
0046555 Washer flat Ø20 Z 0.38$            
0046557 Spacer 24.63$          
0046561 Calibration handle 41.47$          
0046575 Sprocket assembly 122.13$       
0046585 Sprocket, auger shaft 103.71$       
0046591 Sprocket, idler 85.54$          
0046595 Spring hitch 13.99$          
0046602 Spacer 8.02$            
0046611 Cover plate 110.60$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 43

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0046612 Rear cover 119.23$       
0046616 Spacer 9.59$            
0046635 Sprocket assembly 241.05$       
0046644 Sprocket, idler Z14 88.13$          
0046648 Spring, hitch 12.19$          
0046651 Spring, hitch 12.95$          
0046656 Protection attachment plate 14.37$          
0046657 Arm, plate 14.37$          
0046661 Idler sprocket hitch 110.39$       
0046665 Idler sprocket hitch 59.61$          
0046671 Spacer 9.59$            
0046672 Spacer 9.27$            
0046673 Use 0046674
0046674 Spring, chain tensioner 56.99$          
0046676 Sprocket 114.05$       
0046682 Chain, front 98.49$          
0046683 Chain, rear 115.24$       
0046691 Shield, front 28.51$          
0046695 Shield 95.89$          
0046701 Shield, chain 544.29$       
0046711 Shield, inner 41.47$          
0048171 Hitch plate 388.77$       
0048212 Arm, top hitch 36.29$          
0048213 Support, top hitch 36.29$          
0048235 Jack stand 36.29$          
0048240 Use 0038575
0048262 Plate 5.97$            
0048287 Baffle 33.71$          
0048331 Spacer, calibration handle 19.44$          
0048374 Seed tube, 36 cm. 15.47$          
0048375 Fertilizer tube 36.32$          
0048391 Spacer, drive rod 14.35$          
0048393 Spacer 10.37$          
0048402 Plate, rear support 114.05$       
0048470 Spacer, roller arm 12.62$          
0048471 Roller arm, right 171.05$       
0048472 Roller arm, left 163.30$       
0048613 Chain, front 82.94$          
0048621 Shield 49.24$          
0049056 Bolt HH M14‐2.00x190 C8.8 Z P 10.83$          
0049061 Hitch 1,636.55$    
0049301 PTO Guard 20.30$          
0049306 Shield support 42.86$          
0049361 Roller arm 214.32$       
0049367 Spacer 64.80$          
0049371 Arm roller guide 28.89$          
0049394 Roller spindle cover 23.02$          
0049398 Roller support 138.39$       
0049412 Roller spindle 191.00$       
0049527 Scraper holder bracket 62.33$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 44

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0049535 Pan hitch 62.33$          
0049545 Pan side joint 113.04$       
0049561 Roller side connection 140.30$       
0049616 Center shaft 584.52$       
0050013 Bolt HH M10‐1.50x160 C8.8 Z P 3.11$            
0050017 Pin, top hitch 31.06$          
0050021 A frame hitch 576.16$       
0050028 Hitch pin 28.51$          
0050031 Nut HH M24‐2.00 C6 Z MD 2.62$            
0050033 Washer lock Ø24 Z 0.76$            
0050035 Support, top hitch 33.70$          
0050036D Arm top hitch, right 51.65$          
0050036S Arm top hitch, left 51.65$          
0050037 Spacer 6.20$            
0050049 Washer flat Ø18 Z 0.35$            
0050051 Roller arm, right 75.70$          
0050052 Roller arm, left 75.70$          
0050066 Spacer 7.76$            
0050067 Use 0050067A
0050067A Support UCFT204‐20 50.29$          
0050081 Skid 79.90$          
0050105 Blade "Y" 6.46$            
0050105B Use 0051118
0050106 Chain shackle round pin 16.65$          
0050107 Bolt SP 7/16"‐20x80 C10.9 N P 2.87$            
0050108 Nut ES 7/16"‐20 Z 0.60$            
0050110 Blade, fine cut 7.22$            
0050114 Cover flail rotor 33.06$          
0050115 Use 0046331
0050117 Split lock bushing Ø35x65 99.13$          
0050118 Pulley SPB 140x2 254.00$       
0050123 Belt 5V500 44.56$          
0050125 Pulley SPB 225x2 463.94$       
0050127 Split lock bushing Ø30x55 92.24$          
0050131 Belt tensioner 46.38$          
0050135 Belt tensioner roller 42.99$          
0050142 Bearing 6204‐2RS 11.21$          
0050144 Snap ring, inner Ø47 1.82$            
0050145 Snap ring, outer Ø20 0.37$            
0050150 Use 0051740
0050151 Belt shield 507.02$       
0050165 Nut ES M06‐1.00 Z TK 0.12$            
0050166 Washer flat Ø06 Z 0.05$            
0050173 Gearbox complete 1,083.20$    
0050185 Input shaft 388.77$       
0050192 Pinion gear 285.10$       
0050203 Bushing 37.81$          
0050204 Roll pin Ø12x50 4.83$            
0050211 Bearing 6206‐2RS 39.47$          
0050212 Use 0050212A

All prices are FOB Rocky Mount, NC and are subject to change without notice. 45

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0050212A Bearing 6306‐2RS 34.93$          
0050217 Input shaft 365.45$       
0050340 Three point hitch 596.39$       
0050370 Guide tube, upper 225.52$       
0050372 Guide tube, lower 209.62$       
0050375 Bracket, tube holder 105.03$       
0050380 Support plate, tube 60.61$          
0050385 Bolt HH M14‐2.00x120 C8.8 Z F 5.13$            
0050390 Support plate, gearbox 59.64$          

0050395 Counter plate, gearbox 16.13$          
0050400 Belt shield 279.44$       
0050403 Spacer Ø16 5.16$            
0050405 Rubber strip 1650 mm. 8.49$            
0050510 Mounting bracket, cylinder 32.24$          
0050519 Spacer Ø21.3 3.07$            
0050595 Blade 14.26$          
0050596 Bolt, knife hook 23.04$          
0050603 Use 0050603A
0050603A Support SF Ø30 71.87$          
0050613 Pulley SPB 140x1 155.53$       
0050614 Pulley SPB 225x1 259.18$       
0050621 Belt tensioner 46.38$          
0050749 Arm, top hitch 117.54$       
0050754 Spacer 8.83$            
0050778 Skid shoe 230.51$       
0050778B Skid shoe 207.99$       
0050787 Arm, roller plate 62.22$          
0050834 Blade fine cut, triangle 7.98$            
0051031 Three point hitch 119.23$       
0051035 Support, top hitch 37.11$          
0051040 Inner spacer 11.26$          
0051056 Plate, bottom hitch 59.61$          
0051066 Skid shoe 43.73$          
0051073 Bolt CR M12‐1.75x30 C4.6 Z 1.23$            
0051116 Blade, hammer 25.61$          
0051118 Blade "Y" 6.27$            
0051124 Support, rotor 145.14$       
0051127 Bearing YAR 207‐2RF 90.63$          
0051129 Grease fitting M06‐1.00 threaded 0.80$            
0051133 Pulley SPB 160x1 215.34$       
0051135 Belt SPBX1320 57.48$          
0051138 Pulley SPB 250x1 243.63$       
0051141 Belt tensioner 54.43$          
0051146 Use 0052166
0051158 Spacer 3.89$            
0051161 Belt shield 388.77$       
0051166 Belt shield 388.77$       
0051187 Input shaft 106.27$       
0051240 Plastic cap 22 mm. 4.94$            
0051312 Support plate, tube 52.11$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 46

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0051320 Arm, top hitch 43.24$          
0051322 Support, top hitch 45.41$          
0051325 Three point hitch 405.39$       
0051330 Arm, top hitch 27.32$          
0051332 Hitch arm, lower right 101.28$       
0051385 Blade dethatching 5.46$            
0051391 Outer cover, right 6.64$            
0051407 Belt CX45 68.64$          
0051409 Belt BX45 71.24$          
0051410 Pulley SPB 180x2 195.95$       
0051432 Belt shield 362.86$       
0051441 Support plate, gearbox 62.69$          
0051570 Cap 0.23$            
0051581 Central plate 48" 183.16$       
0051583 Central plate 60" 183.16$       
0051585 Central plate 72" 194.06$       
0051597 Tractor hitch support 275.40$       
0051706 Bearing 6205‐2RS 13.74$          
0051740 Spring 33.74$          
0051741 Belt tensioner support 48" 53.17$          
0051745 Belt tensioner support 60"‐72" 82.91$          
0051751 Bolt SP M10‐1.5, belt tensioner 13.29$          
0051753 Use 0017354
0051754 Shim Ø10x16x0.2 0.57$            
0051755 Hitch plate 60" 15.49$          
0051757 Hitch plate 72" 16.66$          
0051772 Wheel arm 4' 243.63$       
0051776 Washer flat Ø10 Z 1.15$            
0051781 Wheel arm 5' 246.23$       
0051783 Wheel arm 6' 243.65$       
0051817 Linking plate 77.44$          
0051822 Top hitch support 42.87$          
0051824 Top hitch arm 48" 47.71$          
0051826 Top hitch arm 60" 50.72$          
0051828 Top hitch arm 72" 54.24$          
0051849 Spacing disc 2.65$            
0051856 Rear protection, inner 13.50$          
0051858 Rear protection, outer 60" 4.96$            
0051859 Rear protection, outer 72" 4.34$            
0051891 Use 0051896
0051892 Use 0051897
0051896 Housing w/fins w/o fill hole, gearbox 98.46$          
0051897 Housing w/fins  w/fill hole, gearbox 116.64$       
0051941 Floating yoke 346.64$       
0051953 Bolt HH M20‐2.50x110 C8.8 Z P 5.26$            
0051954 Bolt HH M20‐2.50x140 C8.8 Z P 6.97$            
0051965 Bolt HH M16‐2.00x65 C8.8 Z P 2.45$            
0052011 Connector 31.10$          
0052031 A frame Combovette 145.14$       
0052035 A frame support, left 33.70$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 47

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0052037 A frame support, right 100.76$       
0052107 Support UCFL205 TF 79.45$          
0052126 Blade dethatching 5.11$            
0052133 Cover outer, right 12.70$          
0052141 Pulley SPC 160x1 228.07$       
0052143 Pulley SPB 160x2 285.10$       
0052144 Belt C50 23.60$          
0052146 Belt B54 21.68$          
0052149 Pulley SPC 250x1 388.53$       
0052150 Pulley SPB 250x2 440.62$       
0052151 Plate, belt tensioner 54.43$          
0052157 Use 0052166
0052166 Roller, belt tensioner 98.49$          
0052187 Belt tensioner roller 52.31$          
0052261 Lower slid attachment 54.43$          
0052271 Slide inner tube 155.53$       
0052275 Lower slide 167.54$       
0052280 Lever 31.10$          
0052281 Upper slide 158.09$       
0052288 Steel cable 380.99$       
0052291 Pulley SPA 200x1 204.76$       
0052298 Spacer Combovette 5.96$            
0052299 Spacer 5.70$            
0052338 Bolt HH M06‐1.00x80 C8.8 N F 0.52$            
0052340 Bolt HH 1/4"‐20x0.75" Z F 0.44$            
0052361 Opening tie rod 20.64$          
0052379 Hopper cover holding plate 19.95$          
0052382 Hopper cover holding plate 12.70$          
0052416 Hydraulic hose support 108.86$       
0052418 Bolt HH M06‐1.00x40 C8.8 Z P 0.23$            
0052421 3 way valve 435.43$       
0052430 Tee compression 10 mm. 44.05$          
0052432 Cross compression 10 mm. 77.76$          
0052435 Stop valve 329.15$       
0052438 Washer copper sealing 1/4" 1.56$            
0052440 Conn. 90 degrees 1/4" D10 31.10$          
0052449 Coupling 90 degrees 38.87$          
0052453 Hydraulic hose bracket 16.59$          
0052469 Hydraulic hose 1/4"x1500 mm. 137.37$       
0052473 Use 0082488
0052482 Hydraulic hose 1/4"x1180 mm. 62.22$          
0052485 Hydraulic hose 1/4"x1650 mm. 69.98$          
0052487 Hydraulic hose 1/4"x1300 mm. 64.80$          
0052501 Hydraulic cylinder 1,578.44$    
0052511 Hopper lifting cylinder 1,360.69$    
0052521 Gate cylinder 953.80$       
0052709 Side skid 44.85$          
0052752 Support, top hitch 88.31$          
0052792 Ring gear 402.78$       
0052793 Pinion gear 402.78$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 48

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0052808 Spacer 61.73$          
0052850 Protection, rotor 60" 440.62$       
0052858 Fixing plate 18.03$          
0052861 Bolt blade SP M27‐2.00x72 39.94$          
0052872 Hook, driveline 9.06$            
0052882 Use 7900429+(2)7900428
0052886 Inner spacer, wheel 18.38$          
0052887 Outer spacer, wheel 5.78$            
0052888 Oil seal 12194 5.93$            
0052889 Bearing L44643, L44610 22.69$          
0052891 Bolt HH 1/2"‐20x1.00" G5 Z F 4.55$            
0052892 Washer lock 1/2" Z 0.12$            
0052895 Wheel laminated 59.32$          
0052895A Wheel complete 4x8x15 210.09$       
0053015 Metal skid 57.17$          
0053021 Gearbox stand 777.55$       
0053031 Bolt "U" M14‐2.00x73x101 Z 12.44$          
0053036 Three point hitch 144.44$       
0053042 Arm, top hitch 49.52$          
0053045 Upper plate 16.98$          
0053065 Hitch pin 7/8"x2.75" 32.30$          
0053117 Use 0037514A
0053153 Rotor support 181.05$       
0053155 Grease fitting M06‐1.00 threaded 90 degree 1.82$            
0053156 Bearing YAR 209‐2RF 112.86$       
0053160 Dirt shield, right 13.74$          
0053162 Split lock bushing 40x65 111.48$       
0053163 Pulley 180x1 336.94$       
0053165 Belt CX51 58.27$          
0053166 Belt CX52 66.66$          
0053167 Split lock bushing 30x65 111.48$       
0053169 Pulley 225x1 440.62$       
0053171 Support, belt tensioner pulley 24.36$          
0053186 Tie rod, belt tensioner adjustment 29.50$          
0053191 Support, pulley 41.47$          
0053196 Bracket, belt tensioner adjustment 9.62$            
0053208 Belt shield 388.77$       
0053213 Belt cover protection 36.45$          
0053221 Gearbox cover 199.56$       
0053224 Gearbox complete 2,958.65$    
0053225 Housing, gearbox 2,005.04$    
0053227 Housing, gearbox 1,317.94$    
0053228 Housing, gearbox 992.73$       
0053231 Cover 165.91$       
0053234 Outer spacer 8.45$            
0053235 Gasket 1.56$            
0053240 Shim Ø45x55x2 4.69$            
0053241 Front spacer 13.74$          
0053243 Input shaft 259.18$       
0053244 Input shaft 256.62$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 49

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0053245 Ring gear 599.11$       
0053246 Pinion gear 519.24$       
0053248 Shim Ø40x50x2 4.94$            
0053253 Inner spacer 11.14$          
0053254 Spacer outer 22.56$          
0053255 Use 0030680
0053256 Spacer inner 10.38$          
0053257 Spacer outer 17.89$          
0053258 Spacer front 18.68$          
0053259 Gasket 3/10 1.33$            
0053261 Tube, drive shaft 74"‐88" 388.77$       
0053265 Drive shaft 74"‐88" 196.80$       
0053277 Front cover, gearbox 103.68$       
0053278 Gearbox mounting plate 124.43$       
0053282 Ring gear 387.86$       
0053283 Pinion gear Z12 311.01$       
0053325 Wheel hitch support 108.89$       
0053332 Wheel arm 100.32$       
0053341 Wheel yoke 162.76$       
0053352 Wheel complete 259.18$       
0053356 Outer spacer, wheel 8.32$            
0053404 Gearbox complete 3,422.22$    
0053405 Housing, gearbox 751.63$       
0053409 Cover, gearbox housing 147.79$       
0053414 Bushing, gearbox housing 89.90$          
0053421 Cap V4‐123 12.46$          
0053442 Rear plate 93.34$          
0053446 Drain plug 3.62$            
0053457 Locking plate 62.64$          
0053501 Three point hitch 235.53$       
0053508 Arm, top hitch 64.46$          
0053512 Upper plate 86.24$          
0053532 Hitch pin 52.47$          
0053611 Rotor support 792.70$       
0053614 Grease fitting block, rotor support 17.80$          
0053615 Connector Ø6, rotor support 9.43$            
0053616 Grease fitting block, rotor support 28.01$          
0053617 Bolt CS M06‐1.00x35 C8.8 Z F 0.21$            
0053618 Grease fitting tube, rotor support 17.24$          
0053621 Split lock bushing Ø40x80 81.65$          
0053622 Pulley SPC 225x2 511.50$       
0053626 Pulley SPC 180x2 427.51$       
0053629 Spacer 11.14$          
0053630 Use 005‐3621
0053661 Fixing angle bar 9.24$            
0053671 Belt shield 624.76$       
0053740 Tube drive shaft support plate 44.78$          
0053801 Wheel yoke arm 130.91$       
0054041 Locking plate 47.33$          
0054101 Rotor support 491.23$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 50

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0054118 Spacer, split lock bushing 7.89$            
0054131 Belt shield 473.94$       
0054136 Rubber strip 1670 mm. 23.36$          
0054290 Oil seal 40.90.8 TC 26.45$          
0054422 Hairpin cotter Ø2.5 Z 0.63$            
0055045 Bolt HH M18‐2.50x50 C8.8 Z F 1.40$            
0055047 Nut ES M18‐2.50 Z TK 1.10$            
0055324 Shim Ø50x62x2 5.61$            
0055350 Use 0005542
0055358 Use 0055358A
0055358A Bearing 6208‐2RS 37.90$          
0055439 Bearing 6206‐Z 33.12$          
0055440 Bearing 6006‐Z 16.84$          
0055447 Bolt HH M16‐2.00x170 C8.8 Z P 4.98$            
0055803 Vertical support 47.68$          
0055809 Inner spacer 6.97$            
0055816 Wheel arm 0.01$            
0055817 Wheel yoke 0.01$            
0055819 Bolt HH 3/4"‐10x7.00" Z P 6.86$            
0055820 Nut HH 3/4"‐10 G2 Z TN 0.28$            
0055821 Use 0052895+7900429
0055822 Bushing, wheel hub 14.59$          
0055826 Access plate 48"‐72" 23.15$          
0055831 Rotor w/hub 48"‐72" 269.32$       
0055835 Wheel bushing 0.01$            
0055836 Use 0052886
0055842 Stump jumper 93.31$          
0055844 Shield bracket 12.77$          
0056294 Dipstick 32.27$          
0056511 Top hitch support 39.45$          
0056523 Linking plate 59.13$          
0056525 Hitch block 52.36$          
0056681 Housing w/o fill hole, gearbox 103.68$       
0056682 Housing w/fill hole, gearbox 103.71$       
0056683 Cap 7.78$            
0057004 Three point hitch 1,474.96$    
0057020 Spacer, lower hitch pin 18.91$          
0057024 Tool box 75.18$          
0057031 Tool box stop 6.77$            
0057035 Lower yoke 570.21$       
0057038 Upper yoke 362.86$       
0057043 Main vertical frame pin 121.86$       
0057045 Roll pin Ø16x80 17.89$          
0057048 Pin 64.80$          
0057050 Spacer 11.94$          
0057055 Suspension tube 197.03$       
0057060 Suspension spring 272.14$       
0057061 Suspension rod 111.48$       
0057068 Transport lock pin 33.71$          
0057084 Link pin 21.29$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 51

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0057088 Cylinder complete 1,267.54$    
0057092 Cylinder body 797.11$       
0057093 Cylinder shaft 797.11$       
0057094 Front bushing 246.29$       
0057095 Gasket 59.62$          
0057096 Oil ring 132 27.71$          
0057097 Gasket 29.53$          
0057098 Gasket 12.95$          
0057111 Tube R1 1/4"x2300 mm. 178.86$       
0057113 Bolt hollow M14‐1.50x28 Z 16.22$          
0057114 Washer copper sealing Ø14 1.56$            
0057121 Lift rod 124.43$       
0057125 Bolt HH M10‐1.50x45 C8.8 Z P 0.64$            
0057128 Link 121.86$       
0057143 Main frame pin 72.61$          
0057147 Stand 158.16$       
0057151 Stand dowel 25.94$          
0057156 Roll pin Ø8x80 3.17$            
0057158 Cotter pin Ø4x45 0.50$            
0057161 Frame 1,114.48$    
0057198 Breakaway slide 248.86$       
0057199 Pin 33.71$          
0057201 Washer conical Ø16 N 1.84$            
0057202 Spring 62.22$          
0057204 Breakaway pawl 40.51$          
0057211 Support 311.01$       
0057220 PTO shaft (111) 202.18$       
0057223 PTO shaft (113) 202.18$       
0057224 Tensioning rod 9.84$            
0057237 Mounting plate 17.67$          
0057262 Pulley SPB 325x3 896.47$       
0057263 Pulley SPB 325x4 1,037.15$    
0057264 Pulley SPB 160x3 463.95$       
0057265 Pulley SPB 160x4 489.88$       
0057269 Belt SPB2500 109.93$       
0057270 Key 10x8x50 3.83$            
0057272 Belt guard half, inner 259.18$       
0057273 Washer fender Ø12 Z 1.10$            
0057274 Belt guard half, outer 259.18$       
0057276 Spacer 18.54$          
0057283 Hinge plate 259.18$       
0057288 Bolt SC M14‐2.00x40 C8.8 N F 4.41$            
0057319 Spacer 1.45 IDx1.60 ODx0.90 L 15.10$          
0057320 Spacer 1.44 IDx1.60 ODx0.475 L 11.69$          
0057322 Rear arm 22" long 44.12$          
0057324 Front arm 19" long 41.51$          
0057326 Front arm 38.87$          
0057328 Threaded rod 6.26$            
0057343 Bolt CR M10‐1.50x45 C4.6 Z 1.33$            
0057351 Front deflector 165.91$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 52

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0057356 Inner safety guard 484.02$       
0057361 Plate 12.95$          
0057362 Plate 10.89$          
0057363 Plate 10.89$          
0057364 Plate 10.66$          
0057371 Swath board 230.69$       
0057375 Bolt CR M12‐1.75x80 C4.6 Z 2.07$            
0057379 Spring 38.87$          
0057382 Swath stick point 18.91$          
0057384 Bolt CR M08‐1.25x30 C4.6 Z 0.81$            
0057385 Bolt CR M08‐1.25x45 C4.6 Z 1.04$            
0057390 Swathboard stick 60.73$          
0057403 Chain hook 23.33$          
0057407 Pulley SPB 315x3 725.71$       
0057408 Pulley SPB 315x4 855.30$       
0057409 Pulley SPB 160x3 440.62$       
0057410 Pulley SPB 160x4 777.55$       
0057434 Knife straight 5.54$            
0057475 Sheet support 532.43$       
0057487 Bolt SC M08‐1.25x22 C8.8 Z 1.04$            
0057488 Key 10x8x45 2.89$            
0057505 Bolt HH M10‐1.50x22 C8.8 N F 0.43$            
0057506 Cover 228.18$       
0057508 Bushing, gearbox 25.34$          
0057511 Spacer washer Ø35.3x48.0 4.21$            

0057512 Input shaft 299.62$       
0057513 Key 10x8x35 3.70$            
0057514 Ring gear Z33 322.62$       
0057515 Housing, gearbox 1,060.11$    
0057516 Dipstick 3/8" GAS 9.27$            
0057518 Breather cap 3/8" GAS 20.53$          
0057520 Bushing 10.29$          
0057523 Pinion gear 391.79$       
0057535 Plate w/crop divider 380.49$       
0057537 Washer flat Ø17 N 0.18$            
0057538 Snap ring, outer Ø40 2.60$            
0057539 Use 0012149A
0057540 Bolt SC M08‐1.25x25 C8.8 N F 3.23$            
0057541 Bushing 87.62$          
0057542 Bolt SC M20‐2.50x30 C8.8 Z F 38.61$          
0057543 Hook support 36.85$          
0057544 Support shaft 158.59$       
0057545 Spacer 7.56$            
0057547 Gear Z45 437.88$       
0057548 Bearing 6208‐C3, snap ring groves 124.30$       
0057549 Gear Z36 200.46$       
0057550 Spacer 6.49$            
0057551 Spindle 62.34$          
0057552 Skid support 202.98$       
0057552B Skid support w/3" riser 146.55$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 53

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0057553 Roll pin Ø10x12 1.77$            
0057554 Cap CS 3/8" GAS 9.35$            
0057555 Nut HH M10‐1.50 C6 Z TN 1.04$            
0057556 Washer conical Ø10 N 0.76$            
0057557 Spacer 11.05$          
0057560 Gear Z34 289.93$       
0057561 Gear Z45 253.51$       

0057562 Bearing 6306‐2Z‐C3 31.06$          
0057563 Bolt wheel stud M10‐1.25x52 Z 6.06$            

0057564 Support bearing 191.27$       
0057565 Oil ring 362 3.01$            
0057566 Spacer 14.31$          
0057567 Oil seal 40.56.8 TC 10.59$          
0057568 Spacer 11.73$          
0057569 Cover 15.13$          
0057570 Skid support 219.64$       
0057570B Skid support, w/3" riser 155.83$       
0057571 Bearing 6206‐2RS‐C3 19.21$          
0057572 Plate w/bushing 182.69$       
0057574 Washer spring lock Ø35 N 3.52$            
0057576 Cover 12.03$          
0057577 Bolt low SP 10.73$          
0057578 Bolt M10‐1.25x19 Z, wheel stud 4.79$            
0057579 Bolt M10‐1.25x30 Z, wheel stud 4.07$            
0057580 Oil ring 4375 5.91$            
0057581 Bolt blade M12‐1.75x22 30.13$          

0057581B Bolt blade M12‐1.75x24 32.07$          
0057582 Spacer 12.69$          
0057583 Washer SP 2.47$            
0057583B Use 0057583
0057584 Gearbox skid support 714.41$       
0057584B Gearbox skid support, w/3" riser 199.63$       
0057585 Bolt SC M12‐1.75x45 C12.9 N F 1.20$            
0057586 Bolt SC M10‐1.50x22 C12.9 N F 0.71$            
0057587 Bolt SC M10‐1.50x35 C12.9 N F 1.34$            
0057588 Bolt SC M12‐2.00x40 C8.8 N F 2.14$            
0057589 Nut SP M12‐1.75 C10.9 Z 0.34$            
0057589B Use 0057589

0057594 Bolt HH M12‐1.25x75 C8.8 Z P 1.50$            
0057596 Spindle 12.67$          
0057597 Shaft support 21.22$          
0058011 Draw Bar 1,166.31$    
0058022 Drawbar 1,373.68$    
0058028 Hitch, main frame 781.98$       
0058031 Front hitch 125.96$       
0058041 Pivot hitch 1,062.66$    
0058050 Floating front hitch 326.51$       
0058096 Plastic angle 17.01$          
0058097 Self tapping screw HH M6.3x30 Z 0.63$            
0058100 Main frame 1,216.01$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 54

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0058120 Hydraulic cylinder 30mmRx70mmBx10"S 336.13$       
0058122 Pin, hydraulic cylinder 25x111.5 mm. Z 27.62$          
0058123 Breather cap M05‐0.80, hydraulic cylinder 9.76$            
0058125 Repair kit, hydraulic cylinder 46.66$          
0058130 Frame, rear 1,184.83$    
0058162 Oil seal 52.85.10 TC 14.37$          
0058220 Wire rope, rear 1600 mm. 8.00$            
0058221 Wire rope, side 970 mm. 7.10$            
0058222 Wire rope, front 2600 mm. 10.21$          
0058224 U Clamp Complete 0.86$            
0058225 Wire Loop 0.73$            
0058228 Handle 29.96$          
0058282 Kick‐out bracket FLX 28.51$          
0058290 Rear lift 958.98$       
0058310 Plastic cap 45 mm. 3.49$            
0058312 Pin, rear lift 38.87$          
0058320 Lift arm 12', 15' 168.30$       
0058323 Lift arm 17' 179.14$       
0058326 Lift arm, rear 129.60$       
0058327 Lift arm, rear 129.60$       
0058330 Plastic cap 60 mm. 6.49$            
0058332 Plastic cap 60 mm. 4.62$            
0058333 Hitch pin 42.78$          
0058340 Front hitch 12' 440.62$       
0058350 Front hitch 15' 492.45$       
0058360 Front hitch 17' 622.04$       
0058418 Short plate 50.00$          
0058419 Long plate 66.70$          
0058443 Eye/eye turnbuckle M16x2.00 Z 23.45$          
0058444 Shackle Ø12 M12x1.75 Z 5.54$            
0058447 Transport brace FLX 9.95$            
0058464 Input shaft 121.80$       
0058465 Input shaft 191.79$       
0058470 Ring gear 414.69$       
0058472 Use 0058472A
0058472A Bearing 30206 J2/Q 43.31$          
0058477 Ring gear, helical gears 336.94$       
0058478 Pinion gear 336.94$       
0058479 Pinion gear, helical gears 311.01$       
0058499 Bolt HH M12‐1.75x90 C8.8 Z F 1.63$            
0058500 Support, front roller 200.33$       

0058503 Shim Ø17x24x1.5 0.96$            
0058504 Roller pin 75.83$          
0058507 Front Roller 199.79$       
0058508 Bearing 6202‐2RS 28.17$          
0058520 Wheel arm 48" hexagonal w/center hole 414.69$       
0058530 Wheel arm 60", hexagonal w/center hole 414.69$       
0058540 Wheel arm 72", w/center hole 414.69$       
0058551 Wheel yoke, hexagonal shaft 126.29$       
0058555 Use 0058560

All prices are FOB Rocky Mount, NC and are subject to change without notice. 55

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0058556 Height adjustment spacer 1/2", round for hexagonal shaft 4.89$            
0058557 Use 0058562
0058560 Spacer 1" hexagonal 5.26$            
0058561 Spacer 1/2" hexagonal 4.89$            
0058562 Spacer 1/4" hexagonal 4.55$            
0058760 Mounting bracket, cylinder 50.32$          
0058765 Hydraulic cylinder 304.57$       
0058768 Sleeve, hydraulic hose 1/4" 18.71$          
0058783 Cotter pin 5.63$            
0059041 Tree point hitch 178.18$       
0059047 Arm, top hitch 84.60$          
0059049 Tree point hitch joint 21.03$          
0059064 Hitch block pin 59.61$          
0059090 Roller hub 106.27$       
0059097 Bearing 6307‐2RS 45.30$          
0059125 Rotor support 103.68$       
0059128 Bearing YAR 210‐2RF 123.24$       

0059129 Protection 64.80$          
0059131 Key 14x9x45 2.71$            
0059132 Bolt HH M14‐1.50x45 C8.8 Z F 1.57$            
0059133 Washer flat Ø14 N 5.96$            
0059135 Belt CX53 50.76$          
0059136 Belt CX54 49.40$          
0059137 Key 12x8x40 2.50$            
0059138 Belt CX57 75.28$          
0059141 Pulley SPC 180x2 360.20$       
0059142 Pulley SPC 200x2 579.67$       
0059143 Pulley SPC 225x2 461.20$       
0059144 Spacer 13.22$          
0059146 Support, belt tensioner pulley 38.87$          
0059151 Pulley, belt tensioner 104.60$       
0059155 Spacer 6.72$            
0059161 Tie rod, belt tensioner adjustment 32.03$          
0059180 Belt shield 492.45$       
0059187 Protection, belt shield 39.62$          
0059213 Pinion gear 311.01$       
0059240 Rear plate 93.31$          
0059241 Front cover, gearbox 93.31$          
0059260 Use 0059985
0059261 Side skid, left 41.46$          
0059272 Hitch, wheel frame 388.77$       
0059281 Bolt "V" M14‐2.00x97x95 Z 44.04$          
0059285 Hitch, wheel yoke 105.79$       
0059310 PTO guard 40.83$          
0059312 Protection support 33.71$          
0059399 Locking plate 68.14$          
0059401 Three point hitch 249.70$       
0059408 Arm, top hitch 108.88$       
0059471 Support UCF 208 128.31$       
0059473 Bolt CS M14‐2.00x50 C10.9 Z F 2.31$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 56

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0059521 Rotor support 282.68$       
0059522 Rotor support 1,001.33$    
0059524 Bearing 22210 MB W33 249.56$       
0059525 Bolt CS M06‐1.00x40 C8.8 Z F 0.34$            
0059526 Oil seal 65.100.10 SC 17.71$          
0059527 Protection 79.15$          
0059535 Split lock bushing Ø50x80 78.65$          
0059536 Pulley SPC 200x2 426.26$       
0059539 Spacer 11.37$          
0059540 Split lock bushing Ø50x80 106.59$       
0059581 Belt shield 626.04$       
0059751 Hitch, wheel yoke 122.56$       
0059841 Locking plate 48.97$          
0059856 Arm, top hitch 72.64$          
0059858 Plate, upper three point hitch 101.44$       
0059873 Support USFTE 208 293.73$       
0059901 Rotor support 491.23$       
0059908 Grease fitting tube, rotor support 17.77$          
0059918 Spacer 8.24$            
0059921 Support, tensioner 63.09$          
0059931 Belt shield 409.98$       
0059936 Rubber strip 1750 mm. 23.87$          
0059981 Support plate, drive shaft tube 47.52$          
0059985 Side skid 33.78$          
0060295 Gearbox cover 243.59$       
0060509 Bolt CR M10‐1.50x25 C8.8 Z 1.65$            
0060564 Chain 1.98$            
0060610 Hitch pin 43.50$          
0060616 Fixing plate 22.68$          
0060620 Support, top hitch 72.65$          
0061070 Wheel support 727.54$       
0061110 Hitch pin 54.34$          
0061113 Support, top hitch 76.88$          
0061150 Ring gear 210.81$       
0061151 Pinion gear 373.01$       
0061161 Bearing 22208 E 221.63$       
0061163 Pinion spacer, inner 5.28$            
0061164 Pinion spacer, outer 17.71$          
0061216 Fixing plate 19.51$          
0061270 Hitch cat. 2, complete 2,029.22$    
0061290 Handle release QH2 101.16$       
0061300 Yoke, spring QH2 31.87$          
0061310 Lever QH2 102.19$       
0061320 Pin, QH2 arm attachment 36.33$          
0062238 Drive shaft 148.30$       
0062251 Pulley SPA 70x1 65.90$          
0062254 Key 8x7x50 2.68$            
0063033 Rubber cap Ø70 7.46$            
0063035 Locking plate 37.73$          
0063044 Plate, hyd. hose retainer 18.10$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 57

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0063058 Bushing 46.13$          
0063060 Ring SB 90 3.67$            
0063061 Step pin, top hitch Ø19‐Ø25x177 Z 36.06$          
0063065 Pin hitch 35.43$          
0063072 Roller arm 102.03$       
0063114 Blade, hammer 25.74$          
0063116 Bolt HH M16‐1.50x100 C10.9 Z P 6.16$            
0063117 Nut ES M16‐1.50 C8 Z TK 1.65$            
0063141 Rotor support 491.23$       
0063213 Pulley SPB 180x4 140.68$       
0063215 Belt XPBX1340 33.69$          
0063218 Pulley SPB 212x4 166.26$       
0063220 Spacer 9.10$            
0063222 Support, pulley 96.05$          
0063225 Bolt HH M20‐2.50x50 C8.8 Z F 2.81$            
0063227 Pulley, belt tensioner 253.65$       
0063232 Spacer 2.45$            
0063238 Bolt HH M14‐2.00x150 C8.8 Z F 8.45$            
0063251 Belt shield 439.99$       
0063255 Rubber strip 1655 mm. 23.28$          
0063274 Oil seal 40.72.10 TC 14.27$          
0063281 Input shaft 143.87$       
0063282 Ring gear 387.86$       
0063283 Pinion gear 298.39$       
0063318 Support plate, driveshaft tube 43.89$          
0063329 Front plate 73.68$          
0063331 Rear plate 70.85$          
0063348 Deflector D90 Z 50.76$          
0063350 Deflector, Narrow D90 Z 48.51$          
0063352 PTO shaft protection 77.40$          
0063353 PTO shaft protection, rear 77.40$          
0063365 Hydraulic cylinder 584.03$       
0063366 Hydraulic cylinder 600.50$       
0063374 Spacer 5.46$            
0063375 Mounting bracket, cylinder 54.11$          
0063380 Bolt "U" 24.52$          
0063389 Hose 2850 mm. 100.71$       
0063390 Hose 2550 mm. 100.71$       
0063396 Rubber cap 6.83$            
0063398 Hose sleeve 19.95$          
0063422 Double tree point hitch 2,693.12$    
0063431 Bracket, top hitch 397.82$       
0063435 Pin, top hitch 25.64$          
0063456 Input shaft, double 235.56$       
0063463 Protection PTO 72.85$          
0063620E Shield complete (CV) 247.97$       
0064024 Bolt HH M18‐2.50x110 C8.8 Z P 9.12$            
0064211 Chain pan protection 37.77$          
0064215 Gasket 35.02$          
0064227 Breather cap 15.10$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 58

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0064355 Hitch block 144.15$       
0064377 Bolt HH M18‐2.50x45 C8.8 Z F 3.65$            
0064435 Breather cap 13.13$          
0064605 Cage roller 120" 3,273.07$    
0064625 Packer roller 120" 7,130.70$    
0064635 Scraper support bar 120" 662.40$       
0064648 Bolt HH M12‐1.75x20 C8.8 Z F 0.60$            
0064841 Bearing 6007 22.59$          

0065183 Bearing 30310 117.03$       
0066039 Washer flat Ø31 N 3.07$            
0066063 Bearing 22213C 256.39$       
0066066 Oil ring 670 2.76$            
0066075 Nut HH M42‐2.00 C5 Z 18.46$          
0066076 Cotter pin 0.37$            
0066108 Bearing 32213 138.50$       
0066125 Bearing 30218 226.90$       
0066141 Bearing 30215 135.59$       
0066144 Bearing 32310 155.56$       
0066210 Yoke complete 657.35$       
0066240 Shield complete 104.09$       
0066258 Pin hitch 58.44$          
0066271 Bolt HH M18‐2.50x150 C8.8 N P 11.48$          
0066283 Top hitch 112.99$       
0066406 Bolt HH M16‐2.00x20 C8.8 Z F 1.45$            
0066450 Bearing 32210 92.24$          
0067064 Bolt HH M10‐1.50x150 C8.8 Z F 12.20$          
0067082 Bolt SP M12‐1.75x122 C8.8 P F 6.49$            
0067107 Ring gear 576.16$       
0067123 Pinion gear 576.16$       
0067168 Belt CX108 100.71$       
0067169 Belt CX96 85.15$          
0067170 Belt CX106 94.43$          
0067173 Pulley C/180x2 333.85$       
0067174 Pulley C/180x1 263.01$       
0067183 Key 8x10x35 2.14$            
0067185 Spacer, spindle 64.96$          
0067191 Oil seal 42.65.10 TC 11.87$          
0067202 Spindle rotor 336.94$       
0067207 Spindle assembly complete 725.71$       
0067212 Bolt blade SP M18‐2.50x48 39.18$          
0067214 Nut CA M18‐2.50 C5 Z TK 5.52$            
0067217 Cotter pin Ø3x35 N 0.31$            
0067251 Linking plate 214.28$       
0067256 Lower hitch arm 63.57$          
0067257 Lower hitch arm 27.78$          
0067271 Use 0067275
0067274 Top hitch support 75.20$          
0067275 Three point hitch 355.33$       
0067276 Top hitch arm 90" 121.41$       
0067277 Top hitch arm 110" 136.27$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 59

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0067282 Top hitch joint, straight 2 holes 21.44$          
0067285 Top hitch joint, L shaped 3 holes 71.82$          
0067286 Spacer, top hitch 8.86$            
0067305 Wheel yoke, hard tire 184.07$       
0067311 Height adjustment spacer 1/4" 1.71$            
0067342 Rear extension 90" 76.88$          
0067343 Rear extension 110" 87.88$          
0067354 Support, front roller 104.07$       
0067358 Roller Ø3" 32.39$          
0067363 Roller pin 18.91$          
0067365 Roller pin 49.52$          
0067371 Wheel yoke, air tire 251.43$       
0067377 Use 0067412
0067384 Rear protection, center 90" 21.02$          
0067385 Rear protection, side 90" 14.01$          
0067387 Rear protection, center 110" 26.36$          
0067388 Rear protection, side 110" 29.86$          
0067402 Wheel 13" air tire, complete 172.71$       
0067412 Bushing, wheel 13" air tire 10.79$          
0067414 Spacer, wheel 13" air tire 8.44$            
0068011 Right side panel 228.09$       
0068021 Drive Panel 362.86$       
0068082 Arm, top hitch 56.98$          
0068083 Support, top hitch 46.51$          
0068103 Chain hitch 14.79$          
0068132 Support plate, roller 51.84$          
0068148 Roller scraper 25.94$          
0068166 Hitch, turnbuckle 224.15$       
0068173 Hitch, turnbuckle 88.15$          
0068178 Bolt "U" 5.11$            
0068184 Rear arm 79.84$          
0068186 Locking arm plate 13.84$          
0068188 Spacer 4.31$            
0068190 Spacer 4.31$            
0068201 Plate 4.41$            
0069009 Vertical support 59.39$          
0069010 Use 0069033
0069014 Horizontal support 49.04$          
0069016 Inner spacer 5.62$            
0069017 Scarifier shank 47.66$          
0069018 Use 503639B
0069019 Use 0069620
0069020 Bolt plow w/nut 5/8"‐11x1.50" Z 2.10$            
0069021 Bolt HH 3/4"‐10x5.00" G5 Z P 5.27$            
0069022 Bolt HH 3/4"‐10x2.50" G5 Z 2.90$            
0069023 Hitch pin 9.33$            
0069024 Nut PT 3/4"‐10 Z 1.69$            
0069026 Scarifier tooth 6.00$            
0069027 Nut HH 3/4"‐10 G2 Z TK 0.68$            
0069029 Use 0069629

All prices are FOB Rocky Mount, NC and are subject to change without notice. 60

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0069031 Vertical support, left 48" 49.04$          
0069032 Vertical support, right 48" 49.04$          
0069033 Vertical support, left 59.39$          
0069034 Vertical support, right 59.39$          
0069301 Bolt CR 3/8"‐16x1.50" G2 Z F 0.31$            
0069400 Skid shoe, rear blade 40.52$          
0069500 A frame standard 458.43$       
0069501 A frame sub‐compact 278.33$       
0069502 Swivel standard, angled rear blade 300.84$       
0069503 Bolt HH 5/8"‐11x1.75" G5 Z F 1.73$            
0069504 Swivel sub‐compact, rear blade 410.61$       
0069505 Use 0069604
0069506 Pin flat head 1.00"x3.31" 5.56$            
0069507 Hitch pin cat. 1‐2 9.33$            
0069508 Handle pin 7.75" 13.68$          
0069510 Bolt HH 1/2"‐20x1.25" G8 Z P 0.90$            
0069511 Bolt HH 1.00"‐8x2.25" G8 Z P 4.15$            
0069512 Use 503650B
0069513 Washer flat 1" USS Z 0.94$            
0069514 Handle pin 6.88" 13.18$          
0069600 Use 0069500
0069601 Welded swivel standard 60" 289.29$       
0069602 Rake tine, standard 11.40$          
0069603 Bolt CR 3/8"‐16x1.25" Z F 0.40$            
0069604 Bolt HH 1.00"‐8x6.00" G8 Z P 18.29$          
0069607 Use 0069513
0069608 Foot stand 18.53$          
0069609 Bolt HH 5/8"‐11x2.00" G5 Z F 1.32$            
0069610 Bolt HH 3/4"‐10x4.00" Z P 3.65$            
0069611 Bolt HH 3/4"‐10x1.75" G5 Z F 2.07$            
0069612 Bolt HH 3/4"‐10x4.50" G5 Z P 4.29$            
0069613 Bolt HH 3/4"‐10x2.25" G5 Z F 3.38$            
0069614 Washer lock 3/4" Z 0.36$            
0069616 Swivel pin 3/4"x6.00" 5.83$            
0069618 Bolt CR 3/8"‐16x1.50" G2 N F 0.37$            
0069619 Use 0069629
0069620 Nut HH 3/8"‐16 G2 Z 0.09$            
0069629 Washer lock 3/8" Z 0.09$            
0070053 Serrated adjustment arm 91.34$          
0070057 Bolt HH M14‐2.00x70 C8.8 N F 1.26$            
0070243 Gear Z14 264.95$       
0070244 Gear Z21 428.65$       
0070271 Protective cover 66.19$          
0070346 Bolt HH M16‐2.00x110 C8.8 Z P 3.30$            
0070352 Bolt HH M16‐2.00x130 C8.8 Z P 4.89$            
0070373 Bolt HH M16‐2.00x80 C8.8 Z F 4.27$            
0070582 Bolt HH M14‐2.00x130 C8.8 Z P 3.89$            
0071091D Tine flash, right 13.57$          
0071091FD Tine flash, right flat 13.57$          
0071091FS Tine flash, left flat 13.57$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 61

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0071091S Tine flash, left 13.57$          
0071388 Hitch block 141.17$       
0072222 Snap ring, inner Ø80 3.87$            
0073036 Gasket 29.66$          
0073513 Bolt HH M16‐2.00x60 C8.8 Z F 1.98$            
0074036 Gear housing 2,298.96$    
0074042 Cover gear housing 506.50$       
0074049 Top flange front 187.02$       
0074051 Oil seal 45.62.10 SC 9.74$            
0074055 Shaft input 346.77$       
0074061 Gear Z15 420.80$       
0074063 Bearing 30307 77.43$          
0074065 Flange center front 105.19$       
0074066 Gasket 5.07$            
0074069 Shaft intermediate 206.48$       
0074073 Gear Z22 701.36$       
0074083 Gearbox 2,571.74$    
0074094 Bolt HH M12‐1.25x30 C8.8 N F 0.51$            
0074103 Top cover 202.64$       
0074111 Shaft main drive 575.76$       
0074116 Pinion gear 747.37$       
0074122 Pinion cover 215.90$       
0074127 Gasket 2/10 5.07$            
0074133 Pinion gear 761.22$       
0074134 Drain plug 9.31$            
0074136 Key 16x10x45 5.28$            
0074143 Wheel support 584.49$       
0074152 Bolt HH M14‐1.50x30 C8.8 N F 0.71$            
0074155 Spacer 116.93$       
0074156 Oil seal 85.120.12 SC 22.41$          
0074159 Gasket 5.07$            
0074160 Washer lock MB 13 Z 13.01$          
0074161 Locking ring ES GUK M65‐2.00 44.30$          
0074164 Key 16x10x60 4.26$            
0074165 Shaft cutter 553.62$       
0074182 Blade #4 33.51$          
0074183 Bolt CS M12‐1.75x40 C10.9 Z F 1.10$            
0074201 Shaft‐digger wheel 740.30$       
0074202 Key 16x10x100 5.82$            
0074205 Digging wheel 5,883.77$    
0074219 Cotter pin Ø5x70 0.76$            
0074226 Tine #3 16.61$          
0074231 Blade prong #1 43.63$          
0074232 Bolt HH M14‐2.00x40 C8.8 Z F 1.39$            
0074235 Blade prong #2 42.40$          
0074251 Hitch block 167.54$       
0074256 Bolt HH M20‐2.50x80 C8.8 Z P 13.89$          
0074261 Hitch pin 42.86$          
0074274 Arm, top hitch 77.87$          
0074277 Bolt HH M20‐2.50x65 C8.8 N P 2.37$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 62

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0074278 Bolt HH M20‐2.50x80 C8.8 N P 2.66$            
0074298 Dirt shield 38.57$          
0074306 Chain 132.46$       
0074307 Hook 31.94$          
0074396 Gear housing 2,298.96$    
0074402 Cover 584.49$       
0074409 Flange top right 190.91$       
0074415 Shaft input 631.26$       
0074433 Gear Z26 740.30$       
0074437 Lower gear Z40 841.63$       
0075051 Digging wheel 4,870.70$    
0075513 Use 0073513
0076040 Digging wheel 6,117.62$    
0076106 Washer fender Ø12 Z 0.34$            
0076175 Bolt HH M16‐2.00x90 C8.8 N P 3.03$            
0077021 Cover rotor 89.59$          
0077026 Gear 249.34$       
0077051 Tine clip 18.27$          
0077055 Bolt SP M12‐1.25x45 C12.9 Z P 1.96$            
0077064 Center tine holder 426.28$       
0077092 Shaft center 467.56$       
0077103 Gasket 0.007 4.69$            
0077110 Bolt SC M12‐1.75x30 C8.8 N F 1.12$            
0077221 Spring 30.44$          
0077241 Spacer 5.82$            
0077259 Bolt "U" M14 13.84$          
0077265 Turnbuckle 245.51$       
0077279 Pin hitch 62.33$          
0077293 Shaft center SR2 PH 370.17$       
0077364 Shaft thru drive 506.50$       
0077365 Spacer 199.30$       
0077391 Plate 17.01$          
0077400 Bolt "U" M08 8.18$            
0077450 Bolt "U" M10 7.80$            
0077616 Hydraulic hose 186.15$       
0077617 Valve 259.18$       
0077779 Bolt HH M20‐2.50x80 C8.8 Z F 6.38$            
0077841 Hydraulic cylinder 2,898.14$    
0078031 A frame hitch 230.93$       
0078047 Gear pin 35.98$          
0078171 Lower Holder N/S 777.55$       
0079341 Breather cap 1/4" 7.76$            
0080011 Side panel, right 228.09$       
0080021 Drive panel 362.86$       
0080027 Protection, chain case cover 31.15$          
0080033 Cover, chain case 165.91$       
0080035 Gasket, chain case cover 31.15$          
0080056 Serrated adjustment arm 86.44$          
0080057 Plate 9.30$            
0080072 Flanged pivot, right 336.94$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 63

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0080075 Dirt shield 18.39$          
0080088 Flanged pivot, left 388.77$       
0080091 Dirt shield 35.85$          
0080111 Outer cover, right 96.96$          
0080114 Right support, complete 122.33$       
0080116 Dirt shield 15.27$          
0080131 Rotor support, left 173.69$       
0080142 Sprocket Z14 216.04$       

0080149 Bolt HH M14‐2.00x75 C8.8 N F 1.57$            
0080150 Bolt HH M14‐2.00x75 C8.8 Z F 2.63$            
0080152 Nut HH M14‐2.00 C6 N TN 0.32$            
0080160 Spring, chain tensioner reverse rotation 17.63$          
0080162 Sprocket Z12 181.37$       
0080172 Flange, top shaft 141.44$       
0080194 Housing, gearbox 673.88$       
0080195 Shaft coupling 212.57$       
0080202 Oil seal 60.75.8 TC 11.82$          
0080205 Gear cover 142.54$       
0080206 Use 0280206
0080213 Ring gear 395.41$       
0080214 Pinion gear 469.68$       
0080233 Front cover, gearbox 75.18$          
0080261 Driveline hook 8.32$            
0080262 Side shift complete 750.38$       
0080271 Side shift complete 1,047.59$    
0080281 Plate 19.18$          
0080283 Plate 28.51$          
0080322 Support, top hitch 52.60$          
0080323 Arm, top hitch 57.74$          
0080324 Support, top hitch 33.59$          
0080325 Arm, top hitch 41.22$          
0080341 Chain Hitch 38.50$          
0082012 Frame Ez‐Flex 3,842.33$    
0082072 Hitch block 144.53$       
0082075 Hitch pin 36.32$          
0082093 Stand, front 36.29$          
0082098 Stand, rear 54.43$          
0082112 Pin 41.46$          
0082123 Bushing 81.65$          
0082145 Central lift 816.43$       
0082166 Lift arm, side and central deck 118.63$       
0082174 Shim, Lift arm 7.80$            
0082176 Hitch plate 63.47$          
0082202 Handle 21.52$          
0082219 Transport hook, central 77.76$          
0082232 Hitch plate, cylinder 73.49$          
0082256 Gearbox plate, upper 13.29$          
0082258 Gearbox plate, lower 13.29$          
0082275 Hose assembly 33.5" 39.61$          
0082285 Tee 4 way 69.12$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 64

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0082292 Side rope 3.89$            
0082294 Rear rope 3.37$            
0082296 Front rope 5.96$            
0082403 Front hitch 48"‐60" deck 274.73$       
0082422 Rear hitch 48"‐60" deck 246.23$       
0082449 Transport bar 12' 68.88$          
0082452 Support, transport lock 39.39$          
0082475 Hydraulic cylinder 951.23$       
0082482 Breather cap 18.12$          
0082484 Adaptor STR 1/4" MBSPPx1/4" MBSPP 13.91$          
0082486 Hose, unlock kit 176.73$       
0082488 Adaptor STR 1/4" MBSPPx1/2" MBSPP 15.00$          
0082530 Hub cap 28.98$          
0082532 Wheel yoke 549.94$       
0082541 Wheel hub 176.57$       
0082546 Bearing 6305‐2RS 53.31$          
0082548 Inner spacer 12.56$          
0082550 Outer spacer 6.83$            
0082555 Wheel shaft 42.30$          
0082611 Frame Ez‐Flex 3,899.78$    
0082671 Hitch block 138.48$       
0082681 Hitch pin 21.03$          
0082695 Stand, front 48.17$          
0082703 Pin 34.98$          
0082755 Lift arm, side deck 127.10$       
0082758 Lift arm, central deck 114.19$       
0082760 Plastic cap 50 mm. 6.01$            
0082880 Wire rope, side 1400 mm. 7.72$            
0082881 Wire rope, rear 1100 mm. 7.28$            
0082890 Jack stand 319.68$       
0082893 Lift yoke, jack stand 69.29$          
0082898 Tube, jack stand 43.31$          
0082920 Hitch, rear wheel 23.56$          
0083048 Transport bar 15' 88.68$          
0083060 Mounting bracket, cylinder 54.51$          
0083062 Spacer, cylinder mounting bracket 3.60$            
0083063 Sleeve, hydraulic hose 1/4" 11.63$          
0083070 Tie rod, unlock kit EZF 16.28$          
0083091 Hitch arm 202.96$       
0083095 Pin 20.82$          
0084012 Frame 66" 1,062.66$    
0084013 Frame 58" 1,010.82$    
0084028 Side panel, right 349.65$       
0084029 Use 0084028
0084032 Rotor, aerating 50" 1,488.27$    
0084041 Drive panel 362.85$       
0084046 Rotor, tilling 58" 678.90$       
0084051 Flanged pivot, right 107.17$       
0084055 Flanged pivot, left 145.14$       
0084061 Blade, aerating razor 8.84$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 65

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0084067 Use 0184032
0084073 Bolt SP M12‐1.25x40 C12.9 Z P 2.71$            
0084081 Right support, complete 111.02$       
0084083 Dirt shield 12.95$          
0084105 Left support, complete 111.02$       
0084154 Protection 58" 75.67$          
0084158 Protection 50" 65.21$          
0084221 Driveline hook 8.02$            
0084231 Side shift complete 855.30$       
0084241 V plates 38.87$          
0084262 Three point hitch 362.02$       
0084268 Support, top hitch 35.56$          
0084281 Hopper 58" 1,244.07$    
0084284 Lifting hook 52.67$          
0084287 Hopper support 77.76$          
0084289 Bolt CR M08‐1.25x20 C4.6 Z 0.50$            
0084292 Hopper lid 58" 414.69$       
0084295 Lid support 58" 119.72$       
0084310 Knob, plastic (auto locking) 51.90$          
0084315 Washer, hopper hinge 3.01$            
0084332 Calibration plate 101.73$       
0084342 Support, calibration handle 19.48$          
0084345 Grip, calibration handle 26.34$          
0084346 Bearing 61906‐2RS 60.28$          
0084352 Adjustment collar, square hole 64.59$          
0084354 Set screw M08‐1.25x8 N 0.60$            
0084357 Collar, square hole 56.22$          
0084363 Drive rod 50" 62.66$          
0084365 Drive rod 66" 77.74$          
0084374 Auger shaft 58" 207.35$       
0084375 Collar Ø25, shaft 11.53$          
0084376 Set screw M10‐1.50x10 C14.9 N 0.76$            
0084394 Fertilizer tube 21 cm. 9.95$            
0084415 Washer, flat with square hole 16.5 mm. 0.64$            
0084422 Discharge support 58" 673.88$       
0084432 Hitch, turnbuckle 75.18$          
0084452 Rear deflector 50" 243.60$       
0084453 Rear deflector 58" 248.86$       
0084457 Roller arm, left 255.62$       
0084458 Roller arm, right 266.77$       
0084462 Rear crossbar 66" 362.86$       
0084476 Roller 66" 720.96$       
0084481 End ring 50", 74" 13.35$          
0084501 Tickler bar, rear 66" 85.55$          
0084505 Tickler bar, front 66" 85.54$          
0084527 Sprocket Z22, auger shaft 106.32$       
0084528 Sprocket Z15, drive rod 116.82$       
0084534 Support, chain tensioner 49.52$          
0084552 Sprocket assembly 160.73$       
0084556 Bearing 4204 136.55$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 66

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0084558 Bolt HH M20‐2.50x90 C8.8 Z F 4.44$            
0084559 Spacer, sprocket assembly 9.33$            
0084572 Support, chain adjuster 23.34$          
0084576 Spring, Chain adjustment support 19.80$          
0084577 Stop bolt 7.00$            
0084582 Sprocket, Z13 73.72$          
0084586 Chain ASA 50x82 129.60$       
0084588 Chain ASA 50x92 142.54$       
0084591 Upper cover, chain case 251.39$       
0084596 Access cover, chain case 7.62$            
0084599 Spacer, upper cover 5.70$            
0084601 Lower cover, chain case 163.31$       
0084607 Spacer, lower cover 6.74$            
0084610 Cover plate 65.13$          
0084613 Stand 69.67$          
0084619 Pin locking Ø12x80 Z 11.18$          
0084622 Front gauge roller 58" 596.11$       
0084631 Roller arm 70.01$          
0084633 Plate 11.40$          
0084640 Register screw, complete 247.32$       
0084641 Bushing, register screw 4.97$            
0084642 Spacer, roller arm 3.38$            
0084645 Register screw, complete 160.68$       
0084646 Female tube, register screw 57.06$          
0084650 Bolt HH M18‐2.50x30 C8.8 Z F 3.50$            
0084656 Male tube, register screw 49.26$          
0084661 Hitch tube, register screw 55.00$          
0084670 Wheel support for 006‐7402 150.12$       
0084673 Wheel, air tire 13" 172.71$       
0084675 Wheel support for 008‐4673 116.64$       
0084682 Side plate, roller scraper 50" w/9 teeth 131.69$       
0084683 Plate w/12 teeth, roller scraper 132.18$       
0084684 Side plate, roller scraper 66" w/4 teeth 62.23$          
0084685 Support, roller scraper 62.22$          
0084689 Plate w/4 teeth, roller scraper 13.65$          
0084690 Plate w/5 teeth, roller scraper 17.26$          
0084693 Bolt "U" M10‐1.50x80x103 Z 4.94$            
0084701 Frame 58" 1,419.89$    
0084702 Frame 66" 1,449.81$    
0084772 Tree point hitch (QHC) 384.88$       
0084778 Support, top hitch (QHC) 32.00$          
0085022 Chain rod, short 72" 18.63$          
0085023 Chain rod, long 72" 19.12$          
0085024 Chain rod, rear 72" 21.88$          
0085027 Chain rod, short 84" 21.88$          
0085028 Chain rod, long 84" 22.52$          
0085029 Chain rod, rear 84" 23.96$          
0085039 Side skid 48.29$          
0085046 Hitch pin 65.72$          
0085051 Support, top hitch 93.20$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 67

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0085052 Arm, top hitch 72" 130.80$       
0085053 Arm, top hitch 84" 138.67$       
0085055 Plate, top hitch 38.80$          
0085057 Spacer 9.12$            
0085059 Spacer 95 11.94$          
0085060 Spacer 70 10.70$          
0085072 Lift plate 7.98$            
0085082 Wheel support 697.86$       
0085094 Wheel yoke 358.44$       
0085102 Spacer 15.54$          
0085122 Wheel hub 160.68$       
0085129 Oil seal 40.62.10 TC 11.63$          
0085132 Inner spacer, wheel 21.39$          
0085133 Outer spacer, wheel 25.98$          
0085134 Shaft, wheel 37.81$          
0085140 Wheel laminated 511.60$       
0085142 Fixing plate 22.76$          
0085150 Nut HH M22‐1.50 C6 Z TN 1.64$            
0085152 Blade, rotary cutter 76.06$          
0085154 Bolt blade M27‐2.00x80 44.41$          
0085160 Protection, rotor 473.09$       
0085168 Bolt HH M16‐2.00x30 C8.8 Z F 0.94$            
0085169 Nut HH M16‐1.50 C6 Z TK 0.62$            
0085170 Gearbox 1000 rpm 1,684.68$    
0085173 Breather cap 3/8" GAS 3.89$            
0085174 Use 0025332A
0085176 Cap (72.10) 14.79$          
0085177 Cotter pin Ø4x55 1.84$            
0085178 Nut SP M30‐1.50 C5 TK 36.32$          
0085179 Pinion gear 540 rpm 576.16$       
0085180 Adjustment spacer 5.15$            
0085181 Protective cover 25.94$          
0085182 Adjustment spacer 12.46$          
0085183 Oil seal 50.90.10 TC 15.62$          
0085184 Use 0030201A
0085185 Shaft 737.53$       
0085186 Use 0002168
0085187 Use 0007172A
0085188 Input shaft 253.51$       
0085190 Housing, gearbox 967.97$       
0085191 Ring gear 540 rpm 437.88$       
0085193 Cover, gearbox housing 69.12$          
0085195 Adjustment spacer 2.60$            
0085197 Washer flat Ø21 Z 4.85$            
0085198 Bolt HH M20‐2.50x50 C8.8 N F 4.18$            
0085199 Washer spacer Ø40, 1000 rpm gearbox 106.04$       
0085200 Ring gear 1000 rpm 306.81$       
0086011 Side panel, right 132.18$       
0086021 Drive panel 176.27$       
0086163 Housing, gearbox 460.93$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 68

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0086164 Shaft coupling 175.15$       
0086211 Side shift complete 562.31$       
0086241 Side shift complete 554.90$       
0086282 Arm, top hitch 43.44$          
0086283 Support, top hitch 34.40$          
0086284 Arm, top hitch 29.18$          
0086285 Support, top hitch 29.18$          
0086290D Use 0033054
0086290S Use 0033054
0086365 Flanged pivot, right 232.81$       
0086370 Flanged pivot, left 274.03$       
0087013 Frame 82" 2,379.19$    
0087014 Frame 82" 2,296.74$    
0087031 Right side panel 466.53$       
0087041 Drive panel 502.73$       
0087052 Flanged pivot, right 6 3/4" 233.28$       
0087061 Rotor, aerating 82" 2,804.02$    
0087102 Flanged pivot, left 6 3/4" 285.10$       
0087154 Left protection 82" 112.71$       
0087166 Three point hitch 82" (QHC) 486.02$       
0087176 Three point hitch 82" 424.15$       
0087182 Support, top hitch 82" 51.67$          
0087183 Support, top hitch 82" (QHC) 36.37$          
0087201 Hopper 82" 1,477.34$    
0087207 Hopper support 82" 82.94$          
0087214 Hopper lid 82" 466.53$       
0087217 Lid support 82" 259.18$       
0087224 Spring 0.60$            
0087293 Drive rod 82" 84.69$          
0087297 Auger shaft 82" 251.38$       
0087316 Fertilizer tube, 28 cm. 12.62$          
0087342 Discharge support 82" 1,010.82$    
0087352 Turnbuckle hitch 82" 251.38$       
0087353 Turnbuckle hitch 82" 293.83$       
0087364 Turnbuckle 327.13$       
0087371 Rear deflector 82" 311.01$       
0087372 Rear deflector 82" 311.01$       
0087402 Rear crossbar 82" 438.02$       
0087415 Roller 82" 824.59$       
0087442 Tickler bar, rear 82" 108.85$       
0087444 Tickler bar, front 82" 108.85$       
0087499 Spacer, sprocket assembly 7.27$            
0087528 Chain ASA 50x96 150.35$       
0087532 Upper cover, chain case 285.10$       
0087564 Stand 82" 67.39$          
0087572 Front roller 82" 741.93$       
0087633 Wheel support for 008‐4670 129.60$       
0087644 Side plate, roller scraper 82" w/11 teeth 139.98$       
0087828 Use 0087528
0088310D Tine, right 24.09$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 69

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0088310S Tine, left 24.09$          
0088530 Right side panel 195.05$       
0088540 Left side panel 175.46$       
0088560 Support, top hitch 26.14$          
0088570 Stand 52.54$          
0088588 Spacer 10.16$          
0088589 Corrugated roller ring, cast iron 44.36$          
0088616 Nut ES M24‐3.00 C6 Z TK 2.64$            
0088620 Attachment plate, spring 37.84$          
0088624 Spring, roller arm 89.54$          
0088625 Spacer plate 18.43$          
0088645 Corrugated roller ring, cast iron 38.70$          
0088646 Corrugated roller semi ring, cast iron 57.00$          
0088649 Corrugated roller semi ring, nylon‐fiberglass 61.96$          
0088650 End ring with hole 104.40$       
0088651 End ring without hole 104.40$       
0088658 Cap, plastic 1.38$            
0088670 Chain tensioner support 21.99$          
0088674 Spacer 4.49$            
0088675 Chain tensioner support 17.47$          
0088680 Chain tensioner support 20.12$          
0088685 Chain tensioner support 25.61$          
0088700 Hitch, front track remover 116.06$       
0088710 Front track remover 76.68$          
0088720 Safety stand 33.78$          
0088740 Seed conveyor 20.63$          
0088742 Fixing plate, seed conveyor 4.16$            
0088748 Bolt CR M06‐1.00x20 C4.6 Z 0.23$            
0088800 Sprocket Z15, auger shaft 72.53$          
0088825 Fertilizer tube, 11 cm. 5.40$            
0088840 Sprocket Z22, drive rod 139.68$       
0088856 Chain ASA 50x50 90.37$          
0088857 Chain ASA 50x66 101.64$       
0088860 Chain case cover 265.12$       
0088870 Protection plate 10.48$          
0088876 Spacer 11.24$          
0088910 Roller arm 253.65$       
0089111 Bearing 6212‐2RS 83.72$          
0089115 Bearing 6013‐2RS 72.94$          
0089233 Bearing 32013 112.53$       
0089245 Bolt HH M14‐2.00x150 C8.8 N P 4.98$            
0089269 Bolt HH M20‐1.50x220 C8.8 Z P 17.60$          
0089275D Tine, right 8.30$            
0089275S Tine, left 8.30$            
0090041 Crank 54.51$          
0090071 Gearbox bracket 253.24$       
0090103 Use 0030309
0090113 Component support 249.34$       
0090130 Gasket 15.54$          
0090143 Oil seal 55.90.10 TC 15.49$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 70

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0090146 Chain tensioner 33.06$          
0090147 Use 0090149
0090149 Bolt HH M10‐1.50x70 C8.8 Z F 0.76$            
0090150 Nut HH M10‐1.50 C6 Z MD 0.16$            
0090155 Component support 77.87$          
0090156 Use 0006891
0090170 Use 0015220
0090173 Bearing housing for hexagonal shaft 22.18$          
0090178 Nut ES M20‐2.50 Z TK 1.55$            
0090180D Tine "L" style, right 7.69$            
0090180S Tine "L" style, left 7.69$            
0090181 Bolt HH M10‐1.25x30 C8.8 Z F 1.03$            
0090182 Nut HH M10‐1.25 C6 Z MD 0.51$            
0090215 Adjustment blades 97.37$          
0090226 Bolt HH M14‐2.00x110 C8.8 Z P 3.37$            
0090251 Furrowing Arm 210.40$       
0090256 Spring rod 35.02$          
0090263 Spring 23.35$          
0090269 Bolt HH M10‐1.50x100 C8.8 Z P 1.55$            
0090270 Bushing 10.88$          
0090274 Bushing 11.26$          
0090281 Furrowing unit 428.65$       
0090289 Bolt HH M10‐1.25x25 C8.8 Z F 0.88$            
0090918 Bolt HH M18‐2.50x90 C8.8 Z P 3.24$            
0090919 Nut ES M18‐2.50 Z TN 1.87$            
0091023 Bolt HH M14‐2.00x50 C8.8 N P 0.99$            
0091028 Washer block SP Ø15 13.61$          
0091038 Bolt HH M16‐2.00x50 C8.8 Z F 1.69$            
0091128 Bolt HH M14‐2.00x65 C8.8 Z P 2.54$            
0091190 Gasket 18.65$          
0091197 Use 0090149
0091201 Sprocket 373.69$       
0091202 Bearing 6210 41.49$          
0091204 Oil seal 50.85.10 TC 12.83$          
0091205 Chain ASA 80Sx50 187.02$       
0091206 False chain link 80S 44.05$          
0091208 Bolt HH M08‐1.25x65 C8.8 Z P 0.84$            
0091214 Bolt HH M14‐2.00x140 C8.8 N P 2.80$            
0091216 Use 0029036
0091217 Ground splitter 107.96$       
0091220 Use 0008879
0091234 Inner dust cover 10.88$          
0091241 Bolt HH M18‐1.50x200 C8.8 N P 8.32$            
0091245 Nut ES M18‐1.50 Z TN 1.29$            
0091281 Bolt HH M10‐1.50x35 C8.8 Z F 0.64$            
0091284 Spring tension regulator 15.17$          
0091301 Bolt HH M12‐1.75x120 C8.8 Z P 1.98$            
0091384 Nut ES M08‐1.25 Z TK 0.14$            
0091397 Fertilizer block 46.72$          
0091406 Use 0003144

All prices are FOB Rocky Mount, NC and are subject to change without notice. 71

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0091434 Belt B51 18.88$          
0091435 Washer flat Ø14 Z 0.16$            
0091441 Belt C37‐1/2 61.19$          
0091446 Bolt HH M08‐1.25x25 C8.8 Z F 0.32$            
0091455 Bolt HH M08‐1.25x45 C8.8 Z F 0.41$            
0091495 Bolt HH M12‐1.75x80 C8.8 Z P 1.37$            
0091507 Hairpin cotter Ø4 Z 1.04$            
0091643 Bolt CR M10‐1.50x20 C4.6 Z 0.95$            
0091854 Cotter pin Ø5x30 0.37$            
0092001 Frame 1,246.86$    
0092005 Hexagonal shaft 545.52$       
0092007 Plate 66.19$          
0092009 Bearing 62MS 11206EES 85.45$          
0092061 Wheel support fork 315.60$       
0092163 Half guard, right 487.04$       
0092171 Half guard, left 487.04$       
0092181 Sprocket 264.95$       
0092186 Chain 202.64$       
0092194 Component support 116.93$       
0092197 Ground splitter 83.04$          
0092208 Bolt HH M08‐1.25x30 C8.8 N F 0.22$            
0092213 Spacer 15.93$          
0092216 Drive flange 194.78$       
0092221 Bolt SP M20‐1.50x260 N F 25.30$          
0092225 Use 0015641
0092227D Tine, right 9.95$            
0092227S Tine, left 9.95$            
0092236 Bolt HH M12‐1.75x65 C8.8 N P 1.81$            
0092252 Block plate 58.44$          
0092268 Spring 29.57$          
0092276 Nut ES M20‐2.50 Z TN 1.50$            
0092291 Drum 3" 148.05$       
0092298 Drum 6" 167.54$       
0092308 Rotor support 182.69$       
0092310 Bearing 11206EES 45.48$          
0092311 Washer block Ø12.5x45x4 N 19.11$          
0092315 Cover 14.41$          
0092317 Bolt HH M10‐1.50x16 C8.8 Z F 0.53$            
0092320 Connection plate 116.93$       
0094101 Gearbox support 122.32$       
0094139 Nut ES M12‐1.75 Z TN 0.34$            
0094208 Use 0006513
0094238 Bolt SC M10‐1.50x70 C12.9 N P 1.14$            
0094239 Bolt SC M10‐1.50x110 C8.8 N P 1.32$            
0094418 Housing, gearbox 160.06$       
0094433 Use 0014459
0095000 Frame 303 1,822.31$    
0095030 Rear frame section 303 267.05$       
0095039 Spacer 2.70$            
0095040 Reinforcement, frame 28.15$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 72

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0095049 Spring 19.50$          
0095050 Hitch pin, step Ø22‐Ø28x190 Z 40.94$          
0095070 Bracket, opening lever 144.10$       
0095090 Washer flat nylon Ø13 6.30$            
0095100 Tie rod 303 60.81$          
0095107 Pawl 17.97$          
0095110 Opening lever 302, 303 37.72$          
0095125 Upper protection, flywheel 61.48$          
0095130 Lower protection, flywheel 38.03$          
0095135 Lower protection, driveline 26.50$          
0095140 Hopper 303 1,374.49$    
0095142 Extension, hopper 200x600 887.51$       
0095144 Extension, hopper 400x600 980.84$       
0095150 Bolt CR M12‐1.75x65 C8.8 Z 1.79$            
0095152 Washer fender Ø16 Z 3.84$            
0095171 Housing, gearbox 706.86$       
0095172 Gasket 8/10 6.68$            
0095173 Cover, gearbox housing 218.57$       
0095179 Spacer, gearbox 15.38$          
0095181 Input shaft, splined 333.82$       
0095184 Flywheel 463.65$       
0095190 Bronze slide 250.45$       
0095193 Yoke 390.10$       
0095195 Plug w/washer 3/8" GAS 7.46$            
0095197 Dipstick w/washer 3/8" GAS 12.05$          
0095200 Lower cover, gearbox housing 64.80$          
0095202 Gasket 8/10, lower cover 4.13$            
0095204 Bolt SC M06‐1.00x16 C8.8 Z F 0.81$            
0095208 Washer external lock Ø20 N 1.61$            
0095211 Spacer, gearbox 14.37$          
0095213 Spacer, gearbox 15.66$          
0095217 Oil seal 44.72.10 TC 14.27$          
0095220 Cover, gearbox housing 10.70$          
0095222 Shaft, splined 237.17$       
0095224 Housing 365.74$       
0095230 Shim Ø35x45x2.5 s/steel 14.12$          
0095231 Snap ring, outer Ø35 s/steel 1.33$            
0095253 Ring, spout 35.30$          
0095260 Tube, spout 137.46$       
0095264 Spread deflector, complete 64.80$          
0095265 Cup, spread deflector 41.30$          
0095266 Fins, spread deflector 27.88$          
0095267 Self tapping screw PN M3.5x13 Z 0.23$            
0095270 Distributing unit, s/steel 447.61$       
0095271 Upper plate, distributing unit 180.46$       
0095272 Lower plate, distributing unit 141.86$       
0095276 Disc flat Ø49x80x1.5 s/steel, distributing unit 16.84$          
0095277 Disc conical spring Ø49x80x1.5 s/steel, distributing unit 22.61$          
0095278 Threaded bushing s/steel M45 112.41$       
0095279 Locking ring ES GUP M45‐1.50 13.65$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 73

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0095290 Ring 71.78$          
0095300 Gasket 19.63$          
0095304 Washer flat nylon Ø31 4.69$            
0095310 Agitator 166.16$       
0095314 Bracket 50.91$          
0095316 Bolt HH M12‐1.75x75 C8.8 Z P 1.77$            
0095340 Protection, spout 62.91$          
0095360 Grease fitting M08‐1.00 threaded 1.29$            
0095373 Rubber insert 105.78$       
0095375 Ring, rubber insert 32.96$          
0095380 Tube, short spout 239.81$       
0095390 Powder agitator 205.06$       
0095395 Spring, powder agitator 20.00$          
0095400 Powder agitator 301 205.06$       
0095422 Hydraulic cylinder 414.71$       
0095423 Relief valve 3/8" 210.83$       
0095424 Hydraulic cylinder 251.17$       
0095425 Yoke M16, hydraulic cylinder 43.13$          
0095426 Fixing pin Ø16, hydraulic cylinder 12.56$          
0095428 Oil flow regulator 3/8" FBSPPx3/8" FBSPP 59.38$          
0095430 Mounting bracket, cylinder 91.02$          
0095434 Back plate, mounting bracket 74.50$          
0095436 Mounting bracket, cylinder 73.49$          
0095440 Hydraulic hose 3/8"x2000 mm. 102.82$       
0095442 Hydraulic hose 1/4"x2000 mm. w/90 degree fitting 57.54$          
0095445 Hydraulic hose 3/8"x550 mm. w/90 degree fitting 56.88$          
0095448 Plate, hydraulic hose retainer 27.32$          
0095450 Relief valve 1/4" FBSPPx1/4" FBSPP 58.48$          
0095451 Bolt eye 1/4"x1/4" MBSPT 5.49$            
0095452 Bolt eye SP 1/4"x56 mm. 5.07$            
0095453 Adaptor for 12 mm. tube 1/4" MBSPP 8.72$            
0095454 Washer bonded sealing 1/4" Z 0.82$            
0095455 Adaptor SP 1/4" MBSPPx1/4" MBSPP 26.52$          
0095456 Adaptor SP 1/4" MBSPPx1/4" MBSPP w/restrictor 26.52$          
0095500 Frame 301‐300, 400 981.80$       
0095540 Bracket, opening lever 74.34$          
0095550 Tie rod 23.49$          
0095560 Opening lever 301 29.40$          
0095585 Lower protection, flywheel 52.33$          
0095588 Spacer, lower protection 3.27$            
0095590 Hopper 301‐300 767.31$       
0095592 Hopper 301‐400 933.55$       
0095595 Hopper washer w/two holes 9.06$            
0095600 Bracket, hydraulic cylinder 23.49$          
0095605 Bushing, hydraulic cylinder 7.28$            
0099114 Gauge wheel assembly 1,119.36$    
0099198 Gauge wheel 1,679.53$    
010010045 Bushing 30.34$          
010020133 Bolt stud, 4 disc 49.62$          
0101215 Bolt HH M10‐1.50x140 C8.8 Z P 2.45$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 74

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0103121 Handle, manual control 82.76$          
0103122 Handle grip 6.15$            
0103123 Foot stand 47.41$          
0103188 Gasket 1.14$            
0105501 Frame 48" 3,032.44$    
0105521 Roll pin Ø3/8"x1.75" 3.22$            
0105563 Shim Ø71x79x0.3 6.49$            
0106502 Frame, rear discharge 60" 2,557.95$    
0106570 Top hitch arm 48" 66.97$          
0106655 Gasket 0.5 mm. 2.88$            
0106683 Shim Ø40x50x0.1 2.03$            
0106760 Frame, rear discharge 48" 2,329.21$    
0106762 Chain rod 48" 15.16$          
0106810 Frame, rear discharge 72" 3,015.50$    
0106892 Tractor hitch support 84" 212.91$       
0106900 Frame, rear discharge 48" 1,768.93$    
0106903 Frame, rear discharge 48" 1,146.77$    
0106907 Frame, side discharge 48" 1,768.93$    
0106910 Frame, side discharge 48" 1,768.93$    
0106932 Wheel arm 48" 414.69$       
0106939 Wheel arm 48" w/center hole 414.69$       
0106941 Wheel arm 48" w/o center hole 336.94$       
0106975 Belt shield 48" 137.38$       
0106987 Belt shield 48" w/tab 127.02$       
0106989 Belt shield 48" w/o tab 68.84$          
0108206 Use 0180206
0108420 Rear extension 48" 44.12$          
0108425 Deflector 48" 111.48$       
0108430 Central plate 48" 249.55$       
0108516 Wheel yoke, right 69.98$          
0108740 Frame, rear discharge 48" 1,037.52$    
0108745 Frame, side discharge 48" 1,192.23$    
0108761 Wheel arm 48" 311.01$       
0108811 Belt shield 48" 116.64$       
0108817 Belt shield w/o tab 48" 56.68$          
0108832 Top hitch arm 48" 59.10$          
0108924 Use 0008923
0108945 Frame, rear discharge 72" 2,516.37$    
0109081 Wheel support, right 276.55$       
0109131 Lift side, right 855.30$       
0109367 Lift side, right 958.98$       
0109461 Lift arm, right 12' 230.51$       
0109470 Lift arm, right 223.60$       
0109621 Lift side, right 907.14$       
0109761 Wheel support, right 285.10$       
0109882 Hitch plate 36.26$          
0109911 Front hitch, right 12' 311.01$       
0109961 Safety tie rod 12' 75.20$          
0110002 Frame 34" 622.04$       
011002E Use 1701029C

All prices are FOB Rocky Mount, NC and are subject to change without notice. 75

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
011003E Use 1701027C
011007E Locking collar, inner shield 3.97$            
011008E Locking collar, outer shield 3.97$            
0110158 Hexagonal shaft 34" 147.72$       
0110253 Telescopic shielding 34"‐42" 129.04$       
0110255 Telescopic shielding 34"‐42" 127.02$       
0110261 Hitch block, right 67.59$          
011026E Guard cone, inner shield 18.54$          
011027E Yoke, outer tube 54.03$          
0110287 Lower hitch plate, right 64.46$          
011068B Yoke, round bore 74.10$          
011068E Yoke, round bore 73.13$          
0110916 Wheel arm, right 75.18$          
0111002 Frame 34" 597.72$       
0111041 Skid, right 67.38$          
0111260 Telescopic shielding 34"‐42" 141.44$       
0111265 Right protection 34"‐42" 36.32$          
011130E Use 08201CB
0111401 Hitch plate, right cat.0 83.48$          
0112087 Cotter pin Ø4x50 Z 0.44$            
0114143 Gasket 5/10 4.31$            
0114172 Gasket 1.90$            
0114321 Roller arm, right 167.54$       
0114326 Hopper polyethylene 209 480.66$       
0114340 Shutter s/steel, right 209, 212 52.59$          
0114629 Hopper polyethylene 203 289.86$       
0114640 Shutter, right 206 24.01$          
0114648 Shutter s/steel, right 206 52.59$          
0114680 Deflector connection, right 17.91$          
0114981 Support plate, remote gate control 68.14$          
0115001 Frame 092 896.19$       
0115008 Hexagonal shaft 092 389.64$       
0115824 Baffling, front 60" 232.71$       
0115825 Baffling, rear 60" 232.71$       
0116111 Frame 60" SD 1,534.74$    
0116171 Use 0116331
0116271 Frame 60" HD 2,002.51$    
0116291 Use 0116271
0116331 Rotor shaft 60" HD 189.09$       
0116510 Use 0016610
0116530 Arm bracket right, primary roller SD 141.55$       
0116545 Roller complete, primary SD 48" 608.20$       
0116610 Frame complete, SD 48" 1,730.04$    
0116655 Arm bracket right, secondary roller SD 107.69$       
0116685 Roller complete, secondary SD 48" 529.50$       
0116760 Frame complete, HD 72" 2,568.85$    
0116790 Arm bracket right, primary roller HD 150.55$       
0116805 Roller complete, primary HD 72" 917.46$       
0116905 Arm bracket, right secondary roller HD 117.67$       
0118114 Use 0084619

All prices are FOB Rocky Mount, NC and are subject to change without notice. 76

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
012002E Use 08002011B
012003E Use 08002021B
012006E Locking collar, inner shield 6.46$            
012007E Locking collar, outer shield 6.46$            
012012E Guard cone, inner shield 23.01$          
012013E Guard cone, outer shield 15.72$          
012015E Shaft (only) 2000 rpm 1" Z15 66.69$          
012016E Yoke (only) 2000 rpm 40.95$          
012026E Guard cone, inner shield 15.54$          
012027E Guard cone, outer shield 23.01$          
0121173 Gasket 5/10 1.83$            
0121186 Shim Ø36x45x0.1 0.52$            
0121253 Telescopic shielding 34"‐42" 175.15$       
012127E Yoke round bore (10 mm. key) 55.68$          
012130E Use 08202B
012145E Yoke round bore (8 mm. key) 60.22$          
0122002 Frame 34" 725.71$       
0122051 Skid, right 64.80$          
0122244 Protection, right 173.02$       
0122251 Side shift complete 66" 362.86$       
0122444 Telescopic shielding 34"‐42" 135.96$       
0122450 Right protection 34"‐42" 57.62$          
0123251 Hitch block 85.55$          
0123281 Rear deflector 34" 277.33$       
0123530 Lift side, right 20' 1,114.48$    
0123711 Wheel support, right 388.77$       
0123831 Hitch plate, inner 92.24$          
0123841 Arm, right Lift 321.20$       
0123851 Front hitch right 20' 440.62$       
0124260 Telescopic shielding 42" 150.94$       
0127050 Lift side, right 17', 20' 907.14$       
0127330 Wheel support, right 336.94$       
0127340 Wheel support, right 385.35$       
0127460 Front hitch, left 17' 440.62$       
0127470 Rear hitch, left 15', 17' 414.69$       
0127480 Left hitch, rear 15', 17' 344.61$       
0127570 Front hitch, left 20' 471.96$       
0127580 Rear hitch, left 20' 444.95$       
0127590 Left hitch, rear 20' 317.37$       
0128050 Lift side, right 12', 15' 829.37$       
0128370 Wheel arm 48" 466.53$       
0128420 Front hitch, right 12' 414.69$       
0128430 Rear hitch, right 12' 414.69$       
0128440 Right hitch, rear 12' 327.80$       
0128540 Front hitch, right 15' 437.66$       
0129580 Mold board curved, standard 60" 127.30$       
0129780 Mold board curved, sub‐compact 48" 111.09$       
0129920 Welded swivel sub‐compact 48" 340.78$       
013002E Yoke, inner tube 74.89$          
013003E Yoke, outer tube 50.05$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 77

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0130081 Rotor 34" 492.45$       
013010E Guard cone, inner shield 23.46$          
013011E Locking collar, inner shield 7.28$            
013012E Locking collar, outer shield 7.28$            
013014E Flanged yoke T30 146.23$       
0130155 Bolt HH M10‐1.50x60 C8.8 Z F 0.82$            
013015E Guard cone, inner shield 25.56$          
013016E Guard cone, outer shield 24.82$          
0130180 Hexagonal shaft 34" 241.06$       
0130193 Gasket 5/10 1.90$            
0130260 Right protection 34"‐42" 46.68$          
013028E Guard cone, inner shield 12.51$          
0130303 Use 0186399
013032E Outer spring 1.49$            
013033E Inner spring 2.06$            
0130411 Lower hitch plate, right 78.96$          
013044E Yoke w/shear bolt 86.60$          
0130501 Frame 34" 725.71$       
0130531 Skid, right 84.60$          
013071E Yoke w/shear bolt (312) 86.60$          
013130E Use 08203B
0132335 Side shield right 159.76$       
0132705 Tine holder right 370.17$       
0133241 Cage roller 052 1,480.67$    
0133363 Gasket (.020) 1.83$            
0134081 Rotor 34" 414.69$       
0134141 Chain ASA 80HEx36 311.01$       
0134150 Chain link, master 80HE 13.46$          
0134151 Chain link, inner 80HE 18.43$          
0134166 Hexagonal shaft 34" 196.98$       
0134261 Lower hitch plate, right 67.38$          
0135531 Main frame, rake cart 1,813.09$    
0135560 Side arm, right 423.88$       
0135590 Support, frame holder hitch right 477.00$       
0137002 Frame, 50" 935.13$       
0137051 Skid, right 87.88$          
0137081 Rotor 50", w/o shaft 1,285.88$    
0137208 Counter shaft 50" 266.57$       
0137328 Telescopic shielding 50"‐58" 144.15$       
0137353 Lower hitch plate, right 93.99$          
0137368 Bolt HH M14‐2.00x120 C8.8 N P 5.56$            
0137383 Tailgate 50" 623.41$       
0137531 Roller scraper 66" 584.49$       
0137581 Safety shield 66" 428.65$       
0138002 Frame 66" 1,987.21$    
0138212 Drive shaft 66"‐74" 358.46$       
0138506 Drive tube 66"‐74" 701.36$       
0138641 Front bar 66" 89.59$          
014006E Yoke, outer tube 93.55$          
014007E Yoke, inner tube 93.55$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 78

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
014017E Use 1704021C
014018E Use 1704016C
014019E Use 1804000C
014020E Use 1134000C
014021E Dirt shield 14.90$          
014022E Use 1215012C
014069E Yoke w/shear bolt (312) 101.67$       
0141191 Gasket 160 25.30$          
0141281 Hitch block right 545.52$       
014130E Use 1004020C
014131E Hub 1 3/8" Z6 135.28$       
014135E Washer retaining Ø56 7.40$            
014136E Tang 5.12$            
014137E Carriage spring 0.52$            
014138E Spring 1.33$            
0141401 Side shield right 346.77$       
0141444 Depth control roller 160 4,558.96$    
014147E Sliding sleeve collar 4.02$            
0141488 Gasket 5.82$            
0141503 Gasket 3.45$            
014276E Yoke, round bore 64.97$          
0144021 Use 0044021
0144031 Roller support, right 62.23$          
0144223 Shim Ø35x45x1 3.70$            
0144531 Use 0044531
0146322 Corrugated roller ring, nylon‐fiberglass 37.48$          
0146351 Locking plate, bottom 16.59$          
0146421 Hopper mount, right 88.15$          
0146487 Hopper hinge, right 67.38$          
0148193 Hitch block, right 83.44$          
0148201 Lower hitch plate, right 83.80$          
0148255 Mount hopper, right 137.38$       
0148301 Hopper hinge, right 65.33$          
0149100 Right side shield 50.63$          
0149381 Roller arm plate, right 93.51$          
0149505 Scraper holder 120 623.46$       
0150002 Frame 48" 1,948.29$    
0150061 Roller 48" 388.77$       
015008E Locking collar, inner shield 6.61$            
0150091 Rotor 48" 1,224.89$    
015009E Locking collar, outer shield 6.61$            
015011E Yoke, outer tube 89.16$          
015012E Yoke, inner tube 70.72$          
0150177 Gearbox w/drive shaft 48" 1,590.16$    
015017E Flanged yoke 102.13$       
0150180 Gearbox w/drive shaft 48" 1,422.24$    
015018E Body, slip clutch 1 3/8" Z6 168.27$       
015019E Friction disk 57.62$          
0150207 Drive shaft 48" 144.15$       
015020E Use 1704017C

All prices are FOB Rocky Mount, NC and are subject to change without notice. 79

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
015021E Outer flange 80.70$          
0150221 Drive tube 48" 312.06$       
015022E Dirt shield 15.94$          
0150310 Frame 48" 1,275.63$    
0150360 Rear right plate, three point hitch 72.22$          
0150410 Roller arm, right 49.37$          
0150420 Roller 48" 309.02$       
0150425 Roller scraper 48" 34.90$          
0150500 Skid, right 66.15$          
0150502 Frame 48" 1,270.81$    
0150550 Deflector rod 48" Z 35.66$          
0150561 Roller 48" 388.77$       
0150581 Rotor 48" 1,399.59$    
0150801 Roller 48" 388.77$       
0151002 Frame 48" 1,948.29$    
015100E Washer retaining Ø67 7.52$            
0151075 Roller arm, right 62.98$          
0151079 Roller arm, right 148.52$       
0151081 Roller 48" 285.10$       
0151094 Roller scraper 48" 41.44$          
0151101 Rotor 48" 1,399.59$    
0151244 Front shield 48" 39.94$          
0151272 Frame 48" 2,514.06$    
0151305 Frame 48" 1,937.23$    
015130E Cross w/bearing 30.2x80 mm. 50.91$          
0151315 Frame 48" 1,246.88$    
0151332 Hitch arm, lower left 101.28$       
0151340 Roller arm, right 72.56$          
015143E Spring push ring 1.65$            
015144E Ball hold‐up ring 24.02$          
0151453 Use 0151454
0151454 Gearbox w/drive shaft 48"‐60" 1,604.53$    
0151491 Tube, drive shaft 48"‐60" 320.68$       
0151496 Tube, drive shaft 48"‐60" 375.94$       
0151501 Frame, side discharge 48" 1,002.38$    
0151501P Frame, rear discharge 48" 1,002.38$    
015151E Ratchet tooth 3.55$            
0151530 Shield, rear 48" 44.76$          
0151613 Gearbox w/drive shaft 48"‐60" 1,243.30$    
0152010 Frame 4' Combovette 5,279.51$    
0152086 Roller arm left 112.31$       
0152091 Roller scraper 4' Combovette 53.29$          
0152100 Roller 4' Combovette 489.88$       
0152124 Blade fine cut, right 7.33$            
0152216 Drive shaft 48"‐60" 158.09$       
0152297 Frame assembly complete for bagger 4' 3,809.99$    
0152300 Hopper complete 4' Combovette 3,809.99$    
0152301 Hopper frame right 736.11$       
0152311 Hopper connection tube 4' 137.38$       
0152312 Hopper connection tube 4' 137.38$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 80

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0152314 Hopper cover connection tube 4' 67.38$          
0152331 Hopper tube upper 4' 103.68$       
0152337 Hopper base plate 4' 95.88$          
0152341 Hopper gate 4' 355.05$       
0152351 Hopper lower gate 4' 506.50$       
0152371 Hopper cover 4' 1,360.69$    
0152374 Hopper cover holding plate 4' 19.72$          
0152391 Support, rubber deflector 48" 16.59$          
0152392 Deflector bracket 4' 20.49$          
0152394 Rubber deflector 48" 36.32$          
0152461 Tube 54.43$          
0152715 Shield, front 60" 440.62$       
0152718 Chain rod, short 60" 14.93$          
0152719 Chain rod, long 60" 15.66$          
0152754 Arm, top hitch 48" 70.62$          
0152846 Rotor 60" 666.13$       
0153002 Frame 74" 3,058.36$    
0153091 Roller arm, right 121.80$       
0153101 Roller scraper 74" 123.09$       
0153104 Roller scraper 74" 123.09$       
0153111 Roller 74" 796.09$       
0153130 Rotor 74" 5,476.60$    
0153140 Rotor complete 74" 6,377.02$    
0153153 Use 0053153
0153224 Gearbox complete 4,447.91$    
0153235 Gasket, gearbox 2.36$            
0153240 Shim Ø45x55x0.1 0.52$            
0153259 Gasket 5/10 1.56$            
0153361 Deflector 74" 82.94$          
0153362 Deflector bracket 74" 30.82$          
0153472 Frame 60" 5,858.40$    
0153480 Frame 60" 5,557.10$    
0153542 Roller arm, right 129.28$       
0153546 Roller scraper 60" 64.13$          
0153561 Roller 60" 493.67$       
0153584 Rotor 60" 2,969.89$    
0153594 Rotor 60" 2,518.20$    
0153691 Gearbox w/drive shaft 60" 3,457.94$    
0153715 Tube, drive shaft 60" 478.63$       
0153722 Drive shaft 60" 196.64$       
0154022 Frame 60" 3,709.39$    
0154084 Rotor 60" 2,189.90$    
0155800 Frame 48" 1,458.74$    
0155804 Horizontal support 42" 37.03$          
0155831 Rotor w/hub 42" 263.27$       
0156521 Top hitch arm 48" 48.03$          
0157301 Reinforcing bar rear, 5 disc 1,036.73$    
0157335 Rear support rod, 5 disc 85.55$          
0157339 Front support rod, 5 disc 82.93$          
0157394 Cover, cutter bar, 5 disc 1,382.78$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 81

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0157398 Support chain, 5 disc 116.64$       
0157437 Knife right 13.61$          
0157437B Knife, right 6.35$            
0157534 Pan w/cover, 5 disc 3,019.07$    
0157559 Rear support, 5 disc 230.51$       
0158080 Lift side, right 751.63$       
0158111 Rear hitch, right 247.38$       
0158230 Wheel support, right 285.10$       
0158340 Front hitch, right 12' 521.80$       
0158350 Front hitch, right 15' 581.65$       
0158360 Front hitch, right 17' 715.95$       
0158370 Rear hitch, Right 12' 440.62$       
0158400 Right hitch, rear 12' 492.45$       
0158430 Right hitch, rear 15', 17' 518.36$       
0158442 Safety tie rod 12' 60.47$          
0158526 Wheel arm 48" hexagonal w/o center hole 362.86$       
0158651 Plate w/right slot 215.54$       
0159071 Roller arm, right 159.60$       
0159442 Roller arm, right 163.99$       
0159444 Skid, right 17.02$          
0159448 Roller scraper 60" 82.60$          
0159792 Deflector support 60" 23.48$          
0159794 Rubber deflector 60" 46.30$          
0159862 Roller arm, right 109.48$       
0159951 Gearbox w/drive shaft 60" 2,660.72$    
0159965 Tube, drive shaft 60" 490.85$       
0159972 Drive shaft 60" 218.49$       
016015E Locking collar, inner shield 8.73$            
016016E Locking collar, outer shield 8.73$            
016022E Guard cone, inner shield 37.04$          
016023E Guard cone, outer shield 19.34$          
016025E Use 52000001B
016028E Yoke, outer tube 116.46$       
016029E Yoke, inner tube 116.46$       
016039E Yoke 166.36$       
0160510 Frame 60" 5,510.18$    
0160571 Protection, rear 60" 317.83$       
0160572 Protection, rear 60" 357.65$       
0160576 Chain rod, rear 60" 26.43$          
0160577 Chain rod, rear 60" 27.30$          
0160611 Protection, side 60" 305.19$       
0160622 Arm, top hitch 60" 68.94$          
0161010 Frame 72" 5,869.47$    
0161115 Arm, top hitch 72" 108.48$       
0161211 Rotor, blade holder 72" 1,136.47$    
016130E Use 1006020C
016228E Cross w/bearing set CV 188.84$       
016244E Guard cone, wide angle CV 88.88$          
016245E Bearing ring 18.86$          
0163002 Frame 60" 2,385.81$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 82

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0163031 Guide tube 60" 532.60$       
0163087 Roller 60" 587.11$       
0163102 Rotor 60" 2,389.03$    
016316E Bushing w/grease fittings 14.64$          
0163262 Gearbox w/drive shaft 60" 2,631.47$    
0163299 Tube, drive shaft 60" 432.52$       
0163308 Drive shaft 60" 184.52$       
0163345 Deflector rod 60" Z 64.46$          
0163452 Gearbox double transmission w/drive shaft 60" 2,708.41$    
0163472 Skid, right 141.07$       
0167002 Frame, rear discharge 90" 4,483.84$    
0167052 Central plate 544.29$       
0167061 Belt shield w/tab 90" 311.01$       
0167062 Belt shield 90" 260.40$       
0167279 Top hitch arm 90" 130.80$       
0167291 Wheel arm 90" w/o center hole 591.98$       
0167296 Wheel arm 90" w/center hole 699.79$       
0167333 Chain rod 90" 34.05$          
0169000 Frame complete 60" 771.32$       
0169014 Horizontal support 48" 49.04$          
0169019 Scraper blade 60" 115.34$       
0169030 Vertical support 48" 43.00$          
0169501 Mold board angled, standard 60" 127.30$       
0169601 Welded swivel standard 72" 217.55$       
017002E Yoke, inner tube 221.46$       
0170041 Skid, right 151.06$       
017006E Yoke, inner tube 58.27$          
017007E Yoke, outer tube 104.87$       
017011E Yoke friction 124.71$       
017130E Cross w/bearing 30.2x106.5 mm. 63.32$          
0174050 Gasket 5.07$            
0174127 Gasket 5/10 5.07$            
0177042 Tine holder right 303.89$       
0177103 Gasket, gearbox housing 8.32$            
0177168 Bolt HH M10‐1.50x65 C8.8 N F 0.73$            
0177230 Side shield right 144.15$       
0177237 Roller arm 222.10$       
0178193 Hitch block, right 89.56$          
0180051 Skid, right 97.68$          
018008E Yoke, inner tube 138.94$       
018009E Yoke, outer tube 138.94$       
018011E Yoke, inner tube 145.53$       
018012E Yoke, outer tube E80 164.35$       
018016E Yoke friction 196.17$       
018017E Hub 1 3/4"‐6 140.89$       
0180206 Gasket 2/10 4.66$            
018023E Yoke 199.89$       
018130E Cross w/bearing 35x106.5 mm. 91.17$          
0182106 Stand, rear right 56.56$          
0182126 Lift side, right 896.33$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 83

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0182333 Wheel arm, right 336.94$       
0182350 Right hitch central deck 329.31$       
0182461 Front hitch, right 48" 305.35$       
0182466 Rear hitch, right 48" 280.14$       
0183012 Front hitch, right 60" 287.43$       
0183022 Rear hitch, right 60" 310.20$       
0184032 Rotor, aerating 58" 1,877.20$    
0184046 Rotor, tilling 66" 744.16$       
0184067 Use 0284032
0184154 Protection 66" 82.98$          
0184158 Protection 58" 75.80$          
0184281 Hopper 66" 1,321.82$    
0184292 Hopper lid 66" 440.62$       
0184295 Lid support 66" 238.44$       
0184302 Hopper hinge, right 77.76$          
0184374 Auger shaft 66" 216.56$       
0184422 Discharge support 66" 829.37$       
0184452 Rear deflector 58" 248.86$       
0184453 Rear deflector 66" 285.10$       
0184622 Front gauge roller 66" 622.04$       
0184683 Plate w/7 teeth, roller scraper 101.95$       
0184751 Frame 50" 1,205.21$    
0185000 Frame 72" 7,488.55$    
0185008 Protection, front 72" 508.70$       
0185012 Protection, rear 72" 468.67$       
0185031 Protection, side 72" 75.33$          
0185162 Rotor, blade holder 72" 958.98$       
0185179 Pinion gear 1000 rpm 576.16$       
0186041 Skid, right 87.33$          
0186399 Tailgate 34" 307.36$       
0187597 Register screw, complete right 160.67$       
0187598 Female tube, register screw right 62.23$          
0188605 Roller support shaft, right 77.40$          
0188610 Roller arm, right 244.95$       
0188633 Rear roller lock bracket, right 69.64$          
019002E Yoke, inner tube 107.22$       
019011E Body, slip clutch 1 3/8" Z6 132.74$       
019012E Body, slip clutch 1 3/4" Z6 186.32$       
019013E Outer flange 63.99$          
019014E Plate w/holes 16.00$          
019015E Clutch plate 18.57$          
019016E Dirt shield 18.99$          
019017E Spring 5.69$            
019018E Disc 37.45$          
019019E Spacer 10.98$          
019032E Guard cone, inner shield 33.50$          
019033E Guard cone, outer shield 33.67$          
019034E Guard cone, outer shield 36.59$          
019043E Cross w/bearing 41x108 mm. 165.10$       
019053E Guard cone, inner shield 36.59$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 84

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
019054E Yoke, inner tube 155.85$       
0191206 Chain link, false 80HE 64.69$          
019130E Cross w/bearing 41x106 mm. 90.71$          
0192232 Center hood 24‐30 279.44$       
0192236 Bolt HH M12‐1.75x70 C8.8 Z P 1.98$            
0192241 Right hood side 377.91$       
0192247 Rear shield 24‐30, right 42.86$          
0195120 Flywheel protection attachment plate, right 25.24$          
019519W Yoke 120.62$       
0195342 Spout protection attachment plate, right 19.41$          
0195570 Protection attachment plate, right 21.76$          
0195572 Spout protection attachment plate, right 26.50$          
0195580 Flywheel protection attachment plate, right 16.52$          
0201K58AB Yoke shear pin 1/4" set screw 52.12$          
0205501 Frame 48" 2,457.68$    
020616W Roll pin Ø10x75 5.90$            
020617W Use 0032204
0206570 Top hitch arm 60" 74.31$          
0206683 Shim Ø40x50x0.5 2.03$            
0206762 Chain rod 60" 17.64$          
0206892 Tractor hitch support 48" 125.36$       
0206900 Frame, rear discharge 60" 1,392.97$    
0206903 Frame, rear discharge 60" 1,287.90$    
0206907 Frame, side discharge 60" 1,892.03$    
0206910 Frame, side discharge 60" 1,986.64$    
020692W Lock roller 2.67$            
0206932 Wheel arm 60" 440.62$       
0206939 Wheel arm 60" w/center hole 414.69$       
0206941 Wheel arm 60" w/o center hole 362.86$       
0206968 Use 0206989
0206975 Belt shield 60" 150.35$       
0206987 Belt shield 60" w/tab 139.98$       
0206989 Belt shield 60" w/o tab 112.28$       
0207653 Gearbox bracket 62.33$          
0208420 Rear extension 60" 64.80$          
0208425 Deflector 60" 114.06$       
0208430 Central plate 60" 276.55$       
0208430B Engine support plate 274.77$       
0208516 Wheel yoke, left 67.38$          
0208740 Frame, rear discharge 60" 1,976.82$    
0208745 Frame, side discharge 60" 1,581.03$    
0208761 Wheel arm 60" 336.94$       
0208811 Belt shield 60" 132.18$       
0208817 Belt shield w/o tab 60" 110.14$       
0208832 Top hitch arm 60" 61.14$          
0208924 Roller support, left 84.76$          
0209081 Wheel support, left 276.55$       
0209131 Lift side, left 855.30$       
0209367 Lift side, left 958.98$       
0209461 Lift arm, left 12' 230.51$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 85

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0209470 Lift arm, left 223.60$       
0209621 Lift side, left 907.14$       
0209761 Wheel support, left 285.10$       
0209882 Hitch plate 46.66$          
0209911 Front hitch, left 12' 311.01$       
0209961 Safety tie rod 15' 76.71$          
0210002 Frame 42" 1,095.70$    
021001E Use 0800103AB
0210158 Hexagonal shaft 42" 168.41$       
0210253 Telescopic shielding 50" 126.74$       
0210255 Telescopic shielding 50" 147.70$       
0210261 Hitch block, left 67.59$          
0210287 Lower hitch plate, left 64.46$          
0210916 Wheel arm, left 75.18$          
0211002 Frame 42" 597.68$       
021100E Outer casting w/yoke T10 132.69$       
0211041 Skid, left 67.38$          
0211260 Telescopic shielding 50" 146.71$       
0211265 Right protection 50" 38.87$          
0211401 Hitch plate, left cat. 0 83.48$          
0214321 Roller arm, right 167.54$       
0214326 Hopper polyethylene 212 588.47$       
0214340 Shutter s/steel, left 209, 212 52.59$          
0214624 Hopper steel 206 256.95$       
0214624O Hopper steel 206 ‐ orange 256.95$       
0214624V Hopper steel 206 ‐ green 256.95$       
0214629 Hopper polyethylene 206 339.30$       
0214640 Shutter, left 206 24.01$          
0214648 Shutter s/steel, left 206 52.59$          
0214680 Deflector connection, left 17.91$          
0214770 Hopper polyethylene 103 239.24$       
0215207 Bolt HH M10‐1.50x70 C8.8 Z P 1.11$            
0216111 Frame 72" SD 1,604.76$    
0216171 Use 0216331
0216271 Frame 72" HD 2,128.11$    
0216291 Use 0216271
0216331 Rotor shaft 72" HD 209.32$       
0216510 Use 0216610
0216530 Arm bracket left, primary roller SD 141.55$       
0216545 Roller complete, prim. SD 72", sec. HD 72" 733.96$       
0216610 Frame complete, SD 72" 2,306.71$    
0216655 Arm bracket left, secondary roller SD 107.69$       
0216685 Roller complete, secondary SD 72" 718.24$       
0216760 Frame complete, HD 84" 2,935.82$    
0216790 Arm bracket left, primary roller HD 150.55$       
0216805 Roller complete, primary HD 84" 1,032.79$    
0216905 Arm bracket left, secondary roller HD 117.67$       
0216935 Roller complete, secondary HD 84" 865.03$       
022001E Use 1022010C
022003E Use 1702215C

All prices are FOB Rocky Mount, NC and are subject to change without notice. 86

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0220260 Frame, rear discharge 60" 841.33$       
0220430 Wheel arm 60" 295.85$       
0221186 Shim Ø36x45x0.5 0.77$            
0221253 Telescopic shielding 50"‐58" 175.65$       
0222002 Frame 42" 855.30$       
0222005 Frame 42" 839.61$       
022200E Outer casting w/yoke N2 119.50$       
0222051 Skid, left 64.80$          
0222244 Protection, left 173.02$       
0222444 Telescopic shielding 50"‐58" 165.93$       
0222450 Right protection 50" 66.86$          
0223251 Hitch block 85.55$          
0223281 Rear deflector 334.48$       
0223530 Lift side, left 20' 1,114.48$    
0223711 Wheel support, left 388.77$       
0223831 Hitch plate, outer 92.24$          
0223841 Arm, left lift 321.20$       
0223851 Front hitch, left 20' 440.62$       
0224260 Telescopic shielding 50"‐58" 181.57$       
0226383 Cage roller 700 2,532.74$    
0227330 Wheel support, left 336.94$       
0227340 Wheel support, left 385.35$       
0228012 Gasket 100 17.52$          
0228050 Lift side, left 12', 15' 829.37$       
0228370 Wheel arm 60" 466.53$       
0228380 Wheel arm 60", hexagonal 466.53$       
0228420 Front hitch, left 12' 414.69$       
0228430 Rear hitch, left 12' 414.69$       
0228440 Left hitch, rear 12' 327.80$       
0228540 Front hitch, left 15' 440.62$       
0229580 Mold board curved, standard 72" 202.37$       
0229780 Mold board curved, sub‐compact 60" 127.30$       
0229920 Welded swivel sub‐compact 60" 340.78$       
023001E Use 0800303AB
023002E End yoke T30 1 3/8" Z21 111.12$       
0230081 Rotor 42" 596.11$       
0230180 Hexagonal shaft 42" 254.01$       
0230260 Right protection 50" 51.84$          
0230303 Use 0286399
0230411 Lower hitch plate, left 78.96$          
0230501 Frame 42" 829.37$       
0230531 Skid, left 84.60$          
0232335 Side shield left 159.76$       
0232705 Tine holder left 370.17$       
0233241 Cage roller 068 1,792.38$    
0234081 Rotor 42" 466.53$       
0234166 Hexagonal shaft 42" 209.94$       
0234261 Lower hitch plate, left 67.38$          
0235281 Rotor 50", w/shaft 2,099.12$    
0235560 Side arm, left 423.88$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 87

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0235590 Support, frame holder hitch left 477.00$       
0237002 Frame 58" 1,013.09$    
0237051 Skid, left 87.88$          
0237081 Rotor 58", w/o shaft 1,402.77$    
0237208 Counter shaft 58" 283.10$       
0237328 Telescopic shielding 66"‐74" 119.04$       
0237353 Lower hitch plate, left 93.99$          
0237383 Tailgate 58" 662.40$       
0237531 Roller scraper 74" 623.41$       
0237581 Safety shield 74" 467.56$       
0238002 Frame 74" 2,104.14$    
0238212 Drive shaft 82" 459.50$       
0238506 Drive tube 82" 740.30$       
0238641 Front bar 74" 97.37$          
024001E Use 1024010C
0240157 Bearing 1304 55.54$          
0241281 Hitch block, left 545.52$       
0241401 Side shield, left 346.77$       
0241444 Depth control roller 180 5,805.88$    
0241785 Attachment plate, left 113.07$       
024210E Outer casting w/yoke T40 180.23$       
0244021 Use 0044021
0244031 Roller support, left 75.18$          
0244531 Use 0044531
0246421 Hopper, mount left 88.15$          
0246487 Hopper, hinge left 67.38$          
0248193 Hitch block, left 83.44$          
0248201 Lower hitch plate, left 83.80$          
0248255 Mount hopper, left 137.38$       
0248301 Hopper hinge, left 65.33$          
0249100 Side shield, left 50.63$          
0249381 Roller arm plate, left 93.51$          
0250002 Frame 60" 2,532.74$    
025001E End yoke T50 1 3/8" Z6 83.15$          
0250061 Roller 60" 1,196.93$    
0250091 Rotor 60" 1,410.39$    
0250177 Gearbox w/drive shaft 60"‐72" 1,827.62$    
0250180 Gearbox w/drive shaft 60"‐72" 1,480.67$    
0250207 Drive shaft 60"‐72" 155.84$       
0250221 Drive tube 60"‐72" 399.89$       
0250310 Frame 60" 1,457.89$    
0250360 Rear left plate, three point hitch 72.22$          
0250410 Roller arm, left 49.37$          
0250420 Roller 60" 387.66$       
0250425 Roller scraper 60" 41.51$          
0250500 Skid, left 66.15$          
0250502 Frame 60" 1,427.20$    
0250550 Deflector rod 60" Z 43.38$          
0250561 Roller 60" 414.69$       
0250801 Roller 60" 414.69$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 88

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0251002 Frame 60" 2,026.16$    
025101E Hub 1 3/8" Z6, N1 93.99$          
025106E Hub 1 3/8" Z6, N2 177.14$       
0251075 Roller arm, left 62.98$          
0251079 Roller arm, left 148.52$       
0251081 Roller 60" 285.10$       
0251094 Roller scraper 60" 50.44$          
0251101 Rotor 60" 1,632.86$    
0251244 Front shield 60" 48.88$          
0251272 Frame 60" 2,591.82$    
0251305 Frame 60" 2,001.16$    
0251315 Frame 60" 1,289.50$    
0251340 Roller arm, left 72.56$          
0251453 Use 0251454
0251454 Gearbox w/drive shaft 72" 1,699.10$    
0251491 Tube, drive shaft 72" 395.86$       
0251496 Tube, drive shaft 72" 445.29$       
0251501 Frame, side discharge 60" 1,039.14$    
0251501P Frame, rear discharge 60" 1,039.14$    
0251530 Shield, rear 60" 55.00$          
0251613 Gearbox w/drive shaft 72" 1,307.13$    
0252010 Frame 5' Combovette 5,987.13$    
0252086 Roller arm right 112.31$       
0252091 Roller scraper 5' Combovette 64.46$          
0252100 Roller 5' Combovette 518.36$       
025210E Outer casting w/yoke R50 188.26$       
0252124 Blade fine cut, left 7.33$            
0252216 Drive shaft 72" 189.24$       
0252297 Frame assembly complete for bagger 5' 4,082.13$    
0252300 Hopper complete 5' Combovette 4,082.13$    
0252301 Hopper frame left 736.11$       
0252311 Hopper connection tube 5' 150.35$       
0252312 Hopper connection tube 5' 150.35$       
0252314 Hopper cover connection tube 5' 97.37$          
0252331 Hopper tube upper 5' 116.64$       
0252337 Hopper base plate 5' 106.27$       
0252341 Hopper gate 5' 428.65$       
0252351 Hopper lower gate 5' 545.52$       
0252371 Hopper cover 5' 1,415.14$    
0252374 Hopper cover holding plate 5' 21.29$          
0252391 Support, rubber deflector 60" 19.44$          
0252392 Deflector bracket 5' 23.86$          
0252394 Rubber deflector 60" 41.47$          
0252461 Tube 56.99$          
0252705 Frame 60" 5,125.80$    
0252715 Shield, front 72" 439.44$       
0252718 Chain rod, short 72" 16.52$          
0252719 Chain rod, long 72" 17.24$          
0252754 Arm, top hitch 60" 74.84$          
0252846 Rotor 72" 707.77$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 89

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0253002 Frame 88" 3,343.45$    
0253091 Roller arm, left 121.80$       
0253101 Roller scraper 88" 135.84$       
0253104 Roller scraper 88" 137.48$       
0253111 Roller 88" 807.33$       
0253130 Rotor 88" 4,747.62$    
0253140 Rotor complete 88" 7,170.49$    
0253153 Use 0053153
0253240 Shim Ø45x55x0.2 0.50$            
0253361 Deflector 88" 88.15$          
0253362 Deflector bracket 88" 36.52$          
0253472 Frame 72" 6,280.56$    
0253480 Frame 72" 5,945.03$    
0253542 Roller arm, left 129.28$       
0253546 Roller scraper 72" 81.07$          
0253561 Roller 72" 573.41$       
0253584 Rotor 72" 3,661.91$    
0253594 Rotor 72" 3,098.16$    
0253691 Gearbox w/drive shaft 72" 3,546.12$    
0253722 Drive shaft 72" 230.84$       
0254022 Frame 72" 4,065.91$    
0254084 Rotor 72" 2,551.03$    
0255804 Horizontal support 48"‐72" 37.03$          
0255822 Frame 60" 1,627.66$    
0256521 Top hitch arm 60" 45.74$          
0257301 Reinforcing bar rear, 6 disc 1,295.93$    
0257335 Rear support rod, 6 disc 90.70$          
0257339 Front support rod, 6 disc 101.55$       
0257394 Cover, cutter bar, 6 disc 1,405.79$    
0257398 Support chain, 6 disc 114.06$       
0257437 Knife left 13.61$          
0257437B Knife, left 6.35$            
0257534 Pan w/cover, 6 disc 3,526.09$    
0257559 Rear support, 6 disc 345.69$       
0258080 Lift side, left 751.63$       
0258111 Rear hitch, left 247.38$       
0258230 Wheel support, left 285.10$       
0258340 Front hitch, left 12' 521.80$       
0258350 Front hitch, left 15' 581.65$       
0258360 Front hitch, left 17' 715.95$       
0258370 Rear hitch, left 12' 440.62$       
0258400 Left hitch, rear 12' 492.45$       
0258430 Left hitch, rear 15', 17' 518.36$       
0258442 Safety tie rod 15' 69.84$          
0258526 Wheel arm 60", hexagonal w/o center hole 388.77$       
0258651 Plate w/left slot 215.54$       
0259014 Frame 76" 5,235.47$    
0259071 Roller arm, left 159.60$       
0259074 Roller scraper 76" 80.19$          
0259080 Roller 76" 618.28$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 90

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0259105 Rotor w/blades 76" 6,641.85$    
0259111 Rotor 76" 4,441.57$    
0259200 Gearbox w/drive shaft 76" 2,606.03$    
0259220 Tube, drive shaft 72"‐76" 564.06$       
0259226 Drive shaft 76" 241.05$       
0259372 Frame 72" 9,024.66$    
0259392 Frame 72" 8,545.33$    
0259442 Roller arm, left 163.99$       
0259444 Skid, left 17.02$          
0259448 Roller scraper 72" 103.38$       
0259461 Roller 72" 697.03$       
0259494 Rotor 72" 4,451.76$    
0259504 Rotor 72" 3,548.38$    
0259792 Deflector support 72" 29.55$          
0259794 Rubber deflector 72" 49.81$          
0259822 Frame 72" 4,723.37$    
0259862 Roller arm, left 109.48$       
0259884 Rotor 72" 2,673.78$    
0259951 Gearbox w/drive shaft 72" 2,758.61$    
0259965 Tube, drive shaft 72" 573.19$       
0259972 Drive shaft 72" 264.62$       
026001E Use 1026010C
026002E End yoke T60 1 3/8" Z21 90.22$          
026003E End yoke T60 1 3/4" Z6 153.51$       
026004E Push pin set 1 3/8" press in 4.98$            
026005E Push pin set 1 3/4" 6.88$            
026006E Push pin set 1 3/8" 7.91$            
026007E Push pin set 1 3/4" 11.09$          
026009E Push pin set 1 3/8" c‐clip 8.26$            
026022E Cone, inner shield CV 39.52$          
026024E Cone, outer shield (clutch) CV 27.35$          
0260510 Frame 72" 6,273.13$    
0260550 Protection, front 72" 379.37$       
0260571 Protection, rear 72" 341.59$       
0260572 Protection, rear 72" 380.94$       
0260576 Chain rod, rear 72" 30.10$          
0260577 Chain rod, rear 72" 29.50$          
0260611 Protection, side 72" 369.77$       
0260622 Arm, top hitch 72" 74.69$          
0261010 Frame 84" 6,900.68$    
0261040 Protection, front 84" 475.90$       
0261050 Chain rod, short 84" 19.51$          
0261051 Chain rod, long 84" 20.33$          
0261115 Arm, top hitch 84" 116.79$       
0261211 Rotor, blade holder 84" 1,098.66$    
026224E Double yoke wide angle CV 319.16$       
026229E Yoke, outer tube CV 191.02$       
026230E Push pin yoke CV 192.20$       
0263002 Frame 72" 2,648.31$    
0263031 Guide tube 72" 615.20$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 91

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0263087 Roller 72" 681.77$       
0263102 Rotor 72" 2,620.73$    
0263262 Gearbox w/drive shaft 72" 2,710.04$    
0263299 Tube, drive shaft 72" 509.38$       
0263308 Drive shaft 72" 209.39$       
0263345 Deflector rod 72" Z 76.79$          
0263452 Gearbox double transmission w/drive shaft 72" 2,786.85$    
0263472 Skid, left 141.07$       
0264585 Frame for roller 120" 896.19$       
0267002 Frame, rear discharge 110" 4,976.31$    
0267061 Belt shield w/tab 110" 362.86$       
0267062 Belt shield 110" 308.83$       
0267279 Top hitch arm 110" 134.68$       
0267291 Wheel arm 110" w/o center hole 643.41$       
0267296 Wheel arm 110" w/center hole 777.55$       
0267333 Chain rod 110" 42.05$          
0268002 Frame 82" 1,995.71$    
0268052 Left protection 82" 112.71$       
0268113 Spiked roller 82" 1,529.17$    
0268143 Rear crossbar 82" 324.26$       
0269000 Frame complete 66" 711.60$       
0269019 Scraper blade 66" 128.52$       
0269501 Mold board angled, standard 72" 150.46$       
0269601 Welded swivel standard 84" 259.18$       
027001E End yoke T70 1‐3/8" Z6 91.51$          
027002E End yoke T70 1 3/8" Z21 81.33$          
027003E End yoke T70 1 3/4" Z6 187.11$       
0270041 Skid, left 151.06$       
027004E End yoke T70 1 3/4" Z20 187.11$       
0277002 Flat pan complete 068 1,943.87$    
0277042 Tine holder left 329.87$       
0277147 Use 0027147
0277230 Side shield left 144.15$       
0277237 Roller arm 222.10$       
0278193 Hitch block, left 89.56$          
028001E End yoke T80 1 3/8" Z6 127.47$       
028002B End yoke E80 1 3/8" Z21 334.47$       
028002E End yoke T80 1 3/8" Z21 161.31$       
028003E End yoke T80 1 3/4" Z6 256.49$       
028004E End yoke T80 1 3/4" Z20 256.49$       
0280051 Skid, left 97.68$          
0280206 Gasket 5/10 4.66$            
028024E Hub 1 3/8" Z6 135.72$       
028025E Hub 1 3/4" Z6 154.30$       
0280291 Telescopic shielding 66"‐74" 178.86$       
0282106 Stand, rear left 56.56$          
0282126 Lift side, left 896.33$       
0282333 Wheel arm, left 318.84$       
0282350 Left hitch, central deck 329.31$       
0282461 Front hitch, left 48" 305.35$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 92

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0282466 Rear hitch, left 48" 306.62$       
0283012 Front hitch, left 60" 271.63$       
0283022 Rear hitch, left 60" 310.20$       
0284032 Rotor, aerating 66" 1,995.09$    
0284046 Rotor, tilling 50" 621.06$       
0284067 Use 0084032
0284158 Protection 66" 83.15$          
0284281 Hopper 50" 1,034.16$    
0284292 Hopper lid 50" 404.02$       
0284295 Lid support 50" 148.89$       
0284302 Hopper hinge, left 77.76$          
0284374 Auger shaft 50" 186.53$       
0284422 Discharge support 50" 673.88$       
0284452 Rear deflector 66" 285.10$       
0284453 Rear deflector 50" 243.60$       
0284462 Rear crossbar 50" 326.67$       
0284476 Roller 50" 628.34$       
0284501 Tickler bar, rear 50" 64.17$          
0284505 Tickler bar, front 50" 64.17$          
0284622 Front gauge roller 50" 579.95$       
0284683 Plate w/6 teeth, roller scraper 79.79$          
0284751 Frame 58" 1,263.52$    
0285000 Frame 84" 10,208.68$  
0285008 Protection, front 84" 673.63$       
0285012 Protection, rear 84" 512.66$       
0285031 Protection, side 84" 75.33$          
0285162 Rotor, blade holder 84" 1,036.73$    
0286041 Skid, left 87.33$          
0286260 Telescopic shielding 50"‐58" 181.21$       
0286265 Telescopic shielding 50"‐58" 181.21$       
0286399 Tailgate 42" 334.48$       
0287597 Register screw, complete left 160.67$       
0287598 Female tube, register screw left 62.23$          
0288577 Use 0028577
0288605 Roller support shaft, left 77.40$          
0288610 Roller arm, left 244.95$       
0288633 Rear roller lock bracket, left 69.64$          
029001E End yoke T90 1 3/8" Z6 160.55$       
029002E Use 029‐040E
029003E End yoke T90 1 3/4" Z6 136.07$       
029004E End yoke T90 1 3/4" Z20 145.55$       
029040E End yoke T90 1 3/8" Z21 236.80$       
0291335 Fertilizer hopper 2,796.36$    
0292232 Center hood 36 545.52$       
0292241 Left hood side 377.91$       
0292247 Rear shield 24‐30, left 42.86$          
0295120 Flywheel protection attachment plate, left 25.24$          
0295342 Spout protection attachment plate, left 19.41$          
0295570 Protection attachment plate, left 21.76$          
0295572 Spout protection attachment plate, left 26.50$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 93

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0295580 Flywheel protection attachment plate, left 16.52$          
030020129 Plate 23.41$          
030020133 Bolt stud, 5, 6, 7 disc 80.59$          
0301K58AB Yoke shear pin 3/8" set screw 67.59$          
0306570 Top hitch arm 72" 79.49$          
0306762 Chain rod 72" 23.06$          
0306900 Frame, rear discharge 72" 1,552.55$    
0306910 Frame, side discharge 72" 2,280.80$    
0306932 Wheel arm 72" w/center hole 414.69$       
0306941 Wheel arm 72" w/o center hole 388.77$       
0306975 Belt shield 72" w/tab 155.53$       
0306989 Belt shield 72" w/o tab 87.47$          
0308420 Rear extension 72" 75.18$          
0308425 Deflector 72" 121.80$       
0308430 Central plate 72" 249.55$       
0308740 Frame, rear discharge 72" 1,475.57$    
0308745 Frame, side discharge 72" 2,021.63$    
0308761 Wheel arm 72" 362.86$       
0308811 Belt shield 72" 150.35$       
0308817 Belt shield w/o tab 72" 102.31$       
0308832 Top hitch arm 72" 67.17$          
0309461 Lift arm, right 12', 15' 254.00$       
0309761 Wheel support, right 311.01$       
0309911 Front hitch, right 15' 285.10$       
0309961 Safety tie rod 17' 85.79$          
0310002 Frame 50" 1,239.63$    
0310158 Hexagonal shaft 50" 182.05$       
0311002 Frame 50" 642.30$       
0311265 Right protection 58" 39.85$          
0314770 Hopper polyethylene 106 315.65$       
0320260 Frame, rear discharge 72" 962.46$       
0320430 Wheel arm 72" 318.34$       
0321253 Telescopic shielding 66" 193.34$       
0322002 Frame 50" 855.30$       
0322005 Frame 50" 839.61$       
0322444 Telescopic shielding 66" 198.30$       
0322450 Right protection 58" 78.37$          
0323281 Rear deflector 50" 373.01$       
0326383 Cage roller 120 2,844.46$    
0328012 Gasket 120 20.23$          
0328380 Wheel arm 72", hexagonal 466.53$       
0329580 Mold board curved, standard 84" 234.46$       
0330081 Rotor 50" 673.88$       
0330180 Hexagonal shaft 50" 259.18$       
0330260 Right protection 58" 59.62$          
0330303 Use 0386399
0330311 Tailgate 50" 381.84$       
0330501 Frame 50" 881.21$       
0332002 Flat pan complete 120 4,520.01$    
0334081 Rotor 50" 518.41$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 94

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0334166 Hexagonal shaft 50" 222.89$       
0335281 Rotor 58", w/shaft 1,714.50$    
0335911 Rotor, aerating 66" 1,870.39$    
0337002 Frame 66" 1,091.03$    
0337081 Rotor 66", w/o shaft 1,724.28$    
0337208 Counter shaft, 66" 300.91$       
0337383 Tailgate 66" 701.36$       
0337531 Roller scraper 82" 681.89$       
0337581 Safety shield 82" 506.50$       
0338002 Frame 82" 2,221.00$    
0338212 Drive shaft 58" 405.62$       
0338506 Drive tube 58" 581.11$       
0338641 Front bar 82" 105.19$       
0341191 Gasket 120 20.23$          
0341444 Depth control roller 6,624.15$    
0344031 Roller support, right 62.22$          
0346241 Crossbar brace 327.43$       
0346271 Rear deflector, top 572.80$       
0346277 Rear deflector, bottom 544.29$       
0346295 Rear crossbar 336.94$       
0346315 Roller 899.35$       
0346371 Seed deflector 66" 803.47$       
0346411 Fertilizer deflector 336.94$       
0346431 Hopper, fertilizer 66" 1,088.59$    
0346441 Hopper, seed 66" 1,275.15$    
0346485 Hopper lid 607.26$       
0346515 Drive rod 46.68$          
0346520 Auger shaft 66" 248.82$       
0349505 Scraper holder 160 779.30$       
0350002 Frame 72" 2,103.91$    
0350061 Roller 72" 1,445.69$    
0350091 Rotor 72" 1,596.02$    
0350310 Frame 72" 1,629.98$    
0350420 Roller 72" 399.15$       
0350425 Roller scraper 72" 48.05$          
0350550 Deflector rod 72" Z 54.66$          
0350801 Roller 72" 622.04$       
0351002 Frame 72" 2,104.14$    
0351081 Roller 72" 311.01$       
0351094 Roller scraper 72" 58.23$          
0351101 Rotor 72" 2,150.54$    
0351244 Front shield 72" 57.12$          
0351272 Frame 72" 2,747.34$    
0351305 Frame 72" 2,139.61$    
0351315 Frame 72" 1,374.78$    
0351501 Frame, side discharge 72" 1,249.47$    
0351501P Frame, rear discharge 72" 1,249.47$    
0351530 Shield, rear 72" 66.50$          
0352391 Support, rubber deflector 72" 22.33$          
0352394 Rubber deflector 72" 49.24$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 95

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0352705 Frame 72" 5,858.28$    
0352754 Arm, top hitch 72" 80.31$          
0353091 Roller arm, right 93.31$          
0353240 Shim Ø45x55x0.5 0.50$            
0353472 Frame 88" 6,697.68$    
0353480 Frame 88" 6,343.49$    
0353546 Roller scraper 88" 90.06$          
0353561 Roller 88" 654.39$       
0353584 Rotor 88" 4,094.43$    
0353594 Rotor 88" 3,464.50$    
0353691 Gearbox w/drive shaft 88" 3,614.46$    
0353722 Drive shaft 88" 257.32$       
0354022 Frame 88" 4,313.56$    
0354084 Rotor 88" 2,895.26$    
0355800 Frame 72" 2,072.56$    
0356521 Top hitch arm 72" 49.52$          
0357301 Reinforcing bar rear, 4 disc 933.05$       
0357335 Rear support rod, 4 disc 64.80$          
0357339 Front support rod, 4 disc 62.23$          
0357394 Cover, cutter bar, 4 disc 1,267.54$    
0357398 Support chain, 4 disc 116.64$       
0357534 Pan w/cover, 4 disc 2,811.63$    
0357559 Rear support, 4 disc 156.69$       
0358370 Rear hitch, right 15', 17' 466.53$       
0358442 Safety tie rod 17' 72.84$          
0358526 Wheel arm 72", hexagonal w/o center hole 414.69$       
0359014 Frame 90" 5,572.43$    
0359074 Roller scraper 90" 88.85$          
0359080 Roller 90" 698.87$       
0359111 Rotor 90" 4,694.34$    
0359200 Gearbox w/drive shaft 90" 2,676.88$    
0359220 Tube, drive shaft 88"‐90" 630.27$       
0359226 Drive shaft 90" 259.18$       
0359372 Frame 88" 9,590.04$    
0359392 Frame 88" 9,017.16$    
0359448 Roller scraper 88" 115.41$       
0359461 Roller 88" 776.03$       
0359494 Rotor 88" 4,652.83$    
0359504 Rotor 88" 3,905.68$    
0359792 Deflector support 88" 34.62$          
0359794 Rubber deflector 88" 54.05$          
0359822 Frame 88" 5,557.40$    
0359884 Rotor 88" 3,206.14$    
0359951 Gearbox w/drive shaft 88" 2,831.86$    
0359965 Tube, drive shaft 88" 637.19$       
0359972 Drive shaft 88" 299.16$       
0360571 Protection, rear 84" 377.90$       
0360572 Protection, rear 84" 387.80$       
0360576 Chain rod, rear 84" 32.00$          
0360577 Chain rod, rear 84" 31.05$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 96

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0360611 Protection, side 84' 304.59$       
0363002 Frame 88" 2,868.47$    
0363031 Guide tube 88" 675.31$       
0363087 Roller 88" 778.02$       
0363102 Rotor 88" 2,867.31$    
0363262 Gearbox w/drive shaft 88" 2,791.05$    
0363299 Tube, drive shaft 88" 576.55$       
0363308 Drive shaft 88" 252.86$       
0363345 Deflector rod 88" Z 88.09$          
0363452 Gearbox double transmission w/drive shaft 88" 2,868.01$    
0369000 Frame complete 72" 1,002.00$    
0369019 Scraper blade 72" 138.39$       
0369501 Mold board angled, standard 84" 164.94$       
0369601 Welded swivel standard 96" 289.57$       
0377002 Flat pan complete 084 2,073.45$    
0377201 Hitch block, cat. 1 101.28$       
0377237 Roller arm right 120 225.94$       
0380002 Frame 66" 1,166.31$    
0380081 Rotor 66" 1,684.68$    
0380182 Hexagonal shaft 66" 362.86$       
0380301 Right protection 66" 63.09$          
0380334 Tailgate 66" 595.89$       
0380335 Use 0380334
0380381 Rotor 66" 1,529.17$    
0384046 Rotor, tilling 42" 565.91$       
0384462 Rear crossbar 74" 270.84$       
0384501 Tickler bar, rear 74" 77.03$          
0384505 Tickler bar, front 74" 77.03$          
0384751 Frame 66" 1,297.29$    
0386002 Frame 50" 725.71$       
0386260 Telescopic shielding 66" 217.13$       
0386265 Telescopic shielding 66" 217.13$       
0386361 Rotor 50" 1,088.59$    
0386399 Tailgate 50" 373.01$       
0392247 Rear shield 36, right 62.33$          
0401266 Rear shield 74" 896.19$       
0406762 Chain rod 84" 22.22$          
0406900 Frame, rear discharge 84" 1,677.61$    
0406932 Wheel arm 84" w/center hole 414.69$       
0406933 Use 0406932
0406941 Wheel arm 84" w/o center hole 381.96$       
0406975 Belt shield 84" w/tab 233.17$       
0406989 Belt shield 84" w/o tab 195.12$       
0408420 Rear extension 84" 93.31$          
0408811 Belt shield 72" 150.35$       
0409461 Lift arm, left 12', 15' 254.01$       
0409761 Wheel support, left 311.01$       
0409911 Front hitch, left 15' 285.10$       
0411002 Frame 58" 684.04$       
0411265 Right protection 66" 49.26$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 97

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0413661 Counter shaft 580 681.00$       
041577W Yoke, outer tube 109.69$       
0420260 Frame, rear discharge 84" 1,499.50$    
0420430 Wheel arm 84" 341.41$       
0422002 Frame 58" 855.30$       
0422005 Frame 58" 839.61$       
0422450 Right protection 66" 89.90$          
0423281 Tailgate 58" 296.15$       
042454W Drive plate 33.31$          
042459W Drive plate 34.51$          
0426383 Cage roller 140 3,351.03$    
0428012 Gasket 140 22.97$          
0430081 Rotor 58" 751.63$       
0430180 Hexagonal shaft 58" 285.10$       
0430260 Right protection 66" 67.38$          
0430303 Use 0486399
0430501 Frame 58" 1,010.82$    
0433241 Cage roller 084 2,065.18$    
0434081 Rotor 58" 596.11$       
0434166 Hexagonal shaft 58" 235.86$       
043487W Disc spring 49.37$          
043489W Disc spring 56.32$          
0435281 Rotor 66" w/shaft 1,831.39$    
0437002 Frame 74" 1,168.93$    
0437081 Rotor 74" w/o shaft 1,992.03$    
0437208 Counter shaft, 74" 380.12$       
0437383 Tailgate 74" 857.26$       
0441444 Cage roller 140 3,935.56$    
044321W Chain, anti‐rotation 6.46$            
0444031 Roller support, left 75.17$          
044444W Cross w/bearing 62.45$          
0448041 Rotor GRT III 1,877.20$    
0448185 Shield 88.15$          
0448221 Mount hopper assembly 336.94$       
0448245 Fertilizer deflector 336.94$       
0448271 Hopper, fertilizer 829.37$       
0448281 Hopper, seed 829.37$       
0448291 Hopper lid 362.86$       
0448353 Drive rod 58" 71.16$          
0448358 Auger shaft 233.28$       
0448415 Seed deflector 492.45$       
0448431 Turnbuckle hitch 276.02$       
0448451 Rear deflector, top 311.01$       
0448461 Rear deflector, bottom 311.01$       
0448481 Rear crossbar 58" 336.94$       
0448495 Roller 58" 688.82$       
0448521 Tickler bar, rear 58" 69.97$          
0448523 Tickler bar, front 58" 69.97$          
0453091 Roller arm, left 93.31$          
0453691 Gearbox w/drive shaft 100" 3,704.62$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 98

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0453722 Drive shaft 100" 310.98$       
0455800 Frame 42" 1,351.23$    
0457394 Cover, cutter bar, 7 disc 1,451.95$    
0457398 Support chain, 7 disc 116.64$       
0457534 Pan w/cover, 7 disc 4,609.22$    
0457559 Rear support, 7 disc 576.16$       
045790W Bushing 22.64$          
045793W Spring 3.39$            
0458370 Rear hitch, left 15', 17' 466.53$       
0459014 Frame 100" 5,857.51$    
0459074 Roller scraper 100" 97.91$          
0459080 Roller 100" 755.29$       
0459105 Rotor w/blades 100" 8,340.63$    
0459105A Rotor w/blades 100" 8,553.02$    
0459111 Rotor 100" 5,500.17$    
0459111A Rotor 100" 5,199.29$    
0459200 Gearbox w/drive shaft 100" 2,770.69$    
0459220 Tube, drive shaft 100" 717.60$       
0459226 Drive shaft 100" 285.10$       
0459372 Frame 100" 11,494.33$  
0459392 Frame 100" 10,616.14$  
0459448 Roller scraper 100" 128.16$       
0459461 Roller 100" 838.02$       
0459494 Rotor 100" 5,906.98$    
0459504 Rotor 100" 4,708.31$    
0459792 Deflector support 100" 39.82$          
0459794 Rubber deflector 100" 57.05$          
0459822 Frame 100" 5,826.89$    
0459884 Rotor 100" 3,606.85$    
0459951 Gearbox w/drive shaft 100" 2,934.37$    
0459965 Tube, drive shaft 100" 729.82$       
0459972 Drive shaft 100" 347.46$       
046753W Use 135895W
0469000 Frame complete 84" 1,117.32$    
0469019 Scraper blade 84" 161.48$       
0469501 Mold board angled, standard 48" 111.09$       
0469601 Welded swivel standard 48" 340.78$       
0477237 Roller arm left 120 225.94$       
0477251 Frame for roller 120 545.52$       
047825W Back‐up ring 4.04$            
047901W Inner shaft 193.77$       
0480002 Frame 74" 1,321.82$    
0480081 Rotor 74" 1,866.11$    
0480182 Hexagonal shaft 74" 388.77$       
0480301 Right protection 74" 69.05$          
0480334 Tailgate 74" 562.71$       
0480335 Use 0480334
0480381 Rotor 74" 1,684.68$    
0486002 Frame 58" 777.55$       
0486361 Rotor 58" 1,231.53$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 99

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0486399 Tailgate 58" 451.55$       

0488510 Frame 74" 1,431.10$    
0488580 Front roller 74" 1,243.50$    
0488640 Rear roller 74" 998.32$       
0488730 Hopper 74" 1,178.61$    
0488750 Hopper lid 74" 400.43$       
0488754 Lid support 74" 164.38$       
0488790 Auger shaft 74" 229.99$       
0488810 Drive rod 74" 106.12$       
0488880 Discharge support 673.63$       
0488890 Wind guard 141.70$       
0492247 Rear shield 36, left 62.33$          
0500034 Use 0500043
0500036 Use 0500043
0500038 Driveline complete T40 371.46$       
0500040 Use 0500042
0500041 Use 0500043
0500042 Driveline complete CV SC 2380 (FLX, 412, 415‐SFL) 2,764.44$    
0500043 Driveline complete CV SC 2480 (417, 420‐SFL) 2,907.98$    
0500050 Driveline complete T60 (HD RC) 502.07$       
0500100 Driveline complete (C30‐4', EZF) 208.62$       
0500101 Driveline complete (C30‐5') 224.67$       
0500102 Driveline complete (C30‐6') 228.91$       
0500110 Driveline complete (C30‐4', EZF) 161.70$       
0500111 Driveline complete (C30‐5') 168.29$       

0500112 Driveline complete (C30‐6') 173.79$       
0500121 Driveline complete (Hop) 181.26$       
0500122 Driveline complete (Hop‐QH) 192.78$       

0500150 Use 0500155
0500151 Use 0500156
0500155 Driveline complete SP 1/4" (100) 250.59$       
0500156 Driveline complete SP 3/8" (200, 300, 400) 290.33$       
0500335 Driveline complete (BSB‐2XX) 258.45$       
0500356 Driveline complete T20 0600 PB02 000 412.24$       
0500375 Driveline complete SC (BRC, RRB) 401.97$       
0500401 Driveline complete SP (T40) 257.52$       
0500402 Use 0500100
0500403 Use 0500101
0500404 Use 0500102
0500406 Driveline complete SP 540 rpm (T30) 218.66$       
0500407 Driveline complete SP (T50) 247.91$       
0500408 Driveline complete SC (T40,GRT) 326.63$       
0500409 Driveline complete SC (T50) 330.85$       
0500413 Driveline complete (C50‐4',H40) 224.65$       
0500414 Driveline complete (C50‐5') 237.61$       
0500415 Driveline complete (C50‐6'&7') 250.60$       
0500416 Driveline complete (C70) 267.80$       
0500417 Driveline complete TX40 (RC‐4') 329.90$       
0500418 Driveline complete TX40 (T25‐311) 329.90$       
0500419 Driveline complete TX40 (T26‐311) 384.40$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 100

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0500426 Driveline complete (H70) 285.10$       
0500427 Driveline complete SC (T60, T70, EZF, GRT) 490.91$       
0500428 Driveline complete SC (RMD‐5') 350.46$       
0500429 Driveline complete SC (RMD‐6') 388.15$       
0500437 Driveline complete (H40‐SXX) 224.65$       
0500447 Driveline complete T40 (H70) 388.12$       
0500452 Use 0500156
0500453 Driveline complete (BM6) 221.51$       
0500454 Driveline complete SP (RSD‐42" & 48") 291.60$       
0500455 Driveline complete SP (BRC, RRB‐60") 255.26$       
0500456 Driveline complete SP (BRC, RRB‐72") 267.05$       
0500457 Driveline complete SC (RHD) 585.78$       
0500459 Driveline complete SC 1000 rpm (RHD) 970.16$       
0500463 Driveline complete SP 2000 rpm (T30) 436.98$       
0500464 Driveline complete (SFL‐20") 250.60$       
0500466 Driveline complete H40 w/free wheel 300.21$       
0500471 Driveline complete OC (H80, D90) 389.72$       
0500474 Use 0500487
0500475 Driveline complete SP (FLX‐4',SFL‐4') 415.19$       
0500476 Driveline complete SP (FLX‐5',SFL‐5') 426.63$       
0500477 Driveline complete SP (FLX‐6',SFL‐6') 445.02$       
0500478 Driveline complete SP (SFL‐7') 473.33$       
0500483 Driveline complete OC (H70) 506.56$       
0500484 Use 0500122
0500485 PTO shaft complete inner 614.24$       
0500486 PTO shaft complete inner 575.65$       
0500487 Use 0500121
0500493 Driveline complete SP (301) 470.56$       
0500494 Driveline complete SP (303) 480.82$       
0500495 Driveline complete SP (301) 574.73$       
0500496 Driveline complete SP (303) 574.73$       
0500502 Gearbox complete 3,312.96$    
0500508 Gearbox complete 2,221.00$    
0500508B Gearbox complete 2,221.00$    
0500510 Gearbox complete 1,152.31$    
0500511 Use 0500511A
0500511A Use 0500512+0386265
0500512 Gearbox complete 981.18$       
0500513 Gearbox complete 3,175.04$    
0500514 Gearbox complete 540 rpm 903.71$       
0500515 Gearbox complete, aluminum 1,062.66$    
0500516 Gearbox complete 2000 rpm 1,373.68$    
0500524 Gearbox complete 1,336.47$    
0500529 Gearbox complete 2,005.04$    
0500529B Gearbox complete 1,610.64$    
0500532 Gearbox complete 1,529.17$    
0500533 Gearbox complete 2,650.32$    
0500534 Use 0500642
0500539 Gearbox complete 2,396.85$    
0500540 Gearbox complete w/cw rotation 540 rpm 1,129.24$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 101

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0500543 Gearbox complete 1,179.40$    
0500554 Gearbox complete 1,483.44$    
0500555 Gearbox complete 2,442.90$    
0500556 Gearbox complete 2,696.32$    
0500563 Use 0500642
0500564 Gearbox complete 2000 rpm 1,198.44$    
0500565 Use 0500614
0500569 Gearbox complete 570.21$       
0500572 Gearbox complete w/cw rotation 1000 rpm 1,590.16$    
0500573 Gearbox complete w/ccw rotation 1000 rpm 1,590.16$    
0500600 Use 0500668
0500603 Use 0500661
0500604 Use 0500660
0500605 Use 0500648
0500606 Gearbox complete 1,069.66$    
0500607 Use 0500642
0500608 Use 0500614
0500613 Gearbox complete 1,733.28$    
0500614 Gearbox complete w/cw rotation 540 rpm 1,345.57$    
0500616 Use 0500644
0500617 Gearbox complete, 4 way 2,548.76$    
0500618 Gearbox complete 311.01$       
0500619 Gearbox complete 311.01$       
0500620 Use 0500668
0500621 Use 0500655
0500622 Gearbox complete 540 rpm 2,005.04$    
0500623 Gearbox complete 1000 rpm 2,650.32$    
0500626 Gearbox complete w/cw rotation 1000 rpm 1,866.70$    
0500627 Gearbox complete w/ccw rotation 1000 rpm 1,866.70$    
0500628 Gearbox complete w/ccw rotation 540 rpm 1,347.06$    
0500629 Use 0500670
0500630 Use 0500671
0500631 Use 0500672
0500632 Use 0500673
0500633 Use 0500649
0500634 Use 0500650
0500635 Use 0500651
0500636 Use 0500652
0500637 Use 0500653
0500638 Use 0500642
0500638A Use 0500642
0500639 Use 0500643
0500641 Use 0500642
0500642 Gearbox complete w/cw rotation 540 rpm helicoidal gears 1,331.68$    
0500643 Gearbox complete w/ccw rotation 540 rpm helicoidal gears 1,382.78$    
0500644 Gearbox complete 1,466.13$    
0500645 Gearbox complete 1,196.77$    
0500647 Use 0500668
0500648 Gearbox complete w/cw rotation 540 rpm 806.64$       
0500649 Gearbox complete w/ccw rotation 540 rpm 829.63$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 102

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0500650 Gearbox complete w/cw rotation 1000 rpm 1,129.24$    
0500651 Gearbox complete w/ccw rotation 1000 rpm 1,060.11$    
0500652 Gearbox complete w/cw rotation 2000 rpm 1,371.28$    
0500653 Gearbox complete w/ccw rotation 2000 rpm 1,428.88$    
0500654 Use 0500668
0500655 Use 0500669
0500656 Use 0500670
0500657 Use 0500671
0500658 Use 0500672
0500659 Use 0500673
0500660 Gearbox complete 540 rpm 645.30$       
0500661 Gearbox complete 2000 rpm 875.77$       
0500666 Gearbox complete 540 rpm 645.91$       
0500667 Gearbox complete 2000 rpm 1,060.11$    
0500668 Gearbox complete w/cw rotation 540 rpm 787.35$       
0500669 Gearbox complete w/ccw rotation 540 rpm 783.63$       
0500670 Gearbox complete w/cw rotation 1000 rpm 1,106.20$    
0500671 Gearbox complete w/ccw rotation 1000 rpm 1,106.20$    
0500672 Gearbox complete w/cw rotation 2000 rpm 1,382.78$    
0500673 Gearbox complete w/ccw rotation 2000 rpm 1,590.16$    
0500674 Gearbox complete w/cw rotation 540 rpm 806.64$       
0500675 Gearbox complete w/ccw rotation 540 rpm 829.63$       
0500676 Gearbox complete w/cw rotation 1000 rpm 1,129.24$    
0500677 Gearbox complete w/ccw rotation 1000 rpm 1,060.11$    
0500678 Gearbox complete w/cw rotation 2000 rpm 1,371.28$    
0500679 Gearbox complete w/ccw rotation 2000 rpm 1,428.71$    
0500680 Gearbox complete w/cw rotation 540 rpm 1,344.71$    
0500685 Gearbox complete 540 rpm 1,764.04$    
0500687 Gearbox complete 1,896.39$    
0500688 Gearbox complete 1,933.23$    
0500689 Gearbox w/double transmission, complete 2,010.04$    
0500692 Gearbox complete 2,214.45$    
0509461 Lift arm, right 17' 285.10$       
0509911 Front hitch, right 17' 351.35$       
0511002 Frame 66" 755.67$       
0515001 Frame 066 701.36$       
0515008 Hexagonal shaft 066 292.19$       
051551W Rotor 210.73$       
051554W Rotor 248.84$       
0522002 Frame 66" 907.14$       
0522005 Frame 66" 890.51$       
0526383 Cage roller 160 3,779.68$    
0528012 Gasket 160 25.30$          
0530081 Rotor 66" 829.37$       
0530180 Hexagonal shaft 66" 311.01$       
0530260 Right protection 74" 54.51$          
0530303 Use 0586399
0530501 Frame 66" 1,036.73$    
0533241 Cage roller 100 2,454.79$    
0534081 Rotor 66" 649.81$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 103

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
0534166 Hexagonal shaft 66" 248.82$       
0537081 Rotor 82", w/o shaft 2,329.35$    
0537383 Tailgate 82" 896.19$       
0541191 Gasket 200 29.57$          
0541444 Depth control roller 120 3,309.98$    
054602W Use 135897W
0551501 Frame, side discharge 60" 597.98$       
0569000 Frame complete 48" 462.82$       
0569019 Scraper blade 48" 92.27$          
0580081 Rotor 82" 2,021.71$    
0580182 Hexagonal shaft 82" 440.62$       
0580334 Tailgate 82" 702.64$       
0580335 Tailgate 82" 544.29$       
0580381 Rotor, tilling 82" 1,927.47$    
0586002 Frame 66" 855.30$       
0586361 Rotor 66" 1,400.04$    
0586399 Tailgate 66" 491.55$       
0609461 Lift arm, left 17' 285.10$       
0609911 Front hitch, left 17' 388.77$       
0651501 Frame, side discharge 72" 866.40$       
0669019 Scraper blade 96" 184.54$       
0800103AB Yoke w/push pin 56.31$          
08002011B Yoke, inner tube 29.40$          
08002021B Yoke, outer tube 29.40$          
0800203B PTO yoke, tractor end 29.40$          
08003011B Yoke, inner tube 33.84$          
08003021B Yoke, outer tube 33.84$          
0800303AB Yoke w/push pin 33.84$          
08201CB Cross w/bearing 40.39$          
08202B Cross w/bearing 25.78$          
08203B Cross w/bearing 29.68$          
0832770 Packer roller 160 9,001.09$    
088193W Disc spring 37.21$          
089551W Outer shaft 166.22$       
090101B Torque limiter, complete 392.05$       
0909152B Hub 138.89$       
0909177B Ratchet tooth 10.00$          
0909180B Washer, retaining 21.86$          
0933241 Cage roller 90" 1,823.36$    
095400W Use 135895W
096890W Use 135897W
096995W Use 368508W
096997W Use 183570W
09872010B Decal "rotating driveline" 0.01$            
09872101B Operator's manual, driveline 0.01$            
1001005C Use 08201CB
1001020C Use 08201CB
10010654 Scraper WRM 19.91$          
10010661 Gasket 35.76$          
10010662 Gasket 24.99$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 104

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
10010663 Seal kit, complete 54.39$          
10010664 Oil ring 219 2.80$            
10010665 Gasket OR 616 1.63$            
10011701 Use 58027164S
1002006C Housing, shock absorber 1‐3/8" Z6 104.09$       
1002015C Shaft 1" Z15 40.20$          
1002020C Use 08202B
1002138A Use 0800203B
1003020C Use 08203B
1003138A Use 0800303AB
1004020C Cross w/bearing 44.56$          
1006020C Cross w/bearing 50.91$          
1006065C Use 52000001B
1011424 Use 1011427
1011427 Control cover 5.78$            
1011545 Upper internal guide 8.33$            
1011546 Washer flat Ø80 Z 7.88$            
1011561 Guide shim 5/10 8.61$            
1011562 Shim Ø30x60x1 5.56$            
1011564 Tap 5.95$            
1011565 Protection ring 7.91$            
1014013C Yoke w/push collar 64.30$          
1021010C Use 0800103AB
1022010C Yoke w/push pin 79.16$          
1022115C Yoke 1" Z15 88.45$          
1023010C Use 0800303AB
1023013C Yoke 21/25 Z6 79.80$          
1024010C Yoke w/push pin 59.49$          
1026010C Yoke w/push pin 102.70$       
1026015C Yoke 1000 RPM 50.47$          
1033241 Cage roller 120 2,883.41$    
106724W Shield, complete 248.01$       
1072041C Use 1102909A
1073040C Use 1103909A
1074566C Yoke shear pin 1/2" 101.67$       
107654W Shield, outer tube 87.43$          
1091080C Use 352005R
1097430E Shield, outer tube (TLD) 18.19$          
110010003 Cylinder head 69.19$          
110010004 Shock absorber body 99.43$          
110010005 Shock absorber piston 73.68$          
110010006 Pin 25.77$          
110010007 Pin 24.20$          
110010009 A frame support shaft 486.01$       
110010010 Support cap 248.66$       
110010011 Tensioner bracket 70.16$          
110010012 Spring 73.35$          
110010013 A frame 1,116.94$    
110010014 Hydraulic cylinder, 4 disc 1,082.67$    
110010015 Locking plate 63.45$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 105

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
110020002 Hinge 138.37$       
110020003 Bushing 20.97$          
110020004 Housing 371.09$       
110020005 Pin 307.91$       
110020006 Shaft 343.70$       
110020007 Belt tensioner rod 53.60$          
110020008 Pulley, 4 disc 685.71$       
11002000900 Breakaway complete 493.36$       
11002000910 Breakaway bar 373.87$       
110020010 Breakaway plate 21.80$          
110020012 Stand 79.09$          
110020013 Threaded rod, 4 disc 27.02$          
110020014 Bushing, 4 disc 16.41$          
110020015 Pin 24.78$          
110020016 Inner belt shield 418.69$       
110020017 Outer belt shield 489.64$       
110020018 Bushing 13.32$          
110020019 Guard support 60.53$          
110020020 Belt tensioner, 4 disc 34.52$          
110030001 Pulley, 4 disc 451.74$       

110030003 Intermediate plate 26.33$          
110030004 Lift pivot bracket 49.87$          
110030005 Use 0002265
110050004 Back guard rail, 4 disc 0.01$            
110050005 Front guard rail, 4 disc 0.01$            
110050007 Cover, 4 disc 583.13$       
110080001 Bushing 15.98$          
110080002 Swath board 218.18$       
110080003 Spring 19.79$          
11010522 Spring Ø60x460 62.57$          
11010523 Protection spring 14.35$          
11010618 Spring Ø28x50 10.33$          
11010619 Spring Ø21x450 7.91$            
11010620 Spring Ø34x91 12.91$          
11010621 Spring Ø40x96 14.35$          
11010622 Spring Ø14x60 5.22$            
110108E Inner tube 19.95$          
11011003 Washer conical Ø14 N 2.16$            
11011004 Spring disc Ø34x16.3x2 1.38$            
11011101 Spring Ø95 53.66$          
1101221 Washer flat 7/16" USS Z 1.32$            
110208E Outer tube 26.55$          
1102909A Yoke shear pin 1/4" set screw 47.24$          
1103909A Yoke shear pin 3/8" set screw 59.55$          
1106010C Yoke w/interfering bolt 92.38$          
111108E Shield, outer tube 17.67$          
111109E Shield, outer tube 17.67$          
111117E Shield, outer tube 14.74$          
111180E Shield, outer tube 25.56$          
111208E Shield, inner tube 17.67$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 106

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
111209E Shield, inner tube 15.61$          
111212E Shield, inner tube 13.74$          
111281E Shield, inner tube 11.12$          
1134000C Pressure plate 41.66$          
1134007C Pressure disc SC 42.09$          
1134008C Inner disc 39.54$          
1135007C Pressure disc SC 29.27$          
1135008C Inner disc SC 49.26$          
1140001C Use 950463B
1140003C Use 950464B
116475W Shield, outer tube 187.97$       
116550W Cross w/bearing 175.17$       
118974W Shield, complete 157.98$       
120010001 Hydraulic cylinder, 5, 6 disc 1,284.89$    
120010002 Belt tensioner, 5, 6, 7 disc 33.96$          
120020001 Pulley, 5, 6, 7 disc 528.80$       
120020002 Threaded rod, 5, 6, 7 disc 27.40$          
120020003 Bushing, 5, 6, 7 disc 18.07$          
120030001 Pulley, 5, 6, 7 disc 476.21$       
120050003 Cover, 5 disc 583.13$       
120050004 Back guard rail, 5 disc 0.01$            
120050005 Front guard rail, 5 disc 0.01$            
120107E Use 3120762A

120109E Use 3120762A
1201102 Belt A58 16.76$          
1201103 Belt A59 16.95$          
120113E Inner tube 95.14$          
120207E Use 3020762A
120209E Use 3020762A
120213E Outer tube 81.09$          
12070303 Bushing 21.47$          
1207102 Belt A52 23.15$          
121100E Shield, outer tube (3000 mm.) 18.35$          
121107E Shield, outer tube 13.37$          
121108E Shield, outer tube 13.37$          
121109E Shield, outer tube 7.80$            
121113E Shield, outer tube 24.78$          
1211233C Use 1213233C
121140E Shield, outer tube 12.27$          
1211733C Stiffening ring PM14 2.67$            
1211735C Safety ring 3.19$            
121200E Shield, inner tube (3000 mm.) 18.35$          
121207E Shield, inner tube 14.05$          
121208E Shield, inner tube 14.05$          
121209E Shield, inner tube 8.55$            
121213E Shield, inner tube 65.48$          
121238E Shield, inner tube 20.77$          
1213233C Stiffening ring 1.52$            
1215012C Spring, slip clutch 6.72$            
1215733C Stiffener ring PM57 6.11$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 107

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1215735C Stop ring PM57 2.74$            
12240156 Bearing 6201‐2RS 9.76$            
12240157 Use 0240157
12240158 Use 0089115
12260029 Grommet 25x32x4 8.43$            
12260030 Grommet 20x28x4 7.91$            
12280201 Fifth wheel AS25421 3.57$            
12310115 Pin, top hitch 28.17$          
12400201 Cylinder 40x25 178.00$       
12400202 Hydraulic cylinder, complete 40/25/355 300.53$       
12400203 Cylinder 40x25 150.10$       
12410201 Head 16.76$          
12420201 Ring nut 51.73$          
12440201 Shaft Ø25 for cylinder 12770801 194.71$       
12440202 Shaft Ø25 for cylinder 12400202 150.10$       
12570102 Lifting cable 55.87$          
12760601 Hydraulic hose, complete 186.12$       
12760602 Hydraulic hose 1/4"x2200 mm. 90.93$          
12760603 Use N00C2148
12760604 Hydraulic hose, complete 119.03$       
12770801 Hydraulic cylinder complete 40/25/634 506.57$       
12831384 Use 18031384
12880614 Use 0018266
12880806 Washer spring insert Ø40 Z 8.30$            
12880807 Release cone 12.46$          
12880808 Spacer Ø35 7.91$            
12880810 Washer flat Ø10 Z 6.02$            
12880812 14 Teeth rack 7' 469.38$       
12880813 Washer flat Ø12 Z 7.91$            
12880815 Pin Ø20x94 7.96$            
12880817 Support 644.96$       
12880818 Arm 139.53$       
12880820 Arm attachment pin 90.71$          
12880821 Internal connector 141.17$       
12880823 External skid 6', 7' 60.36$          
12880824 Bar; BSB‐007 (ver. A) 459.14$       
12880825 Bar; BSB‐006 (ver. A) 514.71$       
12880826 Shaft (BSB‐00X) 72.63$          
12880827 Complete frame 586.61$       
12880828 PTO support 152.29$       
12880829 Hitch plate 15.94$          
12880832 Frame shaft 55.04$          
12880833 Pin Ø20x68 20.59$          
12880834 Pin Ø20x160 25.20$          
12880836 Belt guide roller 24.79$          
12880839 Use 58027944S
12880842 12 Teeth rack 6' 410.62$       
12880843 Spacer 20x30x10 4.68$            
12880844 Blade 24 sections, complete 6' 319.21$       
12880845 Blade 28 sections, complete 7' 352.16$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 108

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
12880847 Blade section head 168.07$       
12880848 Blade teeth head 174.15$       
12880849 Blade bar 6' 40.54$          
12880850 Blade bar 7' 43.46$          
12880851 Teeth bar 6' 44.06$          
12880852 Teeth bar 7' 68.81$          
12880853 Blade section 6.70$            
12880854 Use N00C2060
12880855 Bushing 56.95$          
12880856 External connector 145.14$       
12880857 Blade 20 sections, complete 5' 214.54$       
12880859 10 Teeth rack 5' 316.67$       
12880866 Tie rod Ø12.5x842 47.27$          
12880867 Pin Ø20x82 6.91$            
12880871 Tree point hitch pin 8.30$            
12880873 Internal skid 5' 67.06$          
12880874 External skid 5' 54.24$          
12880876 Pin Ø14x50 3.79$            
12880877 Blade bar 5' 35.11$          
12880878 Teeth bar 5' 41.45$          
12880891 Fastening tie rod 12.46$          
12880892 Pin 20x30 10.57$          
12880893 Washer flat Ø45 Z 6.91$            
12920101 Bushing for pin 6.28$            
1294052AB Inner tube 520 38.86$          
1294062AB Inner tube 620 41.94$          
1294077AB Inner tube 770 46.53$          
1294091AB Inner tube 910 50.79$          
129928W Protection 47.27$          
130050004 Cover, 6 disc 625.94$       
130050005 Back guard rail, 6 disc 0.01$            
130050006 Front guard rail, 6 disc 0.01$            
130108E Inner tube 26.73$          
130109E Inner tube 48.35$          
130110E Inner tube 76.22$          
130111E Inner tube (1100 mm.) 48.01$          
130208E Outer tube 30.12$          
130209E Outer tube 54.26$          
130211E Outer tube (1100 mm.) 54.43$          
131100E Shield, outer tube (3000 mm.) 16.81$          
131108E Shield, outer tube 13.37$          
131109E Shield, outer tube 13.48$          
131164E Shield, outer tube 13.41$          
131200E Shield, inner tube (3000 mm.) 18.47$          
131208E Shield, inner tube 14.17$          
131209E Shield, inner tube 13.65$          
131263E Shield, inner tube 13.54$          
1333030C Slip clutch, complete 171.27$       
1334030C Slip clutch, complete 177.35$       
1344011C Slip clutch, complete 213.78$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 109

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
134401W Protection 42.49$          
134548W PTO yoke 288.28$       
1346018C Slip clutch, complete 245.29$       
134713W Yoke 303.00$       
134847W Guard cone 85.38$          
135048W Slip collar kit 36.19$          
135075W Cross w/bearing 205.47$       
135299W PTO yoke 345.88$       
1356104C Slip clutch, complete 227.30$       
1356242C Slip clutch, complete 227.30$       
135895W Inner tube 187.12$       
135897W Outer tube 130.07$       
1363052AB Outer tube 520 37.64$          
1363062AB Outer tube 620 40.61$          
1363077AB Outer tube 770 45.04$          
1363091AB Outer tube 910 48.98$          
1364112AB Inner tube 1118 77.27$          
140010009 Pin 16.39$          
140010010 Lock lever 71.78$          
140010011 Hydraulic cylinder, 7 disc 1,299.54$    
140010016 Spring 15.61$          
140010017 Hitch pin 109.81$       
140010018 Bushing 14.28$          
140010019 Cord 51.61$          
140020001 Spring 29.32$          
140020002 Sub‐frame 908.38$       
140020003 Bushing 9.52$            
140030001 Lower support 167.62$       
140050003 Cover, 7 disc 625.94$       
140050005 Back guard rail, 7 disc 0.01$            
140050006 Front guard rail, 7 disc 0.01$            
1401005 Hydraulic tee 3/8" FNPT 8.83$            
1401006 Elbow 90° 3/8"‐1/16" w/restrictor 15.10$          
1401010 Grease fitting 5/16"‐18 threaded 0.71$            
140108E Inner tube 66.53$          
140109E Inner tube 81.13$          
140110E Inner tube 93.55$          
140112E Inner tube (1200 mm.) (M3) 75.06$          
140208E Outer tube 52.01$          
140209E Outer tube 64.46$          
140210E Outer tube 74.84$          
140212E Outer tube (1200 mm.) (M3) 78.55$          
1404710900 Use 0057583
1411080C Yoke shear pin w/2 pins w/shock absorber 1‐3/8" Z6 complete 301.05$       
141108E Shield, outer tube 13.37$          
141109E Shield, outer tube 16.81$          
141110E Shield, outer tube 19.72$          
141177E Shield, outer tube 26.03$          
141179E Shield, outer tube 11.81$          
141179JF Shield, outer tube 11.09$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 110

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
141179JR Shield, outer tube 11.09$          
141208E Shield, inner tube 14.17$          
141209E Shield, inner tube 15.94$          
141210E Shield, inner tube 20.77$          
141273E Shield, inner tube 28.62$          
141275E Shield, inner tube 11.81$          
141275JF Shield, inner tube 9.81$            
141275JR Shield, inner tube 9.81$            
142912W Shield, complete 153.74$       
1433112AB Outer tube 1118 88.07$          
1481080C Use 1481082C
1481082C Yoke shear pin w/2 pins 210.61$       
1482037C Yoke w/shear bolt 161.82$       
1483037C Yoke w/shear bolt 161.82$       
1484037C Yoke w/shear bolt 161.82$       
150011010 Use 0002265
150020031 Spring rod 30.19$          
150020032 Spring 18.12$          
15010521B Inner tube w/yoke 520 46.01$          
15010522B Outer tube w/yoke 520 46.01$          
15010631B Inner tube w/yoke 630 46.01$          
15010632B Outer tube w/yoke 630 46.01$          
150108E Inner tube 41.70$          
150109E Inner tube 72.35$          
150206E Outer tube (600 mm.) 69.34$          
150208E Outer tube 34.94$          
150209E Outer tube 61.00$          
1503226C Use 1503260C
1503260C Overrunning clutch 175.07$       
150344E Outer tube 105.57$       
150346E Inner tube 35.39$          
1504226C Use 1504260C
1504260C Overrunning clutch 183.29$       
151100E Shield, outer tube (3000 mm.) 0.01$            
151108E Shield, outer tube 17.67$          
151109E Shield, outer tube 22.10$          
151200E Shield, inner tube (3000 mm.) 0.01$            
151208E Shield, inner tube 15.94$          
151209E Shield, inner tube 20.53$          
1520109C Shaft, inner 1090 44.98$          
1521109C Shaft, outer 1090 44.98$          
1522108C Shaft, inner 1080 51.67$          
1522801C Shaft, inner (to be cut to length) 78.55$          
1523108C Shaft, outer 2/inner 3 1080 51.67$          
1523801C Shaft, outer (to be cut to length) 76.67$          
1523802C Shaft, inner 76.67$          
1524057C Shaft, outer 570 34.36$          
1524105C Shaft, outer 1050 63.70$          
1525057C Shaft, inner 570 42.27$          
1525105C Shaft, inner 1050 63.70$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 111

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1526030C Shaft, inner 300 38.11$          
1526034C Shaft, inner 340 38.11$          
1526041C Shaft, inner 410 38.11$          
1526048C Shaft, inner 480 48.14$          
1526081C Shaft, inner 810 67.26$          
1526801C Shaft, inner (to be cut to length) 94.19$          
1528034C Shaft, outer 340 39.13$          
1528041C Shaft, outer 410 39.13$          
1528048C Shaft, outer 480 43.96$          
1528081C Shaft, outer 810 66.11$          
1528801C Shaft, outer (to be cut to length) 110.67$       
1581037C Push pin kit 14.72$          
1581038C Push pin kit 14.20$          
160108E Inner tube 56.03$          
160109E Use 1526048C
160112E Use 1526081C
1601146C Pawl kit 10.52$          
160209E Use 1528048C
160212E Use 1528081C
1605000 Spreader frame 694.23$       
1605001 Cover, pump mount bracket 28.94$          
1605002 Washer pump mount 6.68$            
1605003 Hydraulic pump 646.81$       
1605004 Bushing, hydraulic pump 65.48$          
1605005 90 degree elbow 12.80$          
1605006 Hose 113.41$       
1605007 Quick connection M 3/8" bodyx3/8" FNPSF 41.73$          
1605008 Quick connection F 3/8" bodyx3/8" FNPSF 99.34$          
1605010 Lifting bracket 8.39$            
1605011 Bed ring 0.01$            
1605012 Bolt M08x55 0.51$            
1605013 Adjustment lever 38.98$          
1605014 Washer 3/8" 0.12$            
1605015 Use 0069620
1605016 Hopper 0.01$            
1605017 Washer lock 5/16" Z 0.09$            
1605018 Bolt CR 5/16"‐18x3/4" Z 0.19$            
1605019 Pump mount bracket 49.46$          
1605020 Cover 226.79$       
1605021 Washer flat 5/16" USS Z 0.10$            
1605121 Bolt HH 5/16"‐18x1.00" G5 Z F 0.19$            
160540E Outer tube 79.54$          
160822E Inner tube (CV) 108.56$       
161109E Shield, outer tube 21.86$          
161209E Shield, inner tube 20.53$          
1622250C Torque limiter, complete 288.72$       
1644250C Torque limiter, complete 463.12$       
1683620E Shield, outer tube (CV) 19.27$          
168556W Friction disc 39.41$          
170010017 Pin 56.68$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 112

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
170010025 Spring clip 5.37$            
170020014 Spring 46.79$          
1701000 Rear extension 60" 232.35$       
1701008 Ball joint 24.81$          
1701027C Yoke, outer tube 22.74$          
1701029C Yoke, inner tube 22.74$          
170109E Inner tube 76.61$          
1701738 Engagement bar 0.01$            
1701742 Disengagement strap 0.01$            
1701743 Strap supports 0.01$            
1702027C Use 08002021B
1702029C Use 08002011B
170209E Outer tube 60.85$          
1702215C Yoke w/shaft 1" Z15 125.69$       
1702415C Yoke 1" Z15 100.94$       
1703027C Yoke, outer tube 47.82$          
1703029C Yoke, inner tube 47.82$          
170309E Splined shaft inner 203.22$       
1703130C Yoke, slip clutch 151.62$       
1704006C Yoke, slip clutch 168.13$       
1704016C Hub w/flange SC 122.37$       
1704017C Bushing, slip clutch 5.33$            
1704021C Yoke, slip clutch 151.62$       
1704027C Yoke, outer tube 50.29$          
1704029C Yoke, inner tube 50.29$          
1704034 Hydraulic hose swivels 5.49$            
1704035 Hub assembly 49.51$          
1705000 Hydraulic motor 1,445.76$    
1705004 Guards for 72" rotary cutter 689.86$       
1705005C Hub w/flange SC 126.40$       
1705006 Use 1356242C
1705007 Slip clutch adaptor 222.30$       
1705008 Load adapter 588.49$       
1705009 Selector valve 278.68$       
1705009C Bushing, slip clutch 10.01$          
1705010 Selector valve 278.40$       
1705011 Hydraulic filter 150.97$       
1705012 Filler breather 37.00$          
1705013 Hydraulic cooler 1,614.20$    
1705014 Hydraulic manifold 2,881.89$    
1705015 Pump 3,675.17$    
1705016 Pump gearbox 1,238.07$    
1705017 Valve 1,939.26$    
1705018 Relief valve 241.16$       
1705019 Pressure switch 383.59$       
1706005C Yoke, slip clutch 163.78$       
1706027C Yoke, outer tube 78.45$          
1706029C Yoke, inner tube 78.45$          
1706308C Hub 1‐3/8" smooth shaft 118.70$       
1706309C Flange 1‐3/8" smooth shaft 175.63$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 113

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1707000 Electrical box 840.73$       
1707131 Orifice restrictor 0.8 mm. 11.60$          
1707132 Swivel connector 45 deg. 18.97$          
1707133 Filter 56.69$          
1707134 Breather cap 0.01$            
1707135 Pump manifold 364.50$       
1707136 Bolt anchor flange assembly 0.01$            
1707137 Gearbox support 300.84$       
1707138 Reservoir 0.01$            
1707139 Disengagement bar 0.01$            
1707140 Mounting bracket, disengagement bar 0.01$            
1707141 Yoke, disengagement linkage 0.01$            
1707142 Disengagement strap 0.01$            
1707143 Strap supports 0.01$            
1707145 Relief valve 0.01$            
1707147 Straight connector 3/4"‐1/2" 100.69$       
1708005 Hydraulic hoses, set 133.95$       
1708006 Wheel complete 23x1.5x12 482.17$       
1708008 Bearing buddy 27.78$          
1708009 Bra, bearing buddy 3.96$            
1708010 Hub assembly 134.24$       
1708012 Washer flat Ø38 Z 3.01$            
1708013 Bearing buddy 44.76$          
1708014 Bra, bearing buddy 4.64$            
1708020 PTO shield 50.72$          
1708021 PTO shield, rear 0.01$            
1708022 PTO shield, side 0.01$            
1708023 Self tapping screw HH 1/4"x1.00" Z 0.18$            
1708029 Transport bar 15' 49.97$          
1708031J Leading yoke w/restrictor 0.01$            
1708032J Trailing yoke w/restrictor 0.01$            
1709020 Hose kit 3,339.06$    
1709021 Pump hose 3/4"x19", first 77.76$          
1709022 Pump hose 3/4"x62", second 285.94$       
1709023 Cooler inlet hose 1"x30" 138.65$       
1709024 Hydraulic hose, cylinder 3/8"x30" 42.16$          
1709025 Hydraulic hose, cylinder 3/8"x47" 52.44$          
1709026 Hydraulic hose 1/2"x19", relief valve 70.45$          
1709027 Hydraulic hose 1"x30", cooler outlet 152.54$       
1709028 Hydraulic hose 3/4"x42", sector valve 147.07$       
1709029 Hydraulic hose 3/4"x46", rear motor 120.30$       
1709030 Hydraulic hose 3/4"x46", rear motor output 129.48$       
1709031 Hydraulic hose 3/4"x52", side motor output 151.33$       
1709032 Hydraulic hose 3/4"x46", side motor input 119.89$       
1709033 Hydraulic hose 3/4"x15", third pump 125.28$       
1709099 Hydraulic hose adaptors kit 8.61$            
1709100 Small snap hooks 5.51$            
1709101 Large snap hooks 6.89$            
1709105 Straight connector 3/4"x3/4" 8.29$            
1709106 Elbow connector 3/8"x3/8" 11.02$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 114

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1709107 Straight connector 1"x1" 12.38$          
1709108 Straight connector 3/4"x1" 14.53$          
1709109 Run T connector 3/4" 47.35$          
1709110 Elbow 90 3/8" FNPTx3/4" MORB 56.14$          
1709111 Tube caps 3/4" 7.68$            
1709112 Oil ring, allen head plug SAE 3.70$            
1709115 Elbow connector 3/4"x3/4" 23.14$          
1709116 Branch T connector 3/4" 45.14$          
1709117 Elbow connector 1/2"x1/2" 13.56$          
1709118 Straight connector 1‐1/4"x1‐1/4" 23.14$          
1709119 Elbow connector 1‐1/4"x1" 49.72$          
1709120 Elbow connector 1"x1" 31.31$          
1709121 Anchor flange assembly 68.81$          
1709122 El Short connector 3/4"x3/4" 34.53$          
1709123 Adaptor 2" 92.82$          
1709124 Hose 2" 61.62$          
1709125 Hose clamp 23.50$          
1709126 Hydraulic bushing 3/4" pipe plug 3.57$            
1709127 Extension, hydraulic hose 44.35$          
1709128 Small turnbuckles 2.35$            
1709129 Shielding 647.96$       
1709130 In tank hydraulic strainer 171.76$       
1709138 Reservoir 630.77$       
1709200 Extension springs 4.39$            
1709900 Frame conversion to hydraulic flex 1,851.31$    
171109E Shield, outer tube 22.10$          
171209E Shield, inner tube 20.53$          
172715W Bearing ring 23.01$          
172717W Protection 35.39$          
17310040 Complete safety release 282.44$       
1746226C Use 1746260C
1746260C Overrunning clutch 245.29$       
175003W Use 172717W
1770036C Use 1773036C
1773023C Shield, outer tube 230 24.76$          
1773032C Shield, outer tube 320 24.76$          
1773032CA Shield, outer tube 330 19.33$          
1773033C Shield, outer tube 330 24.76$          
1773034C Shield, outer tube 340 24.76$          
1773035C Shield, outer tube 350 24.76$          
1773036C Shield, outer tube 360 24.76$          
1773038C Shield, outer tube 380 24.76$          
1773039C Shield, outer tube 390 24.76$          
1773040C Shield, outer tube 400 24.76$          
1773041C Shield, outer tube 410 24.76$          
1773042C Shield, outer tube 420 24.76$          
1773043C Shield, outer tube 430 24.76$          
1773045C Shield, outer tube 450 24.76$          
1773047C Shield, outer tube 470 24.76$          
1773049C Shield, outer tube 490 24.76$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 115

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1773050C Shield, outer tube 500 24.76$          
1773053C Shield, outer tube 530 24.76$          
1773056C Shield, outer tube 560 24.76$          
1773058C Shield, outer tube 580 24.76$          
1773060C Shield, outer tube 600 24.76$          
1773064C Shield, outer tube 640 24.76$          
1773067C Shield, outer tube 670 24.76$          
1773068C Shield, outer tube 680 24.76$          
1773070C Shield, outer tube 700 44.16$          
1773071C Shield, outer tube 710 44.16$          
1773073C Shield, outer tube 730 44.16$          
1773075C Shield, outer tube 750 44.16$          
1773077C Shield, outer tube 770 44.16$          
1773082C Shield, outer tube 820 44.16$          
1773085C Shield, outer tube 850 44.16$          
1773105C Shield, outer tube 1050 44.16$          
1773150C Shield, outer tube 1500 38.20$          
1775040C Shield, outer tube 400 28.71$          
1775073C Shield, outer tube 730 28.71$          
1776031C Shield, outer tube 310 28.71$          
1776038C Shield, outer tube 380 28.71$          
1776066C Shield, outer tube 660 28.71$          
1776071C Shield, outer tube 710 28.71$          
1781003C Guard cone 8.72$            
1781004C Lock collar, inner tube 3.30$            
1781005C Lock collar, outer tube 3.30$            
1781210C Locking ring, outer tube 4.35$            
1781210CA Locking ring, outer tube 3.71$            
1781211C Locking ring, inner tube 4.35$            
1781211CA Locking ring, inner tube 3.71$            
1781273C Shock absorber 24.64$          
1781701C Extra short cone 13.94$          
1781702C Short cone 13.94$          
1781703C Standard cone 13.94$          
1781704C Long cone 20.03$          
1781710C Locking ring, outer tube 4.24$            
1781711C Locking ring, inner tube 4.24$            
1781721C Outer cone 8.99$            
1781723C Outer cone (short) 8.99$            
1781724C Outer cone (long) 8.99$            
1782210C Locking ring, outer tube 3.23$            
1782211C Locking ring, inner tube 3.23$            
1782710C Locking ring, outer tube 4.19$            
1782711C Locking ring, inner tube 4.19$            
1783038C Shield, outer tube 28.71$          
1784201C Rigid cone, outer tube 16.21$          
1784202C Rigid cone, inner tube 16.21$          
1784203C Standard cone 13.94$          
1784203CA Standard cone 8.89$            
1784204C Short cone 13.94$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 116

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1784205C Long cone 20.03$          
1784207C Extra short cone 13.94$          
1784210C Locking ring, outer tube 4.04$            
1784211C Locking ring, inner tube 4.04$            
1784212C Pin PTO shield 0.73$            
1784710C Locking ring, outer tube 7.35$            
1784711C Locking ring, inner tube 7.35$            
1785702C Extra short cone 30.04$          
1785703C Standard cone 32.37$          
1786008C Locking ring, inner tube 5.86$            
1786009C Locking ring, outer tube 5.86$            
1786010C Rigid cone, outer tube 28.89$          
1786011C Rigid cone, inner tube 28.89$          
1786012C Inner cone 13.94$          
1786013C Outer cone 13.94$          
1786710C Locking ring, outer tube 13.86$          
1786711C Locking ring, inner tube 13.86$          
180109E Inner tube 58.32$          
1801101 Auger sleeve 38.18$          
1802010A Use 08202B
180209E Outer tube 58.32$          
1803010A Use 08203B
18031074 Support arm, 6 wheel front section 663.18$       
18031075 Support arm, 6 wheel rear section 410.20$       
18031301 Hydraulic lift complete 779.87$       
18031302 Mechanical lift attachment 171.35$       
18031303 Three point hitch 514.55$       
18031304 Pin 32.10$          
18031305 Foot support bracket 80.37$          
18031306 Foot 75.40$          
18031307 Belt tensioner rod 38.76$          
18031308 Safety release w/slot 113.85$       
18031309 Release support 23.85$          
18031310 Pulley 120 155.54$       
18031311 Pulley 300 256.64$       
18031312 Roller spacer 10.82$          
18031313 Roller support 29.06$          
18031314 Inner protection guard 294.70$       
18031315 Outer protection guard 124.72$       
18031316 Bracket, tie rod 37.49$          
18031317 Safety release 48.97$          
18031318 Cover 59.84$          
18031319 Shaft 304.37$       
18031320 Bolt SP M10‐1.50x60 C8.8 N P 19.99$          
18031321 Conic bushing Ø20 44.46$          
18031322 Nut SP M10‐1.50 N 10.33$          
18031323 Support protection 6', 7' 87.19$          
18031324 External shoe 282.40$       
18031325 Lateral deflector 130.05$       
18031326 Shim Ø12 43.40$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 117

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
18031327 Lower internal guide 73.82$          
18031328 Upper blade guide 63.19$          
18031329 Upper blade guide 76.64$          
18031330 Lower blade guide 57.23$          
18031331 External guide 43.73$          
18031332 Use 18031388
18031333 Blade protection 6' 71.77$          
18031334 Blade protection 7' 78.19$          
18031335 Internal skid 6'‐7' 201.89$       
18031336 Deflector tube 62.78$          
18031337 Link 82.39$          
18031338 Lift frame 49.00$          
18031339 Nut w/handle 23.06$          
18031340 Tie rod 57.39$          
18031341 Bracket, hydraulic cylinder 204.28$       
18031342 Fork hinge 87.19$          
18031343 Chain 27.32$          
18031345 Spacer Ø31.8x21 12.95$          
18031346 Tree point hitch arch 459.37$       
18031347 Pin Ø20x325 31.56$          
18031348 Foot stand 53.45$          
18031349 Foot support bracket 61.26$          
18031350 Safety release w/slot 83.04$          
18031351 Tie rod bracket 48.45$          
18031352 Frame, complete 474.36$       
18031353 Protection guard, inner 82.79$          
18031354 Protection guard, outer 146.54$       
18031359 Blade protection 5' 48.55$          
18031363 Hydraulic cylinder Support 128.71$       
18031364 Hinge plate 35.88$          
18031365 Hinge bracket 18.49$          
18031366 Support protection 5' 67.00$          
18031370 Safety release 45.62$          
18031371 Safety attachment 144.18$       
18031372 Sliding tie rod 144.18$       
18031374 External shoe 151.71$       
18031375 Stop 55.10$          
18031384 Bar notched end 5' 383.83$       
18031386 Bar notched end 6' 398.60$       
18031387 Bar notched end 7' 442.88$       
18031388 Lateral skid 76.12$          
18031991 Cutter bar, complete 5' 5,642.67$    
1804000C Friction disc 24.29$          
1805010C Friction disc, SC 25.89$          
180608E Splined shaft (E80) 206.55$       
180609E Splined shaft inner 304.82$       
180610E Splined shaft (40 cuna male) 446.51$       
181110E Shield, outer tube 36.87$          
181184E Shield, outer tube 6.09$            
181210E Shield, inner tube 34.01$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 118

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
181282E Shield, inner tube 5.63$            
183570W Shield, outer tube 102.80$       
185530W Shield, outer tube 102.80$       
185836W Housing, slip clutch 245.09$       
1871036C Shield, inner tube (203) 3.12$            
1872023C Shield, inner tube 230 24.73$          
1872032C Shield, inner tube 320 24.73$          
1872032CA Shield, inner tube 330 19.33$          
1872033C Shield, inner tube 330 24.73$          
1872034C Shield, inner tube 340 24.73$          
1872035C Shield, inner tube 350 24.73$          
1872036C Shield, inner tube 360 24.73$          
1872038C Shield, inner tube 380 24.73$          
1872039C Shield, inner tube 390 24.73$          
1872040C Shield, inner tube 400 24.73$          
1872041C Shield, inner tube 410 24.73$          
1872042C Shield, inner tube 420 24.73$          
1872043C Shield, inner tube 430 24.73$          
1872045C Shield, inner tube 450 24.73$          
1872047C Shield, inner tube 470 24.73$          
1872049C Shield, inner tube 490 24.73$          
1872050C Shield, inner tube 500 24.73$          
1872053C Shield, inner tube 530 24.73$          
1872056C Shield, inner tube 560 24.73$          
1872058C Shield, inner tube 580 24.73$          
1872060C Shield, inner tube 600 24.73$          
1872064C Shield, inner tube 640 24.73$          
1872067C Shield, inner tube 670 24.73$          
1872068C Shield, inner tube 680 24.73$          
1872070C Shield, inner tube 700 44.16$          
1872071C Shield, inner tube 710 44.16$          
1872073C Shield, inner tube 730 44.16$          
1872075C Shield, inner tube 750 44.16$          
1872077C Shield, inner tube 770 44.16$          
1872082C Shield, inner tube 820 44.16$          
1872085C Shield, inner tube 850 44.16$          
1872105C Shield, inner tube 1050 44.16$          
1872150C Shield, inner tube 1500 38.20$          
1874040C Shield, inner tube 400 28.71$          
1874073C Shield, inner tube 730 28.71$          
1877031C Shield, inner tube 310 28.71$          
1877038C Shield, inner tube 380 28.71$          
1877066C Shield, inner tube 660 28.71$          
1877071C Shield, inner tube 710 28.71$          
1881709C Safety sleeve 5.07$            
1885709C Safety sleeve 10.62$          
1901105 Use 502822B
1901106 Main frame, engine chipper 649.64$       
1901110 Threaded rod set 115.00$       
1901115 Handle 19.22$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 119

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1901120 Shroud 200.43$       
1901125 Use 502838B
1901126 Back plate, cover 16.21$          
1901127 Back plate, w/out mulcher 157.13$       
1901130 Extension, mulcher hopper 113.41$       
1901131 Bushmaster flap 25.95$          
1901132 Hopper wear plate 82.64$          
1901135 Shim, 18 gauge 28.21$          
1901136 Bolt HH 1/2"‐13x4.00" G5 Z P 1.39$            
1901137 Washer flat nylon 3/4" 0.61$            
1901140 Skid 18.53$          
1901145 Use 503233B
1901146 Bolt HH 1/2"‐13x3.50" G5 Z P 2.22$            
1901205 Shaft, main 512.47$       
1901210 Fly wheel 886.54$       
1901211 Use 502826B
1901215 Use 502837B
1901220 Shaft, mulcher 120.52$       
1901226 Nut PT 1/4"‐20 Z 0.09$            
1901227 Bolt HH 1/4"‐20x2.00" G5 Z P 0.26$            
1901228 Bolt HH 5/8"‐11x7.00" G5 Z P 5.95$            
1901231 Grease fitting 1/8"‐27, 45 degree 1.14$            
1901805 Linkage frame 92.32$          
1901810 Gas tank, engine chipper 249.44$       
1901900 Hopper w/cover 862.90$       
1901905 Base plates, chipper 215.68$       
1901910 Discharge/elbows 86.55$          
1902003 Sheave 3B 3.8 0.01$            
1902004 Sheave 3B 9.4 157.40$       
1902005 Bushing SH 1.44" 22.36$          
1902006 Bushing SK 1.94" 31.69$          
1902007 Idler bushing SHBB 172.06$       
1902008 Idler 3BK 40 165.72$       
1902009 Sheave w/bushing 3B3.8 76.29$          
1902010 Sheave MA 120x 1.38" 103.47$       
1902010A Yoke, outer tube 31.23$          
1902012A Yoke, inner tube 31.23$          
1902025 Engine 25HP 4,572.34$    
1902026 Chipper trailer 1,252.98$    
1902027 Chipper trailer, fenders 0.01$            
1902028 Chipper trailer, axle 454.37$       
1902029 Threaded rod 1/4" 0.54$            
1902030 Nut wing 1/4"‐20 Z 0.26$            
1902031 Use 502871B
1902032 Key 1/2"x1/2"x1.50" 4.27$            
1902033 Bolt CR 1/2"‐13x2.50" Z F 0.84$            
1902034 Use 502814B
1902035 Set screw 1/4"‐20x1.00" N 0.43$            
1902036 Battery terminal, small hole 1.85$            
1902037 Battery terminal, large hole 10.69$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 120

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1902038 Battery wire, black 3.65$            
1902039 Battery wire, red 5.63$            
1902040 12 volt batteries 124.35$       
1902041 Chipper chute 935.33$       
1902042 Chipper skirt 25.94$          
1902043 Skirt, mount 18.53$          
1902044 Chute wear pad, 20" wide 61.98$          
1902045 Handle, engine engagement 18.53$          
1902046 Bracket, rod 6.97$            
1902047 Use 502824B
1902048 Use 502825B
1902049 Use 0016748
1902051 Rod, threaded 4.84$            
1902052 Use 0005744
1902053 Use 0002265
1902054 Spring 29.68$          
1902055 Chipper trailer, tongue 185.14$       
1902056 Use 0052892
1902057 Bracket, idler pulley 17.52$          
1902058 Support, belts 0.01$            
1902059 Gas cap 7.62$            
1902060 Battery box, side 0.01$            
1902061 Battery box, top 0.01$            
1902062 Use 0015012
1902063 Wheel complete 20.5x8x10 215.09$       
1902064 Nut lug 0.01$            
1902065 Trailer hitch 37.03$          
1902066 Oil seal 1.5x.987x188 6.39$            
1902067 Hub 0.01$            
1902068 Dust cover, wheel 0.01$            
1902069 Nut crown 0.01$            
1902070 Sheave MA 3.4L 31.91$          
1902071 Sheave 3BK 40x1 235.94$       
1902072 Key 1/2"x1.50" 0.01$            
1902073 Bolt HH 5/16"‐18x2.00" G5 Z P 0.46$            
1902074 Bolt HH 1/2"‐13x4.00" G5 Z P 1.63$            
1902075 Use 1902094
1902076 Belt A44 12.18$          
1902077 Bushing SH 1.31" 0.01$            
1902078 Bolt HH 1/4"‐20x1.25" G5 Z P 0.17$            
1902079 Cotter pin 1/8"x1.75" 0.61$            
1902080 Cotter pin 1/8"x1.00" 0.45$            
1902081 Sheave 1.38" bored 44.00$          
1902082 Safety chain, hooks 5.05$            
1902083 Back plate 0.01$            
1902084 Brass adaptors 13.72$          
1902085 Sheave MAL 22 89.07$          
1902086 Handle grips 5.11$            
1902087 Foam grip 32" 36.27$          
1902088 Screens 87.07$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 121

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1902089 Mufflers 210.49$       
1902090 Brass nipples 10.30$          
1902091 Belt idlers 37.97$          
1902092 Sheaves 3BK 4.0 253.91$       
1902093 Bearing 5/8" bore 18.91$          
1902094 Belt BB62 61.71$          
1902095 Spacer, inner 4.86$            
1902096 Sheave, complete 315.57$       
1902098 Belt A57 21.59$          
1902099 Bracket, belt tray 0.01$            
1902100 Belt tray 0.01$            
1902102 Cotter pin 1/8"x2.00" 0.09$            
1902103 Cotter pin 3/32"x1.75" 0.07$            
1902111 Gas tank, shut‐off valve assembly 19.57$          
1902198 Chain 1/4" 2.66$            
1902C001B Standard cone 8.13$            
1903010A Yoke, outer tube 34.86$          
1903012A Yoke, inner tube 37.94$          
190309E Splined shaft 155.62$       
1904C001B Standard cone 12.26$          
1906022C Use 1906022WC
1906022WC Outer tube w/yoke 48.35$          
190610E Splined shaft 398.41$       
190758R Use 0095300
1941035NC Outer tube w/yoke 350 40.70$          
1941038NC Outer tube w/yoke 380 40.70$          
1941045NC Outer tube w/yoke 450 40.70$          
1941048NC Outer tube w/yoke 480 40.70$          
1941049NC Outer tube w/yoke 490 40.70$          
1941069NC Outer tube w/yoke 690 40.70$          
1942035NC Outer tube w/yoke 350 68.28$          
1942040NC Use 1942045NC
1942045NC Outer tube w/yoke 450 68.28$          
1942051NC Use 1942055NC
1942055NC Outer tube w/yoke 550 68.28$          
1942066NC Use 1942070NC
1942070NC Outer tube w/yoke 700 68.28$          
1942084NC Use Z020902A
1943042NC Outer tube w/yoke 420 68.28$          
1943043NC Outer tube w/yoke 430 68.28$          
1943044NC Outer tube w/yoke 440 68.28$          
1943045NC Outer tube w/yoke 450 68.28$          
1943055NC Outer tube w/yoke 550 68.28$          
1943070NC Outer tube w/yoke 700 68.28$          
1943087NC Outer tube w/yoke 870 86.61$          
1943107NC Use 1B031252B
1944025NC Outer tube w/yoke 250 68.28$          
1944038NC Outer tube w/yoke 380 68.28$          
1944040NC Use 1944041NC
1944041NC Outer tube w/yoke 410 68.28$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 122

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1944043NC Use 1944044NC
1944044NC Outer tube w/yoke 440 68.28$          
1944045NC Outer tube w/yoke 450 68.28$          
1944046NC Use 1944052NC
1944052NC Outer tube w/yoke 520 68.28$          
1944054NC Use 1944058NC
1944058NC Outer tube w/yoke 580 68.28$          
1944060NC Use 1944062NC
1944062NC Outer tube w/yoke 620 68.28$          
1944070NC Outer tube w/yoke 700 68.28$          
1944072NC Outer tube w/yoke 720 68.28$          
1944073NC Outer tube w/yoke 730 68.28$          
1944075NC Use 1944077NC
1944077NC Outer tube w/yoke 770 68.28$          
1944079NC Use 1944077NC
1951036NC Inner tube w/yoke 360 43.30$          
1951039NC Inner tube w/yoke 390 43.30$          
1951040NC Inner tube w/yoke 400 43.30$          
1951046NC Inner tube w/yoke 460 43.30$          
1951049NC Inner tube w/yoke 490 43.30$          
1951051NC Inner tube w/yoke 510 43.30$          
1951071NC Inner tube w/yoke 710 43.30$          
1952037NC Inner tube w/yoke 370 56.03$          
1952043NC Use 1952047NC
1952047NC Inner tube w/yoke 470 56.03$          
1952053NC Inner tube w/yoke 530 56.03$          
1952057NC Inner tube w/yoke 570 56.03$          
1952068NC Use 1952072NC
1952072NC Inner tube w/yoke 720 79.44$          
1952086NC Use Z120902A
1953044NC Inner tube w/yoke 440 56.03$          
1953045NC Inner tube w/yoke 450 56.03$          
1953047NC Inner tube w/yoke 470 56.03$          
1953057NC Inner tube w/yoke 570 56.03$          
1953072NC Inner tube w/yoke 720 56.03$          
1953089NC Inner tube w/yoke 890 90.99$          
1953109NC Use Z131106A
1954027NC Inner tube w/yoke 270 60.32$          
1954040NC Inner tube w/yoke 400 60.32$          
1954042NC Use 1954043NC
1954043NC Inner tube w/yoke 430 60.32$          
1954045NC Use 1954046NC
1954046NC Inner tube w/yoke 460 60.32$          
1954047NC Inner tube w/yoke 470 60.32$          
1954054NC Inner tube w/yoke 540 83.63$          
1954060NC Inner tube w/yoke 600 83.63$          
1954062NC Use 1954064NC
1954064NC Inner tube w/yoke 640 83.63$          
1954072NC Inner tube w/yoke 720 83.63$          
1954074NC Inner tube w/yoke 740 83.63$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 123

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
1954075NC Inner tube w/yoke 750 83.63$          
1954077NC Use 1954079NC
1954079NC Inner tube w/yoke 790 83.63$          
1954081NC Use 1954079NC
1981034C Use 1981034NC
1981034NC Outer tube w/yoke 340 46.01$          
1981037C Use 0014444
1991035C Use 1991035NC
1991035NC Inner tube w/yoke 360 46.01$          
1991039C Use 0014445
1B020641B Inner tube w/yoke 640 55.06$          
1B020642B Outer tube w/yoke 640 55.06$          
1B020741B Inner tube w/yoke 740 57.95$          
1B020742B Outer tube w/yoke 740 57.95$          
1B020891B Inner tube w/yoke 890 60.79$          
1B020892B Outer tube w/yoke 890 60.79$          
1B021031B Inner tube w/yoke 910 64.35$          
1B021032B Outer tube w/yoke 910 65.90$          
1B031251B Inner tube w/yoke 1251 71.16$          
1B031252B Outer tube w/yoke 1251 75.04$          
200021R Use 0095208
2002011 Ring terminal 1/4" 0.54$            
2002012 Ring terminal #6 0.49$            
2002018 Set screw M10‐1.50x20 N 0.38$            
2002024 Use 0069027
2003001 Nut kep M06‐1.00 Z 0.18$            
201013R Use 0091435
201108R Use 0015230
201116R Use 0095152
201132 Tine "L" style, left 8.39$            
201133 Tine "L" style, right 8.39$            
201916R Use 0091435
201922R Use 0076106
202306R Use 0046536
202308R Use 0003144
202310R Use 0035060
2030114 Pulley 300x2 SPB 67.26$          
2030115 Pulley 120x2 SPB 40.96$          
203020R Use 0046555
2097431E Shield, inner tube (TLD) 15.33$          
210209E Use 210231E
210217E Shield complete 106.03$       
210231E Shield complete 71.98$          
210272E Shield complete SS 560 71.98$          
210908E Inner tube w/yoke (800 mm.) 43.30$          
210909E Inner tube w/yoke 43.30$          
210910E Inner tube w/yoke (1000 mm.) 43.30$          
210912E Inner tube w/yoke (M2) 70.26$          
210917E Inner tube w/yoke 43.30$          
210918E Inner tube w/yoke 43.30$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 124

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
211008E Use 1941069NC
211009E Use 211023E
211010E Outer tube w/yoke (1000 mm.) 45.48$          
211017E Outer tube w/yoke (M2) 50.51$          
211022E Outer tube w/yoke 45.37$          
211023E Outer tube w/yoke 45.37$          
211024E Outer tube w/yoke 45.37$          
211027E Outer tube w/yoke 45.37$          
213006R Use 0050165
213008R Use 0001806
213120R Use 0005934
216011E Use 90101S60B
220001E Use 1482037C
220033E Inner tube w/yoke 53.27$          
220206E Use 220208E
220207E Use 96SS2032C
220208E Shield complete 106.96$       
220214E Shield complete (1110 mm.) 66.87$          
220233E Shield complete 66.01$          
220908E Inner tube w/yoke 74.56$          
220909E Use 220033E
220918E Use 220931E
220931E Inner tube w/yoke 74.56$          
220933E Inner tube w/yoke 74.56$          
221008E Outer tube w/yoke 86.61$          
221009E Outer tube w/yoke 86.61$          
221024E Outer tube w/yoke 86.61$          
221034E Outer tube w/yoke 86.61$          
221584R Use 502397B
224654R Use 0006349
226013E Use 1622250C
228062R Use 0095204
229337R Use 0095150
230001E Use 1483037C
230010E Use 230022E
230011E Use 230023E
230013E Inner tube w/yoke (1250 mm.) 90.99$          
230022E Inner tube w/yoke 90.99$          
230023E Inner tube w/yoke 90.99$          
230024E Inner tube w/yoke 90.99$          
230209E Shield complete 112.84$       

230809E Shield complete 75.41$          
230814E Shield complete (900 mm.) 93.23$          
230815E Shield complete (1050 mm.) 113.93$       
230816E Shield complete 60.85$          
230909E Use 230022E
231001E Yoke, slip clutch 1 3/8" Z6 271.65$       
231002E Yoke, slip clutch Z21 386.55$       
231009E Use 231030E
231018E Outer tube w/yoke 98.67$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 125

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
231019E Use 231029E

231023E Outer tube w/yoke (1250 mm.) 86.61$          
231029E Outer tube w/yoke 86.61$          
231030E Outer tube w/yoke 86.61$          
234523R Use 0095267
240001E Use 1484037C
240209E Use 96SS4043C
240210E Shield complete 117.50$       
240255E Use 96SL4085C
240285E Shield complete 123.60$       
240295E Shield complete 123.60$       
240908E Inner tube w/yoke 83.63$          
240931E Inner tube w/yoke 83.63$          
240931JR Inner tube w/yoke 83.63$          
240940E Use 240946E
240940JF Inner tube w/yoke 83.63$          
240943E Use 240944E
240944E Inner tube w/yoke 83.63$          
240945E Inner tube w/yoke 83.63$          
240946E Inner tube w/yoke 83.63$          
241001E Yoke, slip clutch 335.34$       
241002E Use 1334030C
241008E Outer tube w/yoke 67.50$          
241011E Outer tube w/yoke 67.50$          
241035E Use 241050E
241035JR Outer tube w/yoke 67.50$          
241047E Use 241052E
241047JF Outer tube w/yoke 67.50$          
241048E Use 241051E
241050E Outer tube w/yoke 67.50$          
241051E Outer tube w/yoke 67.50$          
241052E Outer tube w/yoke 67.50$          
245011E Overrunning clutch complete 363.83$       
246013E Ratchet torque limiter LW3x4 0.01$            
250001E Yoke spline 1‐3/8 Z6 176.90$       
250209E Shield complete 112.80$       
250273E Shield complete 106.32$       

250287E Shield complete 107.64$       
251001E Slip clutch 417.61$       

255011E Overrunning clutch complete 314.10$       
256159R Use 0001154
258103R Key 12x8x36 5.14$            
260001E Yoke 1 3/8" Z6 309.47$       
260206E Use 90SC6038C
260209E Use 90SC6040C
260909E Inner tube w/yoke 110.97$       
261001E Yoke, slip clutch 1‐3/8" 245.29$       

261009E Outer tube w/yoke 119.68$       
261677R Use 0095195
263709R Eyebolt threaded 9.12$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 126

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
264057R Use 0017221
264089R Use 0095425
2643621E Shield, inner tube (CV) 12.04$          
264546R Use 0023964
264559R Use 0095426
265032R Threaded rod M16x110 9.40$            
270001E Yoke spline 1‐3/8" Z6 404.45$       
270209E Shield complete 149.85$       
270406E Inner tube w/yoke 223.29$       
270509E Outer tube w/yoke 189.00$       
274001E Clutch complete 1 3/8" Z6 472.38$       
274002E Slip clutch 1 3/4‐6 485.06$       
275559R Use 0095217
280001E Yoke w/shear bolt 1‐3/8" Z6 235.44$       
280002E Yoke w/shear bolt 1‐3/4" Z6 368.83$       
280209E Shield complete 84.26$          
280210E Shield complete 225.76$       
280709E Inner tube w/yoke 217.34$       
280710E Inner tube w/yoke 413.04$       
280808E Outer tube w/yoke 222.32$       
280809E Outer tube w/yoke 237.23$       
280810E Outer tube w/yoke 264.59$       
282001E Slip clutch 1‐3/8" Z6 561.20$       
284001E Slip clutch 1‐3/8" Z6 399.03$       
284002E Slip clutch 1‐3/4" Z6 528.53$       
2857430E Shield complete 118.66$       
290209E Shield complete 191.23$       
290409E Yoke w/splined shaft 262.85$       
290508E Outer tube w/yoke P100 192.78$       
290509E Outer tube w/yoke 192.78$       
290510E Outer tube w/yoke P100 192.78$       
290810E Outer tube w/yoke 348.13$       
294002E Slip clutch 1‐3/4" Z6 576.60$       
30000031S Bolt "U" M12‐1.75 16.61$          
300000F Use 0091643
300001F Bolt HH M12‐1.75x55 C8.8 N P 1.54$            
3000028D Joint pin 98.04$          
3000060D Hook 26.38$          
3000071D Flange Ø400 mm., 12 holes 385.05$       
300008F Bolt flange M06‐1.00x13 Z F 1.14$            
3000120D Support bar 492.05$       
3000121D Support bar 492.05$       
3000202D Handle 161.94$       
3000212D Adjustment tube 77.97$          
3000252D Tongue, pull‐type 509.79$       
300029F Bolt SC M08‐1.25x15 C8.8 N F 0.61$            
3000320D Safety guard support 50.90$          
301000F Use 31241104S
3010123 Bolt CR M08‐1.25x70 C4.6 Z 1.04$            
3010213 Bolt HH M10‐1.50x40 C8.8 Z P 0.53$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 127

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
3010275 Bolt HH M08‐1.25x120 C8.8 Z P 1.63$            
3010281 Use 0001278
3010910 Bolt CS M10‐1.50x50 C10.9 Z F 1.67$            
3011206 Bolt M10x30 0.71$            
3011208 Bolt HH M12‐1.75x40 C8.8 Z P 1.11$            
3011211 Use 0033176
3011238 Use 0014477
3011244 Bolt HH M12‐1.75x50 C8.8 Z P 1.29$            
3011245 Use 0038614
3011246 Bolt 10x50 0.99$            
3011247 Use 0091301
3011252 Use 0015220
3011256 Use 0006349
3011260 Use 0091281
3011276 Use 0015122
3011639 Bolt SP M12‐1.75x150 C8.8 Z P 4.71$            
3011640 Bolt HH M14‐1.50x60 C8.8 Z P 2.96$            
3011641 Bolt M14x50 2.17$            
3011642 Use 0091128
3011643 Use N00C1046
3011668 Bolt HH M14‐1.50x45 C8.8 Z P 1.96$            
3020201 Use 0015237
3020202 Use 0094139
3020203 Use 0015218
3020209 Nut ES M08‐1.25 Z TN 0.16$            
3020212 Use 0091245
3020213 Nut ES M06‐1.00 Z TN 0.09$            
3020215 Use 0017106
3020328 Use 0090150
3020332 Use 0001177
3020339 Use 0003124
3020512A Outer tube 512 41.72$          
3020612A Outer tube 612 41.72$          
3020762A Outer tube 762 41.72$          
3020902A Outer tube 902 41.26$          
302527W Housing, slip clutch 215.41$       
3030156 Use 0015230
3030157 Use 0014514
3030158 Use 0050166
3030159 Use 0002034
3030160 Use 0011209
3030161 Use 0091435
3030162 Use 0002265
3030179 Use 0076106
3030406 Use 0052438
3031106A Outer tube 1106 43.44$          
304003F Rubber grip 4.56$            
3040117 Cotter pin Ø8x80 1.63$            
3040201 Use 0015240
3040202 Use 0041291

All prices are FOB Rocky Mount, NC and are subject to change without notice. 128

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
304149W Snap ring, outer Ø50 2.04$            
306002F Grease fitting M08‐1.25 STR Z 1.85$            
307000F Nut wing M06‐1.00 C5 Z 0.61$            
3080109 Use 0006605
3090101 Use 0095360
3090103 Grease fitting M06‐1.00 threaded 45 degree 3.33$            
310505R Input shaft, bored 331.84$       
31112094S Bolt HH M06‐1.00x65 C8.8 Z P 0.43$            
31112154S Bolt HH M08‐1.25x40 C8.8 Z F 1.16$            
31112165S Bolt HH flange M08‐1.25x35 Z P 0.68$            
31112167S Bolt HH flange M08‐1.25x30 Z P 0.54$            
31112500S Bolt HH M20‐1.50x70 C8.8 Z P 4.82$            
31112520S Bolt HH M20‐2.50x280 C8.8 Z P 17.40$          
31113098S Bolt HH M10‐1.25x16 C10.9 Z F 1.21$            
31121603S Bolt CR M10‐1.50x40 C4.8 Z 0.68$            
31134060S Bolt CS M08‐1.00x12 C10.9 Z F 0.52$            
312004F Support indicator 3.77$            
3120111 Use 35111052S
3120133 Use 35121080S
3120134 Snap ring, outer Ø65 2.35$            
3120138 Snap ring, outer Ø14 0.09$            
3120512A Inner tube 512 43.84$          
3120612A Inner tube 612 43.84$          
3120762A Inner tube 762 43.84$          
3120902A Inner tube 902 43.84$          
31211123S Nut HH M12‐1.25 C6 Z MD 0.62$            
312410W Cross w/bearing 104.63$       
31241104S Nut PT flange M10‐1.50 Z TK 0.49$            
31241123S Nut ES flange M12‐1.75 Z TK 1.09$            
313010F Lock ring 1.14$            
313011F Use 0029261
3131106A Inner tube 1106 49.07$          
31312100S Bolt stud M10‐1.50x40x20x16 8G 3.57$            
31421060S Washer conical spring Ø20 Z 5.12$            
31421130S Washer conical spring Ø12 Z 1.21$            
31423084S Washer wave spring Ø8 Z 0.54$            
31423105S Washer wave spring Ø10 Z 0.15$            
3150107 Chain 22.00$          
3170103 Hold fast clip Ø8 2.50$            
3170105 S hook 2.07$            
317189W Slip clutch, complete 662.78$       
318851W Slip clutch, complete 882.62$       
320107E Driveline complete T20 w/o protection 349.16$       
320527W Housing, slip clutch 291.73$       
320528W Slip clutch, complete 1,130.32$    
321166W Slip clutch, complete 903.97$       
321714W Slip clutch, complete 681.31$       
321715W Housing, slip clutch 223.56$       
3220101 Rivet 6x19 0.22$            
3220102 Use N00C2051

All prices are FOB Rocky Mount, NC and are subject to change without notice. 129

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
326002F Key 8x7x17 1.54$            
329011F Spacer 21.30$          
3300101 Housing w/center fill hole, gearbox 98.50$          
3300322 Housing w/o fill hole, gearbox 101.09$       
3300322F Housing w/fill hole, gearbox 87.30$          
331000F Entrainer 89.10$          
33125314S Rivet, flat head 5.3x14 0.12$            
338531W Back‐up ring 9.89$            
339107W Push pin set, CV PTO 4.52$            
34110061S Cotter pin Ø6x50 0.31$            
341579W Use 135299W
341586W Use 134713W
341953W Quick disconnecting lock 36.67$          
34211126S Roll pin Ø14x50 3.14$            
342221W Use 135075W
34230008S Lynch pin Ø8x70 4.40$            
351005R Use 0095211
351006R Use 0095179
351007R Use 0095213
351035R Use 0095039
351045W Slip clutch, complete 918.66$       
35111052S Snap ring, inner Ø52 0.87$            
35121080S Snap ring, outer Ø80 1.87$            
352005R Yoke w/2 pins 104.69$       
353121W Use 321715W
354027R Use 0095107
359471W Collar 16.67$          
36220021S Belt B102 49.44$          
365305W Screw sheet metal M04x10 Z 0.67$            
365370W Rib cone 29.61$          
365715W Protection 35.79$          
365717W Bearing ring 22.12$          
365722W Double yoke 584.72$       
366042R Top mounting bracket, cylinder 51.67$          
366044R Bottom mounting bracket, cylinder 107.55$       
366207R Use 0095434
366838W Use 134548W
366862W Yoke, inner tube 242.10$       
368415R Use 0095253
368508W Shield, inner tube 100.34$       
370209R Frame 301‐350 981.80$       
370211R Frame 302‐404 1,788.34$    
370215R Frame 303 2,010.61$    
37112105S Bearing 6301‐2RS 13.01$          
37112204S Bearing 6304‐2RS 17.12$          
37112550S Bearing 6211‐2RS‐C3 63.99$          
373010R Opening lever 301‐350 28.20$          
373015R Use 0095110
373205R Use 0095540
373207R Use 0095070

All prices are FOB Rocky Mount, NC and are subject to change without notice. 130

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
37331256S Bushing 16.31$          
373405R Tie rod 302 54.54$          
373407R Tie rod 303 90.20$          
373461R Tie rod 301 35.39$          
375620W Shield, inner tube 144.16$       
376105W Slip collar kit, tractor yoke 39.98$          
377306R Use 0095030
38110448S Oil ring 2018 0.07$            
381495W Thrust plate 77.51$          
381957W Nut 2.70$            
38203010S Oil seal 20.28.4 6.80$            
382078W Use 044321W
38215502S Oil seal 55.70.8 4.09$            
382206W Clutch tool 77.89$          
382701W Use 116550W
382710W Tractor yoke w/collar 287.84$       
384517W Double yoke 457.46$       
393815R Use 0095390
393820R Use 0095400
394005R Use 0095290
394010R Use 0095290
3CE01052B Shield complete SS 520 79.62$          
3CE01063B Shield complete SS 630 79.62$          
3CE01071B Shield complete SS 710 79.62$          
3CE02064B Shield complete SS 640 50.65$          
3CE02074B Shield complete SS 740 52.88$          
3CE02089B Shield complete SS 890 55.12$          
3CE02103B Shield complete SS 1030 57.77$          
3CE03125B Shield complete SS 1251 92.90$          
4010211 Use 0082488
4010212 Use 0082484
4010702 Clamp 90‐100 9.02$            
4010710 Clamp 25‐40 4.52$            
4010711 Clamp 4.6‐120 3.19$            
4010714 Use 4010711
4011804 Use 0041871
4020403 Use N00C1866
4100030D Shaft w/flange 216.97$       
411005R Housing, gearbox 706.86$       
411305R Use 0095173
411330R Use 0095200
412005R Yoke 362.85$       
413005R Flywheel 517.73$       
415005R Use 0095310
415205R Use 0095314
416005R Housing, shock absorber 128.16$       
4B020641B Shield, inner tube w/cone 450 17.94$          
4B020642B Shield, outer tube w/cone 450 23.24$          

4B020741B Shield, inner tube w/cone 550 19.64$          
4B020742B Shield, outer tube w/cone 550 24.95$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 131

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
4B020891B Shield, inner tube w/cone 700 21.23$          
4B020892B Shield, outer tube w/cone 700 26.65$          
4B021031B Shield, inner tube w/cone 840 19.15$          
4B021032B Shield, outer tube w/cone 840 24.59$          
4B031261B Shield, inner tube w/cone 1048 33.10$          
4B031262B Shield, outer tube w/cone 1048 38.88$          
4L010521B Shield, inner tube w/cone 380 15.74$          
4L010522B Shield, outer tube w/cone 380 21.05$          
4L010631B Shield, inner tube w/cone 490 17.97$          
4L010632B Shield, outer tube w/cone 490 23.26$          
500381B Leg excavator 38.19$          
500533B Flange plastic 24.84$          
500641B Tickler tooth 3.87$            
500679B Bracket jack stand, right 54.88$          
500680B Bracket jack stand, left 54.88$          

500703B Jack stand 40.79$          
500738B Bolt spade 2.90$            
500814B Hopper hinge, left 16.39$          
500815B Hopper hinge, right 16.39$          
500827B Bolt "V" 7/16"‐20x1.00"x2.00" Z 2.60$            
500888B Rotor, 4" spacing 350 1,279.23$    
500891B Rotor, 4" spacing 358 1,432.72$    
500894B Rotor, 4" spacing 366 1,586.23$    
500987B Use 0046533
500995B Use 0088589
501033B Side shield, left 139.13$       
501105B Calibration plate 39.68$          
501106B Baffle 24.84$          

501123B Stationary stirrer 29.22$          
501145B Extension, side shield 35.73$          
501268B Roller arm, right 87.01$          
501269B Roller arm 87.01$          
501270B Inner shield deflector 13.10$          
501289B Hopper mounting assembly, right 124.23$       
501298B Idler bracket 41.67$          
501302B Crossbar brace 350 265.48$       
501303B Crossbar brace 358 280.33$       
501304B Crossbar brace 366 295.18$       
501307B Seed deflector 350 453.41$       
501308B Seed deflector 358 483.44$       
501309B Seed deflector 366 513.71$       
501313B Fertilizer deflector 350 77.63$          
501314B Fertilizer deflector 358 90.04$          
501315B Fertilizer deflector 366 101.96$       
501322B Hopper lid 350 101.96$       
501323B Hopper lid 358 107.56$       
501324B Hopper lid 366 116.77$       
501325B Use 501322B
501326B Use 501324B
501327B Hopper lid 084 124.23$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 132

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501331B Scarifier bar 052 556.59$       
501332B Scarifier bar 068 647.41$       
501333B Scarifier bar 084 737.90$       
501334B Roller assembly 052 697.12$       
501335B Roller assembly 068 786.09$       
501336B Roller assembly 084 830.55$       
501337B Roller assembly 350 696.39$       
501338B Roller assembly 358 740.87$       
501339B Roller assembly 366 785.24$       
501341B Crossbar assembly 052 63.04$          
501342B Crossbar assembly 068 68.59$          
501343B Crossbar assembly 084 74.18$          
501344B Rear crossbar assembly 350 269.95$       
501345B Rear crossbar assembly 358 287.71$       

501346B Rear crossbar assembly 366 298.14$       
501349B Scarifier points 16.63$          
501350B Use 0046531
501351B Use 501373B
501352B Use 501375B
501353B Drive rod 084 44.77$          
501354B Bracket deflector 18.02$          

501357B Bearing housing 73.01$          

501360B Eyebolt 0.27$            
501367B Auger shaft 350 155.02$       
501368B Auger shaft 358 175.87$       
501369B Auger shaft 366 196.73$       
501373B Drive rod 350 55.54$          
501374B Drive rod 358 44.87$          
501375B Drive rod 366 51.60$          
501385B Hopper mount assembly, left 124.23$       
501388B Roller arm 88.26$          
501404B Plate rear support, left 129.79$       
501405B Plate rear support, right 129.79$       
501406B Tickler bar, front 358 49.30$          
501407B Tickler bar, rear 358 49.30$          
501408B Tickler bar, front 350 46.30$          
501409B Tickler bar, rear 350 46.30$          
501410B Tickler bar, front 366 51.60$          
501411B Tickler bar, rear 366 51.60$          
501414B Pivot assembly 36.28$          
501420B Coupler bar 58.44$          
501422B Calibration handle 18.14$          
501423B Indicator 6.26$            
501424B Bracket idler 8.72$            
501425B Idler arm 30.40$          
501426B Spacer 0.625"x.875"x1.375" long 6.12$            
501427B Spacer 0.5625"x.875"x3.8125" long 7.22$            
501428B Spacer 0.875"x1.125"x2.531" long 6.49$            
501429B Spacer 0.875"x1.125"x.875" long 5.91$            
501432B Hopper mount, right 49.56$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 133

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501433B Hopper mount, left 49.56$          
501434B Sprocket 46.95$          
501435B Key 4.68$            
501436B End ring 86.05$          
501437B Use 0046329
501438B Use 0046329
501439B Bushing 3/4" IDx1" ODx5/8" 4.64$            
501440B Rear deflector, top 350 66.01$          
501441B Rear deflector, top 358 66.01$          
501442B Rear deflector, top 366 66.01$          
501443B Rear deflector, bottom 350 66.01$          
501444B Rear deflector, bottom 358 66.01$          
501445B Rear deflector, bottom 366 66.01$          
501446B Pin, jack stand 4.41$            
501447B Bolt "U" 6.26$            
501448B A frame assembly 342.60$       
501449B Bushing 3/4"odx5/8"idx5/8" 1.77$            
501450B Turnbuckle 87.49$          
501451B Coupler bracket assembly 8.18$            
501453B Spring, hopper hinge 9.24$            
501454B Use 0046541
501455B Use 0046541
501456B Sprocket, seed hopper 90.51$          
501457B Spacer 7.54$            
501458B Locking collar 6.09$            
501459B Idler sprocket 57.16$          
501460B Spring, idler 16.31$          
501461B Bolt eye 3/8"‐16 Z 6.26$            
501462B Use 0046540
501463B Use 0084415
501464B Use 0046551
501465B Use 0046553
501466B Use 0046557
501467B Thumbscrew 1.64$            
501468B Drive sprocket, hopper 44.46$          
501469B Spacer 1.00"x1.375"x1.25" long 8.18$            
501470B Cotter pin 3/16"x1.00" 0.27$            
501471B Offset link #50 2.21$            
501472B Connecting link #50 2.48$            
501473B Chain #50 43.36$          
501474B Hopper seed 350 704.52$       
501475B Hopper seed 358 749.01$       
501476B Hopper seed 366 793.46$       
501477B Hopper assembly, fertilizer 350 704.52$       
501478B Hopper assembly, fertilizer 358 749.01$       
501479B Hopper assembly, fertilizer 366 793.46$       
501480B Connecting link #40 1.62$            
501481B Offset link 2.10$            
501482B Chain #40 29.78$          
501483B Roll pin Ø1/4"x2.25" 0.49$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 134

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501484B Sprocket, auger shaft 144.26$       
501485B Sprocket assembly 120.52$       
501486B Spacer 9.24$            
501487B Sprocket, idler 62.53$          
501488B Spacer 8.55$            
501492B Side shield, right 139.13$       
501496B Use 501474B
501497B Use 501476B
501498B Hopper seed 084 772.95$       
501499B Use 501307B
501500B Use 501309B
501501B Seed deflector 084 210.10$       
501502B Roll pin Ø3/8"x2.00" 1.64$            
501534B Boom assembly 200 611.65$       
501535B Yoke 200 366.51$       
501536B Lower hitch extension 78.64$          
501537B Deflector, rear 59.93$          
501538B Deflector, front 89.80$          
501540B Knife, auger 7.19$            
501541B Auger point standard 22.59$          
501544B Use 0018020
501545B Cutting teeth, 6" auger 6.81$            
501547B Pin 3/4"x6.50" 42.81$          
501549B Bolt SC M08‐1.25x22 C8.8 N F 1.57$            
501550B Use 0085173
501551B Cover 200.16$       
501552B Gasket 3.18$            
501553B Shim Ø40.3x51.5 5.52$            
501554B Ring gear Z30 405.21$       
501555B Parallel Key 10x8x30 2.27$            
501556B Output shaft 353.53$       
501557B Oil seal 40.62.7 SC 8.17$            
501558B Casing 364.53$       
501559B Drain plug 1/4" 4.89$            
501560B Pinion gear Z10 383.30$       
501561B Use 0057511
501562B Spacer 20.90$          
501563B Shim Ø60.3x71.7 14.70$          
501564B Use 0025329
501565B Use 0042122
501566B Guard, PTO 27.78$          
501567B Gearbox complete 597.06$       
501568B Set screw 1/4"‐20x0.75" N 0.99$            
501569B Use 502097B
501570B Use 0052889
501571B Use 0052889
501574B Wheel hub 38.35$          
501581B Use 0051073
501582B Hand grip 2.90$            
501583B Lever 18.88$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 135

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501584B Lever bracket 23.59$          
501585B Washer flat nylon Ø12 2.91$            
501586B Spring 6.30$            
501587B Shutter 209, 212 21.76$          
501588B Shutter arm 5.55$            
501589B Adjustment knob M8x16 5.00$            
501590B Lever stopper 15.73$          
501591B Scaled rod 19.60$          
501592B Frame 209, 212 433.65$       
501593B Guard 209, 212 25.17$          
501594B Hopper 209‐120 354.43$       
501595B Hopper 212‐120 471.35$       
501596B Roll pin Ø5x40 5.64$            
501597B Stationary stirrer 35.78$          
501598B Spreader wing steel 209, 212 14.63$          
501599B Spreader disc 209, 212 67.47$          
501600B Use 0046536
501601B Output shaft 209, 212 189.41$       
501602B Use 0006639
501603B Nut HH M06‐1.00 C6 Z TK 0.09$            
501604B Oil seal 25.47.7 7.74$            
501605B Gear Z16 94.30$          
501606B Locking ring M25 0.79$            
501607B Shim 1.85$            
501608B Oil ring 0.49$            
501609B Oil cap 4.95$            
501610B Housing, gearbox 62.18$          
501611B Oil seal 35.47.7 SC 8.79$            
501612B Input shaft 209,212 246.22$       
501613B Tumbling agitator 81.71$          
501614B Handle, seed cup adjustment 10.18$          
501615B Bolt w/nut HH 5/16"‐18x2.50" G2 0.90$            
501616B Seat 434.99$       
501617B Hopper steel 101 140.33$       
501618B Hopper steel 103 184.65$       
501618BO Hopper steel 103 ‐ orange 184.65$       
501618BV Hopper steel 103 ‐ green 184.65$       
501619B Stationary stirrer 23.26$          
501620B Bolt HH M06‐1.00x30 C8.8 Z P 0.21$            
501621B Use 0050165
501622B Threaded bushing M20 7.72$            
501623B Bolt CR M08‐1.25x40 C4.6 Z 0.49$            
501624B Frame 103 182.74$       
501625B Guard 22.98$          
501626B Bolt HH M08‐1.25x40 C8.8 Z P 0.45$            
501627B Use 0046454
501628B Hitch adjustment, right 24.70$          
501629B Hitch adjustment, left 24.70$          
501630B Flow control assembly 65.26$          
501631B Adjustment knob M6x16 4.11$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 136

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501632B Hitch connection, right 29.05$          
501633B Hitch connection, left 29.05$          
501634B Wheel 91.15$          
501635B Bushing, wheel 2.97$            
501636B Bolt HH M06‐1.00x90 C8.8 N P 1.39$            
501637B Use 502032B
501638B Use 0046555
501639B Adjustment knob 4.89$            
501640B Housing, gearbox 144.53$       
501641B Cover, gearbox housing 40.86$          
501642B Gear Z64 131.97$       
501643B Gear Z16 34.77$          
501644B Roll pin Ø5x20 5.64$            
501645B Bearing 6202‐ZZ 9.16$            
501646B Use 502041B
501647B Snap ring, inner Ø35 0.61$            
501648B Oil seal 16.35.7 5.77$            
501649B Use 502043B
501650B Spreader disc, nylon 203 31.26$          
501651B Nut HH M30‐2.00 C6 Z TN 5.46$            
501652B Mobile shutter 32.53$          
501653B Deflector shield 71.21$          
501654B Bolt CR M08‐1.25x20 C8.8 Z 1.20$            
501655B Towing hitch 99.88$          
501656B Deflector connection 34.59$          
501657B Use 0041291
501658B Guard, stirrer 27.21$          
501660B Use 0014620
501661B Hopper steel 203 184.65$       
501661BO Hopper steel 203 ‐ orange 184.65$       
501661BV Hopper steel 203 ‐ green 184.65$       
501662B Use 0015230
501663B Bolt CR M08‐1.25x25 C4.6 Z 0.44$            
501664B Use 502017B
501665B Outgoing gear w/shaft 737.52$       
501666B Bolt SC M08‐1.25x45 C8.8 N P 1.04$            
501667B Housing, gearbox 114.61$       
501668B Guard 31.67$          
501669B Ingoing gear w/shaft 213.72$       
501670B Gearbox complete 269.15$       
501671B Gearbox complete 328.29$       
501674B Deflector, front 77.63$          
501675B Deflector, rear 51.70$          
501676B Deflector, front 101.86$       
501677B Deflector, rear 67.98$          
501680B Bracket, kill switch 27.06$          
501681B Kill switch w/key 32.99$          
501682B Throttle 34.34$          
501683B Use 503891B
501684B Use 0011333

All prices are FOB Rocky Mount, NC and are subject to change without notice. 137

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501686B Gearbox complete w/outgoing shaft 309.69$       
501699B Bolt w/nut HH 3/8"‐16x3.50" G2 0.82$            
501700B Boom assembly 300 800.56$       
501701B Yoke 300, 400 498.88$       
501702B Hitch pin cat. 1‐2 Ø30.5 55.61$          
501705B Housing, gearbox 377.09$       
501706B Bearing cup LM104911 22.30$          
501707B Bearing cone LM104949 11.18$          
501708B Oil seal 50.66.8 10.07$          
501709B Output shaft 230.95$       
501710B Woodruff key 4.35$            
501711B Gear Z35 219.18$       
501712B Top cap 146.10$       
501713B Pipe plug square 1/2" HD 1.97$            
501714B Shaft mounting 10.99$          
501715B Cotter pin 1.97$            
501716B Bearing cup LM11910 11.02$          
501717B Bearing cone LM11949 5.56$            
501718B Gasket 0.10 mm. 2.37$            
501719B Gasket 0.15 mm. 2.37$            
501720B Gasket 0.50 mm. 2.37$            
501721B Use 503315B
501722B Use 0069629
501723B Input shaft pinion Z11 92.74$          
501724B Oil seal 32.45.8 7.09$            
501725B Cap, input 95.46$          
501726B Gasket 0.50 mm. 3.93$            
501727B Use 503482B
501728B Use 503482B
501729B I.D. tag 8.66$            
501730B Rivet 0.30$            
501731B Gasket 0.15 mm. 3.93$            
501732B Gasket 0.10 mm. 3.93$            
501733B Pipe plug 1/2" square head 1.97$            
501734B Gearbox complete 746.29$       
501742B Auger bushing 2" 45.60$          
501743B Plate, lower hitch extension 110.63$       
501744B Use 502925B
501745B Use 0041291
501746B Linkage frame 291.01$       
501747B Support 274.17$       
501748B Pin 29.10$          
501749B Top link support 116.38$       
501750B Use 502935B
501751B Spring 87.30$          
501752B Bushing 29.10$          
501753B Use 502937B
501754B Use 502941B
501755B Shaft 29.10$          
501756B Split pin Ø5x45 2.93$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 138

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501757B Housing 131.48$       
501758B Axle bracket, 3 wheel 640.12$       
501759B Use 502943B
501760B Axle bracket, 5 wheel 756.52$       
501761B Lock 17.48$          
501762B Use 0084619
501763B Pin 8.73$            
501764B Split pin Ø5x40 2.93$            
501765B Single wheel support 174.13$       
501766B Use 502947B
501767B Use 0060509
501768B Use 502221B

501769B Use 502226B
501770B Use 502227B
501771B Use 502228B
501772B Use 502949B
501773B Axle 34.94$          
501774B Split pin 2.93$            
501775B Use 0009771
501776B Hub 58.19$          
501777B Use 502224B
501778B Use 502953B
501779B Use 502225B
501780B Use 503228B
501781B Frame 2,502.29$    
501782B Stand lock 11.66$          
501783B Stand 29.10$          
501784B Clamp lower 116.38$       
501785B Clamp upper 116.38$       
501786B Dual cat. pin 46.56$          
501787B Use 502933B
501788B Use 502948B
501789B Use 501799B
501792B L pin, scarifier leg 3.19$            
501793B Gearbox complete 9' 0" 1,377.71$    
501794B Gearbox complete 10' 8" 1,377.71$    
501795B Scarifier leg 52.17$          
501796B Fertilizer hopper, complete 366‐460 1,574.72$    
501797B Spanner socket 30 mm. 178.19$       
501799B Bolt SC M08‐125x25 C12.9 N F 0.61$            
501800B Spanner W. 52‐55 mm. 42.99$          
501801B Spanner W. 58‐62 mm. 46.31$          
501802B Spanner W. 68‐75 mm. 46.31$          
501803B Socket 42 mm. 75.28$          
501804B Spanner W. 45‐50 mm. 52.10$          
501805B Wrench 41 mm. 6.28$            
501806B Spanner socket 35 mm. 176.01$       
501807B Spanner socket 40 mm. 178.21$       
501808B Spanner socket 45 mm. 152.62$       
501810B Spanner socket 25 mm. 132.23$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 139

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501811B Hair pin cotter 2.43$            
501812B Hitch pin 34.01$          
501813B A Frame 1,156.13$    
501814B Bolt "U" M16‐2.00x75x100 Z 11.38$          
501815B Safety frame 170.62$       
501816B Support bar 9' 0" 17.00$          
501817B Support bar 10' 8" 17.00$          
501818B Wheel yoke, right 145.21$       
501819B Wheel yoke, left 145.21$       
501820B Use 0010122
501821B Washer 1.59$            
501822B Disc, inner 13.72$          
501823B Cover 74.04$          
501824B Inner tube 45.51$          
501825B Use 0008568
501826B Disc, outer 17.31$          
501827B Wheel complete 70.48$          
501828B Bushing 3.37$            
501829B Washer fender Ø10 Z 0.35$            
501830B Use 0006689
501831B Use 502347B
501832B Drive tube, right 9' 0" 365.44$       
501833B Drive tube, right 10' 8" 365.44$       
501834B Pin 10x85 2.68$            
501835B Hair pin cotter 2.43$            
501836B Bolt wing M12‐1.75x30 N F 0.71$            
501837B Tine arm 9' 0" 80.65$          
501838B Tine arm 10' 8" 80.65$          
501839B Use 0016748
501840B Washer flat Ø12 Z 5.11$            
501841B Spring tine, tedder 18.49$          
501841G Use 501841B
501842B Nut HH M12 0.45$            
501843B Use 0058472A
501844B Wheel support, right 245.16$       
501845B Pin clip 4.28$            
501846B Grease fitting M08 0.82$            
501847B Bushing 19.41$          
501848B Gear Z21 w/flange 354.81$       
501848C Gear Z21 w/flange 354.81$       
501849B Grease fitting M08 4.04$            
501850B Side gearbox, right 446.07$       
501851B Side gearbox, left 446.07$       
501852B Roll pin Ø5x28 0.47$            
501853B Hair pin cotter 2.43$            
501854B Block Pin 3.37$            
501855B Bearing 6007‐ZZ 26.14$          
501856B Shim Ø35x48 2.43$            
501857B Housing, gearbox 492.67$       
501858B Use 0057567

All prices are FOB Rocky Mount, NC and are subject to change without notice. 140

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501859B Pinion shaft 263.50$       
501860B Spacer 12.53$          
501861B Washer internal lock Ø10 Z 0.09$            
501862B Snap ring, outer Ø32 1.26$            
501863B Use 501884B
501864B Cover 95.46$          
501865B Gasket 0.71$            
501866B Bolt HH M08‐1.25x22 C8.8 Z F 0.27$            
501867B Oil plug 3.37$            
501868B Thru shaft 606.99$       
501869B Key 8x10x30 3.01$            
501870B Use 0030201A
501871B Cover 296.51$       
501872B Washer internal lock Ø08 Z 0.49$            
501873B Gasket 1.36$            
501874B Ring gear 293.28$       
501875B Spacer 17.52$          
501876B Cap 3.37$            
501877B Bolt M08x10 0.27$            
501878B Spacer 2.68$            
501879B Spacer 3.57$            
501880B Washer 0.71$            
501881B Spacer 9.84$            
501882B Shim 2.43$            
501883B Thru shaft 606.99$       
501884B Oil seal 35.45.7 TC 7.28$            
501885B Drive tube, left 365.44$       
501886B Drive tube, left 365.44$       
501887B Wheel support, left 245.16$       
501888B Tire 13x500x6 59.61$          
501888C Tire (w rib 3.50‐6) 59.61$          
501889B Inner tube (13x500‐6) 21.39$          
501889C Inner tube (3.50‐6) 21.39$          
501890B Spacer, rim 10.66$          
501891B Rim 56.87$          
501892B A frame 1,156.13$    
501893B Safety frame right/left 170.62$       
501894B Hitch pin, lower 12.53$          
501898B Adjusting screw 34.40$          
501899B Threaded pin 13.90$          
501900B Frame 1,377.05$    
501901B Use 0035060
501902B Hopper ring 506.23$       
501903B Nut M12 2.36$            
501904B Use 0002265
501907B Extension, hopper 906 (335) 1,124.47$    
501908B Extension, hopper 706 (325) 918.40$       
501909B Extension, hopper 506 (320) 510.22$       
501910B Hopper 1,443.63$    
501911B Agitator 153.11$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 141

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501912B Agitator fixing plate (V block) 30.62$          
501914B Washer for hopper fixing 5.15$            
501915B Agitator bush‐guide 42.78$          
501916B Dosing disc 277.32$       
501917B Adjusting ring 9.38$            
501918B Use 0033025
501919B Adjustment lever 35.31$          
501920B Hairpin cotter Ø2.0 Z 2.36$            
501921B Shim Ø12 5.15$            
501922B Guard 298.06$       
501923B Use 0030157
501924B Coupling flange 72.71$          
501925B Bolt HH M10‐1.50x50 C8.8 Z P 0.67$            
501926B Pendulum spout 199.55$       
501927B Cup (full width spreading) 35.31$          
501928B Bushing (right/left spreading) 31.85$          
501929B Spout mounting 885.35$       
501930B Dust fender 37.72$          
501931B Washer spacer Ø13 10.39$          
501932B Fork guard 13.26$          
501933B Ring BR62 6.77$            
501934B Use 0091495
501935B Use 0055439
501936B Shaft cover 13.26$          
501937B Use 0002294
501938B Spread‐unit mounting 1,082.10$    
501939B Use 0010122
501940B Bearing 6011‐Z 62.30$          
501941B Snap ring, outer Ø55 3.57$            
501942B Front cover 13.26$          
501943B Washer flat Ø35 Z 3.87$            
501944B Fixing plate 22.03$          
501945B Fly wheel 786.91$       
501946B Bolt SP M12‐1.75x55 Z P 11.48$          
501947B Use 0008137
501948B Coupling shaft (splined) 209.94$       
501949B Cup 168.46$       
501950B Fork guard 13.26$          
501951B Fork 491.96$       
501952B Rubber shock absorber 98.50$          
501953B Washer flat Ø38 Z 3.98$            
501954B Ring OR 2350 10.72$          
501955B Stroke adjuster 200.07$       
501956B Bolt M10x65 5.46$            
501957B Bakelite disc 22.33$          
501958B Adjustment lever 39.39$          
501959B Hand grip 10.89$          
501960B Compression spring 10.89$          
501961B Stroke stop pin 12.67$          
501962B Selector 68.93$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 142

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
501963B Use 0050031
501964B Use 0050033
501965B Coupling pin 46.17$          
501966B Tie rod, right 65.61$          
501967B Vertical support 68.93$          
501968B Tie rod, left 65.61$          
501969B Adjustment wrench 82.18$          
501970B Sand spout 397.37$       
501971B Agitator rim 247.44$       
501972B Agitator fixing ring 32.98$          
501973B Cylinder (Turbo‐ Hop) 534.86$       
501974B Slider 27.06$          
501975B Knob M8x20 6.81$            
501976B Roll pin Ø5x16 1.14$            
501979B Fixed slider 28.29$          
501980B Bracket 34.73$          
501981B Hydraulic hose 82.46$          
501982B Hydraulic remote control 771.05$       
501984B Hydraulic hose 82.46$          
501985B Hydraulic cylinder 2"x10" 242.28$       
501986B Hopper w/plate (P406) 1,648.40$    

501987B Stainless steel plate 298.06$       
501988B Hydraulic cylinder 2‐1/2"x10" 242.28$       
501989B Anti‐scalp roller 139.98$       

501990B Use 0009974
501993B Use 0058120
501999B Wheel 13"x6" 120.35$       
502000B Bolt M10x50 0.74$            
502001B Lever 38.52$          
502002B Use 0014366
502003B Shutter, left 209, 212 24.01$          
502004B Use 0014346
502005B Use 0014488
502006B Use 0001174
502007B Beam, tumbling agitator 37.72$          
502008B Lever stop 17.89$          
502009B Shutter, right 209, 212 24.01$          
502010B Scaled rod 25.22$          
502011B Use 0014300
502012B Frame 212 465.48$       
502013B Protection 209, 212 39.35$          
502014B Hopper steel 209 327.36$       
502014BO Hopper steel 209 ‐ orange 327.36$       
502014BV Hopper steel 209 ‐ green 327.36$       
502015B Hopper steel 212 387.27$       
502015BO Hopper steel 212 ‐ orange 387.27$       
502016B Output shaft 217.10$       
502017B Oil seal 25.37.5 TC 14.06$          
502018B Nut M8 0.35$            
502019B Stirrer, tumbling agitator 67.76$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 143

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502020B Rubber cap Ø60 4.00$            
502021B Housing, gearbox half, right 145.26$       
502022B Housing, gearbox half, left 145.26$       

502023B Input shaft 304.89$       
502024B Spring 5.10$            

502025B Use 0014360
502026B Use 0014690
502027B Tumbling agitator complete 83.63$          
502028B Threaded bushing Ø16 2.91$            
502029B Nylon bushing Ø21 4.07$            
502030B Wheel w/hard tire complete, right 84.48$          
502031B Bolt HH M06‐1.00x50 C8.8 Z P 0.52$            
502032B Axle 66.98$          
502033B Use 0050166
502034B Roll pin Ø3x20 4.51$            
502035B Self tapping screw PN M3.9x25 Z 0.09$            
502036B Self tapping screw PN M3.9x16 Z 0.09$            
502037B Housing, gearbox 25.40$          
502038B Gearbox cover 12.91$          
502039B Ring gear 113.74$       
502040B Pinion gear 36.76$          
502041B Spacer 1.39$            
502042B Top cover, gearbox housing 5.04$            
502043B Outgoing shaft 22.68$          
502044B Spreader disc, nylon 31.26$          
502045B Deflector connection, right 24.10$          
502046B Deflector connection, left 24.10$          
502047B Use 0010122
502048B Use 0014896
502049B Wheel w/hard tire complete, left 84.48$          
502050B Use 0052418
502051B Gearbox 289.59$       
502052B Housing, gearbox 540.27$       
502053B Parallel key 10x8x25 3.20$            
502054B Use 0042122
502055B Gear Z18 198.28$       

502056B Gasket 1.29$            
502057B Bolt M12x25 C8.8 1.61$            
502058B Shim 4.17$            
502059B Shaft 1 3/8" 192.23$       
502060B Extension 210.30$       
502061B Use 0009442
502062B Cover, gearbox housing 97.86$          
502063B Use 0085173
502064B Shaft 1‐3/8"‐1 3/8" 397.37$       
502065B Gearbox complete 609.49$       
502066B Cover, gearbox housing 406.03$       
502067B Gasket 1.61$            
502068B Extension 224.95$       
502069B Washer lock Ø10 0.32$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 144

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502070B Use 0001008
502071B Gear Z14 241.95$       
502073B Oil seal 35.56.8 SC 14.99$          
502074B Oil plug 3.52$            
502075B ID tag 4.44$            
502076B Housing, gearbox 589.04$       
502077B Cover, gearbox housing 456.56$       
502078B Shaft 1‐3/8" 451.81$       
502079B Washer copper sealing Ø08 0.67$            
502080B Bolt M08x10 C4.8 0.62$            
502081B Parallel key 10x8x35 1.91$            
502082B Gearbox complete 1,390.83$    
502083B Tine 11.90$          

502084B Arm tine 5.62$            
502085B Tine arm 288 86.22$          
502086B Tine arm 328 122.64$       
502087B Rake arm 110.65$       
502088B Output shaft 1‐3/8" 228.09$       
502089B Use 0009230
502090B Double yoke assembly T60 174.32$       
502091B Double yoke assembly T40 123.23$       
502092B Wheel w/air tire 4.10/350‐4 124.70$       
502093B Bushing, air tire 11.31$          
502094B Use 0009223
502095B Turnbuckle 74.04$          
502096B Threaded rod, turnbuckle 15.90$          
502097B Oil seal 12192TB 11.80$          
502098B Jack stand 89.62$          
502099B Drawbar 1,722.54$    
502100B Hub, transport wheel 38.35$          

502101B Hub cap 4.18$            
502102B Bearing L44610, L44649 18.82$          
502103B Input shaft adapter 57.67$          
502112B Bearing w/retainer 17.80$          
502113B Repair kit, hydraulic cylinder 106.66$       
502114B Repair kit, hydraulic cylinder 75.68$          
502115B Repair kit, hydraulic cylinder 48.99$          
502116B Repair kit, hydraulic cylinder 38.80$          
502117B Wheel complete 274.03$       

502118B Straight coupling 73.65$          

502119B Use 0044117
502120B Wheel w/air tire complete 172.71$       
502121B Bushing, air tire 18.97$          
502122B Bolt HH 3/4"‐10x9.50" G5 Z P 10.24$          
502123B Nut ES 3/4"‐10 Z 1.07$            
502124B Housing, gearbox 653.45$       
502125B Bolt SP 5/16"‐18x1.00 N F 7.33$            

502126B Cap 155.00$       
502127B Shaft 214.80$       
502128B Retaining ring 38.55$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 145

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502129B Gear 358.20$       
502130B Gasket 0.015 7.54$            
502131B Gasket 0.005 4.69$            
502132B Gasket 0.003 4.56$            
502133B Shim 0.005 2.71$            
502134B Shim 0.010 4.41$            
502135B Use 503481B
502136B Use 503481B
502137B Shaft 498.76$       
502138B Collar 28.64$          
502139B Oil seal 13203TA (470522 N#) 9.48$            
502140B Key 1.48$            
502141B Relief valve 26.77$          
502142B ID tag 1.07$            
502143B ID cover 0.86$            
502144B Pipe plug 2.94$            
502145B Reducer bushing 14.15$          
502146B Gearbox complete 1,781.19$    
502147B Use 0009013
502148B Pivot hitch 108.46$       
502149B Bent pull pin 1/2"x3" 3.29$            
502150B Use 0006578
502151B Use 0008568
502152B Rear hitch 12' 261.52$       
502153B Front hitch 12' 261.52$       
502154B Lift arm, left 12' 174.71$       
502155B Lift arm, right 12' 174.71$       
502156B Use 0009159
502157B Lynch pin 2.21$            
502158B Transport hook, rear 60.73$          
502159B Bolt HH M18‐2.50x80 C8.8 Z P 3.37$            
502160B Bracket, rear 520.67$       
502161B Use 0009194
502162B Straps, rear 71.34$          
502163B Elbow 90 3/8" FNPT‐3/4" MORB 12.62$          
502164B Adaptor 3/8" NPT w/ 1/16" restrictor 9.43$            
502165B Cross 3/8" FNPT w/M12x100 bolt 27.29$          
502166B Hydraulic hose 87" 53.95$          

502167B Hydraulic hose 60" 45.45$          
502168B Hydraulic hose 39" 41.79$          
502169B Reducer 3/8" FNPT‐1/2" MNPT 2.64$            
502170B 1/2" Male quick coupler 1/2" FNPT 15.98$          
502171B Pin, hydraulic cylinder 1.00"x3.40" Z 19.29$          
502172B Clip hairpin 0.105"x2.00" Z 6.60$            
502173B Use 0109081
502174B Use 0209081
502175B Back plate 37.90$          
502176B Nut CA 4.01$            
502177B Rim, transport wheel 31.23$          
502178B Tire, transport wheel 73.10$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 146

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502179B Use 503486B
502180B Use 0009031
502181B Rear hitch 15' 370.26$       
502182B Rear hitch 17' 370.26$       
502183B Front hitch 15' 266.80$       

502184B Front hitch 17' 294.15$       
502185B Lift arm, left 15' 300.84$       
502186B Lift arm, left 17' 194.79$       
502187B Lift arm, right 15' 300.84$       
502188B Lift arm, right 17' 243.40$       
502189B Jack shaft 240.33$       
502190B Double yoke assembly 207.66$       
502191B Wear plate w/hole 22.63$          
502192B Wear plate 23.55$          
502193B Use 0006964
502194B Bearing w/retainers 0.75"x1.37"x4" 16.74$          
502196B Use 0046555
502197B Lcg kit (Flex Mower) 282.27$       
502198B Wheel support, right 222.30$       
502199B Wheel support, left 222.30$       
502200B Lynch pin 1.29$            
502201B Linkage frame 263.81$       
502202B Use 502927B
502203B Bolt SP M10x85 1.45$            
502204B Nut HH M10 0.30$            
502205B Spring pin 0.76$            
502206B Locking pin 4.95$            
502207B Connecting pin 10.59$          
502208B Lock bracket 26.37$          
502209B Lower spring clip 24.09$          
502210B Use 502941B
502211B Pin 5.07$            
502212B Nut CA M18‐1.50 N TK 5.07$            
502213B Use 502933B
502214B Top link support 63.32$          
502215B Upper spring clip 24.36$          
502216B Use 502936B
502217B Use 0084619
502218B Dust seal ring 8.54$            
502219B Use 0009771
502220B Use 0060509
502221B Tine clip 6.12$            

502222B Use 502947B

502223B Hub, rake wheel 115.95$       
502224B Bearing 30204 24.26$          
502225B Dust cover 19.80$          
502226B Inner wheel 57.01$          
502227B Outer wheel 66.13$          
502228B Rake tooth 2.60$            
502229B Axle bracket, 4 wheel 318.73$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 147

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

502230B Use 502948B
502231B Use 0001104
502232B Use 0030285
502233B Single wheel support 79.14$          
502234B Use 0001019
502235B Use 502944B
502236B Use 502955B
502237B Top hitch bracket 96.26$          
502238B Use 0032621
502239B Use 0001077
502240B Use 0003038
502241B Top hitch support plate 37.90$          
502242B Lower hitch bracket 83.30$          
502243B Lower hitch support plate 28.88$          
502244B Use 502962B
502245B Cotter pin 0.76$            
502246B Use 502940B
502247B Use 502925B
502248B Housing, gearbox 198.66$       
502249B Output shaft 124.98$       
502250B Spacer, output bearing 19.47$          
502251B Shim Ø51x63x0.3 3.61$            
502252B Shim Ø51x63x0.5 3.61$            
502253B Output gear Z38 208.28$       
502254B Gasket, hanger cap 0.10 7.49$            
502255B Gasket, hanger cap 0.25 7.49$            
502256B Bolt SP M10‐1.50x30 N F 1.38$            
502257B Fill plug 1/2" 7.49$            
502258B Hanger shaft 27.06$          
502259B Use 0005638
502260B Hanger cap 125.54$       
502261B Use 0042122
502262B Use 0025329
502263B Seal adapter 14.31$          
502264B Use 0030211
502265B Pinion gear Z11 162.00$       
502266B Spacer 17.57$          
502267B Use 0025332A
502268B Use 0004539
502269B Snap ring, outer 046 7.22$            
502270B Oil seal 50.70.12 TC 11.60$          
502271B Gearbox complete 433.17$       
502272B Housing, gearbox 185.14$       
502273B Output shaft 134.81$       
502274B Spacer, output bearing 17.57$          
502275B Output gear Z33 187.84$       
502276B Gasket, hanger cap 0.10 7.49$            
502277B Gasket, hanger cap 0.25 7.49$            
502278B Hanger cap 200 87.95$          
502279B Use 0042122

All prices are FOB Rocky Mount, NC and are subject to change without notice. 148

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502280B Oil seal 35.72.12 11.82$          
502281B Pinion gear Z11 162.00$       
502282B Gearbox complete 355.89$       
502283B Use 135299W
502284B Use 135075W
502285B Use 365722W
502286B Grease fitting M08‐1.00 threaded 45 degree 3.52$            
502287B Use 134713W
502288B Use 0032204
502289B Use 135895W
502290B Use 135897W
502291B Use 019519W
502292B Use 312410W
502293B Yoke, implement end 126.81$       
502294B Guard cone & bearing assembly 73.06$          
502295B Use 183570W
502296B Bearing ring 8.27$            
502297B Use 183570W
502298B Use 368508W
502299B Use 502296B
502300B Use 365370W
502301B Use 044321W
502302B Use 0001036
502303B Use 0800303AB
502304B Use 08203B
502305B Use 0018044
502306B Use 1903010A
502307B Use 3031106A
502308B Use 3131106A
502309B Use 0018044
502310B Use 1903012A
502311B Use 0800303AB
502312B Use 52000001B
502313B Lock collar, outer shield 9.02$            
502314B Guard cone, outer shield 53.64$          
502315B Shield, outer tube 47.21$          
502316B Shield, inner tube 36.02$          
502317B Guard cone, inner shield 38.31$          
502318B Lock collar, inner shield 8.57$            
502319B Push pin set 7.99$            
502320B Pin, twist collar yoke 8.32$            
502321B Collar, twist yoke 9.90$            
502322B Shield, complete 152.71$       
502323B Tree point hitch 636.18$       
502324B Pin 16.87$          
502325B Stand 57.97$          
502326B Lynch pin 8.24$            
502327B Housing, gearbox 435.07$       
502328B Pinion gear Z9 147.55$       
502329B Shim Ø35x53x1 3.51$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 149

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502330B Spacer 66x70x30 14.05$          
502331B Use 0042122
502332B Use 0025329
502333B Protection (bolt on) 127.81$       
502334B Inner drive tube, right 13' 4" 228.31$       
502335B Inner drive tube, right 16' 0" 259.18$       
502336B Inner drive tube, left 13' 4" 247.39$       
502337B Inner drive tube, left 16' 0" 259.18$       
502338B Gasket 7.64$            
502339B Use 502964B
502340B Use 502974B
502341B Input shaft 264.36$       
502342B Input shaft 185.73$       
502343B Key 10x8x30 2.73$            
502344B Use 0006689
502345B Ring gear Z27 199.61$       
502346B Oil seal 40.70.10 TC 14.06$          
502347B Lateral gear Z21 135.98$       
502348B Bearing 6207‐ZZ 24.30$          
502349B Joint w/10 mm. key way 194.34$       
502350B Shaft 13' 4" 170.71$       
502351B Shaft 16' 0" 137.19$       
502352B Use 502968B
502353B Joint block A 494.82$       
502354B Joint block B 398.18$       
502355B Washer external lock Ø12 Z 0.46$            
502356B Use 0007716
502357B Pin Ø20x110 18.76$          
502358B Use 0050145
502359B Use 502625B
502360B Spacer 30x42x21 10.20$          
502361B Flange Ø330 mm., 12 holes 292.97$       
502362B Tine arm 13' 4" 42.40$          
502363B Tine arm 16' 0" 77.20$          
502364B Washer flat Ø30 N 3.39$            
502365B Shaft w/flange, left 132.69$       
502366B Shaft w/flange, right 183.50$       
502367B Washer flat Ø12 0.46$            
502368B Use 0015255
502369B Wheel support block 136.65$       
502370B Wheel shaft 125.80$       
502371B Wheel shaft 125.80$       
502373B Cover, inner 9.85$            
502374B Cover, outer 9.85$            
502375B Wheel complete 15x600‐6 199.11$       
502376B Use 0008568
502377B Drive tube 13' 4" 185.73$       
502378B Outer drive tube, left 16' 0" 235.63$       
502379B Lateral housing, gearbox 351.00$       
502380B Pin Ø10x10 1.47$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 150

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502381B Use 502360B
502382B Support, wheel shaft 144.16$       
502383B Use 502371B
502384B Use 502370B
502385B Attaching brackets, pull‐type 23.06$          
502388B Adjusting screw 37.03$          
502389B Stand 57.97$          
502390B Pin 4.61$            
502391B Tongue, pull‐type 622.04$       
502392B Centrifugal clutch 210.85$       
502393B Engine 0.01$            
502394B Throttle control 8.18$            
502395B Bracket, throttle control 39.10$          
502396B Idler pulley 13.11$          
502397B Bolt HH M06‐1.00x45 C8.8 Z F 0.48$            
502398B Bolt HH 7/16"‐20x1.00" G5 Z F 0.99$            
502399B Washer lock 7/16" Z 0.10$            
502400B Bolt HH 1/2"‐13x2.00" G5 Z P 1.18$            
502401B Use 502863B
502402B Use 0052892
502403B Reinforcement strap 23.55$          
502404B Use 0050165
502405B Use 0050166
502406B Bearing RB 1.00"IDx1.375"ODx1.00", air tire 4.23$            
502407B Retainer, air tire 1.04$            
502409B Spindle, gauge wheel left 130.76$       
502410B Spindle, gauge wheel right 138.61$       
502411B Wheel support block 55.69$          
502412B Use 0064841
502413B Use 503033B
502414B Elbow 90° 3/4" ORB 3/8" FNPT 10.39$          
502415B Use 502164B
502416B Use 502098B
502417B Tongue rake cart 176.29$       
502418B Nut HH 1/2"‐13 G2 Z 0.28$            
502419B Use 0052892
502420B Bolt HH 1/2"‐13x4.50" G5 Z P 1.63$            
502421B Main frame, rake cart 313.99$       
502422B Hub, wheel 55.38$          
502423B Nut CA 1"‐14 Z 3.76$            
502424B Use 502101B
502425B Use 503486B
502426B Rim, hay cart 74.24$          
502427B Collar 2.5", holder hitch support 21.20$          
502428B Use 1901136
502429B Use 0091507
502430B Pin transport 1/2"x4.44" Z 5.85$            
502431B Use 502857B
502432B Backing plate hydraulic support 29.56$          
502433B Hairpin cotter 1.32$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 151

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502434B Connecting pin 9.19$            
502435B Support frame holder hitch, right 237.68$       
502436B Support frame holder hitch, left 237.68$       
502437B Hydraulic support bracket, right 205.39$       
502438B Hydraulic support bracket, left 205.39$       
502439B Use 502866B
502440B Use 502865B
502441B Spindle arm, right 275.86$       
502442B Spindle arm, left 275.86$       
502443B Bolt HH 5/8"‐11x6.00" G5 Z P 2.89$            
502444B Collar 1.5", holder hitch support 19.65$          
502445B Hydraulic hose 160" 82.27$          
502446B Hydraulic hose 26" 23.64$          
502447B Grease fitting 1/4" PR STR Z 1.13$            
502448B Hydraulic tee 3/8" FNPT w/bolt 22.04$          
502449B Hitch pin, top 10.07$          
502450B Connecting shaft 288 124.04$       
502451B Connecting shaft 328 129.80$       
502452B A frame 288 1,392.97$    
502453B A frame 328 1,479.07$    

502454B Positioning handle 69.43$          
502455B Protective bar, left 288 155.11$       
502456B Protective bar, left 328 199.09$       
502457B Protective bar, right 288 163.72$       
502458B Protective bar, right 328 207.69$       
502459B Pin 3.57$            
502460B Telescopic arm 176.34$       
502461B Pin 3.57$            
502462B Plate 4.84$            
502463B Locking pin 3.84$            
502464B Stand 5.29$            
502466B Frame wheel support 387.73$       
502467B Key 8x10x110 4.31$            
502468B Height adjustment 95.65$          
502469B Locking lever 11.07$          
502470B Washer flat Ø16 0.09$            
502471B Wheel yoke, left 125.68$       
502472B Wheel yoke, right 125.68$       
502473B Rim, wheel 65.61$          
502474B Spacer 6.23$            
502475B Inner tube 39.50$          
502476B Tire 64.47$          
502477B Dust cover 5.22$            
502478B Use 0050049
502479B Handle cover 2.49$            
502480B Lock pin 4.84$            
502481B Washer flat Ø13 Z 2.44$            
502482B Housing, gearbox 1,065.11$    
502483B Ring gear Z68 591.10$       
502484B Bolt SC M10‐1.50x18 C8.8 N F 1.16$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 152

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502485B Use 0002073
502486B Spacer Ø70.3x50.3x2.5 7.48$            
502487B Key 10x8x50 2.89$            
502488B Spacer Ø50.3x70.3 3.57$            
502489B Use 0025115
502490B Bushing 72.33$          
502491B Upper cover, gearbox housing 424.80$       
502492B Bearing needle 20x26x16 32.18$          
502493B Use 0057511
502494B Spacer washer Ø49x71.7x0.2 1.39$            
502495B Pinion gear Z10 232.13$       
502496B Use 0042122
502497B Use 0025329
502498B Spacer washer Ø71x109.7x0.2 2.02$            
502499B Cam 194.60$       
502500B Bottom cover, gearbox housing 171.62$       
502501B Oil seal 50.72.8 TC 11.73$          
502502B Center shaft 471.04$       
502503B Fill plug 1/2" 3.12$            
502504B Connecting rod 176.89$       
502505B Spacer 3.12$            
502506B Use 0085173
502507B Use 0057513
502508B Use 0050204
502509B Hitch pin, lower 11.07$          
502510B Use 503548B
502511B Safety frame right/left 170.62$       
502512B Lock pin 3.37$            
502513B A frame 1,156.13$    
502514B A frame support 31.18$          
502515B Support bar 9' 0" 17.00$          
502516B Support bar 10' 8" 17.00$          
502517B Wheel yoke, right 145.21$       
502518B Wheel yoke, left 145.21$       
502519B Disc, inner 13.72$          
502520B Tire 15x6.00x6 90.27$          
502521B Inner tube 36.61$          
502522B Spacer 10.66$          
502523B Disc, outer 23.15$          
502524B Rim 78.91$          
502525B Key 8x7x30 1.05$            
502526B Drive tube, right 9' 0" 365.44$       
502527B Drive tube, left 9' 0" 365.44$       
502528B Drive tube, right 10' 8" 365.44$       
502529B Drive tube, left 10' 8" 365.44$       
502530B Arm 9' 0" 80.65$          
502531B Arm 10' 8" 64.06$          

502532B Bushing 3.87$            
502533B Side gearbox, right 446.07$       
502534B Side gearbox, left 446.07$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 153

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502535B Thru shaft 9' 0" 208.07$       
502536B Thru shaft 10' 8" 208.07$       
502537B Coupling shaft, round bore 216.03$       
502538B Grease fitting 1/4"‐28 threaded 1.77$            
502539B Back plate 37.90$          
502540B Nut SP M06‐1.00 6.77$            
502541B Screw M06x11 14.46$          
502542B Use 0044139
502543B Pin cat. 1‐2, top hitch 69.31$          
502544B Anti swivel brackets 7.68$            
502545B Reinforcement plate 9.27$            
502546B Lateral cover 13' 4" 268.05$       
502547B Lateral cover 16' 8" 259.18$       
502548B Use 0046454
502549B Rubber cover 25.41$          
502550B Central cover 13' 4" 360.06$       
502551B Central cover 16' 8" 349.89$       
502552B Plastic knob 14.60$          
502553B Handle 27.12$          
502554B Snap ring, inner Ø30 2.62$            
502555B Washer flat Ø22 Z 2.03$            
502556B Spring 4.88$            
502557B Lock pin 48.01$          
502558B Pin 72.02$          
502559B Joint, top link 60.01$          
502560B Hairpin cotter 4.31$            
502561B Lock pin 32.55$          
502562B Gasket 4.31$            
502563B Frame, left 13' 4" 900.10$       
502564B Frame, left 16' 8" 900.10$       
502565B Bushing 7.70$            
502566B Hinge left/right 168.01$       
502567B Use 0015271
502568B Frame, center 13' 4" 1,800.19$    
502569B Frame, center 16' 8" 1,800.19$    
502570B Oil cap 3/4" 15.61$          
502571B Washer plastic Ø26 15.36$          
502572B Use 0091507
502573B Hitch 13' 4" 960.12$       
502574B Hitch 16' 8" 960.12$       
502575B Bushing 40x35 2.85$            
502576B Spacer 48.01$          
502577B Use 0050049
502578B Use 0055047
502579B Tree point hitch 13' 4" 960.12$       
502580B Tree point hitch 16' 8" 960.12$       
502581B Hitch pin, lower cat. 1‐2 39.14$          
502582B Hairpin cotter Ø8 6.02$            
502583B Support 60.01$          
502584B Roll pin Ø8x35 2.28$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 154

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502585B Frame, right 13' 4" 900.10$       
502586B Frame, right 16' 8" 900.10$       
502587B Safety guard left/right 13' 4" 195.71$       
502588B Safety guard left/right 16' 8" 300.05$       
502589B Snap ring, inner Ø25 2.03$            
502590B Handle 25.41$          

502591B Use 0067217
502592B Washer flat Ø16 N 2.03$            
502593B Spring 4.31$            
502594B Use 502592B
502595B External tube 13' 4" 90.04$          
502596B External tube 16' 8" 90.04$          
502597B Spring 113.68$       
502598B Internal tube 13' 4" 90.04$          
502599B Internal tube 16' 8" 90.04$          
502600B Pinion shaft 438.04$       
502601B Support 270.01$       
502602B Use 0042122
502603B Ring 9.74$            
502604B PTO guard 40.85$          
502605B Key 8x7x45 2.62$            
502606B Gear 299.88$       
502607B Support 66.01$          
502608B Lateral shaft 13' 4" 288.02$       
502609B Lateral shaft 16' 8" 280.74$       
502610B Yoke 13' 4" 360.06$       
502611B Yoke 16' 8" 360.06$       
502612B Key 8x7x32 2.71$            
502613B Rubber cover 33.70$          
502614B Main gear 436.26$       
502615B Housing, lateral gearbox 360.06$       
502616B Shaft 149.93$       

502617B Oil seal 30.62.7 TC 9.85$            
502618B Use 0002294
502619B Spacer 25.94$          
502620B Housing, main gearbox 420.03$       
502621B Main shaft 13' 4" 258.05$       
502622B Main shaft 16' 8" 250.60$       
502623B Tine arm 13' 4" 64.59$          
502624B Tine arm 16' 8" 79.61$          
502625B Roll pin Ø6x50 2.62$            
502626B Use 0067217
502627B Washer plate 6.36$            
502628B Handle 25.41$          
502629B Use 502552B
502630B Use 502589B
502631B Use 502592B
502632B Spring 4.31$            
502633B Use 502592B
502634B Gear 600.09$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 155

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502635B Flange 13' 4" 132.80$       
502636B Flange 16' 8" 157.15$       
502637B Use 0064648
502638B Bushing 36x30 6.84$            
502639B Bracket 13' 4" 119.98$       
502640B Bracket 16' 8" 119.98$       
502641B Use 502638B
502642B Wheel yoke, right 13' 4' 216.03$       
502643B Wheel yoke, right 16' 8" 216.03$       
502644B Wheel yoke, left 13' 4' 216.03$       
502645B Wheel yoke, left 16' 8" 216.03$       
502646B Wheel cover, inner 19.98$          
502647B Wheel 15x600x6 182.27$       
502648B Wheel cover, outer 19.98$          
502649B Use 502592B
502650B Use 0026314
502651B Grease cap 9.38$            
502652B Washer conical Ø12 N 2.03$            
502653B PTO shaft, keyed 185.37$       
502655B Pulley SPB 325x4, keyed 465.07$       
502656B Split lock bushing 40x65, keyed 70.90$          
502657B Key 12x8x63 2.17$            
502658B Pin 51.04$          
502659B Release pin 0.01$            
502660B Roll pin Ø10x40 0.01$            
502661B Release spring 0.01$            
502662B Hydraulic hose stand 0.01$            
502663B Drawbar 0.01$            
502664B Adjustable Jack 0.01$            
502665B Hydraulic hose 0.01$            

502666B Linking bracket 64.80$          
502667B Ram pin 0.01$            
502668B Drawbar plate 0.01$            
502669B Bushing 0.01$            
502670B Main lifting pipe 0.01$            
502671B Secondary lifting pipe 0.01$            
502672B U clamp 12.95$          
502673B Extension frame 0.01$            
502674B Short lifting bar 0.01$            
502675B Main frame 0.01$            
502676B Lifting pipes bracket 32.40$          
502677B 90 degree fitting 31.09$          
502678B Washer 0.01$            
502679B Hydraulic cylinder 0.01$            
502680B Main pin 0.01$            
502681B Drawbar frame 0.01$            
502682B Washer 8.18$            
502683B Spring 0.01$            
502684B Upper clutch 0.01$            
502685B Clutch disc 97.21$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 156

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502686B Roll pin Ø10x60 2.82$            
502687B Lower clutch 0.01$            
502688B Bushing 34.72$          
502689B Bushing 0.01$            
502690B Wheel fork 317.07$       
502691B Spacer 6.28$            
502692B Washer spacer 16.22$          
502693B Nut cap 32.40$          
502694B Wheel hub 115.95$       
502695B Wheel pin 108.78$       
502696B Use 0019048
502697B Wheel 0.01$            
502698B Wheel stop plate 12.95$          
502699B Wheel stop pin 0.17$            
502700B Hairpin cotter 0.01$            
502701B Bushing 0.01$            
502702B Wheel fork 353.77$       
502703B Wheel arm 0.01$            
502704B Arm spring 18.80$          
502705B Wheel arm chain 12.95$          
502706B Bushing 0.01$            
502707B Washer 0.01$            
502708B Cotter pin 0.01$            
502709B Cotter pin 0.01$            
502712B Grease fitting Ø10 PR STR 2.83$            
502713B Use 503624B
502714B Flat bed 1,504.19$    
502715B Mount frame 444.56$       
502716B Front drive guard 75.84$          
502717B Rear drive guard 65.43$          
502718B Rear shroud 323.99$       
502719B Idler bracket 15.69$          
502720B Bolt HH M06‐1.00x25 C8.8 Z F 0.26$            
502721B Use 0046536
502722B Bolt "U" 1/2"‐13x4.00" Z 11.60$          
502723B Use 502418B
502724B Use 0052892
502725B Battery cover 0.01$            
502726B Bolt "J" w/wing nut 1/2"‐13x6.00 Z 0.01$            
502727B Fuel tank cover 65.43$          
502728B Shaft 1.12"x34.00" 157.36$       
502729B Shaft 1.00"x8.25" 90.74$          
502730B Pillow block bearing 1 1/8" 66.19$          
502731B Pillow block bearing 1" 39.30$          
502732B Clutch 773.34$       
502733B Sheave BK 72x3‐7/8" 314.73$       
502734B Sheave BK 36x1" 83.78$          
502735B Sheave BK 105x30 mm. 140.36$       
502736B Sheave BK 34x1‐1/8" 58.46$          
502737B Flat idler 48.50$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 157

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502738B Idler bracket 20.94$          
502739B Belt B49 21.28$          
502740B Belt 5L320 12.54$          
502741B Key 1/4"x4.00" 2.88$            
502742B Key 1/4"x1.50" 2.60$            
502743B Bolt HH 1/2"‐13 x 2.50" G5 Z P 0.56$            
502744B Use 502418B
502745B Bolt SC 1/2"‐13x2.00" Z 0.67$            
502746B Use 0052892
502747B Use 502863B
502748B Use N00C1032
502749B Spacer 4.64$            
502750B Pin 3.15$            
502751B PTO shaft 329.30$       
502752B Split locking ring 33.04$          
502753B Clutch power wiring harness 52.32$          
502754B Bolt SC M06‐1.00x20 C12.9 N F 0.26$            
502755B PTO switch w/wiring harness 75.84$          
502756B Hydraulic cylinder rebuild kit 24.11$          
502757B Repair kit, hydraulic cylinder 26.37$          
502758B Breather cap 3/8" NPT, hydraulic cylinder 20.38$          
502761B Use 502949B
502762B Use 502950B
502763B Use 503613B
502764B Use 0006619
502765B Twist collar assembly (Neapco) 44.00$          
502766B Cross w/bearing (Neapco) 68.34$          
502767B Washer 2.44$            
502768B Blade, chipper 102.77$       
502769B Anvil 94.51$          
502770B Pulley B110 SF 388.74$       
502771B Pulley B 4.50" 162.98$       
502772B Pulley B 12.00" OD 43.79$          
502773B Pulley 2.50" OD 27.13$          
502774B Pulley 4.00" OD 47.23$          
502775B Pulley B 8.25" OD 98.04$          
502776B Bushing 1.38" 64.27$          
502777B Bushing SD 1.94" 39.26$          
502778B Shaft 1.00"x7.50" 35.73$          
502779B Shaft 1.37"x19.00" 206.00$       
502780B Shaft 1.94"x46.00" 866.23$       
502781B Feed roller x1 CRRB shaft 185.14$       
502782B Key 5/16"x3.00" 5.04$            
502783B Key 1/2"x5/16"x1.75" 6.44$            
502784B Key 1/4"x3.00" 4.61$            
502785B Belt AP56 13.28$          
502786B Belt BX42 28.47$          
502787B Belt BX67 41.21$          
502788B Pulley take up 14.81$          
502789B Linkage, long 12.77$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 158

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502790B Linkage, short 7.41$            
502791B Bracket, pivot 18.53$          
502792B Bracket, take up 16.39$          
502793B Bracket, belt 13.89$          
502794B Support FB160URX 1" 46.95$          
502795B Support PB221URX 1 3/8" 74.64$          
502796B Support PB220URX 1 15/16" 136.55$       
502797B Lock collar for 502‐795B 30.95$          
502798B Lock collar for 502‐796B 30.95$          
502799B Spring, small take up 31.79$          
502800B Use 502801B
502801B Spring, feed roller 11.14$          
502802B Cotter pin 5/32"x2.00" 0.26$            
502803B Use 0069513
502804B Bracket, dual idler 16.21$          
502805B Mount plate 9.27$            
502806B Stud 5/8"‐11x6.00" N 13.11$          
502807B Nut PT 5/8"‐18 Z 2.02$            
502808B Washer flat 5/8" USS Z 0.32$            
502809B Bolt HH 5/8"‐18x2.50" G8 Z P 1.11$            
502810B Bolt SP 1/2"‐20x9.094" G8 N P 43.80$          
502811B Bolt HH 1/2"‐13x3.00" G5 Z P 0.74$            
502812B Bolt HH 1/2"‐13x2.00" G5 Z F 1.03$            
502813B Use 0005744
502814B Bolt CR 1/2"‐13x3.00" Z F 0.96$            
502815B Nut ES 3/8"‐16 Z 0.22$            
502816B Bolt HH 3/8"‐16x2.00" G5 Z P 0.43$            
502817B Washer flat 3/8" USS Z 0.09$            
502818B Use 0057384
502819B Use 0046545
502820B Bolt HH 1/4"‐20x1.50" G5 Z P 0.17$            
502821B Use 502871B
502822B Main frame 822.77$       
502823B Guard, left side 55.54$          
502824B Front guard, lower 42.56$          
502825B Guard, right side 92.56$          
502826B Chipper drum 1,822.16$    
502827B Chipper chute 958.68$       
502828B Chipper skirt 28.28$          
502829B Skirt, mount 18.53$          
502830B Chute wear pad, 16" wide 42.28$          
502831B Feed roller, engagement handle 25.23$          
502832B Cover, chipper chute top 97.29$          
502833B Drum shroud, top section 106.91$       
502834B Drum Shroud, mid section 106.91$       
502835B Drum Shield, bottom section 179.56$       
502836B Plate, divider 156.91$       
502837B Fan 405.10$       
502838B Shroud, fan 198.12$       
502839B Discharge transition 155.65$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 159

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502840B Clamp 90.86$          
502841B Pipe, discharge 127.15$       
502842B Deflector, screw handle 17.52$          
502843B Deflector 58.80$          
502844B Mulcher, body 1,040.76$    
502845B Mulcher, screen 151.66$       
502846B Mulcher, clean out door 20.41$          
502847B Mulcher, blade access panel 118.33$       
502848B Mulcher, blade anvil 54.94$          
502849B Mulcher, shroud 103.71$       
502850B Mulcher, chute 237.98$       
502851B Shaft, blade 693.12$       
502852B Blade, mulcher 3.17$            
502853B Plate, mulcher body end 94.13$          
502854B Support FB260URX 1 1/4" S 57.35$          
502855B Stud 5/8"‐11x16.5" N 17.03$          
502856B Nut PT 5/8"‐11 G2 Z 1.17$            
502857B Bolt HH 5/8"‐11x6.50" G5 Z P 3.19$            
502858B Hitch pin 7/8"‐14x3.00" Z 8.17$            
502859B Washer lock 7/8" Z 0.76$            
502860B Nut HH 7/8"‐14 G2 Z 1.76$            
502861B Use 504011B
502862B Use 0005744
502863B Washer flat 1/2" USS Z 0.22$            
502864B Bolt HH 5/8"‐11x1.50" G5 Z F 1.12$            
502865B Nut HH 5/8"‐11 G2 Z 0.43$            
502866B Washer lock 5/8" Z 0.24$            
502867B Use 1902073
502868B Nut ES 5/16"‐18 Z 0.32$            
502869B Bolt HH 1/4"‐20x0.75" G5 Z F 0.18$            
502870B Use 502869B
502871B Washer lock 1/4" Z 0.12$            
502872B Washer flat 1/4" USS Z 0.12$            
502873B Nut ES 1/4"‐20 G2 Z 0.12$            
502874B Rim 178.60$       
502875B Agitator fixing plate 44.64$          
502876B Bolt HH M14‐2.00x80 C8.8 Z F 2.17$            
502877B Use 1701029C
502878B Use 0026342
502879B Use 1520109C
502880B Use 1521109C
502881B Use 0026342
502882B Use 1701027C
502883B Guard cone, inner shield 23.12$          
502884B Lock collar 5.62$            
502885B Use 90SS1047C
502886B Inner tube 23.89$          
502887B Outer tube 29.54$          
502888B Guard cone, outer shield 20.41$          
502889B Use 52000001B

All prices are FOB Rocky Mount, NC and are subject to change without notice. 160

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502890B Bolt CR M12‐1.75x60 C4.6 Z 2.80$            
502891B Shielding, side 52.32$          
502892B Shielding, front 0.01$            
502893B Bracket, rear 899.05$       
502894B Transport hook, rear 471.38$       
502895B Lift side, right 22' 0.01$            
502896B Lift side, left 22' 0.01$            
502897B Lift side, right 26' 0.01$            
502898B Lift side, left 26' 0.01$            
502899B Lift arm, right 235.35$       
502900B Lift arm, left 235.35$       
502901B Tire 11 L ‐ 14 SL 0.01$            
502902B Use 503479B
502903B Oil seal 16289 12.06$          
502904B Use 503481B
502905B Washer 1.48$            
502906B Use 503484B
502907B Cotter pin 0.01$            
502908B Bolt lug 4.86$            
502909B Hub, wheel 138.53$       
502910B Cylinder block 0.01$            
502911B Transport tube 0.01$            
502912B Hydraulic cylinder 300.84$       
502913B Pin 0.01$            
502914B Hairpin cotter 0.76$            
502915B Turnbuckle 130.76$       
502916B Hairpin cotter 0.01$            
502918B Drawbar 0.01$            
502919B Hairpin cotter 0.01$            
502920B Pin, front hitch 0.01$            
502921B Front hitch 152.73$       
502922B Hitch pin 28.57$          
502923B Washer 1.77$            
502924B Nut 1.47$            
502925B Stand, three point hitch 32.94$          
502926B Base, three point hitch 250.24$       
502927B Frame holder hitch 269.30$       
502928B Pin locking Ø16x178 Z 22.40$          
502929B Spring hitch pin 10.76$          
502930B Use 502933B
502931B Use 0091507
502932B Top link bracket 27.12$          
502933B Pin, top hitch Ø19x140 Z 17.21$          
502934B Top link support 63.95$          
502935B Upper spring clip 24.36$          
502936B Spring external 0.35x1.78x12.00 PA 41.02$          
502937B Lower spring clip 31.62$          
502938B Use 0084619
502939B Pin frame holder Ø25x165 Z 21.44$          
502940B Pivot housing 131.48$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 161

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502941B Lock plate frame holder hitch 19.77$          
502942B Support arm, 2 wheel 261.49$       
502943B Support arm, 4 wheel 487.91$       
502944B Support arm, 5 wheel 516.05$       
502945B Support arm, 6 wheel 795.05$       
502946B Use 0084619
502947B Arm w/hub 2 wheel, right 277.10$       
502948B Arm w/hub 2 wheel, left 277.10$       
502949B Rake wheel complete, right 301.13$       
502950B Rake wheel complete, left 301.13$       
502953B Nut CA M18‐1.50 N MD 6.91$            
502954B Arm w/hub, 1 wheel 207.30$       
502955B Main frame, three point rake 1,046.01$    
502956B Lower bracket 50.53$          
502957B Lower bracket plate 22.03$          
502958B Stand, three point hitch 56.37$          
502959B Pin locking Ø15x170 Z 9.76$            
502960B Upper bracket plate 21.39$          
502961B Upper bracket 79.09$          
502962B Hitch pin cat. 1‐2 34.61$          
502963B Use 502327B
502964B Oil plug, upper 8.28$            
502965B Drive tube, right 286.43$       
502966B Drive tube, left 286.43$       
502967B Central shaft 271.15$       
502968B Spacer 40x44x61 8.65$            
502969B Use 502347B
502970B Use 502345B
502971B Use 502379B
502972B Washer internal lock Ø12 0.49$            
502973B Use 501872B
502974B Oil plug, lower 7.00$            
502975B Use 502360B
502976B Flange w/gear 292.17$       
502977B Bolt SC M14‐2.00x25 C8.8 Z F 2.51$            
502978B Use 502364B
502979B Wheel support, left 212.99$       
502980B Wheel support, right 212.99$       
502981B Use 502373B
502982B Use 502374B
502983B Use 502375B
502984B Protection, clamp on 21.20$          
502985B Use 502329B
502986B Use 502330B
502987B Use 502329B
502988B Use 502328B
502989B Fixed tine arm w/pin 116.96$       
502990B Adjustable tine arm 107.13$       
502991B Use 501840B
502992B Wheel support 147.70$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 162

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
502993B Use 502370B
502994B Use 502371B
502995B Tine arm wrench 37.70$          
502996B Tree point hitch 526.56$       
502997B Knob M10 13.77$          
502998B Safety frame 77.97$          
502999B Bolt "U" M12‐1.75x85x125 Z 23.41$          
503000B Safety frame attaching plate 66.80$          
503001B Frame, pull‐type 75.40$          
503002B Adjusting screw 32.98$          
503003B Tongue, pull‐type 673.62$       
503004B Input shaft w/groove 280.37$       
503005B Joint w/groove 194.34$       
503006B Lateral shaft w/groove 137.19$       
503007B Transport bracket, right 42.16$          
503008B Transport bracket, left 42.16$          
503009B Spindle 66.36$          
503010B Use 0800203B
503011B Use 08202B
503012B Use 1902010A
503013B Use 1523108C
503014B Use 1522108C
503015B Use 0026342
503016B Use 1902012A
503017B Lock collar, outer shield 6.02$            
503018B Guard cone, outer shield 27.45$          
503019B Shield, outer tube 54.61$          
503020B Shield, inner tube 43.13$          
503021B Guard cone, inner shield 26.80$          
503022B Lock collar, inner shield 5.91$            
503023B Push pin set 7.59$            
503024B Shield, complete 164.55$       
503025B Snap ring, inner Ø83 4.44$            
503026B Sealing ring 24.30$          
503027B Hub w/Q.D. 156.66$       
503028B Ratchet 7.54$            
503029B Housing w/yoke 226.16$       
503030B Use 0051129
503031B Shield, complete 148.03$       
503032B Torque limiter, complete 463.12$       
503033B Hydraulic cylinder 1.13Rx2.00BX8.00S 191.12$       
503034B Use 0058120
503035B Coupling pin 19.33$          
503036B Washer flat Ø35 Z 2.83$            
503037B Use 502369B
503038B Use 502371B
503039B Use 502370B
503040B Spring 115.34$       
503041B Connecting shaft 288 179.54$       
503042B Connecting shaft 328 191.74$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 163

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503043B Bushing 44.97$          
503044B Hitch pin, top 0.01$            
503045B Frame 288 0.01$            
503046B Frame 328 0.01$            
503047B Pin 9.19$            
503048B Pin 9.19$            
503049B Cotter pin 0.01$            
503050B Locking handle 0.01$            
503051B Support, side rake frame 110.83$       
503052B Stand 0.01$            
503053B Side rake top plate 10.49$          
503054B Side rake frame 104.63$       
503055B Spring tine, side rake 8.72$            
503056B Tine 35.22$          
503057B Tine arm 288 106.72$       
503058B Tine arm 328 119.84$       
503059B Spacer 10.82$          
503060B Threaded rod 22 mm. 148.11$       
503061B Set screw 2.10$            
503062B Washer flat Ø36 N 0.49$            
503063B Frame wheel support 297.36$       
503064B Washer flat Ø17 Z 0.49$            
503065B Roll pin 0.01$            
503066B Wheel yoke, right 124.87$       
503067B Wheel yoke, left 124.87$       
503068B Rake arm support 430.64$       
503069B A frame 0.01$            
503070B Rake arm 176.71$       
503071B Tine, rake arm 11.36$          
503072B Safety frame, left 212.06$       
503073B Spacer block 0.90$            
503074B Support UCFL207 99.10$          
503075B Hitch block 87.09$          
503076B Support stand 44.38$          
503078B Wheel yoke, right 109.12$       
503079B Wheel yoke, left 109.12$       
503080B Use 502373B
503081B Safety frame, right 212.06$       
503082B Axle, wheel support 848.24$       
503083B Spring clip 5.83$            
503084B Tine 28.33$          
503085B Tine arm 106.03$       
503086B Central shaft 212.04$       
503087B Housing w/yoke 218.12$       
503088B Use 503399B
503089B Use 503399B
503090B Input shaft w/groove 159.76$       
503091B Lateral shaft w/groove 142.88$       
503092B Front frame 0.01$            
503093B Roll pin Ø10x60 2.82$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 164

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503094B Brake disc 105.69$       
503095B Brake spring 14.38$          
503096B Plate 20.71$          
503097B Bushing 5.94$            
503098B Washer flat Ø40 Z 9.94$            
503099B Wheel yoke 238.07$       
503100B Wheel complete 271.91$       
503101B Bracket 0.01$            
503102B Washer 0.01$            
503103B Center frame 0.01$            
503104B Locking pin 0.01$            
503105B Bushing 25.99$          
503106B Wheel yoke 256.04$       
503107B Roll pin Ø8x25 0.01$            
503108B Wheel pin 32.65$          
503109B Spacer 8.85$            
503110B Spacer 7.32$            
503111B Spacer 8.22$            
503112B Stop plate 16.04$          
503113B Washer lock 0.19$            
503114B Bearing 6306‐Z 0.01$            
503115B Hub 105.14$       
503116B Use 0055440
503117B Nut 4.31$            
503118B Rim 142.24$       
503119B Tube 0.01$            
503120B Tire 172.38$       
503121B Washer flat Ø31 Z 1.84$            
503122B End frame 0.01$            
503123B Use 502625B
503124B Spring 27.53$          
503125B Bushing w/chain 34.99$          
503126B Hub complete 85.68$          
503127B Wheel arm complete 184.40$       
503128B Hitch post, right 0.01$            
503129B Hitch post, left 0.01$            
503130B Pin 55.69$          
503131B Roll pin Ø6x70 1.07$            
503132B Use 0007716
503133B Bushing 4.31$            
503134B Spring 11.65$          
503135B Lock pin 26.60$          
503136B Roll pin Ø6x80 1.34$            
503137B Use 503098B
503138B Use 503099B
503139B Hitch 0.01$            
503140B Use 503096B
503141B Use 503095B
503142B Pin 14.38$          
503143B Hydraulic stand 58.74$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 165

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503144B Use 503121B
503145B Shaft 59" 0.01$            
503146B Coupling 14.86$          
503147B Shaft 130" 99.62$          
503148B Hydraulic support shaft 63.86$          
503149B Hydraulic cylinder body 0.01$            
503150B Cylinder head 49.89$          
503151B Gasket 53.18$          
503152B Guide 68.90$          
503153B Scraper WRM 078110 27.64$          
503154B Shaft 129.30$       
503155B Use 0041291
503156B Washer Ø30 0.01$            
503157B Hydraulic hose 221.96$       
503158B Pin 25.11$          
503159B Gasket 4.01$            
503160B Bolt hollow 3/8"x1.25" Z 12.34$          
503161B Hydraulic cylinder complete 394.11$       
503162B Bushing, mulcher shaft 24.66$          
503163B Tongue 229.88$       
503164B Transport lock bracket 21.36$          
503165B Bolt SC M10‐1.50x50 C8.8 Z P 3.31$            
503166B Wheel w/air tire complete 100.16$       
503167B Frame, 3 wheel 0.01$            
503168B Short arm, 3 wheel 1,243.00$    
503169B Bracket, front roller 50.91$          
503170B Pull type tongue assembly 16' 8" 765.47$       
503171B Cover 326.21$       
503172B Tree point hitch 869.14$       
503173B Stand 54.77$          
503174B Gasket 3.91$            
503175B Ring gear, main 407.38$       
503176B Support bearing 60.06$          
503177B Drive shaft, main 234.04$       
503178B Pinion gear 267.05$       
503179B Use 502617B
503180B Housing, gearbox 380.31$       
503181B Rotor support 326.21$       
503182B Frame 1,629.80$    
503183B Oil plug 8.85$            
503184B Gasket 2.03$            
503185B Safety frame 271.98$       
503186B Rotor shaft 118.63$       
503187B Use 0050211
503188B Ring gear, rotor 543.44$       
503189B Disc 168.87$       
503190B Tine arm 43.36$          
503191B Wheel arm support 108.86$       
503192B Wheel arm, left 195.57$       
503193B Wheel arm, right 195.57$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 166

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503194B Use 0064648
503195B Use 502625B
503196B Pinion shaft 396.64$       
503197B Bearing 6207‐2RS 25.40$          
503198B Support 244.93$       
503199B Use 0030211
503200B Cover, gearbox 22.13$          
503201B Use 0002294
503202B Spacer 24.15$          
503204B Agitator fixing plate 16.85$          
503205B Use 0001154
503206B Retaining washer 19.02$          
503207B Retaining washer 1.89$            
503208B Hub 1‐3/8" Z6 67.06$          
503209B Ratchet tooth 4.20$            
503210B Outer spring 1.95$            
503211B Inner spring 1.95$            
503212B Outer casting w/yoke 91.57$          
503213B Use 1521109C
503214B Use 1520109C
503215B Use 1581038C
503216B Use 0051129
503217B Torque limiter, complete 181.67$       
503218B Locking collar, outer tube 2.82$            
503219B Guard cone, outer tube 13.94$          
503220B Shield, outer tube 160.67$       
503221B Shield, inner tube 189.65$       
503222B Guard cone, inner tube 13.94$          
503223B Locking collar, inner tube 8.57$            
503224B Shield, complete 104.09$       
503225B Use 0054290
503226B Wheel complete 392.27$       
503228B Hub w/spindle 232.51$       
503229B Hydraulic hose 35" 67.30$          
503230B Bearing 7207 116.90$       
503231B Roller pin, anti‐scalp roller 15.11$          
503232B Extension, chipper hopper 83.69$          
503233B Hitch block 37.03$          
503234B Skid riser, gearbox 19.79$          
503235B Skid riser, pan 29.51$          
503236B Use 0109470
503238B Use 0018038
503239B Use 0018032
503240B Outer casting w/yoke 103.24$       
503241B Breather cap 11.48$          
503242B Use 502954B
503243B Rear assembly 1,481.11$    
503244B Sprocket assembly, GRT‐II 450 131.11$       
503245B Retainer 5.57$            
503246B Bearing 6.77$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 167

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503247B Front weight bracket 512.55$       
503248B Bolt SC M10‐1.50x50 C12.9 N P 0.86$            
503250B Flange set for support 8.10$            
503251B Bolt HH 3/8"‐16x0.75" Z F 0.20$            
503252B Use 0069629
503253B Use 0069620
503254B Bolt w/nut; bolt HH 3/8"‐16x3.00" G2 Z, nut ES 3/8"‐16 1.09$            
503255B Set screw 1/4"‐20x1.00" N 0.71$            
503256B Bearing w/retainer 8.95$            
503257B Bolt HH 3/8"‐16x6.00" N P 1.45$            
503258B Nut PT 3/8"‐16 Z 0.17$            
503259B Frame 1,355.90$    
503260B Hopper ring 590.15$       
503261B Hopper brace 49.47$          
503262B Frame tie rod, left 65.61$          
503263B Frame tie rod, right 65.61$          
503266B Toggle switch 37.44$          
503267B Bolt CR 3/8"‐16x0.75" Z F 0.20$            
503268B Use 502933B
503270B Frame, three point hitch 385.59$       
503271B Support arm, 2 & 3 wheel 173.57$       
503274B Arm w/hub, 2 wheel 279.02$       
503275B Arm w/hub, 3 wheel 627.83$       
503278B Use 502925B
503279B Engine 11 HP 2,314.13$    
503280B Lift side, left 625.09$       
503281B Lift side, right 624.77$       
503282B Threaded rod 60.89$          
503283B Bolt HH 5/16"‐18x2.50" G5 Z P 0.30$            
503284B Set screw 1/4"‐20x1.00" N 0.37$            
503285B Roll pin Ø3/16"x2.00" 0.30$            
503286B Bolt HH 1/2"‐13x1.25" G5 Z F 0.79$            
503287B Roller chain 10.24$          
503288B Connecting links 2.14$            
503289B Washer copper sealing Ø17 3.91$            
503291B Lock device w/hook, inner 3.30$            
503292B Lock device w/hook outer 3.23$            
503293B Bearing 1621‐ZZ 17.91$          
503294B Bearing 203KRRZ‐LD 12.21$          
503296B Nut PT 1/4"‐20 Z 0.12$            
503297B Bolt 9/16"‐12x2.00" Z P 1.94$            
503298B Nut ES 9/16"‐12 Z 1.81$            
503300B Bolt HH M20‐2.50x160 C8.8 Z P 8.67$            
503301B Bolt SP 5/8"‐11x5.00" G5 Z P 3.34$            
503302B Bolt SP 5/8"‐11x4.00" G5 Z P 2.48$            
503303B Slip collar, CV PTO 56.31$          
503304B Cover 208.30$       
503305B Cover, auger 46.30$          
503306B Base, hydraulic cylinder 239.61$       
503307B Breather cap 4.27$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 168

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503308B Bushing 106.03$       
503309B Slip clutch, round bore 250.36$       
503311B Spindle 111.78$       
503312B Yoke, hydraulic cylinder rod end 42.81$          
503314B Bolt w/nut; bolt HH 1/2"‐13x3.50" G2 Z, nut ES 1/2"‐13 2.36$            
503315B Bolt HH 3/8"‐16x1.00" G5 Z F 0.31$            
503316B Offset link #40 2.21$            
503317B Use Z020902A
503318B Use 1B031252B
503319B Use 1953109NC
503320B Use Z120902A
503321B Use 1102909A
503322B Use 1782210C
503323B Use 1784201C
503324B Use 1784203C
503325B Use 1784212C
503326B Use 1773082C
503327B Use 1872082C
503328B Use 1784202C
503329B Use 1782211C
503330B Use 3CE02103B
503331B Use 1943045NC
503332B Use 1953047NC
503333B Use 1483037C
503334B Use 1784210C
503335B Use 1784210C
503336B Use 1872043C
503337B Use 1784211C
503338B Use 96SS4043C
503339B Use 1942055NC
503340B Use 1952057NC
503341B Use 1784205C
503342B Use 1773053C
503343B Use 1872053C
503344B Use P62074SLA
503345B Use 1942070NC
503346B Use 1952072NC
503347B Use 1773068C
503348B Use 1872068C
503349B Use 96SL2068C
503350B Use 1942045NC
503351B Use 1952047NC
503352B Use 1773043C
503353B Use 1872043C
503354B Use 96SL2043C
503355B Use 1103909A
503356B Use 1773105C
503357B Use 1872105C
503358B Use 3CE03125B
503361B Input shaft (3/8" shear pin hole) 117.91$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 169

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503362B Gearbox complete (3/8" shear pin hole) 478.65$       
503364B Shim 0.003 2.83$            
503365B Shim 0.005 2.06$            
503366B Shim 0.010 2.06$            
503367B Shim 0.025 2.37$            
503368B Shim 0.047 3.17$            
503369B Shim 0.062 3.17$            
503370B Spacer, belt tensioner 3.76$            
503371B Adjusting ring 5.46$            
503372B Wheel lock 54.43$          
503373B Pulley 42.83$          
503374B Engine 11 HP 2,892.67$    
503375B Bolt HH 9/16"‐12x5.50" G5 Z P 2.94$            
503376B Bolt HH 9/16"‐12x6.00" G5 Z P 2.94$            
503377B Adapter 1" Z15 outer 1‐3/8" Z6 inner 773.65$       
503379B Gasket, input 0.25 14.35$          
503380B Gasket, output 0.25 14.35$          
503381B Bearing outer 26.31$          
503382B Spring, for wing 61.23$          
503383B Bearing only 149.70$       
503384B Hub assembly 218.16$       
503386B Use 1773077C
503387B Wheel support, left 150.46$       
503388B Electric motor, for wheels 1,500.19$    
503389B Tine arm 16' 0" 69.03$          
503393B Nut HH M22‐1.50 C6 Z MD 2.80$            
503394B Nut PT M14‐1.50 Z 6.96$            
503395B Use 503005B
503396B Handle lever 10.76$          
503397B PTO cover 27.12$          
503398B Bracket, PTO cover 10.76$          
503399B Nylon handle 20.30$          
503400B Bolt SC M10‐1.50x110 C8.8 Z P 2.30$            
503401B Use 0014810
503402B Use 0014810
503403B Soft cone 13.94$          
503404B Use 502392B
503406B Tire 11/4.00‐5 35.64$          
503407B Rim 27.32$          
503408B Plate, telescopic shield 13.18$          
503409B Bushing, wheel 19.22$          
503410B Rotor 66", 4" spacing 1,720.24$    
503411B Rotor 74", 4" spacing 1,863.61$    
503412B Rotor 82" 4" spacing 2,006.94$    
503417B Hitch block, right 55.54$          
503418B Hitch block, left 55.54$          
503419B Arm, top hitch 20.85$          
503420B Support, top hitch 29.72$          
503421B Spacer 9.27$            
503422B Hitch pin, cat. 0 13.29$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 170

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503423B Skid shoe 57.67$          
503424B Bolt CR 1/4"‐20x0.75" 0.22$            
503425B Nut HH 1/4"‐20 G2 Z 0.37$            
503426B Bushing 3.09 IDx3.5 ODx1.6875 L 18.53$          
503427B USE 502257B
503428B Check plug HH 1/8" 4.98$            
503429B Housing, Gearbox 175.87$       
503430B Snap ring, outer Ø36 2.35$            
503431B Ring gear 60"‐72" 148.11$       
503432B Input shaft 129.60$       
503433B Gasket, input 0.50 14.35$          
503434B Cover, gearbox housing 52.07$          
503435B Oil seal 35.54.8 TC 9.85$            
503436B Pinion gear 60"‐72" 168.52$       
503437B Spacer 22.90$          
503438B Gasket, output 0.50 14.35$          
503439B Oil seal 40.54.7 TC 10.81$          
503440B Cover, output shaft 72.50$          
503441B Nut CA flanged 1.00"‐14 24.72$          
503442B Use 0005638
503443B USE 503715B
503444B Bracket, PTO shield 27.78$          
503445B Rear axle w/ 5" tubes 652.12$       
503446B Side row discharge chute 34.74$          
503447B Drawbar 555.93$       
503448B Support stand 69.11$          
503449B Turnbuckle 107.76$       
503450B Threaded swivel 31.09$          
503451B Pin Ø25x90 16.30$          
503452B Wheel support 346.70$       
503453B Use 502373B
503455B Bolt HH M10‐1.50x130 C8.8 Z P 2.50$            
503456B Bolt TS 1/4"x1.00" Z 0.23$            
503457B Safety frame, right 94.24$          
503458B Safety frame, left 94.24$          
503459B Use 0011210
503460B Use 501603B
503461B Use 0046536
503463B Set screw M06‐1.00x6 N 0.22$            
503464B Nut ES M12‐1.50 Z 0.47$            
503465B Ratchet kit w/springs 10.52$          
503466B Use 0029036
503467B Oil seal 60.90.10 TC 15.49$          
503468B Hitch pin, cat. 0 11.84$          
503469B Bolt HH M14‐2.00x180 C8.8 Z P 9.59$            
503470B Extension, drawbar 129.60$       
503471B Gearbox complete 3,377.16$    
503472B Cup head screw 4.21$            
503473B Top plate 18.01$          
503474B Bottom plate 18.01$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 171

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503476B Wheel complete 83.30$          
503477B Hydraulic hose 79" 47.37$          
503479B Dust cover, wheel 4.37$            
503480B Oil seal TCM 15262 VH 5.11$            
503481B Bearing LM48548, LM48510 34.01$          
503482B Bearing LM67048, LM67010 26.31$          
503483B Washer flat Ø24 Z 1.16$            
503484B Nut CA 7/8"‐14 Z 7.99$            
503485B Pin cotter 5/32"x1.50 N 0.47$            
503486B Bolt lug 1/2"‐20x1.50" G5 Z 3.73$            
503487B Hub, wheel 144.18$       
503488B Coil pin 0.01$            
503490B Use 0017223
503491B Housing, Gearbox 226.79$       
503492B Upper cover, gearbox housing 171.62$       
503493B Bottom cover, gearbox housing 111.12$       
503494B Cam 295.14$       
503495B Center shaft 624.46$       
503496B Connecting rod 71.45$          
503497B Pinion gear Z10 M3.75 353.98$       
503498B Ring gear Z68 M3.75 552.69$       
503499B Roller 13.74$          
503500B Grease fitting M10‐1.50 threaded 1.14$            
503501B Use 0025115
503502B Spacer washer Ø50x62x3 11.18$          
503503B Use 0025329
503504B Use 0042122
503505B Use 502492B
503506B Use 502484B
503507B Use 0002073
503508B Bearing 6310‐ZZ 67.79$          
503509B Use 0033176
503510B Key 10x8x45 1.91$            
503511B Use 502503B
503512B Bushing 32.22$          
503513B Bolt M10x30 0.77$            
503514B Use 0085173
503515B Snap ring, outer Ø50 4.53$            
503516B Wheel yoke, right 243.01$       
503520B Handle plate 34.50$          
503521B Pivot 21.32$          
503522B Use 503623B
503523B Threaded rod, pull‐type 134.81$       
503525B Bracket 56.17$          
503545B Support UCFT208 114.21$       
503546B Use 1703027C
503547B Use 1703029C
503548B Gearbox complete 3,887.73$    
503549B Use 1523108C
503550B Use 1524105C

All prices are FOB Rocky Mount, NC and are subject to change without notice. 172

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503551B Power bed gas tank cover 317.07$       
503552B Shield, complete 82.64$          
503553B Shield, complete 57.89$          
503554B Key 10x8x100 4.47$            
503555B Guard cone, outer shield 15.62$          
503556B Lock collar, outer shield 6.15$            
503557B Shield, outer tube 15.61$          
503558B Shield, inner tube 15.61$          
503559B Lock collar, inner shield 6.15$            
503560B Guard cone, inner shield 15.62$          
503561B Guard cone, outer shield 17.21$          
503562B Lock collar, outer shield 6.49$            
503563B Shield, outer tube 18.28$          
503564B Shield, inner tube 18.28$          
503565B Lock collar, inner shield 6.49$            
503566B Guard cone, inner shield 17.21$          
503567B Protection, left 94.27$          
503568B Protection, right 94.27$          
503569B Shaft w/threads 176.71$       
503570B Nut spanner, shaft 28.28$          
503571B Washer conical Ø40 18.86$          
503572B Use 502998B
503573B Use 502998B
503574B Tine arm 86.18$          
503575B Bushing, tine arm 134.31$       
503576B Frame, three point 1,272.35$    
503577B Support protection 35.31$          
503578B Protection, PTO shaft 18.89$          
503579B Bent pin 10 mm. (75x85) 8.24$            
503580B Safety guard, right/left 141.38$       
503581B Lock pin 9.71$            
503582B Use 503548B
503584B Rake arm 176.71$       
503585B Shock absorber 18.85$          
503586B Guard retainer 52.72$          
503587B Spacer 4.19$            
503588B Spring 5.15$            
503589B Safety guard (left/right) 176.71$       
503590B Frame, pull‐type 1,602.34$    
503591B Lynch pin Ø10x70 10.03$          
503593B Kicker wheel arm w/hub 138.84$       
503594B Sprocket Z12 28.76$          
503595B Fertilizer tube (25') 259.18$       
503596B Bushing, air tire 4.13$            
503597B Hub, rotor 83.30$          
503599B Tire 20.5x8.5‐10 130.22$       
503601B Tube 8.81$            
503602B Tire 23x10.50‐12 167.53$       
503603B Yoke 1‐3/4" 20 205.86$       
503604B Kicker wheel bracket, left 46.30$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 173

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503605B Kicker wheel bracket, right 46.30$          
503606B Hitch block 64.12$          
503607B Rear axle section 1,619.89$    
503608B Inner spacer, wheel 5.34$            
503609B Front cover, pump gearbox 694.23$       
503610B Gearbox cover 533.66$       
503611B Gasket 5.56$            
503612B Safety shield, chipper 162.06$       
503613B Inner spacer 9.95$            
503614B Pump adapter plate 638.68$       
503615B Bushing, wheel 27.78$          
503616B Inner spacer 17.50$          
503617B Shaft 194.47$       
503618B Pump input end plate 404.60$       
503619B Pump seal kit 138.84$       
503620B Pump input seal 55.54$          
503621B Outer drive tube, right 235.63$       
503623B Adjustment tube 28.90$          
503624B Inner spacer, wheel 4.52$            
503625B Gearbox complete 877.94$       
503626B Input housing, front 397.63$       
503627B Breather cap 42.55$          
503628B Washer aluminum sealing Ø17 1.61$            
503629B Sight plug 36.59$          
503630B Magnetic plug 26.51$          
503631B Oil seal 50.65.8 9.85$            
503632B Key 12x8x28 5.09$            
503633B Shaft 313.23$       
503634B Input gear 318.72$       
503635B Output gear 214.41$       
503636B Use 502327B
503637B Oil seal 12411 9.33$            
503638B Rubber coupler 30.59$          
503639B Bent pin 5/8"x4.00" 3.82$            
503643B Bolt SC M10‐1.50x60 C8.8 N P 8.24$            
503644B Use 1704027C
503645B Use 1524105C
503646B Use 1704029C
503647B Use 1525105C
503648B Use 90SS1067C
503650B Bolt PB 5/8"‐11x2.00" G5 Z 1.16$            
503651B Bolt PB 5/8"‐11x1.75" G5 Z 1.73$            
503652B Wheel arm standard, gauge wheel 64.80$          
503653B Wheel yoke standard, gauge wheel 52.97$          
503654B Use 0044130
503655B Grease fitting 5/16" PR STR Z 0.96$            
503656B Bent pin 23.65$          
503657B Use 0091507
503658B Kill switch w/key and bracket 80.17$          
503659B Ring gear 42"‐48" 148.11$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 174

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503660B Pinion gear 42"‐48" 162.00$       
503661B Use 0059097
503662B Backing plate kicker wheel 13.89$          
503663B Bracket, hydraulic cylinder 37.03$          
503664B Hydraulic motor seal kit 181.61$       
503665B Set screw 8x1.0x10 mm. 1.29$            
503668B Oil seal 45.60.7 8.89$            
503669B Torque limiter, complete 194.15$       
503670B Input housing, rear 306.20$       
503671B HD hitch, A frame 522.36$       
503672B HD hitch, rear frame 534.74$       
503673B Swivel Box 238.84$       
503674B Cap, swivel Box 23.07$          
503675B Adjustable brace, inner 91.16$          
503676B Adjustable brace, outer 103.63$       
503677B Use 7900080
503679B Foot stand 23.15$          
503680B Mounting bracket, SMV emblem 14.41$          
503681B Shaft, pump 449.62$       
503682B Axle 74.64$          
503684B Pivot pin 63.10$          
503685B Set screw M08‐1.25x20 N 0.37$            
503686B Joint pin 63.10$          
503687B Hydraulic hose 108" 126.15$       
503694B Spring clip, access door 11.60$          
503698B Bolt HH 5/16"‐18x2.25" G5 Z P 0.67$            
503699B Set screw 1/4"‐20x0.50" N 0.27$            
503700B Bolt HH 1/2"‐13x1.75" G5 Z F 0.70$            
503701B Half conveyor, left 278.29$       
503702B Half conveyor, right 266.28$       
503703B Baffle plate 87.00$          
503704B Conveyor attachment 25.47$          
503705B Conveyor bracket 28.20$          
503706B Bracket attachment plate, right 26.95$          
503707B Bracket attachment plate, left 26.95$          
503708B Wheel hub 21.43$          
503709B PHD stand 304.20$       
503712B Use 7900090
503714B Hyd. hose 3/8"x72" 3/8"MPx1/2"MP 63.68$          
503715B Shield, slip clutch 44.00$          
503717B Bearing 62205‐2RS 13.74$          
503719B Wheel arm 42" 172.38$       
503720B Wheel arm 48"‐72" 172.38$       
503721B Spacer, wheel arm 42" 8.66$            
503722B Manual lift kit 287.50$       
503723B Bearing 6204‐Z 12.22$          
503724B Gearbox complete 564.66$       
503725B Housing, gearbox 202.70$       
503726B Use 0001280
503727B Hanger cap 138.55$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 175

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503728B Gasket, hanger cap 0.10 7.49$            
503729B Gasket, hanger cap 0.25 7.49$            
503730B Use 0030211
503731B Pinion gear Z11 176.01$       
503732B Use 502270B
503733B Output shaft 129.60$       
503734B Use 0004539
503735B Spacer, output bearing 27.14$          
503736B Output gear Z44 208.30$       
503737B ID tag rivet 0.30$            
503738B ID tag 0.01$            
503739B Boom assembly 400 924.80$       
503742B Clutch shoe 33.33$          
503743B Clutch spring 9.02$            
503745B Gearbox complete 285.65$       
503746B Stand base 97.21$          
503747B Lower hitch plate 37.02$          
503748B Link bar 46.28$          
503749B Auger bar 78.68$          
503750B Restrictor 3/32" 13.39$          
503751B Bolt HH 1/2"‐13x5.00" G5 Z P 2.34$            
503753B A frame support 226.79$       
503754B Floating clevis 100.87$       
503755B Spacer 1‐3/8" 30.90$          
503756B Spacer 1‐1/8" 9.31$            
503757B Bushing 18.39$          
503758B Bolt w/nut; bolt HH 1/4"‐20x2.50" G2 Z, nut ES 1/4"‐20 0.41$            
503766B Wheel w/yoke assembly, complete 136.55$       
503768B Housing, gearbox 152.73$       
503769B Pinion gear Z10 190.30$       
503780B Output shaft 120.33$       
503781B Shim 0.20 2.80$            
503782B Ring gear Z30 180.51$       
503783B Gasket, hanger cap 0.10 8.32$            
503784B Gasket, hanger cap 0.25 8.32$            
503785B Washer copper sealing Ø18 2.73$            
503786B Fill plug HH M18‐1.25 6.63$            
503787B Key 10x10x22 3.76$            
503788B Hanger shaft 22.67$          
503789B Hanger cap 69.43$          
503790B Spacer, output shaft 17.57$          
503791B Use 502625B
503802B Nut PT 1.00"‐8 Z 5.31$            
503803B Frame 48" 1,691.30$    
503804B Frame 60" 1,984.86$    
503805B Frame 72" 2,142.04$    
503806B Use 0014810
503807B Boom assembly 100 343.93$       
503808B Yoke cat. 0/1 243.20$       
503809B Use 0018530

All prices are FOB Rocky Mount, NC and are subject to change without notice. 176

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503810B Use 0018038
503811B Use 503005B
503812B Bolt HH 1/2"‐13x2.75" G5 Z P 1.11$            
503813B Use 0005743
503815B Floating yoke 139.66$       
503816B A frame support 162.91$       
503817B Floating top hitch 72.48$          
503818B Bolt HH 5/8"‐11x2.50" G5 Z P 1.79$            
503819B Bolt HH 5/8"‐11x4.00" G5 Z P 2.82$            
503820B Bolt HH 7/8"‐9x6.50" G5 Z P 11.85$          
503821B Nut PT 7/8"‐9 Z 2.34$            
503823B Relief valve 119.10$       
503824B Use 0018152
503825B Hydraulic hose 1/4"x40" 1/2" MPx1/2" MP 46.19$          
503826B Hydraulic hose 3/8"x40" 1/2"MPx1/2" MP 43.46$          
503827B Use 502169B
503828B Elbow 90° 1/2" MNPT‐1/2" MNPT 14.01$          
503829B Bushing 1/2" FNPT‐3/4" MORB 5.91$            
503830B Hydraulic plug 1/2" 10.65$          
503832B Pin 1.00"x 9.75" Z 23.15$          
503833B Pin 0.75"x3.00" Z 4.27$            
503834B Hairpin cotter 0.13"x2.50" Z 0.35$            
503835B Pin 0.75"x3.88" Z 3.34$            
503836B Shim steel 0.20 2.35$            
503837B Cap screw 3/8"‐16x1.00" 1.38$            
503841B Bolt HH 7/8"‐9x2.25" G5 Z F 8.74$            
503842B Use 502859B
503843B Use 502860B
503845B Mounting plate 300/400 32.96$          
503848B Nut slotted round M50x1.50 33.67$          
503849B Nut HH M22‐1.50 C6 N TN 2.21$            
503851B Washer conical Ø14 N 2.07$            
503852B Safety chain 64.46$          
503853B Manual holder Ø3.25"x12.50 12.15$          
503854B Light kit complete 393.66$       
503855B Use 0089245
503856B Center shaft 512.67$       
503857B Hub, wheel 24.89$          
503859B Top link end 20.68$          
503860B Use 502720B
503861B Use 0050165
503863B Support 344.82$       
503865B Knob 24.72$          
503866B Use 1522108C
503867B Use 08002011B
503868B Bracket SMV (may use 7900451)
503869B Bolt HH 5/16"‐18x0.75" G5 Z F 0.23$            
503870B Nut HH M16‐1.00 C6 N MD 1.29$            
503871B Washer internal lock Ø16 Z 0.45$            
503872B Stand base 97.21$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 177

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503873B Lower hitch plates 37.02$          
503874B Link bar 46.28$          
503875B Auger bar 78.68$          
503876B Handle grip 10.20$          
503877B Washer flat 5/8" SAE Z 0.32$            
503878B Nut ES 5/8"‐18 Z 2.02$            
503879B Use 0038346
503880B Elbow 90° 3/8"MNPT‐3/8"FNPT SW 8.65$            
503882B Hopper steel 106 231.55$       
503882BO Hopper steel 106 ‐ orange 231.55$       
503882BV Hopper steel 106 ‐ green 231.55$       
503883B Frame 106 200.81$       
503884B Wheel 16"x8" 155.15$       
503891B Throttle stand 47.43$          
503892B Key 1/4"x2" 3.11$            
503893B Breather cap 3/4"‐16 MORB 7.13$            
503894B Top hitch joint, straight 3 hole (3" extension) 53.73$          
503895B Hitch, pull‐type 245.13$       
503896B Bracket, left 30.59$          
503897B Bracket, right 30.59$          
503898B Pivot block 48.34$          
503899B Washer 3.07$            
503900B Hand crank 259.52$       
503901B Collar 11.53$          
503902B Tongue 16' 8" 720.86$       
503903B Jack stand, side wind 96.53$          
503905B Roller 2‐3/4" 14.21$          
503906B Use 0052895
503907B Washer flat lug bolt 0.41$            
503908B Use 0003037
503909B Nut CA M24‐2.00 Z 8.68$            
503911B Use 7900430
503912B Bolt SP M24‐2.00x185 Z P 28.84$          
503913B Bushing 5.78$            
503914B Hub, wheel 30.81$          
503915B Washer flat Ø33 Z 5.57$            
503918B Rotor, 17 flanges 2,332.93$    
503919B Rotor, 19 flanges 2,454.79$    
503920B Rotor, 21 flanges 2,649.64$    
503921B Bolt HH 3/4"‐10x5.00" G8 Z P 5.73$            
503922B Washer flat 3/4" USS Z 0.59$            
503923B Swivel pin 3/4"x4.50" 6.16$            
503924B Bolt CR 3/8"‐16x1.00" G2 Z 0.27$            
503925B Rake tine, sub‐compact 9.62$            
503926B Restrictor (blank) 8.47$            
503927B Bolt w/nut; bolt HH 1/4"‐20x3.00" G2 Z P, nut ES 1/4"‐20 0.41$            
503928B Auger point fish tail 29.34$          
503929B Lock lever, pivot housing 18.76$          
503932B Plate, for sprocket GRT 7.81$            
503933B Hub 173.02$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 178

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503934B Frame sub‐compact 48" 462.82$       
503935B Vertical support, sub‐compact 48" 49.04$          
503937B Inner spacer, sub‐compact 48" 6.97$            
503938B Bolt HH 3/8"x1.50" F 0.59$            
503941B Use 502357B
503943B Hub assembly 74.87$          
503944B Spindle 54.52$          
503945B Bearing JL69310, JL69349 38.30$          
503947B Oil seal TCM 162564VHY 9.46$            
503948B Hub, wheel 52.03$          
503951B Wheel arm sub‐compact, gauge wheel 99.71$          
503952B Wheel yoke sub‐compact, gauge wheel 93.53$          
503953B Breather cap 3/8" MORB 7.13$            
503954B Mounting plate 200 23.63$          
503955B Key 8x10x50 2.35$            
503956B Nut lug 1/2"‐20x60° Z 0.98$            
503957B Use 0082546
503958B Belt B75 17x1905 L1 27.68$          
503959B Bolt HH 3/8"‐16x1.50" G5 Z P 0.47$            
503960B Washer fender 3/8" Z 0.10$            
503961B Wheel Laminated, complete 84.89$          
503962B Nut ES M16‐1.00 C8 Z TK 1.29$            
503969B Position handle 39.61$          
503970B Position handle bracket 107.46$       
503971B Hydraulic remote control kit 839.79$       
503972B Stroke control 26.60$          
503973B Bushing, tine arm 155.49$       
503974B Horizontal support, sub‐compact 48" 49.04$          
503975B Reinforcement, frame 29.99$          
503976B Protection attachment plate, right 33.28$          
503977B Protection attachment plate, left 33.28$          
503978B Protection, flywheel 73.82$          
503979B Insulator 14.35$          
503980B Switch stop 6.77$            
503981B Nut HH M08‐32 0.03$            
503982B Washer external lock #8 0.05$            
503983B Adaptor 3/4" ORx1/2" pipe 10.47$          
503985B Hitch pin, lower 28.17$          
503986B Adaptor 3/4" ORBx1/2" NPT 5.76$            
503987B Elbow 1/2" NPTx1/2" FPT 90 degree 10.47$          
503988B Wire butt connector 0.41$            
503989B Terminal ground lug 0.56$            
503990B Nut ES 7/8"‐9 Z 1.16$            
503991B Shim Ø56x71.5x0.45 2.06$            
503992B Bolt HH 3/8"‐16x1.75" G5 Z P 0.49$            
503993B Bolt HH 3/8"‐16x1.25" G5 Z F 0.35$            
503994B Bolt HH 3/4"‐10x9.00" G5 Z P 12.17$          
503995B Bolt SC M06‐1.00x45 C8.8 N P 0.23$            
503996B Washer flat 7/8" Z USS Z 1.14$            
503997B Shim 1"x1.50"x0.045" 2.06$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 179

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
503998B Bolt CS 3/8"‐16x1.25" G5 Z F 0.76$            
503999B Bolt HH 7/16"‐14x1.25" G5 Z F 0.73$            
504000B Nut PT 7/16"‐14 G2 Z 0.34$            
504001B Washer external lock Ø50 Z 4.14$            
504007B Set screw 5/16"‐24x3/8" 0.18$            
504008B Set screw 5/16"‐24x5/16" 0.18$            
504009B Set screw 1/4"‐28x0.25" N 0.16$            
504010B Bolt CR 3/8"‐16x2.50" G2 Z P 0.47$            
504011B Bolt CS 1/2"‐13x1.75" G8 N P 1.29$            
504012B Bolt HH 1/2"‐13x1.50" G5 Z P 0.59$            
504013B Washer lock 1" Z 0.68$            
504014B Washer fiber Ø08 3.30$            
504015B Use 0034286
504016B Ring gear Z72 M3.55 664.61$       
504017B Pinion gear Z10 M3.55 344.17$       
504018B Cam w/hole 188.46$       
504019B Center shaft 323.64$       
504020B Connecting rod 176.89$       
504021B Shim Ø35.2x43.8x1 0.52$            
504022B Shim Ø50.2x57.5x0.5 4.14$            
504023B Curved plate w/nut 16.48$          
504024B Roll pin Ø3/8"x1.25" 2.64$            
510505R Housing 539.19$       
514505R Use 0095190
51500E U joint, inner tube (CV) 192.62$       
52000001B Chain, anti‐rotation 4.28$            
5200065D Drive tube, left 341.85$       
5200070D Drive tube, right 329.64$       
5200085D Drive tube, left 242.30$       
5200095D Drive tube, right 242.30$       
5200205D Outer drive tube, right 210.61$       
5200215D Outer drive tube, left 225.67$       
52158589S Lower guide 34.06$          
52428706S Teeth head 101.33$       
52428729S Blade head 95.27$          
52428866S Control shaft 303.28$       
53028971S Connecting rod 184.48$       
53127149S Cover 72.83$          
53127174S Cover, connecting rod 80.62$          
53227939S Pulley B366 431.93$       
5402C001B Rigid cone, outer tube 7.33$            
5402C002B Rigid cone, inner tube 7.33$            
5404C001B Rigid cone, outer tube 10.66$          
5404C002B Rigid cone, inner tube 10.66$          
5501C001B Locking ring, outer tube 6.74$            
5501C002B Locking ring, inner tube 6.74$            
5502C001B Locking ring, outer tube 5.64$            
5502C002B Locking ring, inner tube 5.64$            
5504C001B Locking ring, outer tube 8.02$            
5504C002B Locking ring, inner tube 8.02$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 180

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
56010424B Guard cone, outer shield 39.06$          
56010425B Guard cone, inner shield 39.06$          
56127173ZS Shim (2.5 mm.), right 2.88$            
56127236NS Fixing plate 10.95$          
56127255NS Skid 43.27$          
56127277NS Roller 21.98$          
56127278S Spacer 5.68$            
56127395NS Plate, tractor coupling 13.97$          
56127505ZS Washer SP Ø40 3.95$            
56127724ZS Shim (2.5 mm.) 2.04$            
56127940S Pulley B1301 161.24$       
56128165S Shim (0.5 mm.) 2.72$            
56128255NS Internal skid 26.56$          
56128716NS Shim (3 mm.) 2.72$            
56128775NS Yoke, hydraulic cylinder 18.34$          
56128797ZS Spacer, shaft support 21.47$          
56128812S Shaft 65.12$          
56128825NS Rod 38.05$          
56128829NS Rod, transport lock 35.59$          
56128831ZS Clamp 16.53$          
56128833NS Support, nylon roller 11.52$          
56128836ZS Cup 5.39$            
56128851AS Belt shield, outer 150.90$       
56128853NS Plate, belt tensioner 19.98$          
56129798S Flow valve M12‐1.75FxM14‐1.50M 14.17$          
56131457YS Indicator 6.87$            
56131476ZS Shaft flange 5.28$            
5622016W Use 321714W
5630040D Support plate, safety guard 13.50$          
56327169TS Blade guide, lower 12.17$          
56327226XS Nut conic SP Ø17 M08‐1.25 6.17$            
56327227ZS Cone 4.63$            
56327723TS Blade guide, upper 6.07$            
56328658S Control shaft 146.80$       
56328701S Tooth rod 72" 43.24$          
56328703S Tooth rod 84" 48.35$          
56328704S Tooth rod 96" 61.82$          
56328713TS Lower blade guide, right 8.59$            
56328715TS Upper blade guide, right 7.13$            
56328732S Wear plate 72" 21.65$          
56328733S Wear plate 84" 24.07$          
56328734S Wear plate 96" 27.83$          
56328757TS Leaf spring 3.01$            
56328798ZS Pin 17.30$          
56328869ZS Pin 10.07$          
56328898NS Bar 96" 1,006.65$    
56328908NS Bar 72" 885.95$       
56328909NS Bar 84" 955.86$       
56328923S Pin 5.47$            
56328972TS Upper blade guide, left 9.40$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 181

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
56329799S Adjustment screw M12‐1.75, flow valve 14.77$          
56332234S Pin 9.82$            
56336449ZS Bushing cat.1‐2 15.12$          
56427225S Bushing 28.31$          
56427878S Pin 52.96$          
56428758S Sliding bushing 2.74$            
56528756ZS Blank holder 21.07$          
570505R Use 0095202
570510R Use 0095172
57127397S Sleeve 20.18$          
580019R Hopper 301‐350 671.53$       
58002430NS Spring 6.22$            
58002463S Deflector stick 6.94$            
58027119S 1/2" Male quick coupler M18‐150x20F 17.40$          
58027164S Dust cap 5.28$            
58027230S Dust seal SP 5.39$            
58027235S Chain 64.90$          
58027286RS Spring 9.21$            
58027318S Bolt stud M20‐1.50x62 10K2 8.78$            
58027391ZS Top link 18.91$          
58027501S Sleeve 13.09$          
58027944S Tensioner M14 36.35$          
58027985S Ring 0.21$            
58028070S Bolt stud M20‐1.50x56 10K1 8.30$            
58028096S Blade section 2.39$            
58028125S Rubber cable 2.82$            
58028130S Use 58057724S
58028131S Decal "Lifting location" 3.71$            
58028132S Decal "540 rpm" 4.17$            
58028198S Bolt SP CS M10‐1.25x14 C10.9 Z F 3.63$            
58028664S Decal "Periodically check belt tension" 3.33$            
58028748NS Guard, upper 50.63$          
58028760S Screw SP 8.14$            
58028772NS Spring 80.53$          
58028834S Roller, nylon 14.27$          
58028885S Cable 11.21$          
58028888S Hydraulic hose 5/16"x1700mm. Ø14 banjo x M18‐1.50M 84.83$          
58028910TS Blade section 72", complete 112.18$       
58028912TS Blade section 84", complete 131.30$       
58028914TS Blade section 96", complete 168.07$       
58028941S Decal "Lubrication" 6.13$            
58028942S Decal "Work and transport position" 7.67$            
58031458NS Spring 16.01$          
58032489S Cable w/sheath 15.64$          
58032530S Pull cord 9.13$            
58036548S Decal "Work position" 8.02$            
58039274S Decal "Max pressure" 2.32$            
580406R Use 0095140
580429R Hopper 302‐404 1,162.38$    
58047438S Stopper 8.04$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 182

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
58057724S Decal "Read operator's manual" 5.47$            
58058659S Bolt SP flange M08‐1.00x12 C10.9 1.01$            
58128661YS Washer flat Ø16 Y 0.98$            
58128675S Seal kit, hydraulic cylinder 58.57$          
58128770S Hydraulic cylinder 25mmRx40mmBx588mmS 461.10$       
58128867S Shim Ø30 2.06$            
581404R Extension, hopper 100x404 0.01$            
581412R Use 0095142
581414R Use 0095144
582005R Use 0095260
5820452EA Shield, outer tube 452 19.33$          
5820452IA Shield, inner tube 452 19.33$          
5820552EA Shield, outer tube 552 19.33$          
5820552IA Shield, inner tube 552 19.33$          
5820702EA Shield, outer tube 702 19.33$          
5820702IA Shield, inner tube 702 19.33$          
5820842EA Shield, outer tube 842 15.79$          
5820842IA Shield, inner tube 842 15.79$          
582201R Use 0095266
582206R Use 0095264
583037R Use 502020B
583053R Plug 0.81$            
583057R Plastic cap rectangle 4.23$            
583068R Use 0058332
5831046EA Shield, outer tube 1046 18.36$          
5831046IA Shield, inner tube 1046 18.36$          
583364R Use 0095197
583822R Use 0095090
583871R Use 0095304
583890R Washer SP 6.49$            
586077R Handle cap 2.57$            
588005R Shock absorber 21.52$          
59027155ZS Blade removal tool 19.49$          
59027298NS Stick holder 27.89$          
59027873NS Arm, blade bar 287.45$       
59027900NS Arm, tooth bar 282.82$       
59027935NS Safety release latch 302.29$       
59028146RS Blade guard 72" 56.81$          
59028147RS Blade guard 84" 59.22$          
59028510RS Blade guard 96" 94.60$          
59028650NS Support, shaft 282.74$       
59028745NS Guard, lower 122.82$       
59028766NS Connection 82.77$          
59028776NS Support 42.52$          
59028800NS Lifting arm 559.05$       
59028813NS Top link 82.77$          
59028815NS Complete rod 20.63$          
59028818ZS Pin, top hitch 63.85$          
59028849AS Belt shield, inner 162.91$       
59028852ZS Bracket, belt shield 21.39$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 183

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
59028856YS Float lock 18.34$          
59028862NS Support 543.68$       
59028870NS Lever 131.68$       
59028876NS Stop bar 24.83$          
59028890NS Support stand 92.44$          
59028925NS Swath board, complete 139.86$       
59028927NS Support, outer bar 206.40$       
59028930TS Last tooth (3" tooth spacing) 40.90$          
59028932TS Tooth (2" tooth spacing) 51.51$          
59028934TS First tooth (3" tooth spacing) 83.18$          
59028980AS Three point hitch 998.22$       
59029728ZS Nut wing SP M16‐2.00 10.55$          
59030421S Grease gun 43.47$          
59228875S Cylinder stop 56.21$          
59228879S Cylinder stop 56.21$          
5990030A Use 52000001B
600031R Use 0006627A
600043R Use 0025332A
6002010A Locking ring, outer tube 4.35$            
6002012A Locking ring, inner tube 4.35$            
6004010A Locking ring, outer tube 4.62$            
6004012A Locking ring, inner tube 4.62$            
6014010A Standard cone, outer tube 13.94$          
6014012A Standard cone, inner tube 11.80$          
6014025A Long cone, inner tube 15.98$          
608007F Upper agitator 47.63$          
6100270D Fixed tine arm 48.84$          
6100280D Adjustable tine arm 48.84$          
610143R Use 501586B
610444R Spring, hydraulic control 28.11$          
611705R Use 0095049
611715R Use 0095395
616000F Indicator 1.57$            
623002R Gearbox complete 2,331.95$    
627030R Use 0095270
64900E Wide angle CV‐joint (CV) 866.72$       
6500005D Lateral shaft, double yoke 360.97$       
6500045D Input shaft, double yoke 529.48$       
6500090D Central shaft 293.02$       
6500371D Pin Ø28x200 24.30$          
6500375D Pin Ø25x180 23.41$          
65120006B Ring, outer shield 6.11$            
652055R Hydraulic hose 119.87$       
65210006B Ring, inner shield 6.11$            
65220005B Lock collar, outer shield 5.09$            
65220006B Lock collar, inner shield 5.09$            
653405R Hydraulic cylinder 349.57$       
6690640C Bolt w/nut; bolt HH M06‐1.00x40 C8.8 N P, nut PT M06‐1.00 6.43$            
6691080C Use 000501E
6700012D Joint block B 492.05$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 184

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
6700031D Joint block A 492.05$       
670510R Use 0095172
6761270C Bolt w/nut; bolt HH M12‐1.25x70 C8.8 N P, nut PT M12‐1.25 11.95$          
6900090D Spring 35.27$          
6900240D Spring for hook 10.73$          
693275W Shield, complete 293.71$       
693520W Shield, complete 299.90$       
7300007 Befco primer (spray can) 29.59$          
7300008 Befco orange (spray can) 29.59$          
7300009 Befco Rotomec red (spray can) 29.59$          
7300010 Befco black (spray can) 29.59$          
7300011 Befco JD green (spray can) 29.59$          
7300012 Befco yellow (spray can) 29.59$          
7300013 Befco orange (QT, ready to spray) 66.23$          
7300014 Befco Rotomec red paint (QT, ready to spray) 66.23$          
7300015 Befco black (QT, ready to spray) 66.23$          
7300016 Befco JD green paint (QT, ready to spray) 66.23$          
7300017 Primer gray (QT, ready to spray) 66.23$          
7300018 Befco orange (touch up bottle) 19.61$          
7300019 Befco Rotomec red paint (touch up bottle) 19.61$          
7300020 Befco black (touch up bottle) 19.61$          
7300021 Befco JD green paint (touch up bottle) 19.61$          
7501038 Extension plate, rear deflector 88" 369.38$       
7900000 Access plate 48" 16.48$          
7900002 Rear light bracket, left 51.33$          
7900003 Rear light bracket, right 51.33$          
7900004 Tire, rake cart 175/80D13 95.56$          
7900005 Wheel w/air tire complete, rake cart 143.35$       
7900006 Grease fitting 1/16"‐27 STR 1.14$            
7900007 Grease fitting 1/16"‐27 90 degree 1.14$            
7900008 Elbow 90° 1/2" FNPTx1/2" MNPT 7.41$            
7900009 Adaptor STR 1/2" MNPTx3/4" MORB 6.53$            
7900010 Frame, grading scraper 60" 888.06$       
7900011 Blade holder 60" 469.61$       
7900012 Skid shoe 48"‐72" 33.03$          
7900020 Frame, grading scraper 72" 982.29$       
7900021 Blade holder 72" 510.19$       
7900030 Frame, grading scraper 84" 1,040.70$    
7900031 Blade holder 84" 517.49$       
7900032 Skid shoe 84" 42.43$          
7900040 Frame, grading scraper 48" 509.89$       
7900041 Blade holder 48" 289.47$       
7900060 Manual holder Ø2"x12.50" 7.35$            
7900080 Mold board, heavy duty 84" 803.12$       
7900081 HD hitch, A frame 522.36$       
7900082 HD hitch, rear frame 534.74$       
7900083 Adjustable brace, inner 91.16$          
7900084 Adjustable brace, outer 103.63$       
7900090 Mold board, heavy duty 96" 911.11$       
7900350 Floating yoke 156.41$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 185

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 
7900351 Floating top link 81.16$          
7900354 Safety guard, front 42" 21.41$          
7900355 Safety guard, front 48" 24.90$          
7900356 Safety shield, front 42" 30.63$          
7900357 Safety shield, rear 42" 30.78$          

7900358 Safety shield, front 48" 32.97$          

7900359 Safety shield, rear 48" 33.10$          

7900361 Safety shield, rear 60" 20.98$          

7900362 Safety shield, rear 72" 34.83$          

7900363 Safety shield, front 60" 37.44$          

7900364 Safety shield, front 72" 43.56$          

7900365 Safety guard, front 60" 27.22$          

7900366 Safety guard, front 72" 29.27$          

7900367 Vertical support 42" 27.68$          

7900368 Horizontal support 42" 25.65$          

7900370 Vertical support 42"‐72" 27.68$          

7900371 Horizontal support 42"‐60" 34.86$          

7900372 Horizontal support 72" 37.03$          

7900382 Bracket, front shield 42" 48.21$          

7900383 Bracket, rear middle shield 42" 29.02$          

7900384 Bracket, rear left shield 42" 28.88$          

7900385 Bracket, rear right shield 42" 28.88$          

7900386 Plate, front shield 42" 27.35$          

7900387 Plate, rear middle shield 42" 23.52$          

7900388 Plate, rear side shield 42" 13.44$          

7900389 Belt, front shield 42" 42.27$          

7900390 Belt, rear middle shield 42" 29.11$          

7900391 Belt, rear side shield 42" 16.56$          

7900392 Bracket, front shield 48" 55.50$          

7900393 Bracket, rear middle shield 48" 29.85$          

7900394 Bracket, rear left shield 48" 29.62$          

7900395 Bracket, rear right shield 48" 29.62$          

7900396 Plate, front shield 48" 29.29$          

7900397 Plate, rear middle shield 48" 23.86$          

7900398 Plate,. rear side shield 48" 14.12$          

7900399 Belt, front shield 48" 46.91$          

7900400 Belt, rear middle shield 48" 30.04$          

7900401 Belt, rear side shield 48" 16.19$          

7900402 Bracket, front shield 60" 63.77$          

7900403 Bracket, rear middle shield 60" 31.79$          

7900404 Bracket, rear left shield 60" 30.54$          

7900405 Bracket, rear right shield 60" 30.54$          

7900406 Plate, front shield 60" 31.88$          

7900407 Plate, rear middle shield 60" 25.14$          

7900408 Plate, rear side shield 60" 14.20$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 186

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

7900409 Belt, front shield 60" 55.73$          

7900410 Belt, rear middle shield 60" 31.88$          

7900411 Belt, rear side shield 60" 16.56$          

7900412 Bracket, front shield 72" 70.30$          

7900413 Bracket, rear middle shield 72" 32.26$          

7900414 Bracket, rear left shield 72" 31.93$          

7900415 Plate, front shield 72" 32.99$          

7900416 Plate, rear middle shield 72" 25.70$          

7900417 Plate, rear side shield 72" 15.69$          

7900418 Belt, front shield 72" 63.89$          

7900419 Belt, rear middle shield 72" 39.17$          

7900420 Belt, rear side shield 72" 19.98$          

7900421 Safety shield, rear 48" 33.91$          

7900422 Belt, rear shield 48" 29.29$          

7900423 Belt, rear shield 60" 31.88$          

7900425 Access plate 42" 13.56$          

7900426 Wheel arm 42" 153.63$       

7900427 Nut HH 1.125"‐12 N 2.33$            

7900428 Outer spacer, wheel 5.78$            

7900429 Hub, wheel 56.11$          

7900430 Wheel yoke 92.27$          

7900431 Bolt SP M25‐3.00x205 C8.8 Z P 28.84$          

7900432 Nut CA M25‐3.00 Z 8.68$            

7900434 Belt, rear shield 72" 32.99$          

7900450 Disc, MPH 7.62$            

7900451 Bracket SMV, MPH 7.62$            

7900500 Extension, blower 15" 149.31$       

7900501 Guard, feed hopper 7.76$            

7900502 Front guard, upper 15.09$          

7900503 Hitch block, right QHC 49.87$          

7900504 Hitch block, left QHC 49.87$          

7900505 Bolt HH 1/2"‐20x9.50" G8 N P 31.15$          

7900649 Frame 42" 1,136.80$    

7900650 Frame 48" 1,475.50$    

7900651 Frame 60" 1,768.84$    

7900652 Frame 72" 2,076.04$    

8001011B Yoke, inner tube 40.24$          

8001021B Yoke, outer tube 40.24$          

8020539 Belt SPB2580 85.76$          

81263100B Inner tube 88.07$          

81322100B Outer tube 81.88$          

8202302C Overrunning clutch (size 3) 314.10$       

83B01100B Shield, complete SSB11000 57.89$          

83B02120B Shield, complete 91.44$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 187

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

83B02130B Shield, complete SSB21300 57.89$          

83B03130B Shield, complete SSB31300 82.64$          

83E01100B Shield, complete 71.04$          

86014047B Push pin set 7.12$            

8680105C Use 0500487

8800005D Safety guard 122.95$       

8800035D Safety guard 125.54$       

8800240D Guard support 77.97$          

8800385D Support right, safety guard 38.99$          

8800386D Support left, safety guard 38.99$          

8800390D Safety guard 62.47$          

8900204D Bushing 6.60$            

8900205D Bushing 9.50$            

8900405D Plastic cap 25x25, safety frame 1.63$            

8900460D Tee adaptor 0.38$            

8900471D Hydraulic hose 1/4"x900 mm. 129.60$       

8900472D Hydraulic hose 1/4"x2400 mm. 24.30$          

8900480D Hydraulic cylinder, right 282.99$       

8900481D Hydraulic cylinder, left 282.99$       

8900482D Rod 25x530 162.00$       

8900483D Rod guide 56.79$          

8900484D Gasket Kit 32.40$          

8900485D Piston 0.38$            

8900486D Rod gasket kit 2.84$            

8907070A Manual AMA driveline (US) 0.01$            

8909090A Manual Ama driveline (CE) 0.01$            

8910007D Wheel complete 16x650‐8 199.11$       

90101S60B Torque limiter, complete 195.01$       

9054060C Use 96SL4060C

9054075C Use 96SL4075C

9070104 Use 502984B

9070105 Guard 68.95$          

90914601B Outer casting w/yoke 177.99$       

90SC4056C Use 96SE4056C

90SC4070C Use 96SC4070C

90SC4071C Use 96SE4071C

90SC6038C Shield, complete SC 380 85.95$          

90SC6040C Shield, complete SC 400 85.95$          

90SC6071C Shield, complete SC 710 85.95$          

90SC6073C Shield, complete SC 730 85.95$          

90SE4036C Use 96SE4036C

90SE4041C Use 96SE4041C

90SL2043C Use 96SL2043C

90SL2053C Use P62074SLA

All prices are FOB Rocky Mount, NC and are subject to change without notice. 188

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

90SL2068C Use 96SL2068C

90SL4023C Use 96SL4023C

90SL4040C Use 96SL4040C

90SL4043C Use 96SL4050C

90SL4050C Use 96SL4050C

90SL4053C Use 96SL4053C

90SL4060C Use 96SL4060C

90SL4068C Use 96SL4068C

90SL4075C Use 96SL4075C

90SL4085C Use 96SL4085C

90SL6064C Shield, complete 85.95$          

90SL6094C Shield, complete 85.95$          

90SR4043C Use 96SL4050C

90SS1032C Use 3CE01052B

90SS1032CA Use 3CE01052B

90SS1047C Shield, complete SS 470 79.16$          

90SS1067C Shield, complete SS 670 79.16$          

90SS2033C Use 96SS2033C

90SS2049C Use 3CE02103B

90SS2082C Use 3CE02103B

90SS4039C Use 96SS4039C

90SS4042C Use 96SS4043C

90SS4043C Use 96SS4043C

90SS4105C Use 3CE03125B

90SS6031C Shield, complete SS 310 85.95$          

9107002D Rivet 5x16 0.45$            

9152105 Wire rope, roll 100 m. 181.26$       

9160035D Key 10x8x110 4.47$            

9170018D Adjustment wheel 33.22$          

9250002 Bushing Ø40x60 22.24$          

9250003 Bushing Ø8x100 34.34$          

9250005 Use 9250002

92SS1033C Shield, complete SS 330 79.16$          

9300008 Green‐Rite hose 13.41$          

9370112 Decal "CE 6 safety alerts" 0.01$            

9370116 Decal "Seed calibration scale" 3.03$            

9370117 Decal "Front gauge roller HT" 3.03$            

9370119 Decal "CE don't stand between tractor & implement" 0.01$            

9370126 Decal "Rotomec" 2.21$            

9370127 Decal "R" logo 2.31$            

9370131 Decal "Rotomec" 3.23$            

9370139 Decal "Rotomec" 3.48$            

9370160 Decal "Side‐Shift" 2.21$            

9370176 Decal "Rotomec" 2.07$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 189

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

9370181 Decal "CE keep away rotating auger" 0.01$            

9370192 Decal "CE gloves & shoes" 0.01$            

9370193 Decal "CE shirt & ear muffs" 0.01$            

9370194 Decal "Grease" 1.11$            

9370217 Decal "Spread chart Kg/Ha" 11.31$          

9370218 Decal "Seed distribution Kg/Ha" 11.31$          

9370219 Decal "Made in Italy" 2.21$            

9370223 Decal "Solid steel shaft" 2.21$            

9370224 Decal "Forward or reverse tilling" 2.21$            

9370225 Decal "Spiral gears" 2.21$            

9370226 Decal "Oil level" 1.11$            

9402434C Use 96SS2033C

9402443C Use P62064SLA

9402464C Use 96SL2068C

9403443C Use 96SS4043C

9403453C Use 96SL4053C

9403468C Use 96SL4068C

9404438C Use 96SL4040C

9404442C Use 96SE4041C

9404458C Use 96SL4060C

9404473C Use 96SL4075C

9404477C Use 96SL4085C

9416040C Use 90SC6040C

9423485C Use 3CE03125B

943008B Hitch pin 7/8"x2.00" 6.40$            

943016B Clip pin 1.84$            

9442454C Use P62074SLA

9443443C Use 96SL4050C

9443453C Use 96SL4053C

9443468C Use 96SL4068C

9444468C Use 96SL4068C

948000B Driveline complete T10 234.19$       

948001B Use 0500487

948002B Driveline complete T10 235.72$       

948003B Use 0500487

948004B Driveline complete 578.64$       

948005B Driveline complete T10, round bore 370.48$       

948006B Use 0500493

948007B Use 0500494

948008B Use 0500494

948102B Use 0500463

948104B Driveline complete T20 244.38$       

948105B Driveline complete T20 244.38$       

948106B Use 0500102

All prices are FOB Rocky Mount, NC and are subject to change without notice. 190

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

948107B Use 0500406

948137B Use 0500416

948139B Driveline complete T40 OR clutch 504.90$       

948201B Use 0500401

948202B Use 0500408

948203B Driveline complete T30 w/o protection (900 mm.) 246.23$       

948204B Use 0500413

948205B Use 0500414

948206B Use 0500415

948301B Use 0500407

948302B Use 0500409

948304B Driveline complete T40 342.91$       

948305B Driveline complete T40 375.69$       

948306B Driveline complete T40 424.83$       

948307B Driveline complete S40 379.03$       

948402B Driveline complete T60 shear pin 587.88$       

948403B Use 0500427

948404B Use 0500416

948404JF Driveline complete T40 (650 mm.) 403.14$       

948405B Use 0500416

948406B Use 0500416

948406JR Driveline complete T40 (940 mm.) 415.43$       

948407B Driveline complete T40 slip clutch 709.28$       

948408B Driveline complete T10 240.45$       

948504B Driveline complete T40 274.95$       

948505B Driveline complete T40 293.28$       

948506B Driveline complete T40 311.46$       

948539B Extension, PTO 60.63$          

948601B Driveline complete P70 shear pin 1‐3/8" Z6 1,264.53$    

948602B Driveline complete P70 slip clutch 1‐3/8" Z6 1,413.00$    

948603B Driveline complete P70 shear pin 1‐3/4" Z6 1,264.53$    

948604B Driveline complete P70 shear pin 1‐3/8" Z21 1,249.78$    

948605B Driveline complete P70 slip clutch 1‐3/4" Z6 1,413.00$    

948606B Driveline complete P70 slip clutch 1‐3/8" Z21 1,413.00$    

948609B Driveline complete P70 slip clutch 1‐3/4" Z20 1,413.00$    

948611B Driveline complete P70 shear pin 1‐3/4" Z20 1,264.53$    

948612B Driveline complete T80 slip clutch 1‐3/8" Z21 1‐3/4" Z6 1,264.53$    

948613B Driveline complete T80 slip clutch 1‐3/8" Z6 1‐3/8" Z6 1,264.53$    

948700B Driveline complete E80 slip clutch 1‐3/4" Z20 1‐3/4" Z6 1,509.10$    

948701B Driveline complete E80 shear pin 1‐3/8" Z21 1‐3/4" Z6 1,168.39$    

948702B Driveline complete E80 slip clutch 1‐3/8" Z21 1‐3/4" Z6 1,509.10$    

948703B Driveline complete E80 slip clutch 1‐3/8" Z6 1‐3/4" Z6 1,509.10$    

948704B Driveline complete E80 shear pin 1‐3/8" Z6 1‐3/8" Z6 1,263.04$    

948705B Driveline complete E80 shear pin 1‐3/8" Z6 1‐3/4" Z6 1,263.04$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 191

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

948706B Driveline complete E80 slip clutch 1‐3/8" Z6 1‐3/8" Z6 1,509.10$    

948707B Use 0500156

948708B Driveline complete B/P 273.52$       

948709B Driveline complete w/torque limiter B/P 578.64$       

948710B Driveline complete E90 1,335.49$    

948801B Use 0500401

948807B Use 0500156

948814B Use 0500100

948815B Use 0500101

948816B Use 0500102

948837B Driveline complete T50 643.55$       

948839B Driveline complete T50 941.17$       

948852B Use 0500150

948853B Use 0500150

948901B Driveline complete CV assembly 1,096.09$    

948902B Driveline complete P100 slip clutch 2,009.98$    

948903B Use 0500042

948904B Driveline complete RTL 520.89$       

948905B Driveline complete RTL 320.86$       

948906B Driveline complete T10 425.12$       

948907B Driveline complete T20 (1110 mm.) 572.89$       

948908B Driveline complete T10 320 Tedder 0.01$            

948909B Driveline complete RTL 472.10$       

948910B Driveline complete RTL (DR0‐308) 597.41$       

9493300C Use 96SE4041C

9494300C Use 96SE4036C

9500060D Cord 3000 mm. 20.23$          

9500200D Rubber guard 22.29$          

9500201D Rubber guard 22.81$          

950103B Decal "B" 2.21$            

950103BB Decal "B" 2.21$            

950104B Decal "B" 2.21$            

950104BB Decal "B" 2.21$            

950106B Decal "Befco" 2.21$            

950106BB Decal "Befco" 2.21$            

950107B Decal "Befco" 2.21$            

950107BB Decal "Befco" 2.21$            

950109B Decal "Danger PTO" 0.01$            

950109BFR Decal "Danger PTO" 0.01$            

950111B Decal "Caution avoid injury" 0.01$            

950111BFR Decal "Caution avoid injury" 0.01$            

950116B Use 950818B

950145B Decal "Tornado" 2.21$            

950151B Decal "2000 rpm only" 2.21$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 192

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

950161B Decal "234" 2.21$            

950169B Decal "374" 2.21$            

950170B Decal "382" 2.21$            

950184B Decal "US patent #5,069,022" 2.21$            

950186B Decal "Cyclone Flex" 9.33$            

950187B Use 9370219

950191B Decal "Warning kill switch" 0.01$            

950200B Decal "Bushmaster chipper" 8.21$            

950201B Decal "Warning thrown objects" 0.01$            

950204B Decal "Rear discharge" 2.21$            

950209B Decal "Danger rotating blades" 0.01$            

950212B Decal "Danger rotating auger" 0.01$            

950212BFR Decal "Danger rotating auger" 0.01$            

950213B Decal "Danger replace shields" 0.01$            

950213BFR Decal "Danger replace shields" 0.01$            

950222B Decal "Danger rotating parts" 0.01$            

950222BFR Decal "Danger rotating parts" 0.01$            

950223B Decal "Danger prevent injury 1" 0.01$            

950223BFR Decal "Danger prevent injury 1" 0.01$            

950224B Decal "Danger prevent injury 2" 0.01$            

950224BFR Decal "Danger prevent injury 2" 0.01$            

950226B Decal "B" 2.21$            

950226BB Decal "B" 2.21$            

950230B Decal "T30" 2.21$            

950231B Decal "T40" 2.21$            

950232B Decal "T50" 2.21$            

950233B Decal "T60" 2.21$            

950234B Decal "C30" 2.21$            

950235B Decal "C50" 2.21$            

950236B Decal "142" 2.21$            

950237B Decal "150" 2.21$            

950238B Decal "158" 2.21$            

950239B Decal "242" 2.21$            

950240B Decal "250" 2.21$            

950241B Decal "258" 2.21$            

950242B Decal "266" 2.21$            

950243B Decal "274" 2.21$            

950244B Decal "148" 2.21$            

950245B Decal "160" 2.21$            

950246B Decal "172" 2.21$            

950247B Decal "272" 2.21$            

950248B Decal "284" 2.21$            

950249B Decal "RD4" 2.21$            

950250B Decal "RD5" 2.21$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 193

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

950251B Decal "RD6" 2.21$            

950252B Decal "RD7" 2.21$            

950261B Decal "RHD" 2.21$            

950266B Decal "Befco/Rotomec patented" 2.21$            

950267B Decal "Befco patented" 2.21$            

950268B Decal "RSD" 2.21$            

950269B Decal "RMD" 2.21$            

950270B Decal "260" 2.21$            

950271B Decal "372" 2.21$            

950273B Decal "C70" 2.21$            

950274B Decal "090" 2.21$            

950275B Decal "110" 2.21$            

950279B Decal "H40" 2.21$            

950280B Decal "H70" 2.21$            

950281B Decal "074" 2.21$            

950282B Decal "088" 2.21$            

950283B Decal "048" 2.21$            

950284B Decal "060" 2.21$            

950285B Decal "072" 2.21$            

950286B Decal "GRT" 2.21$            

950287B Decal "T70" 2.21$            

950289B Decal "282" 2.21$            

950291B Decal "Green‐Rite" 2.21$            

950293B Decal "Seed distribution table" 6.22$            

950295B Decal "542" 2.21$            

950296B Decal "550" 2.21$            

950297B Decal "134" 2.21$            

950298B Decal "Cyclone" 2.21$            

950299B Decal "Rotomec" 2.21$            

950300B Decal "006" 2.21$            

950301B Decal "007" 2.21$            

950302B Decal "066" 2.21$            

950304B Decal "084" 2.21$            

950305B Decal "EZ4" 2.21$            

950306B Decal "EZ5" 2.21$            

950307B Decal "BBS" 2.21$            

950308B Decal "BSB" 2.21$            

950310B Decal "EZ6" 2.21$            

950311B Decal "Fx4" 2.21$            

950312B Decal "Fx5" 2.21$            

950313B Decal "Fx6" 2.21$            

950314B Decal "C28" 2.21$            

950315B Decal "H80" 2.21$            

950322B Decal "Warning pinch point" 0.01$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 194

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

950323B Decal "Warning pivot bolt" 0.01$            

950325B Decal "SF4" 2.21$            

950326B Decal "SF5" 2.21$            

950327B Decal "300" 2.21$            

950328B Decal "200" 2.21$            

950329B Decal "BPL" 2.21$            

950330B Decal "534" 2.21$            

950333B Decal "Spread chart Lbs/Acre" 6.22$            

950335B Decal "076" 2.21$            

950336B Decal "CE5" 2.21$            

950337B Decal "100" 2.21$            

950338B Decal "Warning toxic chemical" 0.01$            

950339B Decal "Warning moving parts" 0.01$            

950341B Decal "Caution load hopper" 0.01$            

950342B Decal "Danger crushing hazard" 0.01$            

950343B Decal "Warning falling hazard" 0.01$            

950345B Decal "296" 2.21$            

950352B Decal "SMV" plastic emblem 25.23$          

950353B Decal "SMV" 20.60$          

950356B Decal, safety set post hole digger 0.01$            

950358B Decal "Made in USA" 2.21$            

950359B Decal "Rotomec USA" 2.07$            

950360B Decal "Danger entanglement" 0.01$            

950360BFR Decal "Danger entanglement" 0.01$            

950366B Decal "Red reflective" 2.47$            

950368B Tag "STOP" verify driveline length 2.21$            

950369B Decal "Spread chart" (two openings) 2.91$            

950371B Decal "400" 2.21$            

950372B Decal "005" 2.21$            

950373B Decal "209" 2.21$            

950374B Decal "212" 2.21$            

950375B Decal "103" 2.21$            

950376B Decal "106" 2.21$            

950377B Decal "203" 2.21$            

950379B Tag "check oil" 2.21$            

950380B Decal "Yellow reflective" 2.47$            

950381B Decal "Befco, Inc." address 2.21$            

950382B Decal "RC0" 2.21$            

950383B Decal "QH1" 2.21$            

950384B Decal "KW0" 2.21$            

950385B Decal "RRB" 2.21$            

950386B Decal "366" 2.21$            

950387B Decal "358" 2.21$            

950388B Decal "350" 2.21$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 195

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

950389B Decal "DR0" 2.21$            

950390B Decal "DRP" 2.21$            

950391B Decal "301" 2.21$            

950392B Decal "303" 2.21$            

950393B Decal "999" 2.21$            

950394B Decal "600" 2.21$            

950395B Decal "Cyclone Super‐Flex" 10.02$          

950405B Decal "Yellow reflective" 2.21$            

950406B Decal "Warning falling & ROPS" 0.01$            

950406BFR Decal "Warning falling & ROPS" 0.01$            

950407B Decal "Warning crush & pinch" 0.01$            

950407BFR Decal "Warning crush & pinch" 0.01$            

950408B Decal "Warning high pressure" 0.01$            

950409B Decal "Warning rear raised" 0.01$            

950410B Decal "Warning side raised" 0.01$            

950417B Decal "Caution avoid injury" 0.01$            

950417BFR Decal "Caution avoid injury" 0.01$            

950419B Decal "Warning falling hazard" 0.01$            

950439B Decal "Spread pattern" 2.21$            

950440B Decal "Selector 1‐10" 2.21$            

950441B Decal "206" 2.21$            

950442B Decal "360" 2.21$            

950443B Decal "472" 2.21$            

950444B Decal "484" 2.21$            

950463B Decal "Danger rotating PTO" 0.01$            

950463BFR Decal "Danger rotating PTO" 0.01$            

950464B Decal "Danger guard missing on driveline" 0.01$            

950464BFR Decal "Danger guard missing on driveline" 0.01$            

950471B Decal "BGS" 2.21$            

950472B Decal "SRT" 2.21$            

950473B Decal "2HR" 2.21$            

950474B Decal "330" 2.21$            

950475B Decal "480" 2.21$            

950476B Decal "308" 2.21$            

950477B Decal "RS2" 2.21$            

950478B Decal "02R" 2.21$            

950479B Decal "03R" 2.21$            

950480B Decal "04R" 2.21$            

950481B Decal "05R" 2.21$            

950482B Decal "06R" 2.21$            

950483B Decal "08V" 2.21$            

950484B Decal "10V" 2.21$            

950485B Decal "12V" 2.21$            

950486B Decal "Danger moving parts" 0.01$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 196

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

950487B Decal "Danger feed rollers" 0.01$            

950488B Decal "Caution avoid injury" 0.01$            

950489B Decal "Caution 540 rpm PTO" 0.01$            

950490B Decal "Caution 1000 rpm PTO" 0.01$            

950491B Decal "Caution 2000 rpm PTO" 0.01$            

950492B Decal "Warning thrown objects" 0.01$            

950493B Decal "Warning crushing hazard" 0.01$            

950494B Decal "Warning rotating parts" 0.01$            

950495B Decal "D90" 2.21$            

950496B Decal "248" 1.86$            

950811B Bolt HH 3/8"‐16x2.50" G8 Z P 0.49$            

950812B Decal "BLR" 2.21$            

950813B Decal "BRB" 2.21$            

950814B Decal "096" 2.21$            

950816B Decal "SF6" 2.21$            

950817B Decal "SF7" 2.21$            

950818B Decal "Danger rotating blades" 0.01$            

950818BFR Decal "Danger rotating blades" 0.01$            

950821B Decal "BM6" 2.21$            

950822B Decal "800" 2.21$            

950823B Decal "PHD" 2.21$            

950824B Decal "BCA" 2.21$            

950940B Decal "Quick hitch compatible" 2.21$            

950942B Decal "Spread chart" (one opening) 2.91$            

950946B Decal "ECO" 2.21$            

950947B Decal "R60" 2.21$            

950948B Decal "R48" 2.21$            

950949B Decal "R72" 2.21$            

950950B Decal "C48" 2.21$            

950951B Decal "C60" 2.21$            

950952B Decal "166" 2.21$            

950953B Decal "231" 2.21$            

950955B Decal "Danger sharp blades" 0.01$            

950962B Decal "811 call before you dig" 0.01$            

950963B Decal "512" 2.21$            

950964B Decal "BRC" 2.21$            

950965B Decal "HRC" 2.21$            

950966B Decal "04V" 2.21$            

950967B Decal "06V" 2.21$            

950968B Decal "Hurricane" 2.21$            

950969B Decal "Danger rotating parts" 0.01$            

950969BFR Decal "Danger rotating parts" 0.01$            

950970B Decal "Danger entanglement guard missing" 0.01$            

950970BFR Decal "Danger entanglement guard missing" 0.01$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 197

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

950971B Decal "S48" 2.21$            

950972B Decal "S60" 2.21$            

950973B Decal "S72" 2.21$            

950974B Decal "20 mile/h" 6.27$            

950975B Decal "30 Km/h" 6.27$            

952812B Bolt HH 3/4"‐10x2.75" G5 Z P 2.73$            

955B1100B Shield, inner tube 21.22$          

955NB064B Shield, inner tube 450 16.20$          

955NB074B Shield, inner tube 550 19.14$          

955NB089B Shield, inner tube 700 22.07$          

955NB103B Shield, inner tube 840 11.43$          

955NL052B Shield, inner tube 380 4.51$            

955NL063B Shield, inner tube 490 5.80$            

956042B Use 502815B

956043B Nut HH 7/16"‐14 G2 Z 0.74$            

956142B Use 502123B

9600020D Joint assembly, double yoke 303.69$       

960100B Manual BF Tiller SRG 0.01$            

960101B Manual BF Tiller SR1 0.01$            

960102B Manual BF Tiller SR2 0.01$            

960103B Manual BF Tiller SR3 3XX‐232 0.01$            

960104B Manual BF Tiller SR3 3XX‐412 0.01$            

960105B Manual BF Tiller SR4 0.01$            

960106B Manual BF Tiller SR5 0.01$            

960107B Manual BF Tiller SR7 0.01$            

960108B Manual BF Tiller SR8 0.01$            

960109B Manual BF Rotary Cutter T2X 0.01$            

960110B Manual BF Engine Mower C30‐CE5 #345292‐ 0.01$            

960111B Manual BF Finishing Mower C2X‐711 0.01$            

960112B Manual BF Finishing Mower 0XX‐711 0.01$            

960113B Manual BF Flail Mower SR2 H2X‐811 0.01$            

960114B Manual BF Pull‐Type Spreader 101, 103 0.01$            

960115B Manual BF Spreader 203 0.01$            

960116B Manual BF Spreader 203, 206, 209, 212 (operator) 0.01$            

960117B Manual BF Power Harrow SR2 0.01$            

960118B Manual BF Power Harrow SR5 0.01$            

960119B Manual BF Power Harrow SR6 0.01$            

960120B Manual BF Green‐Rite I 0.01$            

960121B Manual BF Green‐Rite II 0.01$            

960122B Manual BF Interrow Cultivator SR2, SR3 0.01$            

960123B Manual BF Interrow Cultivator SR4, SR5 0.01$            

960124B Manual BF Ditcher 0.01$            

960125B Manual BF Post Hole Digger (operator) 0.01$            

960127B Manual BF Mower 090, 110‐711 0.01$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 198

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

960128B Manual BF Green‐Rite III 0.01$            

960129B Manual BF Pendular Spreader 314, 320, 325, 335 0.01$            

960130B Manual BF Flail Mower SR1 H1X, HEX 0.01$            

960131B Manual BF Flail Mower SR2 H2X‐812 0.01$            

960132B Manual BF Flail Mower SR2 H2X‐814 0.01$            

960133B Manual BF Finger Wheel Rake RS0 0.01$            

960134B Manual BF Pull‐Type Spreader 103, 106 0.01$            

960135B Manual BF Pendular Spreader 301, 303 #304099‐ 0.01$            

960136B Manual BF Disc Mower DMX‐111 0.01$            

960137B Manual BF Pendular spreader 302 0.01$            

960138B Manual BF Mower 090, 110‐712 0.01$            

960151B Manual BF Flail Mower SR3 H74, H88 0.01$            

960152B Manual BF Flail Mower SR2 H2X‐813 0.01$            

960153B Manual BF Finger Wheel Rake RS1 0.01$            

960155B Manual BF Finishing Mower C2X‐715 0.01$            

960156B Manual BF Gang Mower X1X‐702, 703, 704, 705 0.01$            

960157B Manual BF Tedder GF0, GFP‐XX0 0.01$            

960158B Manual BF Tiller SRE 0.01$            

960159B Manual BF Gang Mower X1X‐705 0.01$            

960160B Manual BF Tedder GF0, GFP‐XX1 0.01$            

960161B Manual BF Finger Wheel Rake RS1, RC0 0.01$            

960163B Manual BF Finger Wheel Rake RS1‐09R 0.01$            

960165B Manual BF Disc Mower DMX‐112 0.01$            

960166B Manual BF Disc Mower DMX‐113 0.01$            

960167B Manual BF Windrower GR0 0.01$            

960170B Manual BF Interrow Cultivator SR7 0.01$            

960171B Manual BF Finger Wheel Rakes RC0‐XXV, RS2‐XXV 0.01$            

960172B Manual BF Tedder DR0, DRP‐480 0.01$            

960173B Manual BF Finishing Mower C1X‐716 0.01$            

960174B Manual BF Finishing Mower C2X‐716 0.01$            

960175B Manual BF Windrower GR0 0.01$            

960176B Manual BF Windrower 308 0.01$            

960177B Manual BF Finger Wheel Rake RS2‐09R 0.01$            

960179B Manual BF Tedder GA0, GAP 0.01$            

960180B Manual BF Flail Mower SR2 H2X‐815 0.01$            

960184B Manual BF Finger Wheel Rake RS2‐04, 05, 06 0.01$            

960207B Manual BF Gang Mower FLX (parts) 0.01$            

960208B Manual BF Gang Mower SFL‐412, 415 (parts) 0.01$            

960209B Manual BF Gang Mower SFL‐417, 420 (parts) 0.01$            

960372B Manual BF Sickle Bar Mower BSB‐00X 0.01$            

960388B Manual BF Sickle Bar Mower BSB‐0XX #289768‐ 0.01$            

960389B Manual BF Post Hole Digger accessories 0.01$            

960390B Manual BF Tedder DR0, DRP‐330 0.01$            

960391B Manual BF Sickle Bar Mower BSB‐0XX #289769+ 0.01$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 199

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

960392B Manual BF Finger Wheel Rake RS2‐02, 03, 04V, 06V 0.01$            

960393B Manual BF Finger Wheel Rakes HRC‐XXV(operator) 0.01$            

960394B Manual BF Sickle Bar Mower BSB‐2XX 0.01$            

960395B Manual BF Engine Mower C30‐CE5H #345293+ 0.01$            

961109B Manual BF Rotary Cutter RLD 0.01$            

961116B Manual BF Spreader 203, 206, 209, 212 (parts) 0.01$            

961125B Manual BF Post Hole Digger (parts) 0.01$            

961159B Manual BF Gang Mower 2XX‐706 (operator) 0.01$            

961166B Manual BF Disc Mower DMX‐114 (operator) 0.01$            

961206B Manual FR Gang Mower FLX (operator) 0.01$            

961393B Manual BF Finger Wheel Rakes HRC‐XXV (parts) 0.01$            

961B1100B Shield, outer tube 22.33$          

961B3125B Shield, inner tube 1048 15.28$          

961NB064B Shield, outer tube 450 7.48$            

961NB074B Shield, outer tube 550 8.83$            

961NB089B Shield, outer tube 700 10.18$          

961NB103B Shield, outer tube 840 12.09$          

961NB125B Shield, inner tube 1048 15.28$          

961NL052B Shield, outer tube 380 4.74$            

961NL063B Shield, outer tube 490 6.13$            

966B3125B Use 966NB125B

966NB125B Shield, outer tube 1048 15.37$          

96SC1032C Shield, complete SC 320 81.53$          

96SC1035C Shield, complete SC 350 81.53$          

96SC1042C Shield, complete SC 420 81.53$          

96SC1045C Shield, complete SC 450 81.53$          

96SC4070C Shield, complete SC 700 81.53$          

96SE4036C Shield, complete SE 360 TX3‐TX4 81.53$          

96SE4041C Shield, complete SE 410 81.53$          

96SE4056C Shield, complete SE 560 81.53$          

96SE4071C Shield, complete SE 710 81.53$          

96SL2043C Use P62064SLA

96SL2053C Use P62074SLA

96SL2068C Use P62089SLA

96SL4023C Shield, complete SL 230 81.53$          

96SL4040C Shield, complete SL 400 81.53$          

96SL4050C Shield, complete SL 500 81.53$          

96SL4053C Shield, complete SL 530 81.53$          

96SL4060C Shield, complete SL 600 81.53$          

96SL4068C Shield, complete SL 680 81.53$          

96SL4075C Shield, complete SL 750 81.53$          

96SL4085C Shield, complete SL 850 81.53$          

96SS2033C Shield, complete SS 330 81.53$          

96SS2082C Use 3CE02103B

All prices are FOB Rocky Mount, NC and are subject to change without notice. 200

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

96SS4039C Shield, complete SS 390 81.53$          

96SS4040C Shield, complete SS 400 81.53$          

96SS4043C Shield, complete SS 430 81.53$          

96SS4049C Shield, complete SS 490 85.10$          

96SS4105C Use 3CE03125B

971100B Manual BF Tiller T30 (operator) 0.01$            

971101B Manual BF Tiller T40 0.01$            

971102B Manual BF Tiller T50 0.01$            

971103B Manual BF Tiller T60 0.01$            

971104B Manual BF Tiller T70 0.01$            

971124B Manual RO Tiller SR1 0.01$            

971128B Manual BF Green‐Rite (parts) 0.01$            

971130B Manual BF Green‐Rite (operator) 0.01$            

971131B Manual BF Flail Mower H40 0.01$            

971132B Manual BF Flail Mower H70 #251882‐279835 0.01$            

971133B Manual BF Flail Mower H80 #256964‐277107 0.01$            

971134B Manual BF Rotary Cutter RSD, RRB 0.01$            

971138B Manual BF Mower C70 0.01$            

971159B Manual BF Gang Mower 21X‐706 (parts) 0.01$            

971160B Manual BF Gang Mower 220‐706 (parts) 0.01$            

971166B Manual BF Disc Mower DMX‐114 (parts) 0.01$            

971168B Manual BF Chipper BM6‐800 0.01$            

971169B Manual BF Chipper BM6‐2HR 0.01$            

971173B Manual BF Finishing Mower C30 0.01$            

971174B Manual BF Finishing Mower C50(operator) 0.01$            

971175B Manual BF Gang Mower EZF (operator) 0.01$            

971176B Manual BF Gang Mower EZF (parts) 0.01$            

971205B Manual BF Rotary Cutter RMD‐2XX 0.01$            

971206B Manual BF Rotary Cutter RHD‐2XX 0.01$            

971207B Manual BF Box Scraper BBS 0.01$            

971208B Manual BF Landscape Rake BLR 0.01$            

971209B Manual BF Rear Blade BRB‐CXX, 0XX 0.01$            

971210B Manual BF Rear Blade BRB‐2XX 0.01$            

971211B Manual BF Soil Pulverizer BPL 0.01$            

971212B Manual BF Core Aerator BCA 0.01$            

971212BFR Manual BF Core Aerator BCA (French) 0.01$            

971213B Manual BF Quick Hitch Adapter C30 0.01$            

971214B Manual BF Quick Hitch Adapter C50, C70 0.01$            

971381B Manual BF Pendular Spreader accessories 0.01$            

971391B Manual BF Flail Mower H70 #251881‐ 0.01$            

971392B Manual BF Spreader accessories 0.01$            

971394B Manual BF Flail Mower H80 #256963‐ 0.01$            

971395B Manual BF Primary Seeder SRT‐074 0.01$            

971396B Manual BF Rotary Cutter RMD‐3XX 0.01$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 201

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

971397B Manual BF Rotary Cutter RHD‐4XX 0.01$            

971398B Manual BF Grading Scraper BGS 0.01$            

971399B Manual BF Flail Mower H80 #277108+ 0.01$            

971400B Manual BF Flail Mower H70 #279836+ 0.01$            

971401B Manual BF Flail Shredder D90 0.01$            

971402B Manual BF Quick Hitch Adapter RSD, RRB 0.01$            

971403B Manual BF Quick Hitch QH1, QH2 0.01$            

971404B Manual BF Rotary Cutter BRC 0.01$            

971407B Manual BF Pendular Spreader 303 #304100+ (operator) 0.01$            

971408B Manual BF Pendular Spreader 303 #304100+ (parts) 0.01$            

971411B Manual BF Pendular Spreader 301‐300, 400 (operator) 0.01$            

971412B Manual BF Pendular Spreader 301‐300, 400 (parts) 0.01$            

971415B Manual BF Flail Mower H40 0.01$            

971417B Manual BF Flail Mower H40‐SXX (operator) 0.01$            

971418B Manual BF Flail Mower H40‐SXX (parts) 0.01$            

972100B Manual BF Tiller T30 (parts) 0.01$            

972173B Manual BF Finishing Mower C30 (parts) 0.01$            

972174B Manual BF Finishing Mower C50 (parts) 0.01$            

980100617 QD coupler 106.69$       

980100618 Plug 5.29$            

980100619 Bolt hollow 3/8"x1.25" Z 5.84$            

980100710 Adaptor 7.12$            

980200005 Chain 46.36$          

980200030 Key 8x7x55 3.19$            

980200117 Key 2.01$            

980200699 Use 0050049

980200740 Shim 3.55$            

980204174 Use 0157437B

980204175 Use 0257437B

980205452 Use 0050049

980206005 Lynch pin 9.03$            

980206030 Cotter pin 0.98$            

980206041 Set screw 0.84$            

980206093 Bolt 0.98$            

980206102 Use 0032619

980206115 Bolt 3.12$            

980206140 Use 0192236

980206161 Nut 4.66$            

980206431 Bolt HH M20‐2.50x240 C8.8 Z P 12.51$          

980206631 Nut, 5, 6, 7 disc 2.48$            

980206632 Nut 9.07$            

980206633 Nut, 4 disc 0.01$            

980206643 Clamp 0.98$            

980206655 Bolt 1.52$            

All prices are FOB Rocky Mount, NC and are subject to change without notice. 202

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

98052242B Self tapping screw PN M4.8x22 Z 0.21$            

980900260 Cylinder seal kit, 5, 6 disc 107.80$       

980900270 Cylinder seal kit, 4 disc 107.12$       

980900275 Cylinder seal kit, 7 disc 114.73$       

981013300 Hydraulic hose 106.17$       

981108004 Roll pin Ø8x40 1.35$            

981108032 Use 0010122

981108210 Roll pin Ø6x40 1.14$            

981108608 Use 502625B

981400505 Guard 63.39$          

981600618 Washer 0.56$            

981600619 Washer 0.60$            

994201R Use 0014987

994203R Use 503978B

BRE0001039 Serrated adjustment arm 77.87$          

BRE0001040 Serrated locking plate 15.54$          

BRE0001045 Rotor scraper 9.68$            

BRE0001096 Cover, chain case 272.76$       

BRE0001100 Gasket 31.18$          

BRE0001234 Spacer 5.44$            

BRE0002019 Bolt wing M10x75 9.02$            

BRE0002110 Snap ring, outer Ø48 1.64$            

BRE0002119 Gasket 35.02$          

BRE0002185 Plate 21.43$          

BRE0002262 Pin for spring 17.14$          

BRE0002288 Dust cover 27.64$          

BRE0002313 Pin for turnbuckle 21.43$          

BRE0002381 Hood cleaner bar 58.44$          

BRE0002418 Lift hook 36.24$          

BRE0002430 Skid 163.61$       

BRE0002434 Skid wear plate 46.81$          

BRE0002447 Chain 23.35$          

BRE0002508 Gasket 21.81$          

BRE0002522 Lifting hook 32.70$          

BRE0003054 Dirt shield, outer 42.86$          

BRE0003072 Snap ring, inner Ø120 9.31$            

BRE0003077 Shaft 270.15$       

BRE0003198 Dipstick 23.35$          

BRE0003218 Small clutch plate 28.64$          

BRE0003228 Dirt shield 28.64$          

BRE0003297 Roller pin 135.64$       

BRE0003301 Cover 13.22$          

BRE0003311 Turnbuckle complete 584.49$       

BRE0003313 Spacer 31.18$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 203

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0003316 Hub turnbuckle 54.51$          

BRE0003323 Lead screw 136.36$       

BRE0003373 Spacer 10.11$          

BRE0003404 Chain link, ASA 140 62.33$          

BRE0003405 Chain link, inner ASA 140 58.13$          

BRE0003406 Chain link, false ASA 140 101.28$       

BRE0006198 Gearbox cover 375.70$       

BRE0006404 Prong 36.27$          

BRE0006492 Regulating screw 857.26$       

BRE0006505 Lead screw 233.79$       

BRE0007065 Dirt shield 38.95$          

BRE0007067 Rotor support flange, right 136.36$       

BRE0007068 Outer cover, right 33.22$          

BRE0007073 Dirt shield, inner right 65.06$          

BRE0007078 Flanged pivot 350.68$       

BRE0007092 Rotor support flange, left 225.94$       

BRE0007095 Plate spacer 29.20$          

BRE0007096 Dirt shield 72.23$          

BRE0007154 Ring gear 701.36$       

BRE0007155 Pinion gear 428.65$       

BRE0007163 Gearbox 1,246.86$    

BRE0007164 Shaft input 428.65$       

BRE0007167 Spacer 24.90$          

BRE0007168 Rear gearbox support 58.44$          

BRE0007176 Gearbox bracket 54.51$          

BRE0007178 Gearbox cover 70.12$          

BRE0008021 Front shift support 785.20$       

BRE0008031 Shifter arm 49.30$          

BRE0008127 Spacer 97.37$          

BRE0008131 Shaft support 245.51$       

BRE0008135 Cover 12.47$          

BRE0008139 Spacer 21.43$          

BRE0008147 Housing, gearbox 1,168.93$    

BRE0008148 Gearbox cover 292.19$       

BRE0008157 Hub ring gear 428.65$       

BRE0008186 Shaft support 249.34$       

BRE0013040 Right cover 83.40$          

BRE0013197 Input shaft 506.50$       

BRE0013327 Chain hitch 70.12$          

BRE0013429 Exchange gear Z15 203.90$       

BRE0013430 Exchange gear Z20 268.05$       

BRE0013515 Clevis arm half 23.35$          

BRE0013646 Sprocket Z12 370.93$       

BRE0013647 Sprocket Z13 288.34$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 204

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0013654 Support bearing 210.40$       

BRE0013694 Ring gear 974.16$       

BRE0013695 Pinion gear 779.30$       

BRE0013698 Spacer 35.98$          

BRE0013700 Support bearing 428.65$       

BRE0013706 Flange cover 97.37$          

BRE0014016 Bolt "U" 38.95$          

BRE0014065 Gasket OR 620 1.52$            

BRE0014423 Skid 121.59$       

BRE0014427 Skid wear pad 0.01$            

BRE0015004 Frame side 52.61$          

BRE0015013 Tree point hitch 1,052.04$    

BRE0015041 Wheel support 409.09$       

BRE0015056 Spring, hold down clip 15.54$          

BRE0015057 Spring pin Ø6x30 0.76$            

BRE0015075 Ground guard cover 12.47$          

BRE0015093 Housing, gearbox 779.30$       

BRE0015094 Ring gear 525.98$       

BRE0015097 Side cover 130.10$       

BRE0015099 Oil plug 9.74$            

BRE0015100 Pinion gear 428.65$       

BRE0015109 Front cover 105.19$       

BRE0015113 Gearbox support 194.78$       

BRE0015144 Component support 202.64$       

BRE0015168 Chain case, left 467.56$       

BRE0015176 Chain case, right 467.56$       

BRE0015187 Spring 14.35$          

BRE0015191 Chain 89.59$          

BRE0015203 Extension 3" 89.59$          

BRE0015206 Chain link 30.73$          

BRE0015210 Plug 4.26$            

BRE0015211 Cover cap 22.18$          

BRE0015212 Spacer 23.35$          

BRE0015233 Adjustment blade 179.23$       

BRE0015241 Spring rod 52.85$          

BRE0015244 Rod guide 4.98$            

BRE0015246 Spring 21.43$          

BRE0015247 Handle 25.30$          

BRE0015250 Extension 4" 105.19$       

BRE0015251 Furrowing arm 187.02$       

BRE0015260 Spring rod 33.51$          

BRE0015266 Spring 17.91$          

BRE0015272 Furrowing unit 227.09$       

BRE0015620 Pulley hexagonal shaft 89.59$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 205

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0015623 Pulley intermediate 264.95$       

BRE0016385 Chain hitch 25.30$          

BRE0016397 Skid wear plate 46.72$          

BRE0016501 Frame 225 cm. 4,870.70$    

BRE0016521 Side panel, right 740.30$       

BRE0016565 Arm, top hitch 81.82$          

BRE0016567 Side panel, left 66.19$          

BRE0017022 Spacer 9.27$            

BRE0017025 Bolt "U" 22.18$          

BRE0017181 Sprocket Z15 545.52$       

BRE0017182 Nut M42 16.04$          

BRE0017186 Sprocket Z11 346.77$       

BRE0017205 Cover, chain case 545.52$       

BRE0017215 Gasket 24.67$          

BRE0017267 Housing, gearbox 2,805.51$    

BRE0017359 Plate 17.52$          

BRE0017364 Spring rod 69.20$          

BRE0017365 Cover 13.61$          

BRE0017369 Spring 13.28$          

BRE0017370 Spring 8.30$            

BRE0017461 Turnbuckle complete 428.65$       

BRE0017463 Handle 54.51$          

BRE0017477 Turnbuckle 97.37$          

BRE0017483 Lead screw 136.36$       

BRE0017492 Shield tube 140.23$       

BRE0017551 A frame 1,831.39$    

BRE0017633 Roller scraper 46.72$          

BRE0017705 Plate 54.51$          

BRE0017721 Plate 23.72$          

BRE0017735 Roller frame 90" 662.40$       

BRE0018033 Flanged pivot, right 241.57$       

BRE0018060 Spacer 83.04$          

BRE0018062 Rotor support, left 329.40$       

BRE0018078 Snap ring, outer Ø60 1.95$            

BRE0018108 Bearing NJ 2212 318.33$       

BRE0018140 Gasket 2.28$            

BRE0018267 Arm, top hitch 89.59$          

BRE0018275 Arm, clevis half 136.36$       

BRE0020018 Spacer 7.80$            

BRE0020029 Spacer 6.94$            

BRE0020031 Side panel, right 857.26$       

BRE0020042 Side panel, left 896.19$       

BRE0020081 Rotor 120" 6,429.34$    

BRE0020091 Rotor 100" 7,255.88$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 206

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0020205 Cover, chain case 584.49$       

BRE0020211 Chain pan protection 42.86$          

BRE0020215 Gasket 42.86$          

BRE0020263 Ring gear Z35 935.13$       

BRE0020264 Pinion gear Z14 506.50$       

BRE0020267 Housing, gearbox 2,945.27$    

BRE0020268 Pinion cover 140.23$       

BRE0020275 Shaft pinion 389.64$       

BRE0020278 Shaft lateral, right 537.00$       

BRE0020280 Shaft input 288.87$       

BRE0020281 Cover, input shaft 101.28$       

BRE0020294 Gasket 23.59$          

BRE0020296 Cover, gearbox housing 136.07$       

BRE0020351 Hitch block 202.64$       

BRE0020361 Pin hitch 54.51$          

BRE0025177 Flange, front cover 120.74$       

BRE0025391 Housing, gearbox 2,493.80$    

BRE0025397 Shaft lateral, right 272.76$       

BRE0025401 Exchange gear Z17 319.50$       

BRE0025402 Exchange gear Z18 338.97$       

BRE0025426 Cover, gearbox housing 311.67$       

BRE0026132 Housing, center gearbox type A 2,591.22$    

BRE0026142 Lower shaft type A 381.84$       

BRE0028081 Tine 35.73$          

BRE0029028 Washer flat Ø50 N 4.48$            

BRE0029278 Roll pin Ø6x24 0.76$            

BRE0031273 Pin 7/8"x3.50" 20.60$          

BRE0031309 Hold down grease cap 15.54$          

BRE0031687 Frame connector 58.91$          

BRE0031705 Outer tube 70.72$          

BRE0031711 Register screw 30.62$          

BRE0031757 Fixing plate 9.38$            

BRE0031765 Lead screw 56.54$          

BRE0032174 Clutch guard complete 109.05$       

BRE0032175 Clutch guard 97.37$          

BRE0032176 Guard support 46.72$          

BRE0032181 Base shield 33.51$          

BRE0032271 A frame left half 857.26$       

BRE0032287 Spacer 12.84$          

BRE0032298 Deflector mounting tab 19.48$          

BRE0032375 Plate for arm half 16.31$          

BRE0032401 Turnbuckle 144.15$       

BRE0032499 Bushing 91.74$          

BRE0032738 Support BRE 320 1,558.57$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 207

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0032895 L shaped connector 106.03$       

BRE0032902 Hitch bar 113.07$       

BRE0032914 Plate 14.12$          

BRE0032935 Hook 9/16" 19.34$          

BRE0033111 Shaft 315.60$       

BRE0033344 Cover, pinion gear 105.19$       

BRE0033362 Clutch cover 105.19$       

BRE0035067 Gearbox support 662.40$       

BRE0035161 Roller support plate 190.91$       

BRE0036122 Shaft, input 428.65$       

BRE0036181 Chain box dirt shield 200.04$       

BRE0036196 Gasket 2.73$            

BRE0036206 Gasket 9.74$            

BRE0036211 Hose 74.03$          

BRE0036213 Pump half side coupling 148.05$       

BRE0036217 Hose w/fittings 206.48$       

BRE0036221 Bolt hollow M18‐1.50x36 Z 15.54$          

BRE0036223 Bolt hollow M20‐1.80x40 8.55$            

BRE0036229 Valve push rod 124.68$       

BRE0036235 Oil cap 66.19$          

BRE0036237 Oil plug 12.47$          

BRE0036242 Actuator rod 101.28$       

BRE0036248 Clamp plate half 62.33$          

BRE0036249 Clamp 42.86$          

BRE0036302 Lock pin 46.72$          

BRE0036317 Bushing 22.61$          

BRE0036318 Cap 13.61$          

BRE0036327 Manual arm set 93.51$          

BRE0036336 Hose w/fittings 206.48$       

BRE0036345 Hydraulic cylinder Kit 105.17$       

BRE0036361 Bushing 175.32$       

BRE0036364 Gasket 13.22$          

BRE0036371 Hydraulic cylinder complete 1,085.85$    

BRE0036375 Gasket DBM157118 38.95$          

BRE0036377 Oil ring 126 2.37$            

BRE0036378 Jam Nut 79.84$          

BRE0036379 Gasket B129098/1 50.63$          

BRE0036380 Gasket WRM098129 13.22$          

BRE0036385 Cotter pin 1.90$            

BRE0036420 Cotter pin 1.90$            

BRE0036521 Oil reservoir complete 857.26$       

BRE0036531 Plug 1/2" 6.59$            

BRE0036536 Filler inlet filter 22.97$          

BRE0036539 Oil filter FBO 183.10$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 208

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0036541 Flexible suction hose 23.35$          

BRE0036542 Hose clamp 12.84$          

BRE0036545 Sleeve 1" 27.64$          

BRE0036548 Suction pump APH63SB3 1,995.93$    

BRE0036555 Pump support plate 245.51$       

BRE0036558 Coupling 155.84$       

BRE0036568 Washer sealing 3/4" 2.73$            

BRE0036569 Adaptor 3/4"x1/2" 31.18$          

BRE0036572 Flexible discharge hose 171.47$       

BRE0036578 Distribution box 1,052.04$    

BRE0036579 Distribution box spring 35.02$          

BRE0036580 Spring cover 29.20$          

BRE0036584 Washer copper sealing 1" 2.73$            

BRE0036585 Adaptor 1"x1/2" 36.61$          

BRE0036586 Liquid return pipe 140.23$       

BRE0036587 Nipple 1.00"‐11x2.375" grooved 31.18$          

BRE0036593 Flexible hose, right 222.10$       

BRE0036594 Flexible hose, left 112.99$       

BRE0036601 Cylinder liner 1,129.97$    

BRE0036607 Piston 253.24$       

BRE0036621 Lock pin 10.49$          

BRE0036622 Cotter pin 1.90$            

BRE0036631 Gearbox hitch 272.76$       

BRE0036645 Pivot connection 296.15$       

BRE0036671 Pin, hitch shoulder 38.95$          

BRE0036676 Pin, top hitch shoulder 38.95$          

BRE0036681 Skid 428.65$       

BRE0036685 Pin regulating 38.95$          

BRE0036701 Bushing 140.23$       

BRE0036702 Oil ring 139 2.37$            

BRE0036704 Gasket 13.22$          

BRE0036705 Ring 15.54$          

BRE0036715 Command lever 66.19$          

BRE0036722 Fork 24.15$          

BRE0036724 Lock pin 13.99$          

BRE0036728 Safety plate 93.51$          

BRE0036731 Manual control arm 77.87$          

BRE0036741 Lever support 467.56$       

BRE0036751 Pivot 85.72$          

BRE0036757 Washer notched 3.11$            

BRE0036758 Washer bushing 3.11$            

BRE0036765 Support fork 124.56$       

BRE0036770 Clamp plate half 121.80$       

BRE0036781 Threaded rod 70.12$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 209

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0036805 Retainer pin with chain 38.95$          

BRE0036821 Support shield right 89.59$          

BRE0038512 Bolt "U" M14‐1.50x77x108 N 12.47$          

BRE0041027 Gasket 2.28$            

BRE0041113 Flange, center gearbox type A 1,207.93$    

BRE0041121 Gear Z27 type A 1,578.06$    

BRE0041137 Shaft, input through drive 896.19$       

BRE0041180 Front protection type A 66.19$          

BRE0041240 Plate, reinforcement 38.95$          

BRE0041241 A frame right half 818.26$       

BRE0041249 Tolls, support plate 136.36$       

BRE0041251 A frame left half 818.26$       

BRE0041281 Hitch block 185.73$       

BRE0041312 Deflector shield 93.51$          

BRE0041313 Deflector shield 40.93$          

BRE0041320 Deflector mounting tab 12.47$          

BRE0041321 Pipe pan reinforcing 1,987.21$    

BRE0041345 Center lug, deflector pipe 22.97$          

BRE0041347 End cap, deflector cap 37.37$          

BRE0041355 Arm front clevis support 62.33$          

BRE0041356 Clevis arm half 22.97$          

BRE0041371 Plate roller support 148.52$       

BRE0041406 Brace 29.20$          

BRE0041487 Flange center gearbox 1,129.97$    

BRE0041502 Cover, pinion gear 116.93$       

BRE0041506 Pinion shaft 467.56$       

BRE0041524 Shaft upper 506.50$       

BRE0041574 Turnbuckle clevis end 225.94$       

BRE0041755 Hitch pin 35.31$          

BRE0041779 Hitch pin, turnbuckle 38.76$          

BRE0042021 Tree point hitch 1,091.03$    

BRE0042051 Wheel support 520.02$       

BRE0042073 Wheel support fork 366.26$       

BRE0042091 Support, gearbox 194.78$       

BRE0042103 Housing, gearbox 935.13$       

BRE0042104 Ring gear 409.09$       

BRE0042105 Pinion gear 506.50$       

BRE0042109 Side cover 222.86$       

BRE0042115 Shaft coupling 210.40$       

BRE0042118 Spacer inner 76.16$          

BRE0042119 Spacer outer 30.34$          

BRE0042121 Front spacer 25.68$          

BRE0042144 Support bracket 175.32$       

BRE0042155 Component support 83.56$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 210

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0042163 Half guard, right 264.95$       

BRE0042171 Half guard, left 264.95$       

BRE0042177 Plug 3.87$            

BRE0042196 Chain #60x50 85.72$          

BRE0042251 Adjustment blade 18.53$          

BRE0042264 Spring rod 27.24$          

BRE0049055 Spacer 15.24$          

BRE0049058 Deflector mounting tab 16.01$          

BRE0049169 Bearing protection 6.20$            

BRE0049186 Bearing protection 6.20$            

BRE0049232 Main shaft 638.29$       

BRE0049342 Turnbuckle hitch plate 62.33$          

BRE0049622 Gearbox support 1,154.51$    

BRE0049923 Hitch Bracket 148.46$       

BRE0060085 Hook, PTO shaft support 23.97$          

BRE0060086 Hook attachment 14.11$          

BRE0064031 Side panel, right 584.49$       

BRE0064042 Side panel, left 662.40$       

BRE0064091 Rotor 100" 5,836.81$    

BRE0064101 Rotor 120" 6,907.79$    

BRE0064205 Cover, chain case 428.65$       

BRE0064273 Support, top hitch 48.50$          

BRE0064465 Roller arm 175.32$       

BRE0064469 Spacer 5.28$            

BRE0064482 Turnbuckle hitch 19.48$          

BRE0064484 Plate 13.99$          

BRE0064551 Side shield 70.12$          

BRE0064675 Bolt "U" 8.18$            

BRE0064747 Washer threaded Ø12 Z 12.16$          

BRE0065086 Chain link, false ASA 160 136.36$       

BRE0065089 Chain link, ASA 160 97.37$          

BRE0065090 Chain link, inner ASA 160 85.72$          

BRE0065196 Exchange gear Z14 428.65$       

BRE0065197 Exchange gear Z23 701.36$       

BRE0065200 Exchange gear Z12 354.51$       

BRE0065201 Exchange gear Z25 740.30$       

BRE0066019 Bolt "U" 42.86$          

BRE0066022 Side panel, right 584.49$       

BRE0066028 Support, right 251.89$       

BRE0066031 Spacer 39.91$          

BRE0066033 Flanged pivot, right 346.77$       

BRE0066035 Cover inner 52.60$          

BRE0066046D Tine "C" style, right‐3 hole 19.37$          

BRE0066046S Tine "C" style, left‐3 hole 19.37$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 211

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0066058 Flanged pivot, left 584.49$       

BRE0066059 Cover 28.01$          

BRE0066060 Spacer 85.81$          

BRE0066062 Support, left 315.60$       

BRE0066072 Sprocket Z12 811.97$       

BRE0066073 Sprocket Z15 818.26$       

BRE0066077 Chain 935.13$       

BRE0066097 Cover, chain case 545.52$       

BRE0066102 Gasket 42.86$          

BRE0066104 Chain pan protection 272.76$       

BRE0066129 Gasket 5.53$            

BRE0066133 Ring gear Z27 1,753.46$    

BRE0066134 Pinion gear Z13 798.77$       

BRE0066136 Gearbox 3,370.52$    

BRE0066138 Pinion cover 167.54$       

BRE0066140 Gasket 3/10 2.76$            

BRE0066142 Washer flat Ø75 Z 20.23$          

BRE0066143 Pinion shaft 623.41$       

BRE0066145 Exchange gear Z16 374.09$       

BRE0066146 Exchange gear Z17 428.65$       

BRE0066147 Exchange gear Z18 428.65$       

BRE0066148 Exchange gear Z19 467.56$       

BRE0066149 Exchange gear Z20 467.56$       

BRE0066150 Exchange gear Z21 506.50$       

BRE0066153 Shaft, upper 662.40$       

BRE0066155 Flange 112.99$       

BRE0066158 Gasket 2/10 1.84$            

BRE0066162 Cover, rear housing 264.98$       

BRE0066163 Gasket 22.61$          

BRE0066173 Exchange gear Z22 435.43$       

BRE0066180 Exchange gear Z15 380.99$       

BRE0066183 Flange complete 154.56$       

BRE0066188 Disk 68.86$          

BRE0066197 Yoke 316.72$       

BRE0066255 Hitch block 253.24$       

BRE0066266 Support, top hitch 93.51$          

BRE0066283 Top Hitch 112.99$       

BRE0066421 Skid 327.31$       

BRE0066441 Gearbox 3,273.07$    

BRE0066448 Shaft input 779.30$       

BRE0070011 Side panel, right 251.61$       

BRE0070021 Side panel, left 701.36$       

BRE0070031 Cover, chain case 268.88$       

BRE0070035 Gasket 37.37$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 212

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0070048 Washer threaded Ø12 Z 16.61$          

BRE0070056 Locking plate 15.89$          

BRE0070061 Chain pan protection 47.05$          

BRE0070203 Housing, gearbox 1,708.20$    

BRE0070249 Gearbox cover 143.94$       

BRE0070250 Gasket, exchange gear cover 19.72$          

BRE0070275 Hitch plate 18.65$          

BRE0070320 Gearbox support 370.17$       

BRE0070324 Gearbox support 47.12$          

BRE0070341 Arm, top hitch 50.63$          

BRE0070342 Support, top hitch 46.72$          

BRE0070371 Spacer 5.82$            

BRE0070411 Chain complete 31.94$          

BRE0070505 Plate 19.37$          

BRE0070517 Plate roller, right 81.82$          

BRE0070522 Plate roller, left 89.59$          

BRE0070567 Roller scraper 46.72$          

BRE0070571 Plate 17.91$          

BRE0070576 Turnbuckle hitch 85.72$          

BRE0070581 Plate 19.48$          

BRE0070593 Turnbuckle 272.76$       

BRE0070598 Shield tube 42.86$          

BRE0071011 Side panel, right 623.41$       

BRE0071114 Rotor 96" 4,247.26$    

BRE0072011 Side panel, right 506.50$       

BRE0072021 Side panel, left 818.26$       

BRE0072229 Ring gear, fine spline 489.83$       

BRE0072230 Pinion gear 493.65$       

BRE0072233 Hub ring gear, fine spline 346.01$       

BRE0073031 Cover, chain case 346.82$       

BRE0073176 Chain 120x34 619.87$       

BRE0073496 Gear housing 2,298.96$    

BRE0074003 Frame 4,909.64$    

BRE0074050 Gasket 5.07$            

BRE0074107 Dipstick 27.24$          

BRE0074169 Cutting wheel 896.19$       

BRE0074193 Blade scraper 31.18$          

BRE0074212 Tine holder 22.97$          

BRE0074220 Washer flat Ø43 Z 26.85$          

BRE0074266 Hitch pin 46.72$          

BRE0074275 Support, top hitch 105.19$       

BRE0074312 Hood left 264.95$       

BRE0074317 Shield hitch 44.77$          

BRE0074319 Hitch plate 54.51$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 213

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0074336 Dirt shield rear 257.18$       

BRE0074343 Dirt shield front 233.79$       

BRE0074355 Hood right 506.50$       

BRE0074358 Rod 33.51$          

BRE0074361 Base plate 155.84$       

BRE0074366 Plate regulating 101.28$       

BRE0074372 Hinge pin 16.76$          

BRE0074375 Nut wing M12‐1.75 C5 Z 2.76$            

BRE0074378 Frame hitch 38.95$          

BRE0074379 Hitch to gearbox 38.19$          

BRE0074443 Cylinder liner 812.82$       

BRE0074445 Nut M24 6.94$            

BRE0074446 Gasket OR 214 5.07$            

BRE0074447 Gasket DAS 70‐60 77.87$          

BRE0074448 Piston 253.24$       

BRE0074450 Gasket 6.20$            

BRE0074451 Gasket T.S. 38.95$          

BRE0074453 Cylinder head 319.50$       

BRE0074455 Gasket P.V. 35 12.06$          

BRE0074457 Rod 506.50$       

BRE0074460 Hose flexible 268.79$       

BRE0074461 Quick connector 109.05$       

BRE0074462 Washer copper sealing Ø21 2.73$            

BRE0074464 Adaptor 3/8" MBSPPx3/8" MBSPP 109.05$       

BRE0074465 Washer 2.73$            

BRE0075003 Frame 4,403.15$    

BRE0075275 Support, top hitch 45.71$          

BRE0075317 Shield hitch 17.91$          

BRE0075331 Hood top right 237.66$       

BRE0075336 Dirt shield rear 222.10$       

BRE0075343 Dirt shield front 233.79$       

BRE0075355 Plate right hood 506.50$       

BRE0075358 Hinge pin 16.76$          

BRE0075361 Base plate 151.94$       

BRE0075379 Hitch to gearbox 17.52$          

BRE0076003 Frame 5,611.04$    

BRE0076031 Cutting wheel 1,013.09$    

BRE0076096 Protection wheel left 264.95$       

BRE0076101 Shield hitch 44.77$          

BRE0076107 Hood right 506.50$       

BRE0076110 Dirt shield rear 311.67$       

BRE0076114 Dirt shield front 381.84$       

BRE0076118 Hitch to gearbox 44.77$          

BRE0076119 Hitch to frame 44.77$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 214

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0076126 Base plate 107.78$       

BRE0076135 Hood cover right 253.24$       

BRE0076140 Hinge pin 42.86$          

BRE0076142 Plate regulating 101.28$       

BRE0076146 Hinge pin 19.86$          

BRE0076171 Support, top hitch 105.19$       

BRE0076178 Arm, top hitch 97.37$          

BRE0076180 Stand 62.33$          

BRE0076185 Connecting pin 17.01$          

BRE0076190 Guide 85.72$          

BRE0077013 Roll pin Ø8x16 0.76$            

BRE0077131 Clutch guard complete 101.28$       

BRE0077132 Shield 70.12$          

BRE0077133 Guard support 46.72$          

BRE0077139 Front shield 29.57$          

BRE0077201 Hitch block pin cat. 2 105.19$       

BRE0077207 A frame half 818.26$       

BRE0077222 Spring pivot 7.80$            

BRE0077224 Spring angle connector 13.84$          

BRE0077225 Tools support plate 70.12$          

BRE0077256 Turnbuckle hitch 74.03$          

BRE0077441 Hydraulic cylinder 1,193.46$    

BRE0078004 Shaft 400.57$       

BRE0078005 Cast iron head 259.18$       

BRE0078006 Gasket 14.86$          

BRE0078007 Gasket 44.79$          

BRE0078008 Gasket 10.85$          

BRE0078009 Gasket 1.45$            

BRE0078011 Gasket 13.41$          

BRE0078013 Tube 918.93$       

BRE0078041 Pin 32.98$          

BRE0078061 A frame base 353.45$       

BRE0078065 Spacing plate 80.10$          

BRE0078182 Linking arm 124.90$       

BRE0089021 Tree point hitch 1,052.04$    

BRE0089029 Plate 31.23$          

BRE0089036 Shaft stop 26.85$          

BRE0089040 Use BRE0089036

BRE0089042 Wheel support 335.07$       

BRE0089067 Wheel support fork 315.60$       

BRE0089077 Wheel 303.47$       

BRE0089105 Gearbox 1,402.77$    

BRE0089106 Side cover 268.79$       

BRE0089112 Shaft coupling 311.67$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 215

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0089113 Ring gear 389.64$       

BRE0089114 Pinion gear 681.89$       

BRE0089116 Pinion support 467.56$       

BRE0089123 Cover, pinion 109.05$       

BRE0089197 Component support 198.71$       

BRE0089213 Chain case cover, right 467.56$       

BRE0089221 Chain case cover, left 467.56$       

BRE0089231 Sprocket 467.56$       

BRE0089243 Oil plug 9.74$            

BRE0089244 Component support 116.93$       

BRE0089261 Spacer 25.68$          

BRE0089262 Cover 17.52$          

BRE0089265 Drive flange 194.78$       

BRE0089302 Plant protector 70.12$          

BRE0089323 Spacer 10.88$          

BRE0089341 Drum 7.5 cm. 190.91$       

BRE0089346 Drum 10 cm. 194.78$       

BRE0089376 Drum 10 cm. 128.29$       

BRE0089559 Catch for shaft 24.91$          

BRE0089571 Tree point hitch 1,147.06$    

BRE0090008 Locking collar 19.86$          

BRE0090011 Tree point hitch 974.16$       

BRE0090031 Wheel support 409.09$       

BRE0090086 Side cover 194.78$       

BRE0090141 Sprocket 342.90$       

BRE0090288 Ground splitting tip 64.32$          

BRE0091006 Frame side end plate 54.51$          

BRE0091006D Frame side end plate, right 54.51$          

BRE0091006S Frame side end plate, left 54.51$          

BRE0091040 Pin 35.98$          

BRE0091041 Depth control wheel complete 739.19$       

BRE0091071 Wheel holder fork 212.74$       

BRE0091084 Wheel 123.74$       

BRE0091091 Gearbox bracket 202.64$       

BRE0091104 Gearbox 779.30$       

BRE0091111 Ring gear 740.30$       

BRE0091112 Pinion gear 584.49$       

BRE0091115 Pinion cover 144.15$       

BRE0091116 Spacer inner 35.02$          

BRE0091119 Washer lock MB 10 Z 2.28$            

BRE0091121 Nut locking KM 10 14.41$          

BRE0091123 Spacer outer 42.86$          

BRE0091153 Clutch guard 70.12$          

BRE0091154 Guard connection 46.72$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 216

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0091165 Component support 159.76$       

BRE0091183 Guard right half 449.91$       

BRE0091191 Left half guard 449.91$       

BRE0091203 Chain tensioner spring 10.88$          

BRE0091207 Chain tensioner 33.06$          

BRE0091213 Component support 105.19$       

BRE0091216 Use 0001107A

BRE0091232 Spacer 16.76$          

BRE0091233 Dust cover outer 10.49$          

BRE0091237 Drive flange 131.63$       

BRE0091272 Plant protector 62.33$          

BRE0091278 Spring 20.99$          

BRE0091291 Brace, stabilizer bar 46.72$          

BRE0091299 Spacer 10.88$          

BRE0091304 Pin adjustment 20.60$          

BRE0091311 Extension 3" 116.93$       

BRE0091316 Extension 4" 100.80$       

BRE0091427 Plate pulley support 89.59$          

BRE0091438 Pulley fertilizer speed 190.91$       

BRE0091445 Pulley hexagonal shaft 74.03$          

BRE0091458 Hose hook 16.61$          

BRE0091461 Rubber hose 31.18$          

BRE0091468 Pulley hexagonal shaft 109.05$       

BRE0091470 Plate 20.77$          

BRE0091661 Ring gear Z19 319.50$       

BRE0091662 Pinion gear Z13 467.56$       

BRE0091665 Shaft coupling 301.71$       

BRE0091668 Pinion spacer 125.71$       

BRE0091669 Pinion spacer 42.86$          

BRE0091670 Pinion spacer 19.48$          

BRE0091671 Nut locking KM 12 19.48$          

BRE0091672 Washer lock MB 60 Z 11.07$          

BRE0093051 Wheel unit 548.07$       

BRE0093245 Center hood narrow 201.68$       

BRE0093336 Element spring 9.81$            

BRE0094013 A frame hitch 728.16$       

BRE0094229 Dust cover 16.82$          

BRE0094233 Flange 136.36$       

BRE0094326 Spacer 8.18$            

BRE0107023 Hitch block, right 189.34$       

BRE0107145 Drive shaft 58" 467.56$       

BRE0107147 Drive tube 58" 105.19$       

BRE0107653 Support right 44.06$          

BRE0108174 Support bracket, right 128.60$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 217

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0113031 Rotor 56" 2,104.14$    

BRE0113141 Drive tube 64" 701.36$       

BRE0113151 Drive shaft 64" 395.45$       

BRE0113285 Hitch block, right 140.23$       

BRE0113661 Counter shaft 56" 798.77$       

BRE0114242 Hitch block, right 187.02$       

BRE0114312 Roller support plate, right 116.93$       

BRE0115034 Plate connection, right 132.46$       

BRE0115058 Regulating screw 64.72$          

BRE0115161 Component support right 77.87$          

BRE0115221 Center hood extra narrow 370.17$       

BRE0115225 Right hood side (2.50") 148.05$       

BRE0115231D Rear shield extra narrow, right 22.18$          

BRE0115231S Rear shield extra narrow, left 22.18$          

BRE0116391 Skid, right 225.94$       

BRE0117371 Plate rod guide, right 16.76$          

BRE0117715 Plate roller, right 253.24$       

BRE0118140 Gasket 2.28$            

BRE0118352 Roller support, right 116.93$       

BRE0118382 Safety plate 884 1,246.86$    

BRE0118397 Hinge pin 884 70.12$          

BRE0120002 Frame 100" 5,649.98$    

BRE0120131 Rotor 100" 3,935.51$    

BRE0120235 Drive tube 100" 935.12$       

BRE0120252 Drive shaft 100" 1,170.89$    

BRE0120341 Gearbox support 100" 701.36$       

BRE0120411 Safety shield, right 100" 935.13$       

BRE0120421 Guide roller arm, right 132.46$       

BRE0132231 A frame base right 623.41$       

BRE0132295 Front shield 080 253.24$       

BRE0132351 Roller arm right 319.50$       

BRE0132871 Attachment plate right 68.34$          

BRE0132906 Plate support, right 106.03$       

BRE0133171 Front shield 052 179.23$       

BRE0136174 Tailgate 42" 740.30$       

BRE0136655 Shifting hitch 42" 3,389.98$    

BRE0136691 Hitch shifting guide 42" 1,441.71$    

BRE0137505 Toothed roller 66" 791.19$       

BRE0141002 Flat pan complete 160 7,715.21$    

BRE0141231 A frame base, right 1,168.93$    

BRE0141371 Plate roller 148.52$       

BRE0141509 Shaft thru drive 1‐3/8" 701.36$       

BRE0141785 Hitch plate, right 113.07$       

BRE0149021 Front bar 120 584.52$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 218

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0149031 Three point arm, right 1,052.07$    

BRE0149071 Turnbuckle 120‐140 132.50$       

BRE0149077 Tie rod hitch 26.51$          

BRE0149091 Shield plate, right 342.90$       

BRE0149121 Tractor linkage, right 366.29$       

BRE0149455 Roller holder frame 120 623.46$       

BRE0149465 Spiked roller 120 2,376.90$    

BRE0164002 Frame 100" 5,260.39$    

BRE0164145 Rotor 100" 3,740.65$    

BRE0164241 Drive tube 100" 857.26$       

BRE0164251 Drive shaft 100" 739.07$       

BRE0164341 Gearbox support 100" 545.52$       

BRE0164411 Roller arm guide, right 116.93$       

BRE0164425 Safety shield 100", right 587.94$       

BRE0164435 Regulating plate, right 89.59$          

BRE0164451 Shield bar 311.67$       

BRE0164565 Roller support, right 237.66$       

BRE0164585 Frame for roller 100" 818.26$       

BRE0164665 Spiked roller 100" 2,454.79$    

BRE0164711 Rear shield 100", right 1,052.04$    

BRE0164771 Shield support, right 89.59$          

BRE0166042 Rotor shaft 884 5,416.22$    

BRE0166115 Drive tube 884‐896 1,987.21$    

BRE0166122 Drive shaft 884‐896 1,558.57$    

BRE0166140 Gasket 5/10 2.73$            

BRE0166158 Gasket 5/10 1.90$            

BRE0166244 Support 896 1,091.03$    

BRE0166331 Frame for roller 884 1,441.71$    

BRE0166343 Plate, right 241.57$       

BRE0166401 Roller cleaner 884 cm. 740.30$       

BRE0170002 Main frame 64" 3,818.63$    

BRE0170361 Hitch block, right cat. 2 108.86$       

BRE0170361B Hitch block, right cat. 1 108.86$       

BRE0170381 Tailgate 56" 1,091.03$    

BRE0170391 Hinge pin 64" 50.63$          

BRE0170551 Frame for roller 64" 467.56$       

BRE0170561 Roller scraper 64" 623.41$       

BRE0170638 Safety shield 56" 545.52$       

BRE0171051 Rotor 80" flash 3,234.14$    

BRE0172002 Frame 56" 2,805.51$    

BRE0173426 Roller support, right 101.28$       

BRE0177002 Flat pan complete 052 1,736.52$    

BRE0177012 Gasket 052 8.94$            

BRE0177191 A frame base right 292.19$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 219

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0177251 Frame for roller 068 448.09$       

BRE0189002 Frame 180 cm. (72") 1,480.67$    

BRE0189005 Hexagonal shaft 180 cm. (72") 662.40$       

BRE0189011 Frame right side 56.46$          

BRE0189283 Hood center narrow 428.65$       

BRE0189291 Right hood side 288.34$       

BRE0189296 Rear shield right extra wide 34.66$          

BRE0189321 Adjustment blade 56.46$          

BRE0190001 Frame 066 935.13$       

BRE0190005 Hexagonal shaft 066 389.64$       

BRE0190024 Hitch block, right 132.46$       

BRE0190031 Wheel support 354.51$       

BRE0190130 Gasket 62.33$          

BRE0191031 A frame hitch 1,248.31$    

BRE0191183 Chain guard, right 487.04$       

BRE0191191 Chain guard, left 487.04$       

BRE0191205 Chain 245.51$       

BRE0191253 Center hood narrow 292.19$       

BRE0191261 Right hood side 179.23$       

BRE0191265 Rear shield narrow, right 24.90$          

BRE0191291 Adjustment blade 44.30$          

BRE0191341 Container 100 cm. 596.35$       

BRE0191361 Cover 100 cm. 233.79$       

BRE0191371 Shaft mixing 100 cm. 136.36$       

BRE0191391 Perforated plate 100 cm. 222.10$       

BRE0191417 Frame attachment (M21) 49.95$          

BRE0194266 Right hood side extra narrow 152.00$       

BRE0201263 Hinge pin 42" 42.86$          

BRE0203319 Screw nut ball spring 35.40$          

BRE0206402 Toothed roller 884 cm. 1,753.46$    

BRE0207023 Hitch block, left 188.59$       

BRE0207061 Rotor shaft 42", w/o shaft 1,305.33$    

BRE0207145 Drive shaft 66"‐74" 506.50$       

BRE0207147 Drive tube 66"‐74" 109.05$       

BRE0208174 Support bracket, left 128.60$       

BRE0213031 Rotor 64" 2,260.02$    

BRE0213141 Drive tube 72" 740.30$       

BRE0213151 Drive shaft 72" 603.95$       

BRE0213285 Hitch block, left 140.23$       

BRE0213661 Counter shaft 64" 837.72$       

BRE0214242 Hitch block, left 187.02$       

BRE0214312 Roller support plate, left 116.93$       

BRE0214344S Safety shield, left 584.49$       

BRE0215001 Frame 112 1,129.97$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 220

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0215008 Hexagonal shaft 487.04$       

BRE0215034 Hitch block, left 132.46$       

BRE0215161 Component support, left 77.87$          

BRE0215221 Center hood narrow 323.19$       

BRE0215225 Left hood side (2.50") 148.05$       

BRE0215231D Rear shield narrow, right 24.52$          

BRE0215231S Rear shield narrow, left 24.52$          

BRE0216391 Skid, left 225.94$       

BRE0217371 Plate rod guide, left 16.76$          

BRE0217715 Plate roller, left 253.24$       

BRE0218352 Roller support, left 116.93$       

BRE0218382 Safety plate 896 662.40$       

BRE0218397 Hinge pin 896 109.05$       

BRE0220002 Frame 120" 6,039.67$    

BRE0220131 Rotor 120" 4,597.90$    

BRE0220235 Drive tube 120" 1,091.03$    

BRE0220252 Drive shaft 120" 1,292.69$    

BRE0220341 Gearbox support 120" 779.30$       

BRE0220411 Safety shield, left 100" 935.13$       

BRE0220421 Roller arm guide, left 132.46$       

BRE0231753 Rear shield 92 683.27$       

BRE0232002 Flat pan complete 100 4,013.45$    

BRE0232231 A frame base left 623.41$       

BRE0232295 Front shield 100 323.37$       

BRE0232351 Roller arm left 319.50$       

BRE0232770 Packer roller 100" 3,592.86$    

BRE0232804 Scraper support bar 100" 545.52$       

BRE0232871 Attachment plate, left 68.34$          

BRE0232906 Plate support, left 106.03$       

BRE0233171 Front shield 068 218.16$       

BRE0236174 Tailgate 50" 818.26$       

BRE0236691 Hitch shifting guide 50"‐74" 1,441.71$    

BRE0237505 Toothed roller 72" 852.01$       

BRE0241002 Flat pan complete 180 8,182.79$    

BRE0241191 Gasket 180 27.24$          

BRE0241231 A frame base, left 1,168.93$    

BRE0241342 Deflector pipe 180 896.19$       

BRE0249021 Front bar 140 662.40$       

BRE0249031 Three point arm, left 1,052.07$    

BRE0249071 Turnbuckle 160/180 144.15$       

BRE0249077 Tie rod hitch, left 26.51$          

BRE0249091 Shield plate, left 342.90$       

BRE0249121 Tractor linkage, left 366.29$       

BRE0249455 Roller frame 140 662.40$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 221

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0249465 Spiked roller 140 2,844.46$    

BRE0249505 Scraper holder 140 701.36$       

BRE0249955 Front bar 216.76$       

BRE0264002 Frame 120" 5,649.98$    

BRE0264145 Rotor 120" 4,403.15$    

BRE0264241 Drive tube 120" 935.13$       

BRE0264251 Drive shaft 120" 860.86$       

BRE0264341 Gearbox support 120" 584.49$       

BRE0264411 Roller arm guide, left 116.93$       

BRE0264425 Safety shield, left 587.94$       

BRE0264435 Regulating plate, left 89.59$          

BRE0264451 Shield bar 100", left 311.67$       

BRE0264565 Roller support, left 237.66$       

BRE0264665 Spiked roller 120" 3,078.23$    

BRE0264711 Shield support, left 1,052.04$    

BRE0264771 Shield support, left 89.59$          

BRE0266042 Rotor shaft 896 5,922.79$    

BRE0266115 Drive tube 810 2,104.14$    

BRE0266122 Drive shaft 812 1,636.55$    

BRE0266244 Support 810 1,168.93$    

BRE0266331 Frame for roller 896 1,519.65$    

BRE0266343 Plate, left 241.57$       

BRE0266401 Roller cleaner 896 cm. 818.26$       

BRE0270002 Frame 72" 3,935.51$    

BRE0270361 Hitch block left, cat. 2 108.86$       

BRE0270361B Hitch block left, cat. 1 108.86$       

BRE0270381 Tailgate 64" 1,110.51$    

BRE0270391 Hinge pin 72" 54.51$          

BRE0270551 Frame for roller 72" 506.50$       

BRE0270561 Roller scraper 72" 662.40$       

BRE0270638 Safety shield 64" 623.41$       

BRE0271002 Frame 96" 4,675.85$    

BRE0271051 Rotor 240 cm. 4,792.72$    

BRE0272002 Frame 64" 2,922.43$    

BRE0273426 Roller support plate, left 101.28$       

BRE0277012 Gasket 068 10.88$          

BRE0277191 A frame base left 292.19$       

BRE0277251 Frame for roller 084 487.04$       

BRE0288261 Center hood medium 409.50$       

BRE0289002 Frame 220 cm. (88") 1,558.57$    

BRE0289005 Hexagonal shaft cm. (88") 857.26$       

BRE0289011 Frame left side 56.46$          

BRE0289283 Hood center medium 467.56$       

BRE0289291 Side hood left 288.34$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 222

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0289296 Rear shield extra wide left 34.66$          

BRE0289321 Adjustment blade 56.46$          

BRE0290001 Frame 088 1,168.93$    

BRE0290005 Hexagonal shaft 088 346.33$       

BRE0290024 Hitch block, left 132.46$       

BRE0291253 Center hood medium 315.60$       

BRE0291261 Left hood side 179.23$       

BRE0291265 Rear shield medium, right 26.05$          

BRE0291291 Adjustment blade 44.30$          

BRE0291341 Container 150 cm. 896.19$       

BRE0291361 Cover 150 cm. 272.76$       

BRE0291371 Mixing shaft 150 cm. 148.05$       

BRE0291391 Perforated plate 150 cm. 268.79$       

BRE0291417 Frame hitch 66.19$          

BRE0294233 Use BRE0094233

BRE0294266 Left hood side extra narrow 152.00$       

BRE0301263 Hinge pin 50" 46.72$          

BRE0306402 Toothed roller 896 cm. 1,987.21$    

BRE0307061 Rotor shaft 50" w/o shaft 1,422.24$    

BRE0313031 Rotor 72" 2,454.79$    

BRE0313141 Drive tube 80" 759.84$       

BRE0313151 Drive shaft 80" 623.41$       

BRE0313661 Counter shaft 72" 876.71$       

BRE0314301 Frame for roller 90" 1,168.93$    

BRE0314344D Safety shield, right 584.49$       

BRE0314362 Roller scraper 662.40$       

BRE0314401D Rear shield, right 993.63$       

BRE0314401S Rear shield, left 993.63$       

BRE0315001 Frame 132 1,246.86$    

BRE0315008 Hexagonal shaft 132 584.49$       

BRE0315221 Center hood medium 409.09$       

BRE0315231D Plate medium, right 25.68$          

BRE0315231S Plate medium, left 25.68$          

BRE0317091 Rotor 90" 5,595.88$    

BRE0317131 Rotor 90" 4,208.30$    

BRE0317251 Drive shaft 90" 662.40$       

BRE0317341 Gearbox support 90" 701.36$       

BRE0318382 Safety plate 810 740.30$       

BRE0318397 Hinge pin 810 144.15$       

BRE0320411 Safety shield, right 120" 1,052.04$    

BRE0331753 Rear shield 100 706.86$       

BRE0332295 Front shield 120 389.64$       

BRE0333171 Front shield 084 264.95$       

BRE0336174 Tailgate 58" 896.19$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 223

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0337505 Toothed roller 84" 920.17$       

BRE0341002 Flat pan complete 120 6,468.30$    

BRE0347201 Hitch block pin cat. 1 81.06$          

BRE0349021 Front bar 160 740.35$       

BRE0349071 Clevis 200 144.15$       

BRE0349455 Roller frame 160 701.36$       

BRE0349465 Spiked roller 160 3,117.26$    

BRE0349955 Front bar 298.95$       

BRE0364425 Safety shield 120", right 653.23$       

BRE0364451 Shield bar 120", right 335.07$       

BRE0364711 Rear shield 120", right 1,246.86$    

BRE0366042 Rotor shaft 810 6,896.90$    

BRE0366244 Support 884 974.16$       

BRE0366331 Frame for roller 810 1,636.55$    

BRE0366401 Roller cleaner 910 cm. 1,013.09$    

BRE0370002 Frame 80" 4,052.40$    

BRE0370381 Tailgate 72" 1,149.45$    

BRE0370391 Hinge pin 80" 58.44$          

BRE0370551 Frame for roller 80" 525.98$       

BRE0370561 Roller scraper 80" 701.36$       

BRE0370638 Safety shield 72" 701.36$       

BRE0371051 Rotor 100" flash 3,818.63$    

BRE0372002 Frame 72" 3,000.37$    

BRE0373361 Tailgate 74" 925.29$       

BRE0377012 Gasket 084 12.84$          

BRE0377251 Frame for roller 100 525.98$       

BRE0389002 Frame 280 cm. (112") 2,026.16$    

BRE0389005 Hexagonal shaft 280 cm. (112") 1,129.97$    

BRE0389283 Hood center wide 467.56$       

BRE0390001 Frame 112 1,441.71$    

BRE0390005 Hexagonal shaft 112 662.40$       

BRE0391253 Center hood wide 354.51$       

BRE0391265 Rear shield wide, right 27.24$          

BRE0391341 Container 200 cm. 974.16$       

BRE0391361 Cover 200 cm. 311.67$       

BRE0391371 Mixing shaft 200 cm. 183.10$       

BRE0391391 Perforated plate 200 cm. 377.91$       

BRE0401263 Hinge pin 58" 50.63$          

BRE0403291 Spiked roller 1,714.50$    

BRE0406402 Toothed roller 910 cm. 2,493.80$    

BRE0407061 Rotor shaft 58", w/o shaft 1,539.15$    

BRE0413031 Rotor 80" 3,293.27$    

BRE0413141 Drive tube 96" 779.30$       

BRE0413151 Drive shaft 96" 642.96$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 224

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0415001 Frame 176 1,909.27$    

BRE0415008 Hexagonal shaft 176 589.60$       

BRE0420411 Safety shield, left 120" 1,052.04$    

BRE0431753 Rear shield 120 753.99$       

BRE0432002 Flat pan complete 140 6,195.50$    

BRE0432295 Front shield 140 218.16$       

BRE0432295D Front shield 140 right 218.16$       

BRE0432295S Front shield 140 left 218.16$       

BRE0433171 Front shield 100 276.64$       

BRE0436174 Tailgate 66" 974.16$       

BRE0437505 Toothed roller 56" 715.61$       

BRE0441002 Flat pan complete 140 6,818.96$    

BRE0441191 Gasket 140 22.97$          

BRE0449021 Front bar 180 779.30$       

BRE0449505 Scraper holder 180 857.26$       

BRE0449955 Front bar 329.90$       

BRE0464425 Safety shield, left 628.48$       

BRE0464451 Shield bar 120", left 368.15$       

BRE0464711 Rear shield 120", left 1,246.86$    

BRE0470381 Tailgate 80" 1,207.93$    

BRE0470391 Hinge pin 48.69$          

BRE0470551 Frame for roller 56" 448.09$       

BRE0470561 Roller scraper 56" 584.49$       

BRE0470638 Safety shield 80" 779.30$       

BRE0471051 Rotor 120" Flash 4,481.01$    

BRE0472002 Frame 80" 3,117.26$    

BRE0477002 Flat pan complete 100 2,254.89$    

BRE0477012 Gasket 100 15.17$          

BRE0489002 Frame 360 cm. (144") 2,571.74$    

BRE0489005 Hexagonal shaft 360 cm. (144") 1,363.74$    

BRE0489283 Hood center extra wide 584.49$       

BRE0490001 Frame 132 1,753.46$    

BRE0490005 Hexagonal shaft 759.84$       

BRE0491265 Rear shield narrow, left 24.90$          

BRE0500501 Gearbox complete 1,909.12$    

BRE0500505 Gearbox complete 9,156.90$    

BRE0500509 Gearbox complete 2,483.34$    

BRE0500518 Gearbox complete 4,443.12$    

BRE0500520 Gearbox complete 100‐120 4,134.65$    

BRE0500521 Gearbox complete 140‐160 4,421.56$    

BRE0500525 Gearbox complete 2,112.99$    

BRE0500526 Gearbox complete 3,104.23$    

BRE0500527 Gearbox complete 4,160.71$    

BRE0500535 Gearbox complete 2,681.54$    

All prices are FOB Rocky Mount, NC and are subject to change without notice. 225

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0501263 Hinge pin, 66" 54.51$          

BRE0507061 Rotor shaft 66", w/o shaft 1,675.49$    

BRE0531753 Rear shield, right 140 471.23$       

BRE0532002 Flat pan complete 160 7,208.66$    

BRE0532295D Front shield 160 right 268.79$       

BRE0532295S Front shield 160 left 268.79$       

BRE0533171 Front shield 120 338.97$       

BRE0536174 Tailgate 74" 1,052.04$    

BRE0541002 Flat pan complete 200 9,507.62$    

BRE0549021 Front bar 200 818.30$       

BRE0549505 Scraper holder 200 935.20$       

BRE0549955 Front bar 376.96$       

BRE0570381 Tailgate 1,402.77$    

BRE0570391 Hinge pin 96" 109.05$       

BRE0571051 Rotor 90" flash 5,301.34$    

BRE0577002 Flat pan complete 120 2,436.32$    

BRE0577012 Gasket 120 17.14$          

BRE0577251 Frame for roller 052 428.65$       

BRE0589002 Frame 440 cm. (176") 2,805.51$    

BRE0589005 Hexagonal shaft 440 cm. (176") 1,675.49$    

BRE0590001 Frame 176 2,298.96$    

BRE0590005 Hexagonal shaft 176 974.16$       

BRE0591265 Rear shield medium, left 26.05$          

BRE0601263 Hinge pin, 74" 58.44$          

BRE0607061 Rotor shaft 74", w/o shaft 1,870.33$    

BRE0631753 Rear shield, left 140 471.23$       

BRE0632770 Packer roller 180 10,092.12$  

BRE0636002 Frame 42" 3,584.83$    

BRE0649955 Front bar 424.11$       

BRE0689002 Frame 600 cm. (240") 5,377.27$    

BRE0689005 Hexagonal shaft 600 cm. (240") 2,260.02$    

BRE0691265 Rear shield wide, left 27.24$          

BRE0707145 Drive shaft 42"‐50" 467.56$       

BRE0707147 Drive tube 42"‐50" 93.51$          

BRE0731753 Rear shield, right 160 589.07$       

BRE0732770 Packer roller 200 11,261.10$  

BRE0736002 Frame 50" 3,623.77$    

BRE0741002 Flat pan complete 120" 5,182.41$    

BRE0749955 Front bar 471.23$       

BRE0773557 Rear shield, right 82" 919.13$       

BRE0831753 Rear shield, left 160 589.07$       

BRE0836002 Frame 58" 3,818.63$    

BRE0841002 Flat pan complete 140 5,572.11$    

BRE0873557 Rear shield, left 82" 919.13$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 226

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

BRE0931753 Rear shield, left 180 706.68$       

BRE0932770 Packer roller 140 7,987.95$    

BRE0933385 Spiked roller 90" 1,636.55$    

BRE0936002 Frame 66" 3,935.51$    

BRE0941002 Flat pan complete 160 6,429.34$    

BRE1032770 Packer roller 120 7,013.87$    

BRE1036002 Frame 74" 4,052.40$    

BRE1041002 Flat pan complete 180 7,364.55$    

BRE1137353 Rear shield, left 659.77$       

BRE1141002 Flat pan complete 200 8,221.80$    

BRE3177967 Spacer, chain tensioner 5.03$            

N001000 Shaft, hinge eccentric 243.60$       

N001001 Shaft, hinge eccentric 243.60$       

N001005 Hinge eccentric 111.74$       

N001010 Internal connector 146.65$       

N001015 Blade bar arm 172.17$       

N001020 Teeth bar arm 172.17$       

N001025 Blade bar arm shaft 122.29$       

N001035 Use N001036+N001001+N00C2247

N001036 Support 734.41$       

N001045 Bushing 11.07$          

N001050 Teeth arm bar shaft 104.77$       

N001055 Support plate 32.59$          

N001060 Lift point lever 35.63$          

N001062 Lift point lever 43.63$          

N001063 Lift point lever 83.04$          

N001065 Lever lift pin 38.19$          

N001087 Oil seal ring 38.19$          

N001100 Cone 71.12$          

N001120 Stop pin 10.86$          

N001123 Connector protection cover 76.81$          

N001135 Complete connector 2,522.74$    

N001136 Complete connector 2,522.74$    

N001145 Spring 23.40$          

N001501 Double lower blade guide 157.18$       

N001502 Single lower blade guide 108.28$       

N001505 Single upper blade guide 112.12$       

N001506 Double upper blade guide 161.51$       

N001510 Outer bar support 265.27$       

N001515 External skid shoe 31.56$          

N001517 Use N001780

N001519 Blade support bar 96" 942.78$       

N001520 Blade support bar 74" 628.49$       

N001523 Blade support bar 84" 750.72$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 227

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

N001525 Swath board 167.01$       

N001530 Section head 107.52$       

N001535 Bushing 27.93$          

N001540 Bushing 19.56$          

N001545 Teeth head 108.21$       

N001550 Lower blade guide 89.95$          

N001555 Rod section 74" (bored rod) 76.81$          

N001557 Rod section 84" (bored rod) 87.29$          

N001558 Rod section 96" (bored rod) 97.74$          

N001560 Tooth bar 74" 49.82$          

N001562 Tooth bar 84" 52.60$          

N001563 Tooth bar 96" 69.86$          

N001565 Internal runner 209.52$       

N001570 Use N001790

N001575 Protection 81.93$          

N001582 Wood deflector tube 49.97$          

N001611 Teeth bar 13 teeth 74", complete 558.80$       

N001612 Teeth bar 14 teeth 84", complete 594.87$       

N001613 Teeth bar 16 teeth 96", complete 663.39$       

N001616 Blade 25 sections 74" 296.36$       

N001617 Blade 27 sections 84" 322.45$       

N001618 Blade 31 sections 96" 366.86$       

N001650 Tooth bar 60" 41.91$          

N001665 Rod section 60" 69.85$          

N001685 Blade 33 sections 106" 351.54$       

N001690 Teeth bar 17 teeth 106", complete 608.98$       

N001693 Rod section 106" (bored rod) 96.88$          

N001695 Tooth bar 106" 77.50$          

N001760 Blade support bar 106" 913.47$       

N001780 Internal runner 332.17$       

N001785 Internal runner 185.46$       

N001790 Internal skid shoe 87.48$          

N002012 Frame shaft rod 69.86$          

N002016 Frame shaft 284.84$       

N002020 Support stand 76.81$          

N002025 Mounting shaft 29.88$          

N002032 Lateral deflector spring 22.41$          

N002035 Three point hitch arch 613.29$       

N002040 Arm 88.67$          

N002042 Arm, complete 193.77$       

N002043 Arm 69.20$          

N002044 Hitch, cylinder 105.19$       

N002060 Safety release pin 13.97$          

N002063 Release spring 76.15$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 228

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

N002065 Safety release 227.00$       

N002066 Release spring 69.99$          

N002067 Washer lock SP Ø14 6.36$            

N002069 Cylinder BSB 535.40$       

N002070 Cylinder BSB‐060 518.62$       

N002075 Tractor hitch pin 14.10$          

N002078 Cylinder stop w/bolt M6X30 & nut 44.30$          

N002080 Cylinder stop w/bolt M6X30 & nut 48.91$          

N002082 Cylinder stop w/bolt M6X30 & nut 38.76$          

N002083 Cylinder stop w/bolt M6X25 & nut 44.30$          

N002087 Tractor hitch plate 27.93$          

N002098 Bolt conic M12‐1.75x65 Z P 14.66$          

N002120 Cylinder attachment lever 33.55$          

N002145 Three point hitch pin 22‐28 26.30$          

N002255 Washer centering 13.84$          

N002260 Quick hitch adapter bracket 64.02$          

N002500 Spring 73.37$          

N002505 Shaft 261.87$       

N002510 Support, pulley‐shaft 232.60$       

N002515 Frame shaft bushing 25.48$          

N002520 Main frame attachment bushing 27.93$          

N002526 Main frame bar 664.33$       

N002530 Pulley SPB 300x2 366.70$       

N002531 Pulley SPB 320x3 366.71$       

N002535 Pulley SPB 130x2 195.56$       

N002536 Pulley SPB 130x3 195.55$       

N002545 External cover 251.37$       

N002550 Internal cover 251.37$       

N002555 Lever 23.26$          

N002560 Joint pin 21.69$          

N002561 Joint pin (inner roller) 23.07$          

N002565 Roller 22.01$          

N002566 Internal plate 17.80$          

N002570 Stop 32.39$          

N002580 Washer flat Ø91 PA 12.21$          

N002593 Three point stop 19.12$          

N002610 Spring attachment 9.96$            

N002612 Spring attachment 13.01$          

N002635 Roller assembly, complete 90.12$          

N002640 Shaft & support assembly, complete 676.48$       

N002675 Three point hitch arch 60" 832.66$       

N002680 Cylinder connection 151.76$       

N002685 Frame shaft bushing 29.45$          

N002690 Frame shaft 163.86$       

All prices are FOB Rocky Mount, NC and are subject to change without notice. 229

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

N002695 Frame shaft pin 45.40$          

N002700 Support stand 60" 81.50$          

N002705 Three point stop plate 13.28$          

N002796 Main frame bar 60" 443.50$       

N002800 Internal cover 60" 230.50$       

N002805 External cover 60" 187.03$       

N002810 Belt SPB2000 86.09$          

N002865 Blade support bar 60" 523.86$       

N002880 Teeth bar 10 teeth 60", complete 332.52$       

N002895 Blade 19 sections 60" 189.86$       

N002900 Traction spring guard 33.94$          

N002907 Teeth guard 60" 26.57$          

N002910 Teeth guard 74"‐84" 42.96$          

N002912 Teeth guard 96" 50.62$          

N002915 Teeth guard 106" 45.67$          

N00C1002 Use 0005530

N00C1010 Bolt FL M14‐2.0x60 C8.8 N F 2.78$            

N00C1014 Bolt CS M14‐2.00x70 C10.9 Z F 5.39$            

N00C1015 Bolt CS M14‐2.00x60 C10.9 Z F 5.28$            

N00C1026 Bolt HH M12‐1.75x135 C8.8 Z P 3.33$            

N00C1030 Bolt CS M10‐1.50x55 C10.9 Z F 2.76$            

N00C1032 Use 31121603S

N00C1046 Bolt hollow 1/4"x1.00" Z 6.99$            

N00C1060 Use 0017223

N00C1078 Knob M12 8.73$            

N00C1080 Stop block M8 13.45$          

N00C1156 Bolt HF M08‐1.25x16 C8.8 Z F 1.47$            

N00C1866 Flow regulation valve 1/4" 56.61$          

N00C2045 Use 0052438

N00C2046 Washer aluminum sealing 1/2" 2.83$            

N00C2050 Rivet M7x19 0.23$            

N00C2051 Rivet M6x12 0.18$            

N00C2052 Rivet M6x20 0.21$            

N00C2055 Set screw M12‐1.75x16 N 1.95$            

N00C2060 Double blade tooth 31.85$          

N00C2065 Section 4.81$            

N00C2066 Section w/center hole 4.98$            

N00C2080 Use 30000031S

N00C2082 Pin M8 4.16$            

N00C2085 Tractor pin bushing 4.13$            

N00C2086 Three point hitch pin 19.25 20.20$          

N00C2088 Lynch pin Ø10 w/chain 8.41$            

N00C2089 Cone ring 9.95$            

N00C2090 Cone 26.21$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 230

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



BEFCO Parts Price List - June 28, 2021

Part Number Description
 List Price 

June 2021 

N00C2091 Eye adjuster 12x120 18.50$          

N00C2093 Key 8x60 2.76$            

N00C2094 Chain (20 links) 22.54$          

N00C2095 Key 8x70 3.72$            

N00C2097 Small chain 16.74$          

N00C2101 Locking ring ES GUK M20‐1.00 7.83$            

N00C2148 Hydraulic hose 1/4"x2000 mm. 52.60$          

N00C2150 Hydraulic hose 1/4"x2000 mm. 76.84$          

N00C2153 Use 502170B

N00C2160 Hydraulic hose 1/4"x1400 mm. 62.84$          

N00C2180 Arm attachment pin 22‐28 21.88$          

N00C2201 Oil ring 2375 4.37$            

N00C2203 Snap ring, outer Ø90 4.48$            

N00C2247 Bearing 3207 2RS 109.40$       

N00C2250 Bearing 6013 Z 148.41$       

N00C2251 Bearing 3204 2RS 66.50$          

N00C2596 Driveline complete B2 L800 346.01$       

N00C2597 Driveline complete B3Nx800 470.56$       

P32103SSA Use 3CE02103B

P33125SSA Use 3CE03125B

P62064SLA Shield complete SL 640 81.53$          

P62074SLA Shield complete SL 740 81.53$          

P62089SLA Shield complete SL 890 81.53$          

Z020512A Use 1B020642B

Z020612A Use 1B020742B

Z020762A Use 1B020892B

Z020902A Outer tube w/yoke 902 79.47$          

Z031106A Use 1B031252B

Z120512A Use 1B020641B

Z120612A Use 1B020741B

Z120762A Use 1B020891B

Z120902A Use 1B021031B

Z131106A Inner tube w/yoke 1106 97.26$          

All prices are FOB Rocky Mount, NC and are subject to change without notice. 231

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



Pa
rts

 P
ric

e 
Li

st
 0

6_
28

_2
1 

co
ve

r.l
w

p 
Pr

in
te

d 
in

 th
e 

U
SA

, J
un

e 
26

, 2
02

1

P.O. Box 6036
Rocky Mount, NC 27802-6036
Tel.: 252.977.9920 - Fax: 252.977.9718
www.befco.com

®

®

Befco - Parts Price List - 2021
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23


	Parts Price List 06_28_21 cover
	Parts Price List0 6_28_21 insert
	Parts Price List 06_28_21 cover



